© gk ADAPTER
4 4

i IZ L ADAPTER

iTiEELKRSIHE How to order adapter

= >
% gL S4B How to Order Adapter 144~115 | BRUERIAS Straight part NO. %
ﬁ NHEIBL OB EZEEL Metric Thread O-ring Face Seal Adapters AO01~A17 ﬂ

NHIELEERL Metric Thread Bite Type Tube Adapters B01~B60 - —

NEIBEar74° $ETEY OB EHEL Metric Thread 74° Cone Flared Tube Adapters C01~C20 T Eiﬁ“aﬁ%‘:’_ﬁﬁﬁﬁﬁ%J o

HAR N HIE24160° HEZEHEL Japanese Metric Thread 60° Cone Adapters D01~D09 Straight series Leftsize code  Rightsize code Material

HAREEIRL60° #mEZH L Japanese Bsp Thread 60° Cone Adapters E01~EQ9

REBGO0° EMEH S BSP Thread 60° Cone Adapters FO1~F46 2 ATNEEARS: EEETEEXLSEM 47 RF45° TREES, EEETERLLSEM “9” RF0° T

HHEEIRGBSPTHESL BSPT Thread Adapters G01~G08 FEEK, MIBGI-040G, 1JT4-08-06SP%,

EHHEZEENPTHEESL NPT Thread Adapters HO1~H17 Elbow part NO.: Add suffix "4" for 45, suffix"9" for 90° elbow to the straight part number, e.g, 1BG9-040G and

EFBL74° #EEmY Ok JIC 74° cone Flared Tube Adapters J01~J62 1/74-08-065P

EHMZQOR B FEZITORFSHESL ORFS Adapters K01~K28

£HIBLNPSMESL NPSM Fittings LO1~L09 3 ZBUERELKS Teepart NO.

ISO 6162i%=#z3L SO 6162 Flange Adapters MO1~M17

SAE# FRi%E#EL SAE Staple—lok Adapters NO1~NO5 — — —

A Other Adapters PO1~L10 SEEELNS — T T LT R S R S L n

Tee series Left size code Mid size code Right size code Material

4 Mi@idiEEL RS Cross part NO.

mEdEEsnE— e — -
Cross series size code Material

Xt @ L — R EER, B RE—1M RS, MERAR, WE—EARTER, FARTLER, FZEHXRT
A, FNAEARTTH.

In general for cross fitting,the four ends thread is the same.If different,the first group means left,the second group
means up, the third group means means right and thefourth group means down.

5 HMBRSAKNE, WAHREMHKS, HtMBHRSOTRE.

# # Meaterial % $K Carbon steel $ff] Brass 4§ W Stainless steel

S Code - BR SS




0 Jig#EL ADAPTER 0 AHIEXOREFEmEFEL METRIC THREAD O-RING FACE SEAL FITTINGS
IS C

6 REMBBYLHERTRNRME, BEERTRAR. Size code table: . .
N " ~EIENOFEFEmEZIEL Metric Thread O-ring Face Seal Adapters

ﬁ % m% & 1 n " n " " n "
G1/8 G1/4 G3/8 G1/2 G5/8 G3/4 G1.1/4" | G1.1/2 .
BSP — G1"X11 G2"X11
X28 X19 X19 X14 X14 X14 X11 X11
Thread
b pp pobe
RETRY R1/8" R1/4" R3/8" R1/2" R3/4" R1.1/4" | R1.1/2"
BSPT — — R1"X11 R2"X11
Th q X28 X19 X19 X14 X14 X11 X11 L1E L1E9 LAE LXE L2E9 LBE
rea A02 A03 A04 AO04 A05 A06
THEIEL
Z1/8" Z1/4" Z " zZ1/2" Z3/4" Z1.1/4" | Z21.1/2"
NPT 1 / — i / — & Z1"X11.5 L J Z2"X11.5
X27 X18 X18 X14 X14 X11.5 X11.5
Thread
EH|JICRE & 7/16" 1/2" 9/16" 3/4" 7/8" 1.1/16" | 1.5/16" | 1.5/8" 1.7/8" 21/2 X12
— - LCE L4AE L9E L6E L6E9 LAEGEE
JIC Thread X20 | X20 | Xx18 | X16 | X14 | X12 | x12 | X12 | Xx12 e s o e o o
X #IORFS#Z 41 o 9/16" o 11/16" | 13/16" 1" 1.3/16" | 1.7/16"|1.11/16" 2" o
ORFS Thread X18 X16 X16 X14 X12 X12 X12 X12
% HISAEIZ 41 - - B 5/8" B o |tane | B B B LAEEGE L1EH L1EH4-0G L1EH9-0G LAEEH-OG LAEHE-OG
SAE Thread %18 %14 A10 A1 A11 A12 A12 A13
iﬁ-*_—‘ " " " n " n
. = = = = 1/2 5/8 3/4 1 1.1/4 1.1/2 2
Flange size
] L1EL L1EN L1ET-SP L1EW L1EW9 L1EZ
s 02 04 05 06 08 10 12 16 20 24 32 A3 A4 A15 A6 A16 A7
Size code
#RiE =~ f5l: Example of order:
LoOWE
L1BGC EE T EELRY, AiniEL1Ba AG1/2"X14, FinigEKIB4r AG3/4"X 14, A Bk WM H{ER 3L, K S A L1BG-08-12, 10 B A17

TEMEE, XS H L1BG-08-128S.

If L1BG'left end threadis G1/2"X14 and right end thread is G3/4"X14,the fitting nubmeris L1BG-08-12.If made of
stainless steel, the fitting numberis L1BG-08-12SS.

LAJINZ @B BB L R 5, Zim B MR G A9/16"X18, sk e LR L 49/16" X118, Hum L 4B G 8 Z1/2"X 14, B wk $W I 1E Y %
3%, RS HLAJIN-06-06-08.

if LAJUN'leftend threadis G9/16"X18,mid end thread is 9/16"X18 and right end thread is Z1/2"x14,the fitting number
is LAJUN-06-06-08.




0 2HEIENOREFmEFEL METRIC THREAD O-RING FACE SEAL ADAPTERS
IS

o LEN2NOFEFmETEL METRIC THREAD O-RING FACE SEAL ADAPTERS
I

L
A B —
I [
“ & ] L1 E
i NI SMB SO B T B 4 w
METRIC MALE O-RING 1

L1E9

90° TAHISMNELOR B F E & &
90° ELBOW METRIC MALE O-RING

re #2471 THREAD OF2F O-RING R~ DIMENSIONS
PART NO. E. F E. Fif B S1
1E9-12 M12X1.25 8X1.9 20.5 20.5 12
1E9-14 M14X1.5 10X2 22.5 22.5 14
1E9-16 M16X1.5 11X1.9 24 24 17
1E9-18 M18X1.5 13X2 26 26 19
1E9-22 M22X1.5 16.1X2.4 29 29 22
1E9-27 M27X1.5 20.1X2.4 32.5 32.5 27
1E9-30 M30X1.5 24.1X2.4 355 35.5 30
1E9-36 M36X2 30X3.1 42 42 36
1E9-39 M39X2 32X3.1 47.5 47.5 41
1E9-42 M42X2 35X3:1 49.5 49.5 41
1E9-45 M45X2 38X3.1 52.5 52.5 46
1E9-52 M52X2 40X3.1 57 57 50

S1
re #2457 THREAD OF.E O-RING R~ DIMENSIONS
PART NO. E.F E. Fi B L

1E-12 M12X1.25 8X1.9 11 11 28 14
1E-14 M14X1.5 10X2 11 11 28 17
1E-16 M16X1.5 11X1.9 11 11 28 17
1E-18 M18X1.5 13X2 11 11 28 19
1E-22 M22X1.5 16.1X2.4 12 12 32 24
1E-27 M27X1.5 20.1X2.4 13 13 36 30
1E-30 M30X1.5 24.1X2.4 14 14 39 32
1E-36 M36X2 30X3.1 16 16 43 38
1E-39 M39X2 32X31 18 18 49 41
1E-42 M42X2 35X3.1 20 20 53 46
1E-45 M45X2 38X3.1 21 21 55 46
1E-52 M52X2 40X3.1 22 22 59 55
1E-60 MB0X2 45.6X3.1 24 24 65 65
1E-64 M64X2 50X3.1 27 27 71 70

T:ORBSHAIIMESLE,
Note:The parameter of O-ring is ring outside diameter and ring width,

T OB SHAIMEELE,
Note:The parameter of O-ring is ring outside diameter and ring width,




0 LEN2NOFEFmETEL METRIC THREAD O-RING FACE SEAL ADAPTERS
I

0 2HEIENOREFmEFEL METRIC THREAD O-RING FACE SEAL ADAPTERS
I S

LAE

AESMEGORE T HZH Z @k
METRIC MALE O-RING TEE

i‘ﬁ L2E9

90° EATFISMELON B FHEH/AH MR T EH
90° ELBOW METRIC FACE SEAL MALE O-RING/

S1 METRIC FEMALE SWIVEL
A
=] 1247 THREAD OF2E O-RING R~ DIMENSIONS = 1247 THREAD OF2F O-RING R~ DIMENSIONS
PART NO. E.F. G E. F. Gim B C PART NO. E. F Euf B S1

AE-14 M14X1.5 10X2 22.5 22.5 22.5 14 2E9-12 M12X1.25 8X1.9 20.5 8 12 17

AE-16 M16X1.5 11X1.9 24.5 24.5 24.5 16 2E9-14 M14X1.5 10X2 22.5 8.5 14 19

AE-18 M18X1.5 13X2 26 26 26 19 2E9-16 M16X1.5 11X1.9 25 8.5 16 22

AE-22 M22X1.5 16.1X2.4 29 29 29 22 2E9-18 M18X1.5 13X2 26 8.5 19 24

AE-27 M27X1.5 20.1X2.4 32.5 325 32.5 27 2E9-22 M22X1.5 16.1X2.4 29.5 10 22 27

AE-30 M30X1.5 24 1X2.4 3585 35.5 3585 30 2E9-27 M27X1.5 20.1X2.4 32.5 10 27 32

AE-36 M36X2 30X3.1 42 42 42 36 2E9-30 M30X1.5 24.1X2.4 35.5 11 30 36

AE-39 M39X2 32X3.1 47.5 47.5 47.5 41 2E9-36 M36X2 30X3.1 42 13 36 41

AE-42 M42X2 35X3 /1 495 49.5 495 41 2E9-39 M39X2 32X3.1 47.5 13 41 46

AE-45 M45X2 38X31 52.5 52.5 52.5 46 2E9-42 M42X2 35X3.1 49.5 15 41 50

AE-52 M52X2 40X3.1 57 57 57 50 2E9-45 M45X2 38X3.1 52.5 15 46 55
S ORBESHYIIEERE, 2E9-52 M52X2 40X3.1 56 17 50 60
Note:The parameter of O-ring is ring outside diameter and ring width, HORESHHIMEEERE,

Note:The parameter of O-ring is ring outside diameter and ring width,
edBcy
! 7
A g
. Q LXE

w

PSR SLOR | T T 25 £ i@ e sk

METRIC MALE O-RING CROSS

tH, |
A _Cc
re 1247 THREAD OF.E O-RING R~F DIMENSIONS
PART NO. E. F. G. H E. F. G. Hik B C

XE-14 M14X1.5 10X2 22.5 22.5 22.5 22.5 14
XE-16 M16X1.5 11X1.9 24 24 24 24 17
XE-18 M18X1.5 13X2 26 26 26 26 19
XE-22 M22X1.5 16.1X2.4 29 29 29 29 22
XE-27 M27X1.5 20.1X2.4 32.5 32.5 32.5 32.5 27
XE-30 M30X1.5 24.1X2.4 355 $5.p 35.5 35.5 30
XE-36 M36X2 30X3.1 42 42 42 42 36
XE-39 M39X2 32X31 47.5 47.5 47.5 47.5 41
XE-42 M42X2 35X3.1 49.5 49.5 49.5 49.5 41
XE-45 M45X2 38X3:1 52.5 52.5 52.5 52.5 46
XE-52 M52X2 40X31 57 57 57 57 50

T ORBESHAIMEELRE,
Note:The parameter of O-ring is ring outside diameter and ring width,




0 LHIZNORBFEE =L METRIC THREAD O-RING FACE SEAL ADAPTERS o AHNIRNOR B FmE L METRIC THREAD O-RING FACE SEAL ADAPTERS
I

I SN GLORS BB T T 4 Sk
81 METRIC MALE O-RING PLUG

NHRGORE T HEH =Bk
METRIC O-RING TEE

L
A
LBE T ;/E L4E

= 1247 THREAD OF.E O-RING R~ DIMENSIONS = 1247 THREAD Of2F O-RING R~ DIMENSIONS
PART NO. E. F. G E. Gim 2] C S1 PART NO. E Eufi
BE-14 M14X1.5 10X2 22.5 8.5 22.5 14 19 4E-14 M14X1.5 10X2 11 17 17
BE-16 M16X1.5 11X1.9 24 8.5 24 17 22 4E-16 M16X1.5 11X1.9 11 17 17
BE-18 M18X1.5 13X2 26 8.5 26 19 24 4E-18 M18X1.5 13X2 11 17 19
BE-22 M22X1.5 16.1X2.4 29 10 29 22 27 4E-22 M22X1.5 16.1X2.4 12 20 24
BE-27 M27X1.5 20.1X2.4 325 10 32.5 27 32 4E-24 M24X1.5 18.1X2.4 12 21 27
BE-30 M30X1.5 24 .1X2.4 35.5 11 3585 30 36 4E-27 M27X1.5 20.1X2.4 13 23 30
BE-36 M36X2 30X3.1 42 13 42 36 41 4E-30 M30X1.5 24.1X2.4 14 25 32
BE-39 M39X2 32X31 47.5 13 47.5 41 46 4E-36 M36X2 30X31 16 29 38
BE-42 M42X2 35X341 49.5 15 49.5 41 50 4E-42 M42X2 35X38.1 20 33 46
BE-45 M45X2 38X3.1 52.5 15 52.5 46 55 4E-45 M45X2 38X3.1 21 34 46
BE-52 M52X2 40X31 57 17 57 50 60 4E-52 M52X2 40X3.1 22 37 55
S ORBESHYIIEERE, 4E-60 M60X2 45X3.1 24 41 65
Note:The parameter of O-ring is ring outside diameter and ring width, HORESHHIMEEERE,
Note:The parameter of O-ring is ring outside diameter and ring width,

r‘—F* . ; PEE. S«
/E’J ! c |
=\ | =3 LCE LOE
w TN ol
1 _E;_ ] NHBGOWE FEZH =Bk PNHE N RS E L
A Jl ‘\\__5_'.1 82 METRIC O-RING TEE METRIC FEMALE FACE PLUG
82
g 1247 THREAD O O-RING R~ DIMENSIONS
PART NO. E. F. G E. Fif B C S1 re 1247 THREAD R~ DIMENSIONS

CE-14 M14X1.5 10X2 22.5 22.5 8.5 14 19 PART NO. E L

CE-16 M16X1.5 11X1.9 24 24 8.5 7 22 9E-12 M12X1.25 8 10 17

CE-18 M18X1.5 13X2 26 26 85 19 24 9E-14 M14X1.5 8.5 10.5 19

CE-22 M22X1.5 16.1X2.4 29.5 295 10 22 27 9E-16 M16X1.5 8.5 11.5 22

CE-27 M27X1.5 20.1X2.4 32.5 325 10 27 32 9E-18 M18X1.5 8.5 13 24

CE-30 M30X1.5 24.1X2.4 3545 35.5 11 30 36 9E-22 M22X1.5 10 13 27

CE-36 M36X2 30X3.1 42 42 13 36 41 9E-27 M27X1.5 10 15 32

CE-39 M39X2 32X31 47.5 47.5 13 41 46 9E-30 M30X1.5 11 15 36

CE-42 M42X2 35X3.1 49.5 49.5 15 41 50 9E-36 M36X2 13 15.5 41

CE-45 M45X2 88X3.1 52.5 52.5 15 46 55 9E-39 M39X2 13 17.5 46

CE-52 M52X2 40X3:1 57 57 17 50 60 9E-42 M42X2 15 18.5 50
EOWMBSMAIMES LR, 9E-45 M45X2 15 18.5 55
Note:The parameter of O-ring is ring outside diameter and ring width, 9E-52 M52X2 17 18.5 60

o




o AHIENORBEFmEEFEL METRIC THREAD O-RING FACE SEAL ADAPTERS
——

0 ~AFNENOFEFmEEEL METRIC THREAD O-RING FACE SEAL ADAPTERS
——

it} LOCKNUT

OFEl O-RING

2 I SMB GO B T T 2 £ 3 AR Sk

METRIC MALE O-RING BULKHEAD

R~ DIMENSIONS

e hi} LOCK NUT
527
X

OF.El O-RING

90° R HISMELON B T H & H I izt
90° METRIC MALE O-RING BULKHEAD

R~ DIMENSIONS

RS
PART NO. Eii Ffy B L PART NO. Eii Fif B
6E-12 M12X1.25 M12X1.25 8X1.9 8X1.9 1" 31.5 47.5 17 17 6E9-12 M12X1.25 M12X1.25 8X1.9 8X1.9 20.5 44.5 12 17
6E-14 M14X1.5 M14X1.5 10X2 10X2 11 32.5 49.5 19 19 6E9-14 M14X1.5 M14X1.5 10X2 10X2 22.5 46.5 14 19
6E-16 M16X1.5 M16X1.5 11X1.9 11X1.9 11 32.5 51.5 22 22 6E9-16 M16X1.5 M16X1.5 11X1.9 11X1.9 24 48 17 22
6E-18 M18X1.5 M18X1.5 13X2 13X2 11 33 52 24 24 6E9-18 M18X1.5 M18X1.5 13X2 13X2 26 50 19 24
6E-22 M22X1.5 M22X1.5 16.1X2.4 16.1X2.4 12 35.5 58 27 30 6E9-22 M22X1.5 M22X1.5 16.1X2.4 16.1X2.4 29 54 22 30
6E-27 M27X1.5 M27X1.5 20.1X2.4 20.1X2.4 13 37 61 32 36 6E9-27 M27X1.5 M27X1.5 20.1X2.4 20.1X2.4 32.5 58.5 27 36
6E-30 M30X1.5 M30X1.5 24.1X2.4 24.1X2.4 14 38 63 36 41 6E9-30 M30X1.5 M30X1.5 24.1X2.4 24.1X2.4 35.5 61.5 30 41
6E-36 M36X2 M36X2 30X3.1 30X3.1 16 42 71 41 46 6E9-36 M36X2 M36X2 30X3.1 30X3.1 42 71 36 46
6E-39 M39X2 M39X2 32X3.1 32X3.1 18 44 74 46 50 6E9-39 M39X2 M39X2 32X3 1 32X3.1 47.5 76 41 50
6E-42 M42X2 M42X2 35X3-1 35X3.1 20 46 80 50 50 6E9-42 M42X2 M42X2 35X3.1 35X3.1 49.5 78 41 50
6E-45 M45X2 M45X2 38X3:1 38X3.1 21 46 80 55 55 6E9-45 M45X2 M45X2 38X3.1 38X3.1 52.5 81 46 55
6E-52 M52X2 M52X2 40X3.1 40X3.1 22 49 83 60 65 6E9-52 M52X2 M52X2 40X3.1 40X3.1 57 86 50 65
1 ORESHAMNEELE, 2METHMEITE, WEEKRSFEM “LN” , M6E-30LN, #iEKSAH8C, F 1 ORBESHAMNEELE, 2MEWHEITE, WEEKRSEM “LN” , M6E9-30LN, #E{KSH8C,
Note: 1 The parameter of O-ring is ring outside diameter and ring width. 2 In case if you are interested to order the adapter with lock Note: 1 The parameter of O-ring is ring outside diameter and ring width. 2 In case if you are interested to order the adapter with lock
nut, please insert suffix "LN" after our part NO., for example 6E-30LN, The lock nut NO. is 8C. nut, please insert suffix "LN" after our part NO., for example 6E9-30LN, The lock nut NO. is 8C.

o




0 LHIZNORBFEE =L METRIC THREAD O-RING FACE SEAL ADAPTERS 0 AHNIRNOR B FmE L METRIC THREAD O-RING FACE SEAL ADAPTERS

I 4 4 .
~—F _
| ! = L e
! i 4 LOCK NUT B B L1EH
_ | Re I I .
S e = NHEISNE GO B F EH 5 /
" N f = AHMEGORBE FEEH TR X =18 ul w NI SNBSS ZHIISO 6149-2
ul ! : :I_I:“= METRIC MALE O-RING BULKHEAD BRANCH TEE __l 1 METRIC MALE O-RING/
A c 1 =3 METRIC MALE S-SERIES ISO 6149-2
B —C | S
LAEGEE LAEGEE-LN '
= 1247 THREAD OF.E O-RING R~ DIMENSIONS re 1247 THREAD O2F O-RING R~ DIMENSIONS
PART NO. E. F. G E. F. Gi 2] C PART NO. E Eifs Fif B L
AEBEE-12 M12X1.25 8X1.9 20.5 44.5 20.5 12 17 1EH-12-10 M12X1.25 M10X1 8X1.9 008.1X1.6 1" 9.5 28 14
AEGEE-14 M14X1.5 10X2 22.5 46.5 22.5 14 19 1EH-14-12 M14X1.5 M12X1.5 10X2 009.3X2.4 11 11 28 17
AEGEE-16 M16X1.5 11X1.9 24 48 24 17 22 1EH-16-14 M16X1.5 M14X1.5 11X1.9 011.3X2.4 11 1" 28 19
AEGEE-18 M18X1.5 13X2 26 50 26 19 24 1EH-18-16 M18X1.5 M16X1.5 13X2 013.3X2.4 11 11.5 31.5 22
AEBEE-22 M22X1.5 16.1X2.4 29 54 29 22 30 1EH-22-18 M22X1.5 M18X1.5 16.1X2.4 015.3X2.4 12 1275 34.5 24
AEBEE-27 M27X1.5 20.1X2.4 32.5 58.5 32.5 27 36 1EH-27-22 M27X1.5 M22X1.5 20.1X2.4 019.3X2.4 13 15 38 30
AEBEE-30 M30X1.5 24.1X2.4 35.5 61.5 35.5 30 41 1EH-30-27 M30X1.5 M27X2 24.1X2.4 023.5X3.0 14 18.5 43.5 32
AEGEE-36 M36X2 30X3:1 42 71 42 36 46 1EH-36-33 M36X2 M33X2 30X3.1 029.5X3.0 16 18.5 47.5 41
AEGEE-39 M39X2 32X3.1 47.5 76 47.5 41 50 1EH-39-33 M39X2 M33X2 32X3.1 029.5X3.0 18 18.5 49.5 41
AEBEE-42 M42X2 35X3.1 49.5 78 49.5 41 50 1EH-42-42 M42X2 M42X2 35X3.1 038.5X3.0 20 19 54 50
AEBEE-45 M45X2 38X3:1 52.5 81 52.5 46 55 1EH-45-42 M45X2 M42X2 38X3.1 038.5X3.0 21 19 54 50
EAORBSHAMEELE, 2MBEHEITE, WIEERSEM “LN” , WAE6EE-30LN, #iEFRSH8C, 1EH-52-48 M52X2 M48X2 40X3.1 044.5X3.0 22 21.5 58.5 55
Note: 1 The.paramete.r of O-ring is ring outside diameter and ring width. 2 In case if you arfa interested to order the adapter with lock 1 EOMESE A MEELEZ, 2 Fi251S0 6149-13 AELE,
nut, please insert suffix "LN" after our part NO., for example AEGEE-30LN, The lock nutNO. is 8C. Note: 1 The parameter of E end O-ring is ring outside diameter and ring width. 2 F endis fit for ISO 6149-1 prot.

171 LOCK NUT
g S2

L1EH4-0G

45° TBRHISMELOR Bl FHE = /
AHEISMEG AT EHEIRE R SISO 6149-2
45° ELBOW METRIC MALE O-RING/
METRIC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2

NHEIMEGORBFEZ TR EXL =18 w
METRIC MALE O-RING BULKHEAD RUN TEE

LAEEGE LAEEGE-LN
re 1247 THREAD O, O-RING R~ DIMENSIONS K= O O-RING R~ DIMENSIONS

PART NO. E. F. G E. F. Gim B C PART NO. Eif Fif B S1
AEEBE-12 M12X1.25 8X1.9 20.5 20.5 44.5 12 17 1EH4-12-100G M12X1.25 M10X1 8X1.9 008.1X1.6 18 25.5 12 14
AEEGE-14 M14X1.5 10X2 22.5 22.5 46.5 14 19 1EH4-14-120G M14X1.5 M12X1.5 10X2 009.3X2.4 19.5 30 14 17
AEEGE-16 M16X1.5 11X1.9 24 24 48 17 22 1EH4-16-140G M16X1.5 M14X1.5 11X1.9 011.3X2.4 20 30.5 17 19
AEEGE-18 M18X1.5 13X2 26 26 50 19 24 1EH4-18-160G M18X1.5 M16X1.5 13X2 013.3X2.4 21.5 34 19 22
AEEBE-22 M22X1.5 16.1X2.4 29 29 54 22 30 1EH4-22-180G M22X1.5 M18X1.5 16.1X2.4 015.3X2.4 23 38 22 24
AEEBE-27 M27X1.5 20.1X2.4 32.5 B2.5 58.5 27 36 1EH4-27-220G M27X1.5 M22X1.5 20.1X2.4 019.3X2.4 245 40.5 27 27
AEEBE-30 M30X1.5 24.1X2.4 35.5 35.5 61.5 30 41 1EH4-30-270G M30X1.5 M27X2 24.1X2.4 023.5X3.0 26 48 30 32
AEEGE-36 M36X2 30X31 42 42 71 36 46 1EH4-36-330G M36X2 M33X2 30X3.1 029.5X3.0 30.5 49.5 36 41
AEEGBE-39 M39X2 32X3A1 47.5 47.5 76 41 50 1EH4-39-330G M39X2 M33X2 32X3.1 029.5X3.0 36 52 41 41
AEEGE-42 M42X2 35X%3.1 49.5 49.5 78 41 50 1EH4-42-420G M42X2 M42X2 35X3.1 038.5X3.0 38 53 41 50
AEEGBE-45 M45X2 38X%3.1 52.5 52.5 81 46 55 1EH4-45-420G M45X2 M42X2 38X3.1 038.5X3.0 39 54 46 50

1 ORBSHANMEELRE, 2MBEHMBITE, WEERSEM “LN” , WAEE6E-30LN, HERSH8C, LBl 0 S LS O 044.5X3.0 42 58.5 50 55

Note: 1 The.paramete.r of O-ring is ring outside diameter and ring width. 2 In case if you arg interested to order the adapter with lock 1 EBOWES M HIIMEELRE, 2 Fit51SO 6149- 13l O LA,

nut, please insert suffix "LN" after our part NO., for example ABE6E-30LN, The lock nut NO. is 8C. Note: 1 The parameter of E end O-ring is ring outside diameter and ring width. 2 Fend is fit for ISO 6149-1 prot.




0 AFIBENORE FEmE £ #EL METRIC THREAD O-RING FACE SEAL ADAPTERS 0 AHNIRNOR B FmE L METRIC THREAD O-RING FACE SEAL ADAPTERS

L1EH9-0G LAEHE-OG

PHISME GO B T HE= £ /
AEISMEGAIEEHEIRERTISO 6149-20F =@
METRIC MALE O-RING /

METRIC MALE ADJUSTABLE STUD END S-SERIES
ISO 6149-2 BRANCH TEE

90° T RHIIMEGORE FEmE S/
NESMRGAIEEERE RSSO 6149-2
90° ELBOW METRIC MALE O-RING/
METRIC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2

= OF.E O-RING R~ DIMENSIONS R 1247 THREAD OF.E O-RING R~ DIMENSIONS

PART NO. Eif Fif B S1 PART NO. E. G F E. Gif Fif B C S1
1EH9-12-100G M12X1.25 M10X1 8X1.9 008.1X1.6 20.5 28.5 12 14 AEHE-12-10-120G M12X1.25 M10X1 8X1.9 008.1X1.6 20.5 28.5 20.5 12 14
1EH9-14-120G M14X1.5 M12X1.5 10X2 009.3X2.4 22.5 33.2 14 17 AEHE-14-12-140G M14X1.5 M12X1.5 10X2 009.3X2.4 22.5 33.2 22.5 14 17
1EH9-16-140G M16X1.5 M14X1.5 11X1.9 011.3X2.4 24 36 17 19 AEHE-16-14-160G M16X1.5 M14X1.5 11X1.9 011.3X2.4 24 36 24 17 19
1EH9-18-160G M18X1.5 M16X1.5 13X2 013.3X2.4 26 89 19 22 AEHE-18-16-180G M18X1.5 M16X1.5 13X2 013.3X2.4 26 39 26 19 22
1EH9-22-180G M22X1.5 M18X1.5 16.1X2.4 015.3X2.4 29 44 22 24 AEHE-22-18-220G M22X1.5 M18X1.5 16.1X2.4 015.3X2.4 29 44 29 22 24
1EH9-27-220G M27X1.5 M22X1.5 20.1X2.4 019.3X2.4 325 48 27 27 AEHE-27-22-270G M27X1.5 M22X1.5 20.1X2.4 019.3X2.4 32/5 48 32.5 27 27
1EH9-30-270G M30X1.5 M27X2 24.1X2.4 023.5X3.0 35.5 57 30 32 AEHE-30-27-300G M30X1.5 M27X2 24.1X2.4 023.5X3.0 35.5 57 35.5 30 32
1EH9-36-330G M36X2 M33X2 30X3.1 029.5X3.0 42 60.5 36 41 AEHE-36-33-360G M36X2 M33X2 30X3.1 029.5X3.0 42 60.5 42 36 41
1EH9-39-330G M39X2 M33X2 32X3.1 0295X3.0 47.5 64 41 41 AEHE-39-33-390G M39X2 M33X2 32X3.1 029.5X3.0 47.5 64 47.5 41 41
1EH9-42-420G M42X2 M42X2 35X3.1 038.5X3.0 49.5 65 41 50 AEHE-42-42-420G M42X2 M42X2 35X3.1 038.5X3.0 49.5 65 49.5 41 50
1EH9-45-420G M45X2 M42X2 38X3.1 038.5X3.0 52.5 67.5 46 50 AEHE-45-42-450G M45X2 M42X2 38X3.1 038.5X3.0 52.5 67.5 52.5 46 50
1EH9-52-480G MS52X2 M48X2 40X3.1 044.5X3.0 57 73.5 50 55 1Bl GHORBESHANEELRE, 2FiH5ISO6149-1iHOMEAE,
i 1 EROBES K I NEERE, 2F51SO6149-1i LA, Note: 1 The parameter of E. G end O-ring are ring outside diameter and ring width. 2 F end is fit for ISO 6149-1 prot.
Note: 1 The parameter of E end O-ring is ring outside diameter and ring width. 2 F end is fit for ISO 6149-1 prot.

L1EL

AFSMEGORE FTEZH / AFISMEL A HEE
METRIC MALE O-RING /METRIC MALE WITH BONDED SEAL

LAEEH-0G

i NI SMEGLOR B FE i /
i NHEISMEGTEEERERSISO 6149-2EH =18 re
METRIC MALE O-RING /

OB O-RING

R~ DIMENSIONS

& METRIC MALE ADJUSTABLE STUD END S-SERIES PART NO. Bl il 8 L

ISO 6149-2 RUN TEE 1EL-14 M14X1.5 M14X1.5 10X2 ZHD-14 11 12 30.5 19

1EL-14-16 M14X1.5 M16X1.5 10X2 ZHD-16 11 12 31 22

re 450 THREAD O O-RING Rt DIMENSIONS 1EL-14-18 M14X1.5 M18X1.5 10X2 ZHD-18 11 12 32.5 24

PART NO. E.F < E. Fify Gifs B C St 1EL-14-22 M14X1.5 M22X1.5 10X2 ZHD-22 1 14 365 27

AEEH-12-12-100G M12X1.25 M10X1 8X1.9 008.1X1.6 | 20.5 | 20.5 | 285 12 14 1EL-16-14 M16X1.5 M14X1.5 11X1.9 ZHD-14 11 12 29 19

AEEH-14-14-120G M14X1.5 M12X1.5 10X2 009.3X2.4 | 225 | 225 | 33.2 14 17 1EL-16-18 M16X1.5 M18X1.5 11X1.9 ZHD-18 1 12 31 24

AEEH-16-16-140G M16X1.5 M14X1.5 11X1.9 011.3X2.4 24 24 36 17 19 1EL-22-18 M22X1.5 M18X1.5 16.1X2.4 ZHD-18 12 12 33.5 24

AEEH-18-18-160G M18X1.5 M16X1.5 13X2 013.3X2.4 26 26 39 19 22 1EL-27-22 M27X1.5 M22X1.5 20.1X2.4 ZHD-22 18 14 38.5 30

AEEH-22-22-180G M22X1.5 M18X1.5 16.1X2.4 015.3X2.4 29 29 44 22 24 1EL-27-33 M27X1.5 M33X2 20.1X24 ZHD-33 13 18 44 41

AEEH-27-27-220G M27X1.5 M22X1.5 20.1X2.4 019.3x2/4 | 325 | 32.5 48 27 27 1EL-30-18 M30X1.5 M18X1.5 24.1X2.4 ZHD-18 14 12 38.5 32

AEEH-30-30-270G M30X1.5 M27X2 24.1X2.4 023.5X3.0 | 35,5~ 35.5 57 30 32 1EL-30-27 M30X1.5 M27X2 24.1X2.4 ZHD-27 14 16 41 34

AEEH-36-36-330G M36X2 M33X2 30X3.1 029.5X%3,0 42 42 60.5 36 41 1EL-36-33 M36X2 M33X2 30X3.1 ZHD-33 16 18 49 41

AEEH-39-39-330G M39X2 M33X2 32X3.1 0295X3.0 | 47.5 | 475 64 41 41 1EL-36-48 M36X2 M48X2 30X3.1 ZHD-48 16 22 53 60

AEEH-42-42-420G M42X2 M42X2 35X3.1 038.5X3.0 | 49.5 | 49.5 65 41 50 1EL-45-42 M45X2 M42X2 38X3.1 ZHD-42 21 20 56 50

AEEH-45-45-420G M45X2 M42X2 38X3.1 038.5X3.0 | 52.5 | 52.5 | 67.5 46 50 1EL-52-48 M52X2 M48X2 40X3.1 ZHD-48 22 22 61 60

i1 Eif. FIROBISHAMEELE, 2GiH5ISO6149- 1/l OMLAL, E: EROE B S AMMES&RE,

Note: 1 The parameter of E, F end O-ring are ring outside diameter and ring width. 2 G end is fit for ISO 6149-1 prot. Note: The parameter of E end O-ring is ring outside diameter and ring width.




0 LHIZNORBFEE =L METRIC THREAD O-RING FACE SEAL ADAPTERS

L1EN

AHEISMEGORE / 71 B SMELL
METRIC MALE O-RING /NPT MALE

o AHNIRNOR B FmE L METRIC THREAD O-RING FACE SEAL ADAPTERS

L

A B
ﬁ/"‘ % /;'/;_3

L1ET-SP

NHESMEGORE / SEHEEIMRL
METRIC MALE O-RING /BSPT MALE

= 1247 THREAD OF2F O-RING R~ DIMENSIONS
PART NO. E Eis B L

1ET-14-04SP M14X1.5 R1/4"X19 10X2 1" 14.5 31.5 14
1ET-14-06SP M14X1.5 R3/8"X19 10X2 11 15 32 17
1ET-16-04SP M16X1.5 R1/4"X19 11X1.9 11 14.5 31.5 17
1ET-16-06SP M16X1.5 R3/8"X19 11X1.9 11 15 32 17
1ET-18-06SP M18X1.5 R3/8"X19 13X2 1" 15 32 19
1ET-18-08SP M18X1.5 R1/2"X14 13X2 11 20 37 22
1ET-22-08SP M22X1.5 R1/2"X14 16.1X2.4 12 20 40 24
1ET-22-12SP M22X1.5 R3/4"X14 16.1X2.4 12 20 40 27
1ET-24-06SP M24X1.5 R3/8"X19 18.1X2.4 13 16 38 27
1ET-24-08SP M24X1.5 R1/2"X14 18.1X2.4 13 20 43 27
1ET-27-08SP M27X1.5 R1/2"X14 20.1X2.4 13 20 43 30
1ET-27-12SP M27X1.5 R3/4"X14 20.1X2.4 13 20 43 30
1ET-30-12SP M30X1.5 R3/4"X14 24.1X2.4 14 20 45 32
1ET-36-12SP M36X2 R3/4"X14 30X3.1 16 20 47 38
1ET-36-16SP M36X2 R1"X11 30X31 16 25.5 52.5 38
1ET-39-16SP M39X2 R1"X11 32X3.1 18 2585 56.5 41
1ET-39-20SP M39X2 R1.474”X11 32X3.1 18 26.5 57.5 46
1ET-42-20SP M42X2 R1.1/4"X11 35X3.1 20 26.5 59.5 46
1ET-45-20SP M45X2 R1.1/4"X11 38X3.1 21 26.5 60.5 46
1ET-52-24SP M52X2 R1.1/2"X11 40X3.1 22 26.5 63.5 55)
it EOEBSH A IMEELE,

Note: The parameter of E end O-ring is ring outside diameter and ring width.

e #247 THREAD Of%E O-RING R ~t DIMENSIONS
PART NO. E Ei B L
1EN-14-04 M14X1.5 Z1/4"X18 10X2 11 15 31 17
1EN-14-06 M14X1.5 73/8"X18 10X2 11 16 33 19
1EN-16-04 M16X1.5 Z1/4"X18 11X1.9 11 15 32 17
1EN-16-06 M16X1.5 Z3/8"X18 11X1.9 11 16 33 19
1EN-16-08 M16X1.5 Z1/2"X14 11X1.9 11 19.5/ | /385~ 24
1EN-18-04 M18X1.5 Z1/4"X18 13X2 14 15 31 19
1EN-18-06 M18X1.5 73/8"X18 13X2 11 16 33 19
1EN-18-08 M18X1.5 Z1/2"X14 13X2 11 19.5 | 385 | 24
1EN-22-08 M22X1.5 Z1/2"X14 16.1X2.4 12 | 195 | 395 | 24
1EN-22-12 M22X1.5 Z3/4"X14 16.1X2.4 12 | 195 | 415 | 27
1EN-24-06 M24X1.5 73/8"X18 18.1X2.4 12 16 37 27
1EN-24-08 M24X1.5 Z1/2"X14 18.1X2.4 12 | 195 | 415 | 27
1EN-27-08 M27X1.5 Z1/2"X14 20.1X2.4 13 | 195 | 425 1 30
1EN-27-12 M27X1.5 Z3/4"X14 20.1X2.4 13 | 195 H@25 | 30
1EN-30-12 M30X1.5 Z3/4"X14 24.1X2.4 14 | 19501 445 | 32
1EN-36-12 M36X2 Z3/4"X14 30X3.1 16 | 19.5/ | /465 | 38
1EN-36-16 M36X2 Z1"X11.5 30X3.1 16 | 255 | 525 | 38
1EN-39-16 M39X2 Z1'X11.5 32X3.1 14 255 | 565 | 41
1EN-39-20 M39X2 Z1.1/4"X11.5 32X3.1 18 | 265 | 575 | 46
1EN-42-16 M42X2 Z1'X11.5 35X3.1 20 | 255 | 585 | 46
1EN-42-20 M42X2 Z1.1/4"X116, |\ 135X3.1 20 | 265 | 59.5 | 46
1EN-45-20 M45X2 Z1.1/4"X11.5-~ —38X3.1 21 265 | 605 | 46
1EN-52-20 M52X2 Z1.1/4"X11.57 | 40X3.1 22 | 265 | 635 | 55
1EN-60-24 MB0X2 Z1.1/2'X11.5 | 45.6X3.1 24 | 275 | 685 | 65

i EMOEBE S M ANMEELE,
Note: The parameter of E end O-ring is ring outside diameter and ring width.




0 LHIZNORBFEE =L METRIC THREAD O-RING FACE SEAL ADAPTERS

L

—_—

-

2 e

L1EW

NHEIMEGORE T HE S / 1REE
METRIC MALE O-RING /BUTT-WELD TUBE

o AHNIRNOR B FmE L METRIC THREAD O-RING FACE SEAL ADAPTERS

L1EZ

NHESMNEGOFEFEZ £/
HEBGAABZHDIN 3852-2 AR
METRIC MALE O-RING /
BSP MALE DIN 3852-2 TYPE A

= 1247 THREAD EFER OF2E O-RING R~ DIMENSIONS
PART NO. E TUBE O.D. Eify B R EHE SEAL R~ DIMENSIONS
1EW-12-06 M12X1.25 6 8X1.9 1" 8 6 24 14 PART NO. Eif Fif B L S1
1EW-14-08 M14X1.5 8 10X2 11 8 8 25 17 1EZ-14-04 M14X1.5 G1/4"X19 10X2 ZHD-14 11 12 29 19
1EW-16-10 M16X1.5 10 11X1.9 1" 8 10 25 17 1EZ-16-04 M16X1.5 G1/4"X19 11X1.9 ZHD-14 11 12 29 19
1EW-18-12 M18X1.5 12 13X2 11 12 12 29 19 1EZ-16-06 M16X1.5 G3/8"X19 11X1.9 ZHD-18 11 12 31 22
1EW-22-14 M22X1.5 14 16.1X2.4 12 12 14 325 24 1EZ-18-06 M18X1.5 G3/8"X19 13X2 ZHD-18 "1 12 31 22
1EW-27-18 M27X1.5 18 20.1X2.4 13 12 18 35) 30 1EZ-18-08 M18X1.5 G1/2"X14 13X2 ZHD-22 | 14 35 30
1EW-30-22 M30X1.5 22 24.1X2.4 14 14 22 39 32 1EZ-22-08 M22X1.5 G1/2"X14 16.1X2.4 ZHD-22 12 14 35 27
1EW-36-28 M36X2 28 30X3.1 16 16 28 43 38 1EZ-27-08 M27X1.5 G1/2"X14 20.1X24 ZHD-22 13 14 37 30
1EW-39-30 M39X2 30 32X3.1 18 16 30 47 41 1EZ-27-12 M27X1.5 G3/4"X14 20.1X2.4 ZHD-27 13 16 40 32
1EW-42-34 M42X2 34 356X3.1 20 16 34 49 46 1EZ-30-12 M30X1.5 G3/4"X14 24 1X2.4 ZHD-27 14 16 41 32
1EW-45-38 M45X2 38 38X31 21 18 38 51 46 1EZ-30-16 M30X1.5 G1"X11 24.1X2.4 ZHD-33 14 18 45 41
1EW-52-42 M52X2 42 40X3.1 22 18 42 55) 55 1EZ-36-16 M36X2 G1"X11 30X3.1 ZHD-33 16 18 47 41
iE: EROR B S AMMEELE, iE: EBRO B S B A MRS E&E,
Note: The parameter of E end O-ring are ring outside diameter and ring width. Note: The parameter of E end O-ring are ring outside diameter and ring width.
T © L
/ 14
| L1EW9 o
U | : f L2WE
00° H/AKISBLON B L / 188G o A
90° ELBOW METRIC MALE O-RING / BUTT-WELD TUBE | & / | RS/ AH RN RSOR B T EEH
L A | ’ o BUTT-WELD TUBE / METRIC FEMALE O-RING
re #2457 THREAD GEFERE O, O-RING R~ DIMENSIONS
PART NO. E TUBE O.D. Eif B re #2470 THREAD EFEHR R~F DIMENSIONS
1EW9-12-06 M12X1.25 6 8X1.9 20.5 16.5 6 12 PART NO. E TUBE O.D. S2
1EW9-14-08 M14X1.5 8 10X2 22.5 17.5 8 14 2WE-06-12 M12X1.25 6 8 6 14
1EW9-16-10 M16X1.5 10 11X1.9 24 19.5 10 17 2WE-08-14 M14X1.5 8 8.5 8 17
1EW9-18-12 M18X1.5 12 13X2 26 25 12 19 2WE-10-16 M16X1.5 10 8.5 10 19
1EW9-22-14 M22X1.5 14 16.1X2.4 29 27 14 22 2WE-12-18 M18X1.5 12 8.5 12 22
1EW9-27-18 M27X1.5 18 20.1X2.4 372445 29.5 18 27 2WE-14-22 M22X1.5 14 10 14 27
1EW9-30-22 M30X1.5 22 24 .1X2.4 35.5 33.5 22 30 2WE-18-27 M27X1.5 18 10 18 32
1EW9-36-28 M36X2 28 30X3.1 42 39 28 36 2WE-22-30 M30X1.5 22 11 22 36
1EW9-39-30 M39X2 30 32X3.1 47.5 43 30 41 2WE-28-36 M36X2 28 13 28 41
1EW9-42-34 M42X2 34 35X3.1 49.5 43 34 41 2WE-30-39 M39X2 30 13 30 46
1EW9-45-38 M45X2 38 38X3.1 52.5 47.5 38 46 2WE-34-42 M42X2 34 15 34 50
1EW9-52-42 M52X2 42 40X3.1 57 50 42 50 2WE-38-45 M45X2 38 15 38 55
i EROR B S A MES LT, ZUHEzE2 LI 2 L7 2 a0
Note: The parameter of E end O-ring are ring outside diameter and ring width. 2WE-50-60 M60X2 50 20 50 70
2WE-52-64 M64X2 52 23 52 75

A17




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

NFENEYXREEZEL Metric Thread Bite Type Tube Adapters

0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

NFENEXREEZL Metric Thread Bite Type Tube Adapters

U

L2JC. L2JD L1CW, L1DW L1C-Y. L1D-Y L5CB. L5DB L5CB-GDK, L5DB-GDK|
B49 B50 B51 B52 B53 B54
— H
L7BC-GDK/S | L7BD-GDK/S L5CM, L5DM L1CI-B. L1DI-B L1Cl, L1DI LNL. LNS LRL. LRS
B54 B55 B56 B57 B58. B59 B60

L1C. L1D L1C. L1DEHE L1C9. L1D9 LAC. LAD LAC. LADZE LXC. LXD
B0O3 B0O4 B05 B06 B0O7. B0O8 B09
L2C, L2D L2C9. L2D9 LBC. LBD LCC. LCD L3C. L3D L4C, L4D
B10. B12 B13 B14 B15 B16 B17
L9C. LoD L6C. L6eD L6C9, L6D9 L8C L1CN, L1DN L1CN9. L1DN9
B18 B19 B20 B21 B22 B23
L1CT-SP, L1DT-SP |L1CT9-SP. L1DT9-SP L1CH, L1DH L1CH4-OG. L1DH4-OG| L1CH9-OG. L1DH9-OG|LACCH-OG. LADDH-OG
B24 B25 B26. B27 B28 B29 B30
LACHC-OG. LADHD-OG L1CG. L1DG L1CG4-0G. L1DG4-OG L1CG9-0G, L1DG9-OGLACCG-OG. LADDG-OG LACGC-OG. LADGD-0G
B31 B32 B33 B34 B35 B36
L1CO, L1DO L1CO9-0OG. L1DO9-OGLACCO-OG. LADDO-OGLACOC-OG. LADOD-OG| L1CB, L1DB L1CB9. L1DB9
B37 B38 B39 B40 B41 B42
L1CB-WD. L1DB-WD| L2BC-WD. L2BD-WD L1CM. L1DM L1CM-WD, L1DM-WD| L2MC-WD. L2MD-WD L1CJ. L1DJ
B43. B44 B44 B45 B46 B47 B48




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS
I

L1 11

s e -
saelml E>24° ] BHiE#EL

HiBTEESL
1A N 2 sl E STRAIGHT FITTINGS T : : STRAIGHT REDUCERS
52 351 1 83
L1C L1D L1C-RN L1D-RN L1C L1D L1C-RN L1D-RN
rRe #2470 THREAD & F5ME TUBE O.D. R~ DIMENSIONS EHZER ! 1247 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHZR
PART NO. F D1 S1 S2 MPa PART NO. E F D2 1 S1 S2 MPa
1C-12 M12X1.5 M12X1.5 6 6 10 24 12 14 14 1C-12-14 M12X1.5 M14X1.5 6 8 25 11 14 14 17
1C-14 M14X1.5 M14X1.5 8 8 11 25 14 17 17 1C-12-16 M12X1.5 M16X1.5 6 10 26 12 17 14 19
1C-16 M16X1.5 M16X1.5 10 10 13 27 17 19 19 315 1C-12-18 M12X1.5 M18X1.5 6 12 27 13 19 14 22
1C-18 M18X1.5 M18X1.5 12 12 14 28 19 22 22 %’Tﬁu 1C-14-16 M14X1.5 M16X1.5 8 10 26 12 17 17 19
1C-22 M22X1.5 M22X1.5 15 15 16 30 24 27 27 1C-14-18 M14X1.5 M18X1.5 8 12 27 13 19 17 22 31.5
1C-26 M26X1.5 M26X1.5 18 18 16 31 27 32 32 1C-16-18 M16X1.5 M18X1.5 10 12 28 14 19 19 22 B&R7
1C-30 M30X2 M30X2 22 22 20 35 32 36 36 1C-16-22 M16X1.5 M22X1.5 10 15 29 15 24 19 27 L
1C-36 M36X2 M36X2 28 28 21 36 41 41 41 $é1£§|1 1C-16-26 M16X1.5 M26X1.5 10 18 30 15.5 27 19 32
1C-45 M45X2 M45X2 35 35 20 41 46 50 50 L 1C-18-22 M18X1.5 M22X1.5 12 15 29 15 24 22 27
1C-52 M52X2 M52X2 42 42 21 43 55 60 60 1C-18-26 M18X1.5 M26X1.5 12 18 30 188 27 22 32
1D-14 M14X1.5 M14X1.5 6 6 16 30 14 17 17 1C-18-30 M18X1.5 M30X2 12 22 32 17.5 32 22 36
1D-16 M16X1.5 M16X1.5 8 8 18 32 17 19 19 63 1C-22-26 M22X1.5 M26X1.5 15 18 31 16.5 27 27 32
1D-18 M18X1.5 M18X%1.5 10 10 17 32 19 22 22 BRI 1C-22-30 M22X1.5 M30X2 15 22 33 18.5 32 27 36
1D-20 M20X1.5 M20X1.5 12 12 19 34 22 24 24 S 1C-26-30 M26X1.5 M30X2 18 22 33 18 32 32 36 16
1D-22 M22X1.5 M22X1.5 14 14 22 38 24 27 27 1C-26-36 M26X1:5 M36X2 18 28 34 19 41 32 41 B7&R73
1D-24 M24X1.5 M24X15 16 16 21 38 27 30 30 1C-30-36 M30X2 M36X2 22 28 36 21 41 36 41 L
1D-30 M30X2 M30X2 20 20 23 44 32 36 36 E;(:ﬁll 1C-30-45 M30X2 M45X2 22 35 39 21 46 36 50
1D-36 M36X2 M36X2 25 25 26 50 41 46 46 s 1C-36-45 M36X2 M45X2 28 35 39 21 46 41 50
1D-42 M42X2 M42X2 30 30 37 54 46 50 50 1D-14-16 M14X1.5 M16X1.5 6 8 32 18 17 17 19
1D-52 M52X2 M52X2 38 38 29 61 55 60 60 31.5E R3S 1D-14-18 M14X1.5 M18X1.5 6 10 32 17.5 19 7 22
E: MEHFERFEEBEEITR, WEERSEM “RN” , MM1C-30RN, (ke M14X15 | M20X1.5 6 12 34 | 195 | 22 y7 24 63
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis 1D-16-18 M16X1.5 M18X1.5 8 10 32 17.5 19 19 22
necessary to insert suffix “RN” after our part no.,for example 1C-30RN, 1D-16-20 M16X1.5 M20X1.5 8 12 34 195 29 19 24 BRI
1D-18-20 M18X1.5 M20X1.5 10 12 34 19 22 22 24 S
1D-18-22 M18X1.5 M22X1.5 10 14 36 20.5 24 22 27
1D-18-30 M18X1.5 M30X2 10 20 40 22 32 22 36
1D-20-22 M20X1.5 M22X1.5 12 14 36 20.5 24 24 27
1D-20-24 M20X1.5 M24X1.5 12 16 36 20 27 24 30
1D-20-30 M20X1.5 M30X2 12 20 40 22 32 24 36
1D-22-24 M22X1.5 M24X1.5 14 16 38 21.5 27 27 30 40
1D-24-30 M24X1.5 M30X2 16 20 42 23 32 30 36 BRI
1D-24-36 M24X1.5 M36X2 16 25 46 2585 41 30 46 S
1D-30-36 M30X2 M36X2 20 25 48 25.5 41 36 46
1D-30-42 M30X2 M42X2 20 30 50 26 46 36 50
1D-36-42 M36X2 M42X2 25 30 52 26.5 46 46 50
1D-42-52 M42X2 M52X2 30 38 59 29.5 55 50 60 |31.5E#&7%IS
E: MBETFTFERFEZBEEITSR, WBEEKRSEM “RN” , #1C-30-36RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1C-30-36RN,

o




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

I L
D2
24° 24° q/\
m <£2/\ ]T ;
| I
| ﬁ | g
= 7 | \ 0 {K% = NI S@EEL
. N 240| = r |l 124 —ELS—\ EQUAL TEE
- 90° iz ! EU 11 13 U@l
24°( = - = - B L L3
] J/ - JJE 90° ELBOW FITTINGS l
O oL 1l 51 LAC LAD LAC-RN LAD-RN
L1C9 L1D9 L1C9-RN L1D9-RN ®e #2457 THREAD & F5ME TUBE O.D. R~t DIMENSIONS Ehg

PART NO.

E

D1,D2,D3

11,12,13

S2,S3,S4

MPa

rE #2457 THREAD &EF4MZE TUBE O.D. R~ DIMENSIONS EHEg AC-10LL M10X1 6 13.5 19 12 12 ﬁ*@;%{ﬁu
PART NO. E F D1 St s2 MPa AC-12A M12X1 6 12 19 12 14 e
1C9-12 M12X1.5 M12X1.5 6 6 11 19 12 14 AC-12 M12X1.5 6 12 19 12 14
1C9-14 M14X1.5 M14X1.5 8 8 14 21 12 17 315 AC-14 M14X1.5 8 14 21 12 17 05
1C9-16 M16X1.5 M16X1.5 10 10 15 22 14 19 ) AC-16 M16X1.5 10 15 22 14 19
B&R7 B&R7
1C9-18 M18X1.5 M18X1.5 12 12 17 24 17 22 AC-18 M18X1.5 12 17 24 17 22 L
L
1C9-22 M22X1.5 M22X1.5 15 15 21 28 19 27 AC-22 M22X1.5 15 21 28 19 27
1C9-26 M26X1.5 M26X1.5 18 18 235, 31 24 32 AC-26 M26X1.5 18 23.5 31 24 32
1C9-30 M30X2 M30X2 22 22 275 35 27 36 16 AC-30 M30X2 22 27.5 35 27 36 16
1C9-36 M36X2 M36X2 28 28 30.5| 38 36 41 AC-36 M36X2 28 30.5 38 36 41
B®R73 B&RY
1C9-45 M45X2 M45X2 35 35 345 | 45 41 50 . AC-45 M45X2 35 34.5 45 41 50 L
1C9-52 M52X2 M52X2 42 42 40 51 50 60 AC-52 M52X2 42 40 51 50 60
1D9-14 M14X1.5 M14X1.5 6 6 16 23 12 17 AD-14 M14X1.5 6 16 23 12 17
1D9-16 M16X1.5 M16X1.5 8 8 17 24 14 19 63 AD-16 M16X1.5 8 17 24 14 19 63
1D9-18 M18X1.5 M18X1.5 10 10 17.5 | 25 17 | 22 EX]) AD-18 M18X1.5 10 17.5 25 17 22 BRI
1D9-20 M20X1.5 M20X1.5 12 12 21.5 | 29 17 24 S AD-20 M20X1.5 12 21.5 29 17 24 S
1D9-22 M22X1:5 M22X1.5 14 14 22 30 19 27 AD-22 M22X1:5 14 22 30 19 27
1D9-24 M24X1.5 M24X1.5 16 16 245 | 33 24 30 40 AD-24 M24X1.5 16 24.5 33 24 30 40
1D9-30 M30X2 M30X2 20 20 26.5 | 37 27 36 AD-30 M30X2 20 26.5 37 27 36
BRI BRI
1D9-36 M36X2 M36X2 25 25 30 42 36 46 s AD-36 M36X2 25 30 42 36 46 s
1D9-42 M42X2 M42X2 30 30 35,5 | 49 41 50 AD-42 M42X2 30 35.5 49 41 50
1D9-52 M52X2 M52X2 38 38 41 57 50 60 31.58&5IS AD-52 M52X2 38 41 57 50 60 31.5E RIS
I MEFFERFERESEEITS, WEEKSEM “RN” , 301C9-30RN, I MEEFERFESESEEITSR, WEEKSEM “RN” , IAC-22RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1C9-30RN, necessary to insert suffix “RN” after our part no.,for example AC-22RN,

B06




€>‘Q$M§ﬁﬂagﬁﬁ¥ METRIC THREAD BITE TYPE TUBE ADAPTERS G’ ~HIEKXREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
I I

N

! W
e B Em re #2457 THREAD &F4Mz2 TUBE O.D. R~ DIMENSIONS EHER
= [ _“’J' 0] SEEERL PART NO. F DI D2 D3 L1 L2 L3 S1 S4  MPa
= =] TEE REDUCERS AC-30-22-30 | M30X2 |M22X1.5| M30X2 | 22 | 15 | 22 |27.5 28 |27.5 35 | 35 | 35 | 27 | 36, 27 | 36
LAC LAD LAC-RN LAD-RN AC-30-26-30 | M30X2 |M26X1.5| M30X2 | 22 | 18 | 22 |27.5/27.527.5/ 35 | 35 | 35 | 27 | 36 | 32 | 36
AC-30-30-36 | M30X2 | M30X2 | M36X2 | 22 | 22 | 28 |30.5/30.5/30.5 38 | 38 | 38 |36/ 36 | 36 | 41
re #8227 THREAD &F4MZ TUBE O.D. R~t DIMENSIONS EHEg AC-36-16-36 | M36X2 |M16X1.5| M36X2 | 28 | 10 | 28 |30.5| 31 [30.5| 38 | 38 {'38"| '36 | 41 | 19 | 41 ﬁ;yu
PART NO. F D2 L1 L2 L3 Si S4  MPa AC-36-18-36 | M36X2 |M18X1.5| M36X2 | 28 | 12 | 28 |30.5 31 |30.5| 38 38 | 38'|/36/|.41 | 22 | 41 )
AC-12-14-12 |M12X1.5|M14X1.5|M12X1.5| 6 8 6 | 1414 14| 21| 21| 21| 12 | 14017 | 14 AC-36-22-36 | M36X2 |M22X1.5| M36X2 | 28 | 15 | 28 |30.5| 31 [30.5/.38 |38 | 38 |36 | 41 | 27 | 41
AC-12-16-12 |M12X1.5|M16X1.5|M12X1.5| 6 10 6 | 15|15 | 15| 22| 22| 22| 141 14| 19 | 14 AC-36-26-36 | M36X2 |M26X1.5| M36X2 | 28 | 18 | 28 |30.5/30:5/30.5/ 38 |38 38 | 36 | 41 | 32 | 41
AC-12-16-16 |M12X1.5|M16X1.5|M16X1.5| 6 10 | 10 | 15|15 | 15|22 | 22| 227 14 |/14 | 19 | 19 AC-36-30-36 | M36X2 | M30X2 | M36X2 | 28 | 22 | 28 |30.5/30.5/30.5| 38| 38 | 38 | 36 | 41 | 36 | 41
AC-14-12-14 |M14X1.5|M12X1.5/M14X1.5| 8 6 8 | 14|14 |14 |21 | 21 )20 | 12 |7 | 14 | 17 AD-16-16-20 |M16X1.5|M16X1.5|M20X1.5| 8 8 12 (22| 22215 29 | 29|29 | 17 | 19| 19 | 24
AC-14-14-18 |M14X1.5|M14X1.5/ M18X1.5| 8 8 12 | 17 |17 | 17 | 24 | 284124/ | 17 | 17 | 17 | 22 AD-18-14-18 |M18X1.5|M14X1.5|M18X1.5| 10 6 10 (17.5/18 [17.5| 25 | 25 | 25 | 17 | 22 | 17 | 22 63
AC-14-16-14 |M14X1.5|M16X1.5|M14X1.5| 8 10 8 | 15|15 15| 22| 227 22| A4 | 17 | 19 | 17 AD-20-16-20 |M20X1.5/M16X1.5|M20X1.5| 12 8 12 |21.5) 22 (21.5/ 29 | 29 |29 | 17 | 24 | 19| 24 | &ZEH
AC-14-18-14 |M14X1.5|M18X1.5|M14X1.5| 8 12 8 | 174172717 | 24 | 24| .24 | 17 | 17 | 22 | 17 AD-20-18-20 |M20X1.5|M18X1.5|M20X1.51 <M2\\ 10 | 12 [21.521.5(21.5| 29 | 29 | 29 | 17 | 24 | 22 | 24 S
AC-16-12-16 |M16X1.5|M12X1.5| M16X1.5| 10 6 10415 | 157|115 [L22]}-22 | 22 | 14 | 19| 14 | 19 AD-20-20-30 |M20X1.5/M20X1.5| M30X2\\\12. [\\12 | 20 |29.5/29.5/26.5| 37 | 37 | 37 | 27 | 24 | 24 | 36
AC-16-14-16 |M16X1.5|M14X1.5 M16X1.5| 10 8 10, | 15| 15 |115422 | 22 | 22 | 14 | 19| 17 | 19 AD-20-24-20 |M20X1.5|M24X1.5M20X1.5/ 12| 16 | 12 |25.5/24.525.5/ 33 | 33 | 33 | 24 | 24 | 30 | 24
AC-16-16-18 |M16X1.5|M16X1.5/M18X1.5| 10 |-10/\| 12 | 17 | 17 | 17 | 24 | 24 | 24 | 17 | 19| 19 | 22 AD-20-30-20 |M20X1.5| M30X2 |[M20X1.5| 12 | 20 | 12 |29.5/26.5/29.5| 37 | 37 | 37 | 27 | 24,36 | 24
AC-16-16-26 |M16X1.5|M16X1.5/M26X1.5| 10 | 101/ 18 | 247 24 | 24 | 31 | 31| 31|24 | 19| 19 | 32 AD-20-30-30 |M20X1.5| M30X2 | M30X2 | 12 | 20 | 20 |29.5/26.5/26.5/ 37 | 37 | 37 | 27 |24 | 36 | 36
AC-16-18-16 |M16X1.5|M18X1.5|M16X#15|| 10 | 12 || 10| 17 | 17 | 17 | 24 | 24 | 24 | 17 | 19| 22 | 19 AD-24-14-24 |M24X1.5 M14X1.5|M24X1.5| 16 6 16 |24.5| 26 |24.5) 33 | 33 | 33, (24| 30 | 17 | 30
AC-16-18-18 |M16X1.5M18X1.5|M18X1.5| | 10| | 12| 12 | 17 |17 |17 | 24 | 24 | 24 | 17 | 19| 22 | 22 AD-24-16-24 |M24X1.5|M16X1.5|M24X1.5| 16 8 16 |24.5| 26 |24.5| 33 | 33-{ 33 | 24 | 30| 19 | 30
AC-16-22-16 |M16X1.5|M22X1.5|M16X1-5| 140\+" 15 | 10 | 21|21 |21 |28 | 28| 28|19 | 19| 27 | 19 AD-24-18-24 |M24X1.5/M18X1.5|M24X1.5| 16 | 10 | 16 |24.5/25.524.5 33| 33 | 33 |/24 |30 | 22 | 30
AC-16-26-26 |M16X1:5M26X 15[ M26X1.5/-10 | 18 | 18 | 24 |23.5/23.5/ 31 | 31 | 31 | 24 | 19| 32 | 32 25 AD-24-20-24 |M24X1.5|M20X1.5|M24X1.5| 16 | 12 | 16 |24.5/25.5/24:5/-33 | 33 | 3324 | 30 | 24 | 30 40
AC-18-12-18 |M18X1.5/M12X1.5/ M18X1.5| 12 6 12 | 17|17 |17 | 24 | 24 | 24 | 17 | 22| 14 | 22 | #2 %7 AD-24-30-24 |M24X1.5| M30X2 |M24X1.5| 16 | 20 | 16 |28.5/26.5/28.5/-37 |37 (37 | 27 | 30 | 36 | 30 | EZ7I
AC-18-14-18 |M18X1.5|M14X1:5/M18X1.5| 12 8 12 | 17 |17 | 17 | 24 | 24 | 24 | 17 | 22| 17 | 22 L AD-30-18-30 | M30X2 |M18X1.5| M30X2 | 20 | 10 | 20 |26.5/29.5(26.5/ 37 | 37 | 37 | 27 | 36 | 22 | 36 S
AC-18-16-18 |M18X1.5|M16X1.5/M18X1.5| 12 | 10 | 12 | 17 | 17 | 17 | 24 | 24 | 24 | 17 | 22719 | 22 AD-30-20-30 | M30X2 |M20X1.5| M30X2 | 20 | 12 | 20 (|26.5/29.5/26.5| 37 | 37 | 37 | 27 | 36 | 24 | 36
AC-18-18-22 |M18X1.5|M18X1.5|M22X1.5| 12 | 12 | 15 | 21|21 |21 |28 |28 | 28|19 |22 | 22 | 27 AD-30-24-30 | M30X2 |M24X1.5| M30X2 | 20 | 16 | 20 (26.5/28.5/26.5/ 37 | 37 | 37 | 27 | 36 | 30 | 36
AC-18-22-18 |M18X1.5|M22X1.5|M18X1.5| 12 | 15 | 12 | 21|21 |21 |28 | 28 | 28419 |22 | 27 | 22 AD-30-36-30 | M30X2 | M36X2 | M30X2 | 20 | 25 | 20 {31.5/ 30 [31.5/ 42 | 42 |42 | 36| 36 | 46 | 36
AC-18-22-22 |M18X1.5|M22X1.5|M22X1.5| 12 | 15 | 15 | 21|21 |21 |28 | 28-(128 | 19 |\22 | 27 | 27 AD-36-24-36 | M36X2 |M24X1.5| M36%2 |\ \25\| 16 |25 | 30 (33.5/ 30 | 42 |42 | 42| 36| 46| 30| 46
AC-18-22-30 |M18X1.5[M22X1.5| M30X2 | 12 | 15 | 22 | 28 | 28 |27.5| 35| 35 |.35/| 27 | 22| 27 | 36 AD-36-30-36 | M36X2 | M30X2 | M36X2 |> 25, |20 | 25 |30 [31.5/ 30 | 42 | 42 | 42 | 36 | 46 | 36 | 46
AC-18-26-18 |M18X1.5|M26X1.5|M18X1.5| 12 | 18 | 12 | 24 [23.5] 247| 31 | 31{ 31| 241 22| 32 | 22 AD-36-42-36 | M36X2 | M42X2 | M36X2\[< 25 | 30 | 25 | 37 |35.5/ 37 | 49 | 49 | 49 | 41 | 46 | 50 | 46
AC-22-12-22 |M22X1.5|M12X1.5|M22X1.5| 15 6 15 | 21 |21} 21 | 28] 281 28 19 | 27| 14 | 27 . BB EERFEEBRETE, WEARSEM “RN” , {1AC-26-26-30RN,
AC-22-16-22 |M22X1.5|M16X1.5|M22X1.5| 15 10 15 211 217,21 |28/ 28| 28| 19 | 27 | 19 | 27 Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
AC-22-18-22 |M22X1.5|M18X1.5|M22X1.5| 15 12 15 29129 121 | 28| 28| 281 19| 27| 22 | 27 necessary to insert suffix “RN” after our part no.,for example AC-26-26-30RN,
AC-22-22-30 |M22X1.5|M22X1.5] M30X2 | 15 | 15| 22 | 28| 28 [27.5/ 35 | 35| 35 | 27 | 27 | 27 | 36
AC-22-26-22 |M22X1.5|M26X1.5|M22X1.5| 15| 18,/| 15 | 24235/ 24 | 31 | 31| 31|24 | 27| 32 | 27
AC-26-16-26 |M26X1.5|M16X1.5|M26X1.5]| 18 | 10 | 18.123.5/ 24 [23.5/ 31 | 31| 31| 24 | 32| 19 | 32
AC-26-18-26 |M26X1.5|M18X1.5|M26X1.5| | 18| | 12 |18 |23.5/ 24 [23.5| 31 | 31| 31| 24 | 32| 22 | 32
AC-26-22-26 |M26X1.5|M22X1:5|M26X1.5| |18, |15 | 18 [23.5/ 24 [23.5| 31 | 31 | 31 | 24 | 32| 27 | 32
AC-26-26-30 |M26X1.5{M26X1.5|\ M30X2 | 18 | 18 | 22 [27.5/27.5/27.5| 35 | 35| 35| 27 | 32| 32 | 36
AC-26-30-30 |M26X1.5) M30X2\| M30X2 | 18 | 22 | 22 [27.5/27.5/27.5/ 35 | 35| 35| 27 | 32| 36 | 36 16
AC-30-16-30 | M30X2 |M16X1 51 M30x2 | 22 | 10 | 22 |27.5 28 |27.5| 35 | 35| 35| 27 | 36 | 19 | 36| =R7
AC-30-18-30 | M30X2 |M18X1.5| M30X2 | 22 | 12 | 22 |27.5/ 28 |27.5/ 35 | 35| 35| 27 | 36 | 22 | 36 L

BT

B0O7 B08




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

— [
F L1
i | a1 ~ =) EE
wi Lol s S | | SMRL MRS RE S
| ' N 24° | | Y
o _ : U 388 3 5k 4@ U REDUCER TUBE ADAPTOR
i _ CROSS FITTINGS s S1 \S3 WITH SWIVEL NUT
: Dd
H | L'ln' j
LXC LXD LXC-RN LXD-RN re #8247 THREAD &F5M2 TUBE O.D. R~ DIMENSIONS EhEg
PART NO. E F D1 D2 s1 s2 MPa
re #24r THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHER 2C-12-14 M12X15 | M14X15 6 8 24 31 14 14 17
PART NO. E.FGH D1.D2,D3,D4 L1 S1 MPa 2C-12-16 M12X1.5 | M16X1.5 6 10 25 | 32 | 17 | 14 1o
XC-12 M12X1.5 6 12 27 12 14 2C-14-16 M14X1.5 | M16X1.5 8 10 255 | 325 | 17 17 19
XC-14 M14X1.5 8 14 29 12 ikl 315 2C-12-18 | M12X1.5 | M18X1.5 6 12 25 | 32 | 17 P 4 | w2
XC-16 M16X1.5 10 15 30 14 19 257 2C-14-18 M14X1.5 | M18X1.5 8 12 27 34 17 17 | 22
aalS MBS 12 Uy & N g2 L 2C-16-18 M16X1.5 | M18X1.5 10 12 28 _|-35 || 17(7| f19)| 22
XC-22 M22X1.5 15 21 36 19 27 2C-12-22 M12X1.5 | M22X1.5 6 15 29 36 22 14 | 27 315
XC-26 M26X1.5 18 23.5 40 24 32 2C-14-22 M14X1.5 | M22X1.5 8 15 30| 37122 | 17 | 27 12275
XC-30 M30X2 22 25 44 3 36 16 2C-16-22 | M16X1.5 | M22X1.5 10 15 30 | 377 22 | 19 | 27 L
XC-36 Msex2 28 30.5 47 36 41 =25 2C-18-22 M18X1.5 | M22X1.5 12 15 30 | 37 | 22 | 22 | 27
XC-45 M45x2 35 3¢-5 26 41 50 L 2C-12-26 | M12X1.5 | M26X1.5 6 18 315 | 385 | 24 | 14 | 32
XC-52 M52X2 42 10 63 50 60 2C-14-26 M14X1.5 | M26X1.5 8 18 325 | 39.5 | 24 17 32
XD-14 M14X1.5 6 16 31 12 17 2C-16-26 M16X1.5 | M26X1.5 10 18 325 | 39.5 | 24 19 32
XD-16 M16X1.5 8 17 32 14 19 63 2C-18-26 M18X1.5-] M26X1.5 12 18 325 | 395 | 24 | 22 | 32
XD-18 M18X1.5 10 17.5 34 17 22 BRI 2C-22-26 M22X1.5 |\ M26X1.5 15 18 335 | 405 | 24 | 27 | 32
XD-20 M20X1.5 12 21.5 38 17 24 S 2C-12-30 M12X1.5. |\~ M30X2 6 o 345 | 415 | 30 14 | 36
XD-22 M22X1.5 4 22 40 19 27 2C-14-30 M14X1\5_ | -M30X2 8 22 35.5 | 425 | 30 17 36
XD-24 M2AZAS 16 24.5 43 24 30 20 2C-16-30 M16X1.5-] M30X2 10 22 355 | 425 | 30 19 36
XD-30 M30X2 20 26.5 48 27 36 —— 2C-18-30 M18X1.5 | M30X2 12 22 355 | 425 | 30 | 220/ 36
el M36X2 25 30 54 36 46 s 2C-22-30 | M22X1.5 | M30X2 15 22 36.5 | 435 | 3027 | (36
XD-42 M42X2 30 35.5 62 41 50 2C-26-30 M26X1.5 | M30X2 18 22 36 | 435 30 | 32 | 36
XD-52 M52Xx2 38 41 2 50 60 |31.5E&RZIS 2C-12-36 M12X1.5 | M36X2 6 28 36.5 | 4315 | 36 14 [ a1
E MBS FERFEEBEEITE, MEERSEM “RN” , WXC-30RN, 2C-14-36 M14X1.5 | M36X2 8 28 375 | 445 | 36 17 | 41
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis 2C-16-36 M16X1.5 M36X2 10 o8 375 445 36 19 41 16
necessary to insert suffix “RN” after our part no.,for example XC-30RN, 20-18-36 M18X1.5 M36X2 12 poy 376 | aa5 36 29 41 P
2C-22-36 M22X1.5 | M36X2 15 28 385 | 455 | 36 | 27 | 41 L
2C-26-36 M26X1.5 | M36X2 18 28 38 | 455 | 36 | 32 | 41
2C-30-36 M30X2 M36X2 22 28 385 | 46 | 36 | 36 | 41
2C-12-45 M12X1.5 | M45X2 6 35 425 | 495 | 46 14 | 50
2C-14-45 M14X1.5 |~ M45X2 8 35 435 | 50.5 | 46 17 | 50
2C-16-45 M16XT.5. |\ M45X2 10 35 435 | 50.5 | 46 19 | 50
2C-18-45 M18X1:5\ |\ —M45X2 12 35 42 | 49 | 46 | 22 | 50
2C-22-45 M22X1.5 |~ M45X2 15 35 43 | 50 | 46 | 27 | 50
2C-26-45 M26X1.5 |~ M45X2 18 35 44 | 515 | 46 | 32 | 50
2|

B09




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

o AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

L
PR
re #2457 THREAD #F4M& TUBE O.D. R~ DIMENSIONS EHER
PART NO. E F st s2 MPa
2D-14-24 | M14X1.5 | M24X1.5 6 16 33 | 40 | 24 | 17 | 30Q
2D-14-30 | M14X1.5 | M30X2 6 20 36.5 | 435 | 30 | 17 |36
2D-14-36 | M14X1.5 | M36X2 6 25 405 | 475 | 36 | 17| 46
2D-14-42 | M14X1.5 | M42x2 6 30 435 | 505 | 4+ M7 | 50
2D-16-24 | M16X1.5 | M24X1.5 8 16 33 | 40 | 24 1 19 ,| 30
2D-16-30 | M16X1.5 | M30X2 8 20 36.5 | 435 || 307 | 19/ | 36
2D-16-36 | M16X1.5 | M36X2 8 25 405 475 || 3619 | 46
2D-16-42 | M16X1.5 | M42x2 8 30 4355711505141 | 19 | 50
2D-18-24 | M18X1.5 | M24X1.5 10 16 325 || 40| 24 | 22 | 30
2D-18-30 | M18X1.5 | M30X2 10 20 36 | 435 | 30 | 22 | 36
2D-18-36 | M18X1.5 | M36X2 10 25 40 | 475 | 36 | 22 | 46
2D-18-42 | M18X1.5 | M42xX2 10 30 43 | 505 | 41 | 22 | 50 40
2D-20-24 | M20X1.5 | M24X1.5 12 16 325 | 40 | 24 | 24 | 30 S
2D-20-30 | M20X1.5-] {M30X2 12 20 36 | 435 | 30 | 24 | 36 S
2D-20-36 | M20X15\ |\ “M36X2 12 25 40 | 475 | 36 | 24 | 46
2D-20-42 | M20X1.5)\_M42X2 12 30 43 | 505 | 41 | 24 | 50
2D-22-24 | M22X1\5_ | M24X1.5 14 16 34 | 42 | 24 | 27 | 30
2D-22-30 | M22X1.51 M30X2 14 20 375 | 455 | 30 | 27 | 36
2D-22-36 | M22X1.5 | M36X2 14 25 415 | 495 | 36 | 27 | 48
2D-22-42 | M22X1.5 | M42X2 14 30 445 | 525 | 41 | 217/| b0
2D-24-30 | M24X1.5 | M30X2 16 20 37 | 455 | 3030 | 36
2D-24-36 | M24X1.5 | M36X2 16 25 41 | 495 |36 _j 30 | 46
2D-24-42 | M24X1.5 | M42X2 16 30 44 | 525 | 41 30 /|50
2D-30-36 M30X2 M36X2 20 25 43| 535 || 36 /36 | 46
2D-30-42 M30X2 M42X2 20 30 447|545 | 41 | 36 | 50
2D-36-42 M36X2 M42X2 25 30 445 ||56,57| 41 | 46 | 50
2D-14-52 | M14X1.5 | M52X2 6 38 475 | 545 | 50 | 17 | 60
2D-16-52 | M16X1.5 | M52X2 8 38 475 | 545 | 50 | 19 | 60
2D-18-52 | M18X1.5 | M52X2 10 38 47 | 545 | 50 | 22 | 60
2D-20-52 | M20X1.5 | M52X2 12 38 47 | 545 | 50 | 24 | 60 31.5
2D-22-52 | M22X1.5 1 ~M52X2 14 38 48.5 | 56.5 | 50 | 27 | 60 ER7
2D-24-52 | M24X1:5\ | \.\M52X2 16 38 46 | 545 | 50 | 30 | 60 s
2D-30-52 M30X2 M52X2 20 38 48 | 585 | 50 | 36 | 60
2D-36-52 M36X2 M52X2 25 38 48.5 | 60.5 | 50 | 46 | 60
2D-42-52 M42X2 M52X2 30 38 49 | 625 | 50 | 50 | 60

FMBFFFERFERSEEITS, WEEHSEM “RN” , 1 “2D-30-52RN” .
Note:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is necessary
to inset suffix “RN” affter our partno.,for example “2D-30-52RN”.

4 4
2 1L
= 1247 THREAD & F4ME TUBE O.D. R~f DIMENSIONS FEHZER
PART NO. E F D1 S1 S2 MPa
2C-30-45 M30X2 M45X2 22 35 46 53.5 46 36 50
2C-36-45 M36X2 M45X2 28 35 46 5385 46 41 50
2C-12-52 M12X1.5 M52X2 6 42 46 53 50 14 60
2C-14-52 M14X1.5 M52X2 8 42 47 54 50 17 60 16
2C-16-52 M16X1.5 M52X2 10 42 47 54 50 19 60 1ZZ5
2C-18-52 M18X1.5 M52X2 12 42 47 54 50 22 60 L
2C-22-52 M22X1.5 M52X2 15 42 48 55 50 27 60
2C-26-52 M26X1.5 M52X2 18 42 47.5 55 50 32 60
2C-30-52 M30X2 M52X2 22 42 49.5 57 50 36 60
2C-36-52 M36X2 M52X2 28 42 1.8 59 50 41 60
2C-45-52 M45X2 M52X2 35 42 48.5 59 50 50 60
FMETFERFERSEEITSR, WEETSHEM “RN” , 1 “2C-30-52RN” ,
Note:In case if you are interested to order the adapter in complete set with cutting ring and nut,it is necessary
to inset suffix “RN” affter our partno.,for example “2C-30-52RN”.
L1
11
)
= o ANANDN
| |
24°| BT —- e 5[ | Wg ‘ N
: A SRS IREUEE Sk
S92 U REDUCER TUBE ADAPTOR
S1 \S3 WITH SWIVEL NUT
L2D L2D-RN
R #2457 THREAD &F5MzE TUBE O.D. R~t DIMENSIONS EHER
PART NO. E F S1 S2 MPa
2D-14-16 M14X1.5 M16X1.5 6 8 28.5 35.5 17 17 19
2D-14-18 M14X1.5 M18X1.5 6 10 29.5 36.5 17 17 22
2D-14-20 M14X1.5 M20X1.5 6 12 30.5 375 19 17 24
2D-14-22 M14X1.5 M22X1.5 6 14 31 38 22 17 27
2D-16-18 M16X1.5 M18X1.5 8 10 30.5 37.5 17 19 22
2D-16-20 | M16X1.5 | M20X1.5 8 12 305 375 | 19 | 19 | 24 63
2D-16-22 M16X1.5 M22X1.5 8 14 31 38 22 19 27 BRI
2D-18-20 M18X1.5 M20X1.5 10 12 30 SIS, 19 22 24 S
2D-18-22 M18X1.5 M22X1-5 10 14 30.5 38 22 22 27
2D-20-22 M20X1.5 M22X1.5 12 14 30.5 38 22 24 27
BRIl




0 ~#HBg-REESL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 ~HIEKXREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
I I

D2
- F D2 ; »

VL) ellilg )] R = e
; m[[ ]]: T i T = MIRGL 5 37 = il Sk

|t || | 90° THMEL N IR G kg Sk 13 ﬂ 11 13 u@l BRANCH TEE FITTINGS
24°| = =0 ] WITH SWIVEL NUT
¥, 90° ELBOW REDUCER TUBE
|—j \ B B 51 ADAPTOR WITH SWIVEL NUT LBc LBC'RN
S2
L LBD LBD-RN
L2C9 L2D9 L2C9-RN L2D9-RN

re #2257 THREAD &F4M2 TUBE O.D. R~} DIMENSIONS EHER

PART NO. E.G F D1,D3 D2 11,13 L1,L3 L2 S1 S2,54 MPa

R 1247 THREAD & F4ME TUBE O.D. R~f DIMENSIONS EHZER
PART NO. E F D1 Lo S1 MPa BC-12 M12X1.5 M12X1.5 6 6 12 19 24 12 14 14
BC-14 M14X1. M14X1. 14 21 25 12 17
2C9-12 M12X1.5 M12X1.5 6 6 12 19 24 12 14 14 c 5 S 8 8 L\ 315
BC-1 M16X1.5 M16X1.5 10 10 15 22 27 14 19
2C9-14 M14X1.5 M14X1.5 8 8 14 21 25 12 17 17 ) C-16 19 225
5 BC-18 M18X1.5 M18X1.5 12 12 17 24 28 17 22
2C9-16 M16X1.5 | M16X1.5 10 10 15 | 22 | 27 714 | 19 | 19 ans) 22 L
2¥¥] - . . 21 2 1 1 27
2C9-18 M18X1.5 | M18X1.5 12 12 17 | 24 [ 20V A7 | 22 | 22 BC-22 M22X1.5 | M22X1.5 15 15 8 |3 S |27
L BC-26 M26X1.5 M26X1.5 18 18 23.5 31 34 24 32 32
2C9-22 M22X1.5 M22X1.5 15 15 21 28 33 19 27 27
BC-30 M30X2 M30X2 22 22 27.5 35 365 27 36 36
2C9-26 M26X1.5 M26X1.5 18 18 288 31 36 24 32 32 16
BC-36 M36X2 M36X2 28 28 30.5 38 40 36 41 41
2C9-30 M30X2 M30X2 22 22 27.5 35 42 27 36 36 225
16 BC-45 M45X2 M45X2 35 35 345 45 47.5 41 50 50
2C9-36 M36X2 M36X2 28 28 30.5 38 44 36 41 41 L
Bz BC-52 M52X2 M52X2 42 42 40 51 54 50 60 60
2C9-45 M45X2 M45X2 35 35 34.5 45 52.6 41 50 50
L BD-14 M14X1.5 M14X1.5 6 6 16 23 24.5 12 17 17
2C9-52 M52X2 M52X2 42 42 40 51 58 50 60 60
BD-16 M16X1.5 M16X1.5 8 8 17 24 2585 14 19 19 63
2D9-14 M14X1.5 M14X1.5 6 6 16 23 25 12 17 17
BD-18 M18X1.5 M18X1.5 10 10 17.5 25 28 17 22 22 BRI
2D9-16 M16X1.5 M16X1.5 8 8 17 24 26 14 19 19 63
BD-20 M20X1.5 M20X1.5 12 12 21.5 29 29.5 17 24 24 S
2D9-18 M18X1.5 M18X1.5 10 10 17.5 25 29 17 22 22 BRI
BD-22 M22X1.5 M22X1.5 14 14 22 30 32.5 19 27 27
2D9-20 M20X1.5 M20X1.5 12 12 21 28.5 31 17 24 24 S
BD-24 M24X1.5 M24X1.5 16 16 24.5 33 3385 24 30 30
2D9-22 M22X1.5 M22X1:5 14 14 22 30 33 19 27 27 40
BD-30 M30X2 M30X2 20 20 26.5 37 40.8 27 36 36
2D9-24 M24X1.5 M24X1.5 16 16 24.5 33 35 24 30 30 BRI
40 BD-36 M36X2 M36X2 25 25 30 42 46 36 46 46
2D9-30 M30X2 M30X2 20 20 26.5 37 42 27 36 36 S
FRI BD-42 M42X2 M42X2 30 30 35.5 49 52 41 50 50
2D9-36 M36X2 M36X2 25 25 30 42 47 36 46 46
S BD-52 M52X2 M52X2 38 38 41 57 55) 50 60 60 |31.5EZXJZIS
2D9-42 M42X2 M42X2 30 30 35.5 49 52 41 50 50
M. ok 3 3 T4 3= =] “ ” _
2D9-52 M52X2 M52X2 38 38 41 57 60.5 50 60 60 31.5&&%IS it MEFTFERFEEEREEITSE, WEEKSEM “RN” , IBC-30RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
33 o IT 46 YE s 3 1 ”
i MERFERFERBERITS, WEEKSEM “RN” , 0M2C69-30RN, necessary to insert suffix “RN” after our part no.,for example BC-30RN,
Note:ln case if you are interested to order the adpter in complete set with cutting ring and nut,it is
necessary to insert suffix “RN” after our part no.,for example 2C9-30RN.




0 2HEIBENREEL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 ~HIEKXREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
I I

L2

L3C L3D

Mg HE@EEL

STRAIGHT TUBE ADAPTERS
WITH SWIVEL NUT

MR E X =@k

RUNTEEFITTINGS
WITH SWIVEL NUT

LCC LCD LCC-RN LCD-RN
re 1247 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHZR
= 1247 THREAD & F5ME TUBE O.D. R~F DIMENSIONS EHZER PART NO. E,F D1,D2 L2 S1,82 MPa
PART NO. E,F €] D1,D2 D3 11,12 L1,L2 L3 S1 S2,83 MPa 3C-12 M12X1.5 6 32 14
CC-12 M12X1.5 M12X1.5 6 6 12 19 24 12 14 14 3C-14 M14X1.5 8 32 17
CC-14 M14X1.5 M14X1.5 8 8 14 21 25 12 17 17 315 3C-16 M16X1.5 10 33 19 é;;
CC-16 M16X1.5 M16X1.5 10 10 15 22 27 14 19 19 =25 3C-18 M18X1.5 12 34 22 L
CC-18 M18X1.5 M18X1.5 12 12 17 24 30 17 22 22 L 3C-22 M22X1.5 15 38 27
CC-22 M22X1.5 M22X1.5 15 15 21 28 33 19 27 27 3C-26 M26X1.5 18 40 32
CC-26 M26X1.5 M26X1.5 18 18 23.5 31 36 24 32 32 3C-30 M30X2 22 42 36
CC-30 M30X2 M30X2 22 22 27.5 35 40 27 36 36 3C-36 M36X2 28 46 41 16
CC-36 M36X2 M36X2 28 28 305 38 44 36 41 41 5%1%;'] 3C-45 M45X2 35 51 50 Eé?ﬁll
CC-45 M45X2 M45X2 35 35 34.5 45 52.6 41 50 50 L 3C-52 M52X2 42 56 60
CC-52 M52X2 M52X2 42 42 40 51 61 50 60 60 3D-14 M14X1.5 6 32 17
CD-14 M14X1.5 M14X1.5 6 6 16 33 24 12 17 17 3D-16 M16X1.5 8 33) 19 63
CD-16 M16X1.5 M16X1.5 8 8 17 24 26 14 19 19 63 3D-18 M18X1.5 10 35 22 E %]
CD-18 M18X1.5 M18X1.5 10 10 17.5 25 29 17 22 22 Ex3dl 3D-20 M20X1.5 12 36 24 S
CD-20 M20X1.5 M20X1.5 12 12 21.5 29 30 17 24 24 S 3D-22 M22X1.5 14 36 27
CD-22 M22X1.5 M22X1.5 14 14 22 30 33.1 19 27 27 3D-24 M24X1.5 16 39 30
CD-24 M24X1.5 M24X1.5 16 16 245 33 36 24 30 30 3D-30 M30X2 20 44 36 40
CD-30 M30X2 M30X2 20 20 26.5 37 42 27 36 36 E:ﬁll 3D-36 M36X2 25 46 46 E§§U
CD-36 M36X2 M36X2 25 25 30 42 47 36 46 46 s 3D-42 M42X2 30 52 50
CD-42 M42X2 M42X2 30 30 35.5 49 52 41 50 50 3D-52 M52X2 38 55 60 31.56EZ&3%IS
CD-52 M52X2 M52X2 38 38 41 57 60.5 50 60 60 |31.5E#&7%IS
I MEFFERFERSEEITS, WEEKSEM “RN” , #CC-30RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example CC-30RN,




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

S2 11

D1

—/

L4C L4D L4C-RN L4D-RN
=] 1247 THREAD EF5ME TUBE O.D. R~F DIMENSIONS EhEsg
PART NO. E D1 S1 S2 MPa

4C-12 M12X1.5 6 7 14 12 14
4C-14 M14X1.5 8 8 15 14 17 315
4C-16 M16X1.5 10 9 16 17 19

B&7
4C-18 M18X1.5 12 10 17 19 22 L
4C-22 M22X1.5 15 11 18 24 27
4C-26 M26X1.5 18 1.5 19 27 32
4C-30 M30X2 22 13.5 21 32 36 16
4C-36 M36X2 28 14.5 22 41 41

BR7
4C-45 M45X2 35 14.5 25 46 50 L
4C-52 M52X2 42 16 27 55 60
4D-14 M14X1.5 6 " 18 14 17
4D-16 M16X1.5 8 13 20 17 19 63
4D-18 M18X1.5 10 12.5 20 19 22 BRI
4D-20 M20X1.5 12 14.5 22 22 24 S
4D-22 M22X1.5 14 16 24 24 27
4D-24 M24X1.5 16 15.5 24 27 30 40
4D-30 M30X2 20 17.5 28 32 36 EZ7
4D-36 M36X2 25 20 32 38 46 S
4D-42 M42X2 30 20.5 34 46 50
4D-52 M52X2 38 23 39 55 60 31.5E#7%IS

E: MEFFERFEBRBEEITS, WEERSEM “RN” , fM4C-30RN,

Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,it is
necessary to insert suffix “RN” after our part no.,for example 4C-30RN.

B17

0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

L9C L9D

FEMALE PLUG

= 1247 THREAD &F5ME TUBE O.D. R~F DIMENSIONS EHEELg
PART NO. F L1 L2 MPa
9C-12 M12X1.5 6 16.5 17.5 17
9C-14 M14X1.5 8 18 20.5 19 315
9C-16 M16X1.5 10 18.5 21.5 22 -
BR7
9C-18 M18X1.5 12 19 22.5 24 L
9C-22 M22X1.5 15 20.5 23.5 27
9C-26 M26X1.5 18 2345 25.5 32
9C-30 M30X2 22 24.5 28.5 36 16
9C-36 M36X2 28 25 29.5 41
2R
9C-45 M45X2 35 29.5 35 55 L
9C-52 M52X2 42 30.5 37 60
9D-14 M14X1.5 6 18 20.5 19
9D-16 M16X1.5 8 18.5 21.5 22 63
9D-18 M18X1.5 10 19.5 22.5 24 BRI
9D-20 M20X1.5 12 19.5 23.5 27 S
9D-22 M22X1.5 14 20.5 23.5 27
9D-24 M24X1.5 16 21.5 25 30 40
9D-30 M30X2 20 24 28 36
BRI
9D-36 M36X2 25 26.5 29.5 46 S
9D-42 M42X2 30 28 33.5 50
9D-52 M52X2 38 28.5 35.5 60 31.5E 7S

B18




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

AT

11

S

2° m/ 7|7 24° 247
JIE ~/

L6C L6D L6C-LN L6C-RN L6C-LN/RN
L6D-LN L6D-RN L6D-LN/RN
Bl iz

STRAIGHT BULKHEAD FITTINGS

0 ~HIEKXREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
C

-

D2 s

=il

NN

L6C9 L6D9 L6C9-LN L6C9-RN L6C9-LN/RN
L6D9-LN L6D9-RN L6D9-LN/RN

90° TehigRIEL
90° ELBOW BULKHEAD FITTINGS

re 240 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHER
PART NO. E F D1 L1 L2 S1 MPa
6C-12 M12X1.5 | M12X1.5 6 6 7 27 14 34 17 14 17
6C-14 M14X1.5 | M14X1.5 8 8 8 27 15 34 19 17 19 315
6C-16 M16X1.5 | M16X1.5 10 10 10 28 17 35 22 19 22 225
6C-18 M18X1.5 | M18X1.5 12 12 10 29 17 36 24 22 24 L
6C-22 M22X1.5 | M22X1.5 15 15 12 31 19 38 27 27 27
6C-26 M26X1.5 | M26X1.5 18 18 13.5 | 325 21 40 32 32 32
6C-30 M30X2 M30X2 22 22 16.5 | 34:5 24 42 36 36 36 16
6C-36 M36X2 M36X2 28 28 18.57 35.5 26 43 41 41 41 =27
6C-45 M45X2 M45X2 35 35 185 | 36:5 29 47 50 50 55 L
6C-52 M52X2 M52X2 42 42 19 36 30 47 60 60 60
6D-14 M14X1.5 | M14X1.5 6 6 12 29 19 36 19 17 19
6D-16 M16X1.5 | M16X1.5 8 8 13 29 20 36 22 19 22 63
6D-18 M18X1.5 | M18X1.5 10 10 14.5 | 29.5 22 37 24 22 24 HRY
6D-20 M20X1.5 | M20X1.5 12 12 14.5 | 30.5 22 38 27 24 27 S
6D-22 M22X1.5" \M22X1.5 14 14 17 32 25 40 30 27 27
6D-24 M24X1:5, | M24X1.5 16 16 16.5 | 31.5 25 40 32 30 30 40
6D-30 M30X2 M30X2 20 20 17.5 | 33.5 28 44 41 36 36 =27
6D-36 M36X2 M36X2 25 25 20 35 32 47 46 46 41 s
6D-42 M42X2 M42X2 30 30 21.5 | 37.5 35 51 50 50 50
6D-52 M52X2 M52X2 38 38 22 37 38 53 65 60 60 31.56ER3IS
e METHEITS, WEERSEM “LN”, M6C-30LN; MEHFERFERRITER, ERSEM “RN", M6C-30RN;
WMEFHE, FERFEESITE, £KSFEM “LN/RN”, I6C-30LN/RN,
Note: In case if you are interested to order the adapter with lock nut, please insert suffix “LN” after our part number for
example 6C-30LN, order the adapter with cutting ring and nut, insert suffix “RN” affter part no..for axample 6C-30LN,
order the adapter with lock nut, cutting ring and nut, insert suffix “LN/RN” after part no., for example 6C-30LN/RN.

re #2457 THREAD &F5MZE TUBE O.D. R~ DIMENSIONS EHZE
PART NO. E F D1 L1 L2 S MPa
6C9-12 | M12X1.5 | M12X1.5 6 6 12 | 27 | 14 | 19 | 34 | 12 14 17
6C9-14 | M14X1.5 | M14X1.5 8 8 14 | 271 | 17 | 21 34 | 12 17 19 .
6C9-16 | M16X1.5 | M16X1.5 10 10 15 | 28 | 18 | 22 | 35 | 14 19 22 —
6C9-18 | M18X1.5 | M18X1.5 12 12 17 | 29 | 20 | 24 | 36 | 17 22 24 .
6C9-22 | M22X1.5 | M22X1.5 15 15 21 31 23 | 28 | 38 19 27 27
6C9-26 | M26X1.5 | M26X1.5 18 18 235 | 325 | 24 | 31 40\ | 24 32 32
6C9-30 M30X2 | M30X2 22 22 275|345 | 30 | (35 | 42 /| 27 36 36 -
6C9-36 M36X2 | M36X2 28 28 305 | 355 |34 | 38 [ 43/ | /36 41 41 S
6C9-45 M45X2 | M45X2 35 35 345 | 365 39| 45 | 47 | a1 50 55 .
6C9-52 M52X2 | M52X2 42 42 40 || 36| 43 B+ | 47 | 50 60 60
6D9-14 | M14X1.5 | M14X1.5 6 6 16 | 29 | 1727 23 | 36 | 12 17 19
6D9-16 M16X1.5 | M16X1.5 8 8 17 29 18 24 36 14 19 22 63
6D9-18 | M18X1.5 | M18X1.5 10 10 1751295 | 20 | 25 | 37 | 17 22 24 BRI
6D9-20 | M20X1.5 | M20X1.5 12 12 215 | 305 | 21 29 | 38 | 17 24 27 S
6D9-22 | M22X1.5 | M22X1.5 14 14 22 | 32 | 23 | 30 | 40 | 19 27 27
6D9-24 | M24X1.5 1" M24X1.5 16 16 245 | 315 | 24 | 33 | 40 | 24 30 30 20
6D9-30 M30X2 | \M30X2 20 20 265 | 335 | 30 | 37 | 44 | 27 36 36 —
6D9-36 M36X2. | °M36X2 25 25 30 | 35 | 34 | 42 | 47 | 36 46 41 S
6D9-42 M42X2\ [ M42X2 30 30 355 | 375 | 39 | 49 | 51 | 41 50 50
6D9-52 M52X2  |“M52X2 38 38 41 37 | 43 | 57 | 53 | 50 60 60 |31.5EHJIS

F METHEITS, WEEKSEM “LN”, W6C-30LN; METFERFEZEDITH, EREFM “RN”, 6C9-30RN;
EWHE. FERFEESITSE, #KSEM “LN/RN”, 06C-30LN/RN,

Note: In case if you are interested to order the adapter with lock nut, please insert suffix “LN” after our part number for

example 6C-30LN, order the adapter with cutting ring and nut, insert suffix “RN” affter part no..for axample 6C9-30LN,

order the adapter with lock nut, cutting ring and nut, insert suffix “LN/RN” after part no., for example 6C9-30LN/RN.




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

A

e

L8C

ARSI
METRIC LOCK NUT

0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

e #2547 THREAD R ~t DIMENSIONS
PART NO. 3 A St
8C-10 M10X1 6 14
8C-12 M12X1.5 7.5 17
8C-14 M14X1.5 7.5 19
8C-16 M16X1.5 75 22
8C-18 M18X1.5 7.5 24
8C-20 M20X1.5 8 27
8C-22 M22X1.5 8 27
8C-24 M24X1.5 8 30
8C-26 M26X1.5 8 32
8C-27D M27X1.5 10 32
8C-30 M30X2 10 36
8C-30D M30X1.5 10 36
8C-33 M33X2 10 41
8C-36 M36X2 10 41
8C-39 M39X2 10 46
8C-42 M42X2 10 50
8C-45 M45X2 10 55
8C-52 M52X2 10 60

I
L1
24° | 1 |‘ i 5 T ”J
| - T EIRLL
NPT MALE
F
L1CN L1DN L1CN-RN L1DN-RN
re #2457 THREAD Rt DIMENSIONS EHER
PART NO. E F S1 S2 MPa
1CN-12-02 M12X1.5 Z1/8"X27 6 14.4 | 25.5 12 14
1CN-12-04 M12X1.5 Z1/4"X18 6 17.2 30 17 14
1CN-14-04 M14X1.5 Z1/4"X18 8 17.2 30 14 17
1CN-16-04 M16X1.5 Z1/4"X18 10 18.2 31 17 19 o5
1CN-16-06 M16X1.5 Z3/8"X18 10 19.9 33 19 19
B&RY
1CN-18-04 M18X1.5 Z1/4"X18 12 19.2 32 19 22 .
1CN-18-06 M18X1.5 Z3/8"X18 12 19.9 33 19 22
1CN-18-08 M18X1.5 Z1/2"X14 12 21,4 36.5 22 22
1CN-22-08 M22X1.5 Z1/2"X14 15 224 | 375 24 27
1CN-22-20 M22X1.5 | Z1.1/4"X11.5 15 208 | 475 46 27
1CN-26-08 M26X1.5 Z1/2"X14 18 22.9 | 385 27 32
1CN-26-12 M26X1.5 Z3/4"X14 18 224 | 385 30 32
1CN-30-08 M30X2 Z1/2"X14 22 24.9 | 405 32 36
1CN-30-12 M30X2 Z3/41X14 22 24.4 | 405 32 36 16
1CN-36-16 M36X2 Z1"X11.5 28 29.8 | 47.5 41 41 BRI
1CN-36-20 M36X2 Z1.1/4"X11.5 28 31.3 | 495 46 41 L
1CN-45-20 M45X2 Z1.1/4"X11.5 35 30.3 | 51.5 46 50
1CN-52-20 M52X2 Z1.1/4"X11.5 42 31.8 | 53.5 55 60
1CN-52-24 M52X2 Z1.1/2"X11.5 42 32.8 | 54.5 55 60
1DN-14-04 M14X1.5 Z1/4"X18 6 22.2 35 17 17
1DN-16-04 M16X1.5 Z1/4"X18 8 22.2 35 17 19
1DN-18-04 M18X1.5 Z1/4"X18 10 21.7 35 19 22
1DN-18-06 M18X1.5 Z3/8"X18 10 22.4 36 19 22 40
1DN-20-04 M20X1.5 Z1/4"X18 12 237 37 22 24 BRI
1DN-20-06 M20X1.5 Z3/8"X18 12 24.4 38 22 24 S
1DN-20-08 M20X1.5 Z1/2"X14 12 26.4 42 22 24
1DN-22-08 M22X1.5 Z1/2"X14 14 27.4 | 435 24 27
1DN-24-08 M24X1.5 Z1/2"X14 16 26.9 | 43.5 27 30
1DN-30-12 M30X2 Z3/4"X14 20 28.4 | 475 32 36
1DN-36-12 M36X2 Z3/4"X14 25 30.9 | 51.5 41 46 05
1DN-36-16 NI36X2 Z1"X11.5 25 353 | 57.5 | 41 46 R
1DN-42-16 M42X2 Z1"X11.5 30 35.8 | 59.5 46 50 s
1DN-42-20 M42X2 Z1.1/4"X11.5 30 36.3 | 60.5 46 50
1DN-52-24 M52X2 Z1.1/2"X11.5 38 39.8 | 66.5 55 60

i WEFFERFEBREGEEITSE, WEEKSEM “RN” , 11DN-30-12RN,

Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,it is

necessary to insert suffix “RN” after our part no.,for example 1DN-30-12RN.




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

4 L 4 4
F i L 11
T sz N1 N - "
% B ol m a B - H
2 i %E = A, 90" B ESMEL 4 # - | . ‘
] | 51 60°ELBOW NPT MALE L1CT-SP L1CT-SP/RN  ##Esay
o L1 F L1DT-SP s2 L L1DT-SP/RN  BSPTWALE
L1CN9 L1CN9-RN R #2440 THREAD &F5ME TUBE O.D. R~ DIMENSIONS EHZER
L1DN9 L1DN9-RN PART NO. E F S2 L MPa
1CT-12-02SP | M12X1.5 R1/8"X28 6 15 12 14 26
= READ = BE O.D R~r D O 5 1CT-12-04SP | M12X1.5 R1/4"X19 8 16.5 17 14 29.5
PART NO D Pa 1CT-14-04SP | M14X1.5 R1/4"X19 8 16.5 14 17 29.5
1CN9-12-02 M12X1.5 Z1/8"X27 6 13 20 21 11 14 1CT-14-06SP | M14X1.5 R3/8"X19 8 18.6 19 17 32
1CN9-12-04 M12X1.5 Z1/4"X18 6 15,5 | 22.5 | 255 14 14 1CT-16-04SP | M16X1.5 R1/4"X19 10 17.5 17 19 30.5 o5
1CN9-14-04 M14X1.5 Z1/4"X18 8 15,5 | 22.5 | 255 14 17 1CT-16-06SP | M16X1.5 R3/8"X19 10 18.6 19 19 32 42 %75
1CN9-16-06 M16X1.5 Z3/8"X18 10 19 26 31 19 19 2 1CT-16-08SP | M16X1.5 R1/2"X14 10 22.8 22 19 38
1CN9-18-04 M18X1.5 Z1/4"X18 12 19 26 28 19 22 7R3 1CT-16-12SP | M16X1.5 R3/4"X14 10 22.5 30 19 39 -
1CN9-18-06 M18X1.5 Z3/8"X18 12 19 26 31 19 22 L 1CT-18-04SP | M18X1.5 R1/4"X19 12 18.5 19 22 31.5
1CN9-18-08 M18X1.5 Z1/2"X14 12 21 28 36.5 22 22 1CT-18-06SP | M18X1.5 R3/8"X19 12 18.6 19 22 32
1CN9-22-06 M22X1.5 Z3/8"X18 15 22 29 32.5 22 27 1CT-18-08SP | M18X1.5 R1/2"X14 12 21.8 22 22 37
1CN9-22-08 M22X1.5 Z1/2"X14 15 22 29 36.5 22 27 1CT-22-08SP | M22X1.5 R1/2"X14 18 22.8 24 27 38
1CN9-26-08 M26X1.5 Z1/2"X14 18 25.5 33 40 27 32 1CT-26-08SP | M26X1.5 R1/2"X14 18 23.3 27 32 39
1CN9-26-12 M26X1.5 Z3/4"X14 18 25.5 33 44 27 32 1CT-26-12SP | M26X1:5 R3/4"X14 18 22 30 32 39
1CN9-30-12 M30X2 Z3/4"X14 22 29.3 | 36.8 45 30 36 16 1CT-30-12SP M30X2 R3/4"X14 22 25 32 36 42
1CN9-30-16 M30X2 Z1"X11.5 22 32 39.5 50 33 36 BR5 1CT-36-16SP M36X2 R1"X11 28 29.6 38 41 47.5 16
1CN9-36-16 M36X2 Z1"X11.5 28 33 40.5 | 515 36 41 L 1CT-36-20SP M36X2 R1.1/4"X11 28 32.8 46 41 53 B&R7l
1CN9-45-20 M45X2 Z1.1/4"X11.5 35 39 49.5 58.5 48 50 1CT-45-16SP M45X2 R1"X11 35 29.6 46 50 50.5 L
1CN9-52-24 M52X2 Z1.172"X11.5 42 40.5 | 51.5 61 50 60 1CT-45-20SP M45X2 R1.1/4"X11 35 31.8 46 50 55
1DN9-14-04 M14X1.5 Z1/4"X18 6 17.5 24.5 25.5 14 17 1CT-52-20SP M52X2 R1.1/4"X11 42 29.8 55 60 535
1DN9-16-04 M16X1.5 Z1/4"X18 8 18.5 25.5 26.5 16 19 1CT-52-24SP M52X2 R1.1/2"X11 42 29.8 55 60 53.5
1DN9-18-06 M18X1.5 Z3/8"X18 10 19.5 27 31 19 22 1DT-14-04SP | M14X1.5 R1/4"X19 6 21.5 17 17 34.5
1DN9-20-04 M20X1.5 Z1/4"X18 12 19.5 27 28 19 24 40 1DT-16-04SP | M16X1.5 R1/4"X19 8 21.5 17 19 34.5
1DN9-20-06 M20X1.5 Z3/8"X18 12 19.5 27 31 19 24 BRI 1DT-18-04SP | M18X1.5 R1/4"X19 10 21 19 22 34.5
1DN9-22-06 M22X1.5 Z3/8"X18 14 23 31 38 22 27 S 1DT-20-04SP | M20X1.5 R1/4"X19 12 23 22 24 36.5 40
1DN9-22-08 M22X1.5 Z1/2"X14 14 23 31 36.5 22 27 1DT-20-06SP | M20X1.5 R3/8"X19 12 23.1 22 24 37 BRY
1DN9-24-06 M24X1.5 Z3/8"X18 16 24 325 34 24 30 1DT-22-06SP | M22X1.5 R3/8"X19 14 24.6 24 27 39 S
1DN9-24-08 M24X1.5 Z1/2"X14 16 24 32.5 | 375 24 30 1DT-22-08SP | M22X1.5 R1/2"X14 14 27.8 24 27 44
1DN9-30-08 M30X2 Z1/2"X14 20 28 38.5 41 30 36 1DT-24-06SP | M24X1.5 R3/8"X19 16 24 1 27 30 39
1DN9-30-12 M30X2 Z3/4"X14 20 28 38.5 45 30 36 1DT-24-08SP | M24X1.5 R1/2*X14 16 27.3 27 30 44
1DN9-36-12 M36X2 Z3/4"X14 25 32.5 | 44.5 49 36 46 o5 1DT-30-12SP M30X2 R3/4"X14 20 28 32 36 48
1DN9-36-16 M36X2 Z1"X11.5 25 32.5 | 445 | 515 36 46 — 1DT-36-12SP M36X2 R3/4"X14 25 28.5 38 46 50
1DN9-42-16 M42X2 Z1"X11.5 30 36 49.5 | 545 41 50 1DT-36-16SP M36X2 R1"X11 25 33.1 38 46 55.5 25
1DN9-42-20 M42X2 Z1.1/4"X11°5 30 36 49.5 | 545 41 50 S 1DT-42-16SP M42X2 R4"X11 30 35.6 46 50 59.5 BRI
1DN9-52-20 M52X2 Z1 114" X11.5 38 39.5 | 55.5 | 58.5 48 60 1DT-42-20SP M42X2 R1.1/4"X11 30 34.3 46 50 60.5 S
1DN9-52-24 M52X2 Z1.1/2"X11.5 38 415 | 57.5 61 50 60 1DT-52-20SP M52X2 R1.1/4"X11 38 36.8 55) 60 65.5
TNBBFERFERBRETE, WHERSEM RN, 110N-30-12RN, 1DT-52-248P | M52X2 | R1.1/72°XM %8 %8 | 55 | 60 | 655
Note:In case if you are interested to orde the adapter in complete set with cutting ring and nut,it is necessary i NMEHFERFEEGEEITE, WBEERSEM “RN” , t01DT-22-08SP/RN,
toinset suffix “RN” after our partno., for example 1CN-30-12RN . Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,it is
necessary to insert suffix “RN” after our part no.,for example 1DT-22-08 SP/RN.




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

. 4 .
F
R B
y L1 11
B " g 90° TWHHEHIMBLL NK
~/ L1CT9-SP | L1CT9-SP/RN  90° ELBOW BSPTMALE ol N -
-t L1DTO-SP L1DTI-SP/RN ] . J A HISMBSUER 1SO 6149
e #2457 THREAD &F5M& TUBE O.D. R~t DIMENSIONS EHEg 5 sl METRIC THREAD STUD ENDS ISO 6149
PART NO. F D L2 S1 MPa
1CT9-12-02SP | M12X1.5 R1/8"X28 6 13 20 21 11 14 L1CH L1DH P1CH-RN P1DH-RN
1CT9-12-04SP | M12X1.5 R1/4"X19 6 16.5 23.5 285 14 14
1CT9-14-02SP | M14X1.5 R1/8"X28 8 15.5 22.5 23.5 14 17 re #2457 THREAD BEFHMEDA o ¥ B R~ DIMENSIONS EHER
1CT9-14-04SP | M14X1.5 R1/4"X19 8 185 22.5 2585 14 17 PART NO. E F TUBE O.D. O-RING L1 S1 MPa
1CT9-16-04SP | M16X1.5 R1/4"X19 10 17.5 245 265 16 19 1CH-12-10 M12X1.5 M10X1 6 008.1X1.6 8.5 9.5 25 14 14
1CT9-16-06SP | M16X1.5 R3/8"X19 10 17.5 24.5 28.5 16 19 25 1CH-14 M14X1.5 M14X1.5 8 011.3X24 11 10 28 19 17
1CT9-16-08SP | M16X1.5 R1/2"X14 10 21 28 36 22 19 BRI 1CH-14-12 M14X1.5 M12X1.5 8 009.3X2.4 11 10 28 17 17
1CT9-18-04SP | M18X1.5 R1/4"X19 12 19 26 28 19 22 L 1CH-16-14 M16X1.5 M14X1.5 10 011.3X2.4 11 11 29 19 J9
1CT9-18-06SP | M18X1.5 R3/8"X19 12 19 26 30 19 22 1CH-18-14 M18X1.5 M14X1.5 12 011.3X2.4 11 11 29 19 22
1CT9-18-08SP | M18X1.5 R1/2"X14 12 24 28 36 22 22 1CH-14-18 M14X1.5 M18X1.5 8 015.3X2.4 126 | 111.% 31 24 17
1CT9-22-06SP | M22X1.5 R3/8"X19 15 22 29 32 22 27 1CH-16 M16X1.5 M16X1.5 10 013.3X2.4 1.5 | 12.5 31 22 19
1CT9-22-08SP | M22X1.5 R1/2"X14 1% 22 29 36 22 27 1CH-16-18 M16X1.5 M18X1.5 10 0153X2.4 1215 | 1275 32 24 19 315
1CT9-22-12SP | M22X1.5 R3/4"X14 15 25.5 32.5 43.5 27 27 1CH-18-16 M18X1.5 M16X1.5 12 018.3X24 1.5 12.5 31 22 22 7 %3
1CT9-26-08SP | M26X1.5 R1/2"X14 18 25.5 33 39.5 27 32 1CH-22-16 M22X1.5 M16X1.5 15 013.3X2.4 11.5 | 13.5 32 24 27 L
1CT9-26-12SP | M26X1.5 R3/4"X14 18 25.5 33 43.5 27 32 1CH-22-18 M22X1.5 M18X1.5 15 015.3X2:4 12.5 | 13.5 33 24 27
1CT9-30-12SP M30X2 R3/4"X14 22 29.3 36.8 45.3 30 36 16 1CH-16-22 M16X1.5 M22X1.5 10 019.3X2.4 13 14 34 27 19
1CT9-30-16SP | "M30X2 R1"X11 22 32 39.5 50 33 36 p— 1CH-22-20 M22X1.5 | M20X1.5 15 017.3X24 12 15 34 27 27
1CT9-36-16SP M36X2 R1"X11 28 33 40.5 52 36 41 L 1CH-22 M22X1.5 M22X1.5 15 019.3X2.4 13 15 35 27 27
1CT9-36-20SP M36X2 R1.1/4"X11 28 38.7 46.2 57 41 41 1CH-26-22 M26X1:5 M22X1.5 18 019.3X2.4 13 14.5 35 27 32
1CT9-45-20SP M45X2 R1.1/4"X11 35 39 49.5 61 48 50 1CH-26 M26X1.5 M26X1:5 18 023.5X3.0 13.5 | 14.5 | 35.5 32 32
1CT9-52-24SP M52X2 R1.1/2"X11 42 38.7 49.7 62.2 48 60 1CH-26-27 M26X1.5 M27X2 18 023.5X3.0 16 14.5 38 32 32
1DT9-14-04SP | M14X1.5 R1/4"X19 6 17.5 24.5 2575 14 17 1CH-26-33 M26X1.5 M33X2 18 029.5X3.0 16 188 39 41 32
1DT9-16-04SP | M16X1.5 R1/4"X19 8 18.5 | 25,57| 265 16 19 1CH-30-22 M30X2 M22X1.5 22 019.3X24 13 16.5 | 37 32 36
1DT9-18-06SP | M18X1.5 R3/8"X19 10 19.5 27 30:5 19 22 1CH-30-27 M30X2 M27X2 22 023.5X3.0 16 16.5 40 32 36
1DT9-20-04SP | M20X1.5 R1/4"X19 12 19.5 27 28 19 24 40 1CH-30 M30X2 M30X2 22 026.5X3.0 16 | 17.5 | 41 36 36
1DT9-20-06SP | M20X1.5 R3/8"X19 12 19.5 27 30.5 19 24 BRI 1CH-36-27 M36X2 M27X2 28 023.5X3.0 16 177 40.5 41 44 16
1DT9-22-06SP | M22X1.5 R3/8"X19 14 23 31 32.5 22 27 S 1CH-36-33 M36X2 M33X2 28 029.5X3.0 16 17.5 41 41 41 BRI
1DT9-22-08SP | M22X1.5 R1/2"X14 14 23 31 36 22 27 1CH-36-42 M36X2 M42X2 28 038.5X3.0 16 18.5 42 50 41 L
1DT9-24-06SP | M24X1.5 R3/8"X19 16 24 32.5 33.5 24 30 1CH-45-33 M45X2 M33X2 35 029.5X3:0 16 17.5 44 46 50
1DT9-24-08SP | M24X1.5 R1/2"X14 16 24 32.5 37.5 24 30 1CH-45-42 M45X2 M42X2 35 038.5X3.0 16 125 44 50 50
1DT9-30-08SP M30X2 R1/2"X14 20 28 38.5 41 30 36 1CH-52-48 M52X2 M48X2 42 044.5X3.0 17.5 19 | 475 55 60
1DT9-30-12SP M30X2 R3/4"X14 20 28 38.5 45 30 36 1DH-14 M14X1.5 M14X1.5 6 011.3X24 11 15 33 19 17
1DT9-36-12SP M36X2 R3/4"X14 25 32.5 44.5 49 36 46 05 1DH-14-12 M14X1.5 M12X1.5 6 009,3X2.4 11 13 31 17 17
1DT9-36-16SP M36X2 R1'X11 25 32.5 44.5 52.5 36 46 = %5 1DH-16-14 M16X1.5 M14X1.5 8 011.3X2.4 11 15 33 19 19 63
1DT9-42-16SP | \M42X2 R1"X11 30 36 49.5 55 41 50 s 1DH-18-16 M18X1.5 | M16X1.5 10 013.3X24 1.5 | 15 34 22 22 %3
1DT9-42-20SP M42X2 R1.1/4"X11 30 36 49.5 57 41 50 1DH-20-14 M20X1.5 M14X1.5 12 011.3X2.4 11 15 33.5 22 24 s
1DT9-52-20SP M52X2 R1.1/4"X11 38 41.5 57.5 60 50 60 1DH-20-16 M20X1.5 M16X1.5 12 013.3X2.4 11.5 15 34 22 24
1DT9-52-24SP M52X2 R1.1/2"X11 38 41.5 57.5 61 50 60 1DH-20-18 M20X1.5 M18X1.5 12 015.3X2.4 12.5 17 37 24 24
E: mESFERFEREGEEITR, WBEERSHEM “RN” , fM1CT9-30-12SP/RN, 1DH-20-22 | M20X1.5"]-M22X1.5 12 019.3X2.4 13 | 175 | 38 | 27 24
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1CT9-30-12SP/RN, PR




0 ~Elgy-REEL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS
L

45° N HISMRGIATE E A RISO 6149

45° ELBOW MALE
ADJUSTABLE STUD END ISO 6149

Pz Ll
L1CH4-0G L1CH4-0G/RN
e #4 THREAD BEFIMEDT o m R~ DIMENSIONS s L1DH4-06G L1DH4-OG/RN
PART NO. = F TUBE O.D. O-RING L1 S1 MPa rR= 124 THREAD EF5MEDA o R~ DIMENSIONS EAHEg
1DH-24-22 M24X1.5 M22X1.5 16 019.3X2.4 13 18.5 | 40 27 30 PART NO. E F TUBE O.D. O-RING L1 L2 S1 MPa
1DH-30 M30X2 M30X2 20 026.5X3.0 16 | 20-57) 147 36 36 1CH4-12-100G M12X1.5 | M10X1 6 008.1X1.6| 10 25 | 255 | M 14 14
1DH-30-27 M30X2 M27X2 20 023.5X3.0 16/ |/20.5/ /47 32 36 1CH4-14-120G M14X1.5 | M12X1.5 8 009.3X2.4| 11 26 30 14 17 17
1DH-30-33 M30X2 M33X2 20 029.5X3.0 16 | 22:5/-49 41 36 40 1CH4-16-140G M16X1.5 | M14X1.5 10 011.3X2.4| 12.3 | 27.3 | 30.5- 16 19 19 $;1¥5§IJ
1DH-36-27 M36X2 M27X2 25 023.5X3.0 16 23 51 41 46 R3] 1CH4-18-160G M18X1.5 | M16X1.5 12 013.3X2.4| 13 28 34 19 22 22 L
1DH-36-33 M36X2 M33X2 25 029.5X3.0 16 23 51 41 46 S 1CH4-22-180G M22X1.5 | M18X1.5 15 015.3X2.4| 15 30 32 22 27 24
1DH-42 M42X2 M42X2 30 038.5X3.0 16 | 23.5 | 53 50 50 1CH4-26-220G M26X1.5 | M22X1.5 18 019.3X2.4| 16.5 || 33 | 40.5/| 27 32 27
1DH-42-48 M42X2 M48X2 30 044.5X3.0 17.5 | 26.5 | 57.5 | 55 50 1CH4-30-270G M30X2 M27X2 22 023.5X3.0119.7 | 136.2 | 48 30 36 32 16
. MESRERFEEESESITE, WSEREEM “RN” , W1DH-20-18RN, 1CH4-36-330G M36X2 M33X2 28 029.5X30 | 21.5 387 | 425 | 36 41 41 BR5
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis 1CH4-45-420G M45X2 | M42X2 35 038.5X3.0| 25,57 47 48 48 50 50 L
necessary to insert suffix “RN” after our part no.,for example 1DH-20-18RN. 1DH4-14-120G M14X1.5 | M12X1.5 6 009.3X2.4+ 13 28 30 14 17 17
1DH4-16-140G M16X1.5 | M14X1.5 8 011.3X2.4| 13.3 | 28.3 | 30.5 | 16 19 19
1DH4-18-160G M18X1.5 | M16X1.5 10 013.3X2.4| 13.5 | 30 34 19 22 22 40
1DH4-20-180G M20X1:5| M18X1.5 12 015.3X2.4| 13.5 | 30 37 19 24 24 E:‘ZJU
1DH4-24-220G M24X1.5 \M22X1.5 16 019.3X2.4| 16.2 | 34.7 | 40 24 30 27
1DH4-30-270G M30X2 M27X2 20 023.5X3.0| 18.7 | 40.2 | 48 30 36 32
1DH4-36-330G M36X2 M33X2 25 029.5X30 | 21 45 | 49.5 | 36 46 41 31.5E#&7%IS
1DH4-420G M42X2 M42X2 30 038.5X3.0| 24.3 | 50.8 | 54 41 50 50 25E R 5IS
E: WEFFERTERSERITSE, WHEEKSEM “RN” , M1CH4-30-270G/RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1CH4-30-270G/RN,

B27 B28




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS
B

F
|

N SMNESRTE E A RISO 6149 EX =38

90° WA HIIMRL AT IHISO 6149

w | o 90° ELBOW METRIC THREAD ADJUSTABLE METRIC MALE ADJUSTABLE
| STUD ENDS ISO 6149 STUD END ISO 6149 RUN TEE
LACCH-0G LACCH-OG/RN
L1CH9-0G L1CH9-0OG/RN LADDH-0OG LADDH-OG/RN
L1DH9-0G L1DH9-OG/RN
re 247 THREAD EFHMEDID2 O B R~ DIMENSIONS EHER
R 247 THREAD & FHMED o ¥ B R~ DIMENSIONS EhHER PART NO. E,F (€ TUBE O.D. O-RING L1,L2 L3 S1 82,S3 MPa
PART NO. E F TUBE O.D. O-RING |1 L1 L2 S1 MPa ACCH-12-12-100G | M12X1.5| M10X1 6 008.1X1.6| 13 28 | 26.5 | 11 14 14
1CH9-12-100G M12X1.5 | M10X1 6 008.1X1.6| 13 28 | 265 | M 14 14 ACCH-14-14-120G | M14X1.5 | M12X1.5 8 009.3X2.4| 15.5 | 30.5 | 32.5 | 14 17 17 315
1CH9-14-120G M14X1.5 | M12X1.5 8 009.3X2.4| 15.5 | 30.5 | 325 | 14 17 17 315 ACCH-16-16-140G | M16X1.5 | M14X1.5 10 011.3X2.4| 17.5 | 32.5 | 34 16 19 19 2% 5
1CH9-16-140G M16X1.5 | M14X1.5 10 011.3X2.4| 17.5 | 32.5 | 35.3 | 16 19 19 227 ACCH-18-18-160G | M18X1.5 | M16X1.5 12 013.3X2.4| 19 34 36 19 22 22 L
1CH9-18-160G M18X1.5 | M16X1.5 12 013.3X2.4| 19 34 36 19 22 22 L ACCH-22-22-180G | M22X1.5 | M18X1.5 15 015.3X2.4| 22 371 | 39.57 22 27 24
1CH9-22-180G M22X1.5 | M18X1.5 15 015.3X2.4| 22 37 | 39.51722 27 24 ACCH-26-26-220G | M26X1.5 | M22X1.5 18 019.3X2.4| 25:5 || 42 | 43.5 | 27 32 27
1CH9-26-220G M26X1.5 | M22X1.5 18 019.3X2.4| 25.5 |,742 | 43.5 | 27 32 27 ACCH-30-30-270G | M30X2 | M27X2 22 023.5X3:0| 29.5- 45.8 | 50 30 36 32 16
1CH9-30-270G M30X2 M27X2 22 023.5X3.0|.29.57| 45.8 | 50 30 36 32 16 ACCH-36-36-330G | M36X2 | M33X2 28 029.5X3.0| 333 |{49.8 " 54 36 41 41 BARIIL
1CH9-36-330G M36X2 M33X2 28 029.5X3.011 33.2 49.8' 54 36 41 41 BRIL ADDH-14-14-120G | M14X1.5 | M12X1.5 6 009.3X2.4| 17,5 | 325 | 32.5 | 14 17 17
1DH9-14-120G M14X1.5 | M12X1.5 6 009.3X2.4|17.5 | 325 | 32 14 17 17 ADDH-16-16-140G | M16X1.5 | M14X1.5 8 011:3X2.4+18.5 | 33.7 | 33.5 | 16 19 19 63
1DH9-16-140G M16X1.5 | M14X1.5 8 011.3X2.4|,18.6 | 33.7 | 34 16 19 19 ADDH-18-18-160G | M18X1.5 | M16X1.5 10 013.3X2.4| 19.5 | 36 36 19 22 22 ER7
1DH9-18-160G M18X1.5 | M16X1.5 10 013.3X2.41 19.5 | 36 36 19 22 22 E:ﬁﬂ ADDH-20-20-180G | M20X1.5|-M18X1.5 12 015.3X2.4| 19.5 | 36 37 19 24 24 S
1DH9-20-180G M20X1.5 | M18X1.5 12 015:3X2.4| 19.5 | 36 37 19 24 24 s ADDH-24-24-220G | M24X1\5 \M22X1.5 16 019.3X2.4| 24 42 41 24 30 27
1DH9-22-200G M22X1.5 | M20X1.5 14 017.3X2.4| 23.5 | 41 | 405 | 22 27 27 ADDH-30-30-270G | M30X2 \|.'M27X2 20 023.5X3.0| 28.3 | 49.8 | 50 30 36 32 40
1DH9-24-220G M24X15 || M22X1.5 16 019.3X2.4| 24 42 41 24 30 27 ADDH-36-36-330G | M36X2-| -M33X2 25 029.5X3.0| 32.8 | 56.8 | 54 36 46 41 BRI
1DH9-30-270G M30X2 1|\ M27X2 20 023.5X3.0| 28.5 | 49.8 | 50 30 36 32 40 ADDH-420G M42X2 | M42X2 30 038.5X3.0| 36.2 | 62.7 | 57.2 | 41 50 50 S
1DH9-36-330G | MS36X3 ~“M33%2 22 QESS G| G2 | SEE | aw | e | 4B | 4l BRI E: MBHFERFEBRSEEITH, WEENRSFEM “RN” , MACCH-30-30-270G/RN,
1DH9-420G M42X2 M42X2 30 038.5X3.0| 36 | 62.7 | 57.2 | 41 50 50 S Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
d: MEHRER FEEEEEITE, WBEERSEM “RN” , 411DH9-20-180G/RN, necessary to insert suffix “RN” after our part no.,for example ACCH-30-30-270G/RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1DH9-20-180G/RN,




0 ~ENEY-REEL METRIC THREAD BITE TYPE TUBE ADAPTERS
——

0 2HEIBENREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
——

o) ) |

T

- REBY OF B Z %

D1

NI SNZEGRTE A RISO 61490 X = i@

LS e 57 ‘57 METRIC MALE ADJUSTABLE STUD 1 e T e
i 'L_z'l “1'"'"*_&' B & END ISO 6149 BRANCH TEE L1CG — o L1CG-RN WITH O-RING SEALING
L1DG 52 L1DG-RN
LACHC-0G LACHC-OG/RN :
LADHD-0OG LADHD-OG/RN ®e 24 THREAD R~t DIMENSIONS EHE

PART NO. E F S1 MPa

re 8B4 THREAD  &F5MEDI,D2 O W H R~ DIMENSIONS EHEG 1CG-12-02 M12X1.5 G1/8"X28 6 9.5 | 105 | 27 14 14
PART NO. EG . e oo | erne O BEREERE i 1CG-12-04 | M12X1.5 | G1/4"X19 6 1 | 95 |275] 19 | 14
ACHC-12-10-120G | M12X1.5 | M10X1 6 008.1X1.6| 13 | 28 |265| 11 |44 | 14 1CG-14-04 | M14X15 | G1/4™X19 8 m | 10 | 28 | 19 17
ACHC-14-12-140G | M14X1.5 | M12X1.5 8 009.3X2.4| 15.5 | 30.5 | 32 | 14 17 | 17 ECRIANE e | G il g 1.5 | 11,5 | 80 ,C22¥] A7
ACHC-16-14-160G | M16X1.5 | M14X1.5 10 011.3X2.4| 17 | 325| 3446/ 19 | 19 315 1CG-14-08 | M14X15 | G1/2'X14 8 4 | 13 84 27 | 7
ACHC-18-16-180G | M18X1.5 | M16X1.5 12 013.3x2.4| 19 | 34 36 | 19\ | 22 | 22 #R7l 1CG-16-04 | M16X1.5 | G1/4™19 10 10 _ A2 | 391 1IN 49
ACHC-22-18-220G | M22X1.5 | M18X1.5 15 015.3x2.4| 22 | |37 |-39.5 | 22 | 27 | 24 : 1CC-16-06 | M16X1.5 | G3/8"X19 10 M| 125 | 3]/ 22 | 19 315
ACHC-26-22-260G | M26X1.5 | M22X1.5 18 019.3x2.4(255 | |42 ([ 43l5 |/ 27 | 32 | 27 1CC-16-08 | M16X1.5 | G1/2'X14 10 || 1 35| 27 | 19 eR3
ACHC-30-27-300G | M30X2 | M27X2 22 0235X30) 295 | 458 | 50 | 30 | 36 | 32 16 1CG-18:06 | M18X15 | G3/8"X19 12 5| 1267 31 | 22 | 22 L
ACHC-36-33-360G | M36X2 | M33X2 28 029.5X3.01/33.3 | 498 | 54 | 36 | 41 | 41 BRIIL [CEHiets | aiadle | CliEntic 12 j4 1 14 | 36 | 27 | 22
ADHD-14-12-140G | M14X1.5 | M12X1.5 6 009.3x2.4| 475 | 325 | 32 | 14 | 17 | 17 1CG-22-06 | M22X1.5 | G8/8"X19 15 "S5 | 135 32 | 24 | 27
ADHD-16-14-160G | M16X1.5 | M14X1.5 8 o11.3x2.4| 187337 | 34 | 16 | 19 | 19 63 1oeeate | WEils | GilEge Ap 4 | 15 | 36 | 27 | 27
ADHD-18-16-180G | M18X1.5 | M16X1.5 10 013.3x2.4| 195 | 36 | 36 | 19 | 22 | 22 EZ5 10G-22-12 | M22X1.5 Z1\G3/4"X14 15 155 | 20 | 425 | 32 | 27
ADHD-20-18-200G | M20X1.5 | M18X1.5 12 015.3X2.4| 195 | 36 | 37 | 19 | 24 | 24 s 1CG-26-08 | M26Lo\\\P GN2"X14 e 6| e |96 |2 | &=
ADHD-24-22-240G\M24X1.5 | M22X1:5 16 019.3x2.4| 24 | 42 | 375 24 | 30 | 27 106-26-12 | M26X(® \, \CHXX 18 155 | 145 | 37.5 | 32 | 32
ADHD-30-27-300G. |\ M30X2,\| M27X2 20 023.5X3.0| 28.3 | 49.8 | 50 | 30 | 36 | 32 40 1CG-30-12 M30X2 L8414 22 90 | | & &2 | o
ADHD-36-33-3606G | -M36X2 | M33X2 25 029.5X3.0| 32.8 | 56.8 | 54 | 36 | 46 | 41 EE5 1CG-30-16 M30X2 G1X11 22 8 | 175 ] 43 | 41 | 36
ADHD-420G M42X2 | M42x2 30 038.5X3.0| 36.2 | 62.7 | 57.2 | 41 | 50 | 50 s 1CG-36-16 M36X2 GI™X11 28 M I I I I I 16

E: MEHEFERFERSGEERITS, WEERSEM “RN” , WACHC-30-27-300G/RN, 166-45-20 maox2 eriaxm % 20 1195 | 50 %0 = =R
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis G Caoes20 RO SRS 42 20 1 ol 55 0 L
necessary to insert suffix “RN” after our part no.,for example ACHC-30-27-300G/RN, 1CG-52-24 M52X2 G1.1/2"X11 42 215 | 19 | 515 | 55 60

1CG-52-32 M52X2 G2"X11 42 245 | 25 | 605 | 70 |60

1DG-14-04 | M14X15 | G1/4"X19 6 10 | 15 | 32 |19 a7

1DG-16-04 | M16X1.5 | G1/4"X19 8 1 | 15 |33 19 | 19

1DG-18-04 | M18X1.5 | G1/4"X19 10 1 | 145 | 33 | A9/ 22

1DG-18-06 | M18X1.5 | G3/8"X19 10 15| 15 | 34 /22 | 22 63

1DG-20-06 | M20X1.5 | G3/8"X19 12 1.5 15 | 34| 22 | 24 ER7

1DG-20-08 | M20X1.5 | G1/2'X14 12 14 | 1257 39 | 27 | 24 s

10G-22-06 | M22X1.5 | G3/8"X19 14 115 | 16 | 355 | 24 | 27

1DG-22-08 | M22X1.5 | G1/2"X14 14 14 | 19 | 41 | 27 | 27

1DG-24-04 | M24X1.5 | GA/4"X19 16 1 | 17 | 365 | 27 | 30

10G-24-08 | M24X1.5| \G1/2"X14 16 14 | 185 | 41 | 27 | 30

1DG-30-12 M30X2 GoI4"X 14 20 155 | 205 | 46,5 | 32 | 36 40

1DG-36-12 M36X2 G3MUX14 25 155 | 23 | 505 | 41 | 46 £

1DG-36-16 M36X2 G1"X11 25 18 | 23 | 53 | 41 | 46 .

1DG-42-16 M42X2 G1X11 30 18 | 235 | 55 | 46 | 50

1DG-42-20 M42X2 | G1.1/4"X11 30 20 | 235 | 57 | 50 | 50

1DG-52-24 M52X2 | G1.1/2"X11 38 215 | 26 | 635 | 55 | 60 31.5E R3S

. MBFFERFERBEEITE, NEERSEM RN’ , M1DG-20-080RN,

Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis

necessary to insert suffix “RN” after our part no.,for example 1DG-20-08RN.




0 ~FNENREEL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

45° LEE R GAIE O B % £ 1F i

45° ELBOW BSP THREAD ADJUSTABLE
STUD ENDS WITH O-RING SEALING

90° EREBL WA @O B % H i in

90° ELBOW BSP THREAD ADJUSTABLE
STUD ENDS WITH O-RING SEALING

L1CG4-0G L1CG4-0G/RN L1CG9-0G L1CG9-0G/RN
L1DG4-0G L1DG4-O0G/RN L1DG9-0G L1DG9-0OG/RN
re 124 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EAZER ! 1247 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHZR
PART NO. E F D1 L1 L2 S1 MPa PART NO. E F L2 S1 MPa
1CG4-12-020G| M12X1.5 G1/8"X28 6 10 25 24 11 14 14 1CG9-12-020G| M12X1.5 G1/8"X28 6 13 28 26.2 11 14 14
1CG4-14-040G| M14X1.5 G1/4"X19 8 11 26 27 14 17 19 1CG9-14-040G| M14X1.5 G1/4"X19 8 15.5 | 30.5 | 31.3 14 17 19
1CG4-16-040G| M16X1.5 G1/4"X19 10 12 27.3 27 16 19 19 315 1CG9-16-040G| M16X1.5 G1/4"X19 10 17.5 | 32.5 | 32.5 16 19 19 315
1CG4-16-060G| M16X1.5 G3/8"X19 10 12.3 | 27.3 30 16 19 22 2575 1CG9-16-060G| M16X1.5 G3/8"X19 10 17.5 | 32.5 | 35.8 16 19 22 =55
1CG4-18-060G| M18X1.5 G3/8"X19 12 13 28 31 19 22 22 L 1CG9-18-060G| M18X1.5 G3/8"X19 12 19 34 37 19 22 22 L
1CG4-22-080G| M22X1.5 G1/2"X14 15 15 30 36 22 27 27 1CG9-22-080G| M22X1.5 G1/2"X14 18 22 37 43.2 22 27 27
1CG4-26-080G| M26X1.5 G1/2"X14 18 16.5 33 37.5 27 32 27 1CG9-26-080G| M26X1.5 G1/2"X14 18 25.5 42 46 27 32 27
1CG4-26-120G| M26X1.5 G3/4"X14 18 16.5 33 42 27 32 32 1CG9-26-120G| M26X1.5 G3/4"X14 18 25.5 42 49.3 27 32 32
1CG4-30-120G M30X2 G3/4"X14 22 19.5 | 36.2.142.5 30 36 32 16 1CG9-30-120G M30X2 G3/4"X14 22 29.5-1 45.8 52 30 36 32
1CG4-36-160G M36X2 G1"X11 28 21.5 38 44.5 36 41 41 BRI 1CG9-30-160G M30X2 G1"X11 22 315 48 53 33 36 41
1CG4-45-200G M45X2 G1.1/4"X11 35 255 47 50.5 48 50 50 L 1CG9-36-160G M36X2 G1"X11 28 33 49:8 56 36 41 41 $:’é§§']
1DG4-14-040G| M14X1.5 G1/4"X19 6 13 28 27 14 17 19 1CG9-36-200G M36X2 G1.1/4"X11 28 36 52.8 59 41 41 50 L
1DG4-16-040G| M16X1.5 G1/4"X19 8 13 28.3 27 16 19 19 63 1CG9-45-200G M45X2 G1.1/4"X11 35 39 60.7 63 48 50 50
1DG4-18-060G| M18X1.5 G3/8"X19 10 18.8 30 31 19 22 22 FRY 1CG9-52-240G M52X2 G1.1/2"X11 42 40.5 | 63.8 | 64.5 48 60 55]
1DG4-20-060G| M20X1.5 G3/8"X19 12 13.5 30 31 19 24 22 S 1DG9-14-040G| M14X1.5 G1/4"X19 6 17.5 | 32.5 | 31.3 14 17 19
1DG4-22-080G| M22X1.5 G1/2"X14 14 16.3 | 34.3 36 22 27 27 1DG9-16-040G| M16X1.5 G1/4"X19 8 18.5 | 33.7 | 32.5 16 19 19
1DG4-24-080G| M24X1.5 G1/2"X14 16 16 34.7 | 36.5 24 30 27 20 1DG9-16-060G| M16X1.5 G3/8"X19 8 18.7 | 33.7 | 35.8 16 19 22 E:?U
1DG4-30-120G M30X2 G3/4"X14 20 18.7 | 40.2 | 42.5 30 36 32 S 1DG9-18-060G| M18X15 G3/8"X19 10 19.5 36 36.8 19 22 22 s
1DG4-36-160G M36X2 G1"X11 25 21 45 44.5 36 46 41 s 1DG9-20-060G| M20X1.5 G3/8"X19 12 19.5 36 37 19 24 22
1DG4-42-200G M42X2 G1.1/4"X11 30 24.3 | 50.8 | 47.5 41 50 50 1DG9-22-080G| M22X1.5 G1/2"X14 14 23.5 41 43.2 22 27 27
I MEFTFERFERSGEEITSE, WEEKSEM “RN” , #1CG4-30-120G/RN, 1DG9-24-080G |  M24X1.5 G1/2"X14 16 24 | 425 | 43 24 30 27 40
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis 1DG9-30-120G M30X2 G3/4"X14 20 28 49.5 52 30 36 32
necessary to insert suffix “RN” after our part no.,for example 1CG4-30-120G/RN, 1DG9-36-160G M36X2 G1"X11 25 325 | 56.8 56 36 46 41 ERT
1DG9-42-200G M42X2 G1.1/4"X11 30 36.2 | 62.7 58 41 50 50 S
1DG9-52-240G M52X2 G1.1/2"X11 38 415 | 72.8 | 63.5 50 60 55 |[31.5E&R7%IS

F: WEFTFERFEREBREEITS, WEEKRSEM “RN” , M1CG9-30-120G/RN,

Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis

necessary to insert suffix “RN” after our part no.,for example 1CG9-30-120G/RN,




0 2HEIBENREEL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 ~HIEKXREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
I I

REBYAEAEOMETHIFRET =&

BSP THREAD ADJUSTABLE STUD END
WITH O-RING SEALING RUN TEE

REBYAFAEROMETHERS X =1

ot | BSP THREAD ADJUSTABLE STUD ENDS WITH
O-RING SEALING BRANCH TEE

LACCG-0G LACCG-0G/RN LACGC-0G LACGC-OG/RN
LADDG-0G LADDG-OG/RN LADGD-0G LADGD-OG/RN
R 247 THREAD EF5ME TUBE O.D. R~ DIMENSIONS EAHZER =] 247 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EAHZR

PART NO. E, F G D1, D2 L1,L2 L3 S1 S2,83 MPa PART NO. E, G F D1, D2 L1,L2 L3 S1 S2,S3 MPa
ACCG-12-12-020G M12X1.5 G1/8"X28 6 13 28 27 11 14 14 ACGC-12-02-120G M12X1.5 G1/8"X28 6 13 28 | 26.2| 11 14 14
ACCG-14-14-040G M14X1.5 G1/4"X19 8 15.5 | 30.5 | 31.3 | 14 17 19 315 ACGC-14-04-140G M14X1.5 G1/4"X19 8 15.5 | 30.5 | 31.3 | 14 17 19 315
ACCG-16-16-040G M16X1.5 G1/4"X19 10 17.5 | 32.5 | 32:5/| 16 19 19 2% 5 ACGC-16-04-160G M16X1.5 G1/4"X19 10 17.5 | 32.5 | 325 | 16 19 19 2275
ACCG-18-18-060G M18X1.5 G3/8"X19 12 19 34 37 19 22 22 L ACGC-18-06-180G M18X1.5 G3/8"X19 12 19 34 37 19 22 22 L
ACCG-22-22-080G M22X1.5 G1/2"X14 15 22 37 | 43.2 | 22 27 27 ACGC-22-08-220G M22X1.5 G1/2"X14 15 22 37 | 43.2 | 22 27 27
ACCG-26-26-080G M26X1.5 G1/2"X14 18 255 | 42 46 27 32 27 ACGC-26-08-260G M26X1.5 G1/2"X14 18 25,57 42 | 4685/ 27 32 27
ACCG-30-30-120G M30X2 G3/4"X14 22 29.3 | 458 |52 30 36 32 16 ACGC-30-12-300G M30X2 G3/4"X14 22 29.3 | 45.8 | .52 30 36 32 16
ACCG-36-36-160G M36X2 G1"X11 28 33.31 49.8 | 56 36 41 41 B&R7 ACGC-36-16-360G M36X2 G1"X11 28 33 |49.8 56 36 41 41 BRI
ACCG-45-45-200G M45X2 G1.1/4"X11 35 39" | 60.7 | 63 48 50 50 L ACGC-45-20-450G M45X2 G1.1/4"X11 35 39.2 | 60.7 | 63 48 50 50 L
ADDG-14-14-040G M14X1.5 G1/4"X19 6 1751325 | 31.3 | 14 17 19 ADGD-14-04-140G M14X1.5 G1/4"X19 6 175 1 325 | 31.3 | 14 17 19
ADDG-16-16-040G M16X1.5 G1/4"X19 8 18.5 | 33.7 | 32.5 | 16 19 19 63 ADGD-16-04-160G M16X1.5 G1/4"X19 8 18.5 | 33.7 | 325 | 16 19 19 63
ADDG-18-18-060G M18X1.5 G3781X19 10 19.5 | 36 | 36.8| 19 22 22 BRI ADGD-18-06-180G M18X1.5 G3/8"X19 10 19.5 | 36 | 36.8 | 19 22 22 HZRY
ADDG-20-20-060G M20X1.5 G3/8"X19 12 195 36 | 36.8| 19 24 22 S ADGD-20-06-200G M20X1.5 G3/8'X19 12 195 | 36 | 36.8 | 19 24 22 S
ADDG-22-22-080G M22X1.5 G1/2"X14 14 23 41 | 43.2 | 22 27 27 ADGD-22-08-220G M22X1.5 G1/2"X14 14 23 41 | 43.2 | 22 27 27
ADDG-24-24-080G M24X1:5 Gi1/2"X14 16 24 | 425 | 44 24 30 27 ADGD-24-08-240G M24X1.5 G1/2"X14 16 24 | 425 | 44 24 30 27
ADDG-30-30-120G M30X2 G3/4"X14 20 28.3 | 49.8 | 52 30 36 32 E:’ﬂ] ADGD-30-12-300G M30X2 G3/4"X14 20 28.3 | 49.8 | 52 30 36 32 E;E)EIJ
ADDG-36-36-160G M36X2 G1"X11 25 32.8 | 56.8 | 56 36 46 41 s ADGD-36-16-360G M36X2 G1"X11 25 32.8 | 56.8 | 56 36 46 41 s
ADDG-42-42-200G M42X2 G1.1/4"X11 30 36.2 | 62.7 | 58 41 50 50 ADGD-42-20-420G M42X2 G1.1/4"X11 30 36.2 | 62.7 | 58 41 50 50
i WBHEFERFERSEEITS, WEEKRSEM “RN” , MACCG-18-18-060G/RN, i WEHEFFERFTERGEERITS, WEERSEM “RN” , WACGC-18-06-180G/RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example ACCG-18-18-060G/RN, necessary to insert suffix “RN” after our part no.,for example ACGC-18-06-180G/RN,




0 2HEIBENREEL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 ~HIEKXREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
I I

[

74«% o o S2 -
m| —r J - -t = 5& STt - 90° T HIMRL R E MO B & 2 Hi%I1SO 11926

- EHI2E O Bl % £t s 5. ' 90° ELBOW UN. UNF THREAD ADJUSTABLE

¥ S1 UN. UNF THREAD STUD ENDS 1 51 STUD ENDS WITH O-RING SEALING ISO 11926
WITH O-RING SEALING i il
L1CO L1CO-RN b ]
L1DO L1DO-RN L1C0O9-0G L1CO9-0G/RN
L1D09-0G L1D09-0G/RN
= 124 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHZER

PART NO. F D1 L1 S1 MPa ! 1247 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHZR
1C0O-14-04 M14X1.5 7/16"X20 8 914 | 8.36 | 24.5 14 17 PART NO. E F L2 S1 MPa
1C0O-16-04 M16X1.5 7/16"X20 10 914 | 9.36 | 25.5 17 19 1C09-12-040G| M12X1.5 7/16"X20 6 13 28 27.2 11 14 17
1C0O-18-06 M18X1.5 9/16"X18 12 993 | 10.07 | 27 19 22 1C09-14-060G| M14X1.5 9/16"X18 8 15.5 | 30.5 | 31.8 14 17 19
1C0O-18-08 M18X1.5 3/4"X16 12 11.13 | 10.37 | 285 22 22 15 1C09-16-060G| M16X1.5 9/16"X18 10 17 325 | 33.3 16 19 19 31.5
1C0O-18-10 M18X1.5 7/8"X14 12 12.7 | 14.3 34 27 22 225 1C09-18-080G| M18X1.5 3/4"X16 12 19 34 37.5 19 22 24 L=E ]|
1C0-22-08 M22X1.5 3/4"X16 15 11.13.}14.87 || 33 24 27 1C09-22-100G| M22X1.5 7/8"X14 15 22 37 44 22 27 27 L
1C0-22-10 M22X1.5 7/8"X14 15 17277 123 32 27 27 - 1C09-22-080G| M22X1.5 3/4"X16 15 22 37 39.5 22 27 24
1C0-22-12 M22X1.5 1.1/16"X12 15 15.09.|' 11.91 34 32 27 1C09-26-120G| M26X1.5 1.1/16"X12 18 25.5 42 52.5 27 32 32
1C0-26-08 M26X1.5 3/4"X16 18 11.13 | 11487 | 33.5 27 32 1C09-30-120G M30X2 1.1/16"X12 22 29.5 | 45.8 | 535 30 36 32
1C0-26-10 M26X1.5 7/8"X14 18 127 | 115 | 31.7 27 32 1C09-36-120G M36X2 1.1/16"X12 28 33.5| 47.8 | 57.5 36 41 32 16
1C0O-30-08 M30X2 3/4"X16 22 11.13 | 17.37 | 36 32 36 1C09-36-160G M36X2 1.5/16"X12 28 3321 49.8 | 57.5 36 41 41 B7&R73
1C0O-30-10 M30X2 7/8"X14 22 12.7 | 17.3 | 37.5 32 36 1C09-45-200G M45X2 1.5/8"X12 35 39 607 63 48 50 50 L
1C0O-30-12 M30X2 1.1/16"X12 22 15.09 | 13.41| 36 32 36 1C09-52-240G M52X2 1.7/8"X12 42 40 63 64 50 60 55
1C0O-30-16 M30X2 1:516"X12 22 15.09 | 14.41| 37 38 36 16 1D09-14-040G| M14X1.5 7/16"X20 6 17.5 | 32.5 30 14 17 17
1C0O-36-12 M36X2 1.1/161X12 28 15.09 | 14.41| 37 38 41 BRI 1D09-16-060G| M16X1.5 9/16"X18 8 18.7 | 33.7 | 33.3 16 19 19
1C0O-36-16 M36X2 1:5/16"X12 28 15.09 | 14.41| 37 41 41 L 1D09-18-060G| M18X1.5 9/16"X18 10 19.5 36 33.5 19 22 19 E:ﬁﬂ
1C0O-45-16 M45X2 1:5/16"X12 35 15.09 | 16.41 | 42 46 50 1D09-18-080G| M18X1.5 3/4"X16 10 19.5 36 37.5 19 22 24 s
1C0-45-20 M45X2 1.5/8"X12 35 15.09 | 16.41 | 42 50 50 1D09-20-080G| M20X1.5 3/4"X16 12 19.5 36 37.5 19 24 24
1C0-52-20 M52X2 1.5/8"X12 42 15.09 | 16.91 | 43 55 60 1D09-22-100G| M22X1.5 7/8"X14 14 23 41 44 22 27 27
1D0O-16-04 M16X1.5 7/16"X20 8 9.14 | 12.86 |29 17 19 - 1D09-24-100G| M24X1.5 718" X14 16 24 42.5 | 46.5 24 30 27 20
1D0O-18-06 M18X1.5 9/16"X18 10 9.93 | 12257 | 30 19 22 T 1D09-30-120G M30X2 11716"X12 20 28 49.8 | 53.5 30 36 32 S
1D0-20-06 M20X1.5 9/16"X18 12 9.93 1457 | 32 22 24 s 1D09-36-160G M36X2 1.5/16"X12 25 32.5 | 56.8 | 57.5 36 46 41 s
1D0-20-08 M20X1.5 3/4"X16 12 11113, 14.87 |, 33.5 24 24 1D09-42-200G M42X2 1.5/8"X12 30 36.2 | 62.7 | 59.5 41 50 50
1D0-24-08 M24X1.5 3/4"X16 16 11.43 1115.3721 35 27 30 1D09-52-240G M52X2 1.7/8"X12 38 458 | 76.8 | 70.5 55 60 55 |31.5E#&7%IS
1DO-24-10 M24X1.5 718"X14 16 12,7 | 158 | 37 | 27 | 30 E: MEHFERFEESEEITE, WEERSEM “RN” , #1C09-30-120G/RN,
1D0O-30-08 M30X2 3/4"X16 20 1113 | 17.87 | 39.5 32 36 Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
1D0-30-10 M30X2 7/8"X14 20 127 | 173 | 405 32 36 necessary to insert suffix “RN” after our part no.,for example 1C09-30-120G/RN,
1D0O-30-12 M30X2 1.1/16"X12 20 15.09 | 17.41 43 32 36 40
1D0-36-12 M36X2 14116"X12 25 15.09 | 18.91 | 46 41 46 BRI
1D0O-36-16 M36X2 1.5/16"X12 25 15.09 | 19.91 47 41 46 S
1D0O-42-16 M42X2 1:6/16"X12 30 15.09 | 20.41 49 46 50
1D0-42-20 M42X2 15/8"X12 30 15.09 | 20.41 | 49 50 50
1D0O-52-20 M52X2 1.5/8"X12 38 15.09 | 25.91 53 55 60 31.5E&7%IS
FNMFEFFERFERSEEITSE, WSEKRSHEM “RN” , 101D0O-30-12RN
Note:In case if you are interested to orde the adapter in complete set with cutting ring and nut,it is necessary
to inset suffix “RN" after our part no., for example 1DO-30-12RN.

B37 B38




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

EFBLAFAEOREEHFREX =R
UN. UNF THREAD ADJUSTABLE

0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

EHEG A EOFEEHE RS X =&
UN. UNF THREAD ADJUSTABLE

STUD ENDS WITH O-RING SEALING RUN TEE

STUD ENDS WITH O-RING SEALING BRANCH TEE

LACCO-0G LACCO-OG/R
LADDO-OG LADDO-OG/RN
re #2457 THREAD &F5M& TUBE O.D. R~t DIMENSIONS EHEs

PART NO. EF G D1,D2 L1L2 L3 S1 S254 S3  MPa
ACCO-12-12-040G | M12X1.5 | 7/16"X20 6 13 | 28 |27.2| 11 | 1&)| 17
ACCO-14-14-060G | M14X1.5 | 9/16"X18 8 15.5 | 30.5 | 31.8 | 14 {17 | 19 a1
ACCO-16-16-060G | M16X1.5 | 9/16"X18 10 1751325333 A6/ | /19 | 19 |
ACCO-18-18-080G | M18X1.5 3/4"X16 12 19 | 34 | 385 |\19 |22 | 24 .
ACCO0-22-22-100G | M22X1.5 7/8"X14 15 22 | 370 | 44| /22| 21 | 27
ACCO0-26-26-120G | M26X1.5 | 1.1/16"X12 18 2557 142| | 51 |/ 27 | 32 | 32
ACCO-30-30-120G | M30X2 | 1.1/16"X12 22 2915 | 45.8 | 54| 30 | 36 | 32 16
ACCO-36-36-160G | M36X2 | 1.5/16"X12 28 333 | 4984575 | 36 | 41 | 41 | BER7
ACCO-45-45-200G |  M45X2 1.5/8"X12 35 39.2 60.7 | 63 | 48 | 50 | 50 L
ADDO-14-14-040G | M14X1.5 | 7/16"X20 6 175|325 | 30 | 14 | 17 | 17
ADDO-16-16-060G | M16X1.5 | 9/16"X18 8 18.7 | 33.7 | 33.3 | 16 | 19 | 19 63
ADDO-18-18-060G | M18X1.5 | 9/16"X18 10 19.5| 36 |33.5| 19 | 22 | 19 | EEJI
ADDO-20-20-080G | M20X1.5 3/4"X16 12 19.5| 36 | 37.5| 19 | 24 | 24 s
ADDO-22-22-100G | M22X1.5 7/8"X14 14 23 | 41 | 44 | 22 | 27 | 27
ADDO-24-24-100G | M24X1:5 7/8"X14 16 24 | 425465 24 | 30 | 27
ADDO-30-30-120G |  M30X2" ' 1.1/16"X12 20 28.3 | 49.8 | 53.5| 30 | 36 | 32 E:Zﬂ]
ADDO-36-36-160G |  M36X2 < | 1.5/16"X12 25 32.8 | 56.8 | 57.5| 36 | 46 | 41 S
ADDO-42-42-200G |  M42X2 1.5/8"X12 30 36.2 | 62.7 | 59.5 | 41 | 50 | 50

I MEFTFERFERGEEITSE, WEEKSEM “RN” , MACCO-30-30-120G/RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis

necessary to insert suffix “RN” after our part no.,for example ACC0O-30-30-120G/RN,

LACOC-0G LACOC-OG/RN

LADOD-0OG LADOD-OG/RN

re #2547 THREAD &F45MZ TUBE O.D. R~} DIMENSIONS EHER

PART NO. E.G F D1,D2 Li,L2 L3 S1 S2,84 S3 MPa

ACOC-12-04-120G | M12X1.5 7/16"X20 6 13 | 28 | 27.5| 11 14 17
ACOC-14-06-140G | M14X1.5 9/16"X18 8 15.5 | 30.5| 31.8 | 14 17 19 .
ACOC-16-06-160G | M16X1.5 9/16"X18 10 17.5 | 32.5 | 33.3 | 16 19 19 o
ACOC-18-08-180G | M18X1.5 3/4"X16 12 19 | 34 | 375 19 |~22 | 24 L
ACOC-22-10-220G | M22X1.5 718"X14 15 22 | 37| 44| /22 | 27 | 27
ACOC-26-12-260G | M26X1.5 | 1.1/16"X12 18 25542 | 525 | 27 | 32 | 32
ACOC-30-12-300G M30X2 1.1/16"X12 22 29,3 | 45.8 | 535730 | 36 | 32 16
ACOC-36-16-360G M36X2 1.5/16"X12 28 33,3 | 49.8 |-57.5 | 36 | 41 41 BR7
ACOC-45-20-450G M45X2 1.5/8"X12 35 392 | 607 | 63 | 48 | 50 | 50 L
ADOD-14-04-140G | M14X1.5 7/16"X20 6 17.5 | 32.5 | 30 14 17 17
ADOD-16-06-160G | M16X1.5 9/16"X18 8 18.7 | 33.7 | 33.3 | 16 19 19 63
ADOD-18-06-180G | M18X1.5 9/16"X18 10 19.5 | 36 | 33.5| 19 22 19 BRI
ADOD-20-08-200G | M20X1.5 3/4"X16 12 195 | 36 |375| 19 | 24 | 24 S
ADOD-22-10-220G | M22X1.5 7/8"X14 14 23 | 41 44 | 22 | 27 | 27
ADOD-24-10-240G | M24X1.5 7/8"X14 16 24 | 425|465 | 24 | 30 | 27 40
ADOD-30-12-300G M30X2 1.1/16"X12 20 28.3|49.8|535| 30 | 36 | 32 S
ADOD-36-16-360G M36X2 1:5/16"X12 25 32.8 | 56.8 | 57.5| 36 | 46 | 41 s
ADOD-42-20-420G M42X2 1.5/8"X12 30 36.2 | 62.7 | 59.5 | 41 50 | 50

I MFEFERFEBEBEEITS, WEEKSEM “RN” , IACOC-30-12-300G/RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis

necessary to insert suffix “RN” after our part no.,for example ACOC-30-12-300G/RN,

B40




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

4 L 4 .
B
L1 E F
i P ' S2 i
% |/ =\ Tle HERA60° ETE | nk
N 2 2 Pl ih ﬁ? EBL[ ) 90° TREIWL60° HT
L1CB . L1CB-RN Bg;E%T\]%AEDDGQEA?_%’#%S%%%’;G L1CB9 ot )@ L1CB9-RN 90° ELBOW BSP THREAD 60° CONE SEALING
L1DB L1DB-RN H L1DB9 L1DB9-RN

re #2470 THREAD &F4MME TUBE O.D. R~ DIMENSIONS EHZER
PART NO. E F D1 L1 S1 MPa rE 1247 THREAD &F4MME TUBE O.D. R~ DIMENSIONS EHZR
1CB-12-02 M12X1.5 G1/8"X28 6 10 9 26 14 14 PART NO. E F L2 S1 MPa
1CB-12-04 M12X1.5 G1/4"X19 6 12 9 28 19 14 1CB9-12-04 M12X1.5 G1/4"X19 6 155 | 22.5 | 245 14 14
1CB-14-02 M14X1.5 G1/8"X28 8 10 8 25 14 17 1CB9-14-04 M14X1.5 G1/4"X19 8 15.5 | 22.5 | 245 14 17
1CB-14-04 M14X1.5 G1/4"X19 8 12 9 28 19 17 1CB9-14-06 M14X1.5 G3/8"X19 8 16.5 | 23.5 | 275 16 17
1CB-14-06 M14X1.5 G3/8"X19 8 13.5 9 29.5 22 17 1CB9-16-04 M16X1.5 G1/4"X19 10 17.5 | 24.5 26 16 19
1CB-16-04 M16X1.5 G1/4"X19 10 12 10 29 19 19 315 1CB9-16-06 M16X1.5 G3/8"X19 10 17.5 [ 2451 27.5 16 19 315
1CB-16-06 M16X1.5 G3/8"X19 10 13.5 12 325 22 19 x5 1CB9-16-08 M16X1.5 G1/2"X14 10 21 28 34.5 22 19 p—
1CB-16-08 M16X1.5 G1/2"X14 10 16 11 34 27 19 L 1CB9-18-04 M18X1.5 G1/4"X19 12 19 26 27.5 19 22 .
1CB-18-04 M18X1.5 G1/4"X19 12 12 10 29 19 22 1CB9-18-06 M18X1.5 G3/8"X19 12 19 26 28.5 19 22
1CB-18-06 M18X1.5 G3/8"X19 12 13.5 10 30.5 22 22 1CB9-18-08 M18X1.5 G1/2"X14 12 21 28 34.5 22 22
1CB-18-08 M18X1.5 G1/2"X14 12 16 11 34 27 22 1CB9-22-06 M22X1.5 G3/8"X19 15 22 29 31 22 27
1CB-22-06 M22X1.5 G3/8"X19 15 13.5 13 3.5 24 27 1CB9-22-08 M22X1.5 G1/2"X14 15 22 29 34.5 22 27
1CB-22-08 M22X1.5 G1/2"X14 15 16 12 35 27 27 1CB9-26-08 M26X1.5 G1/2"X14 18 2585 33 37 27 32
1CB-26-08 M26X1.5 G1/2"X14 18 16 11.5 35 27 32 1CB9-30-12 M30X2 G3/4"X14 22 29.5 37 41 30 36 ©
1CB-26-12 M26X1.5 G3/4"X14 18 18.5 | 11.5 | 37.5 32 32 1CB9-36-16 M36X2 G1"X11 28 33.3 | 43.3 | 47.5 36 41 —
1CB-30-12 M30X2 G3/4"X14 22 18.5 | 13.5 | 39.5 32 36 1CB9-45-20 M45X2 G1.1/4"X11 35 39 49.5 | 545 48 50
1CB-36-16 M36X2 G1"X11 28 20.5 | 14.5 | 42,5 41 41 16 1CB9-52-24 M52X2 G1.1/2"X11 42 40 51 58.5 50 60 L
1CB-45-20 M45X2 G1.1/4"X11 35 20.5 | 16.5 | 47.5 50 50 B7R3 1DB9-14-04 M14X1.5 G1/4"X19 6 17.5 | 245 | 245 14 17
1CB-52-24 M52X2 G1.1/2"X11 42 23 16 50 55 60 L 1DB9-16-04 M16X1.5 G1/4"X19 8 18.7 | 25.7 | 26.5 16 19
1DB-14-04 M14X1.5 G1/4"X19 6 12 11 30 19 17 1DB9-16-06 M16X1.5 G3/8"X19 8 18.7 | 25.7 | 27.5 16 19
1DB-16-04 M16X1.5 G1/4"X19 8 12 11 30 19 19 1DB9-18-04 M18X1.5 G1/4"X19 10 19.5 27 27.5 19 22
1DB-16-06 M16X1.5 G3/8"X19 8 13.5 15 35.5 22 19 1DB9-18-06 M18X1.5 G3/8"X19 10 19.5 27 28.5 19 22 63
1DB-18-04 M18X1.5 G1/4"X19 10 12 12.5 32 19 22 1DB9-18-08 M18X1.5 G1/2"X14 10 21.5 29 34.5 22 22 EEL]
1DB-18-06 M18X1.5 G3/8"X19 10 13.5 | 14.57| 35.5 22 22 63 1DB9-20-04 M20X1.5 G1/4"X19 12 1915 27 27.5 19 24 S
1DB-18-08 M18X1.5 G1/2"X19 10 16 14.5 38 27 22 BRI 1DB9-20-06 M20X1.5 G3/8"X19 12 19.5 27 285 19 24
1DB-20-04 M20X1.5 G1/4"X19 12 12 14.5 34 22 24 s 1DB9-20-08 M20X1.5 G1/2"X14 12 21.5 29 34.5 22 24
1DB-20-06 M20X1.5 G3/8"X19 12 13.5 |.14.5 | 35.5 22 24 1DB9-22-08 M22X1.5 G1/2"X14 14 23 31 34.5 22 27
1DB-20-08 M20X1.5 G1/2"X14 12 16 14.5 38 27 24 1DB9-24-06 M24X1.5 G3/8"X19 16 24 32.5 32 24 30
1DB-22-08 M22X1.5 G1/2"X14 14 16 16 40 27 27 1DB9-24-08 M24X1.5 G1/2"X14 16 24 32.5 35 24 30
1DB-24-06 M24X1.5 G3/8"X19 16 13.5 | 15,5 | 37.5 27 30 1DB9-24-12 M24X1.5 G3/4"X14 16 26 34.5 40 27 30
1DB-24-08 M24X1.5 G1/2*X14 16 16 15.5 40 27 30 1DB9-30-12 M30X2 G3/4"X14 20 28 38.5 41 30 36 40
1DB-24-12 M24X1.5 G3/4"X14 16 18.5 | 17.5 | 44.5 32 30 20 1DB9-36-08 M36X2 G1/2"X14 25 32.5 | 445 | 425 36 46 E77
1DB-30-12 M30X%2 G3/4"X14 20 18.5 | 17.5 | 46.5 32 36 1DB9-36-12 M36X2 G3/4"X14 25 32.5 | 445 | 435 36 46 S
1DB-36-08 M36X2 G1/2"X14 25 16 20 48 41 46 BRI 1DB9-36-16 M36X2 G1"X11 25 32.5 | 445 | 475 36 46
1DB-36-12 M36X2 G3/4"X14 25 18.5 20 50.5 41 46 S 1DB9-42-20 M42X2 G1.1/4"X11 30 36.5 50 50.5 41 50
1DB-36-16 M36X2 G1"X11 25 20.5 20 52.5 41 46 1DB9-52-24 M52X2 G1.1/2"X11 38 46 62 63 55 60 31.5E&7%IS
1DB-42-20 Mazxz | G114 30 20.5 | 21.5 | 555 | 50 | S0 EMBHFERFERBEEITE, WEERSEM “RN” , M1DBI-24-12RN, N
1DB-52-24 M52X2 G1.1/2"X11 38 23 23 62 55 60 31.58 &35S {\écivae;:é? gﬁ;&lﬁ)écwyag?t;r}tgﬁsggﬂ tr(]Joc.)’r?grtg)(?aargglpé;elglggczg‘rﬂqlzeé?\ls-et with cutting ring and nut,it is necessary
EWNFFFERTEBRSEERITSE, WEEKSEM “RN” , 1DB-20-08RN o
Note:In case if you are interested to orde the adapter in complete set with cutting ring and nut,it is necessary
toinset suffix “RN” after our part NO.,for example 1DB-20-08RN o




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

I I
B
L1 11
T% - B Bl
= R I 5@ T ®e #2547 THREAD EFHMEDT g R~+ DIMENSIONS EHER
- RERSR BT PART NO. E F TUBE O.D. SEAL L1 S1 MPa
5 \Sl BSP THREAD WITH CAPTIVE SEAL 1DB-24-12WD | M24X1.5 G3/4"X14 16 WD-B12 | 16 | 205 | 45 | 32 |30
L1CB-WD L1CB-WD/RN 1DB-30-12WD M30X2 G3/4"X14 20 WD-B12 16 | 20,5 [ 47 32 36 20
L1DB-WD L1DB-WD/RN 1DB-36-08WD M36X2 G1/2"X14 25 WD-B08 14 23 49 38 46 —
1DB-36-12WD M36X2 G3/4"X14 25 WD-B12 16 23 51 38 46 s
re 247 THREAD EFHMED1 vz R~ DIMENSIONS EHEg 1DB-36-16WD M36X2 GA"X14 25 WD-B16 18 23 53 41 46
PART NO. E F TUBE O.D. SEAL S1 MPa 1DB-42-20WD M42X2 G1174"X11 30 WD-B20 | 20 | 23.5 | 57 50 50
1CB-12-02WD | M12X1.5 G1/8"X28 6 WD-B02 8 95 | 245 | 14 14 1DB-52-24WD M52X2 GT.1/2"X11 38 WD-B24 | 22 26 64 55 60 31.58%7%IS
1CB-12-04WD | M12X1.5 G1/4"X19 6 WD-B04 | 12 10 29 19 14 EMEHFERFEBBEEITE, WFEERSEM “RN” , #01DB-20-08WD/RN,
Note:In case if you are interested to orde the adapter in complete set with cutting ring and nut,it is necessary
1CB-12-06WD M12X1.5 G3/8"X19 6 WD-B06 12 11.5 | 30.5 22 14 toinset suffix “RN” after our part no., for example 1DB-20-08WD/RN .
1CB-14-02WD | M14X1.5 G1/8"X28 8 WD-B02 8 9.5 |'245 | 14 17
1CB-14-04WD | M14X1.5 G1/4"X19 8 WD-B04 | 12 10 29 19 17
1CB-14-06WD | M14X1.5 G3/8"X19 8 WD-B06 | 12 |111.5 | 30.5' | 22 17
1CB-16-04WD | M16X1.5 G1/4"X19 10 WD-B04-| 12 1 30 19 19
1CB-16-06WD | M16X1.5 G3/8"X19 10 WD-B06 /| 12+ 125 | 315 | 22 19 315
1CB-16-08WD | M16X1.5 G1/2"X14 10 WD-B08 | | 14 14 35 27 19 - L2BC-WD
1CB-18-04WD | M18X1.5 G1/4"X19 12 WD-B04 | 12 11 30 19 22
1CB-18-06WD | M18X1.5 G3/8"X19 12 WD-B06 | 12 | 125 | 315 | 22 22 - L2BD-WD
1CB-18-08WD | M18X1.5 G1(2"X14 12 WD-B08 | 14 14 35 27 22 - S R R BRI
1CB-22-04WD | M22X1.5 G1/4"X19 15 WD-B04 | 12 13 32 24 27 NI RIEL4° HOT B 23
1CB-22-06WD | M22X15 G3/8"X19 15 WD-B06 | 12 | 135 | 325 | 24 27 BSP THREAD WITH CAPTIVE SEAL/
1CB-22-08WD | < M22X1.5 G1/2'X14 15 WD-B08 | 14 15 36 27 27 METRIC FEMALE 247 CONE O-RING SEALING
1CB-22-12WD | M22X1.5 G3/4"X14 15 WD-B12 | 16 15 38 32 27
1CB-26-08WD | M26X1.5 G1/2"X14 18 WD-B08 | 14 | 145 | 36 27 32 re #2457 THREAD EFHMED1 e R~ DIMENSIONS EHEg
1CB-26-12WD | M26X1.5 G3/4"X14 18 WD-B12 | 16 | 145 | 38 32 32 PART NO. F TUBE O.D. SEAL L1 S1 MPa
1CB-30-12WD M30X2 G3/4"X14 22 WD-B12 | 16 | 16.5 | 40 32 36 i 2BC-02-12WD G1/8"X28 M12X1.5 6 WD-B02 8 22 14 14
1CB-36-16WD M36X2 G1"X11 28 WD-B16 | 18 | 17.5 143 41 41 _ 2BC-04-14WD G1/4"X19 M14X1.5 8 WD-B04 12 23.6 19 17 15
1CB-45-20WD M45X2 G1.1/4"X11 35 WD-B20 | 20 | 17.57 48 50 50 ) 2BC-04-16WD G1/4"X19 M16X1.5 10 WD-B04 12 24.7 19 19 P
1CB-52-24WD M52X2 G1.1/2"X11 42 WD-B24 | 22 19 52 55 60 2BC-06-18WD G3/8"X19 M18X1.5 12 WD-B06 12 29.1 22 22 .
1DB-14-04WD | M14X1.5 G1/4"X19 6 WD-B04"| 12 15 34 19 17 2BC-08-22WD G1/2"X14 M22X1.5 15 WD-B08 14 304 27 27
1DB-16-04WD | M16X1.5 G1/4"X19 8 WD-B04 { 12 15 34 19 19 63 2BC-08-26 WD G1/2"X14 M26X1.5 18 WD-B08 14 34 27 32
1DB-16-06WD | M16X1.5 G3/8"X19 8 WD-B06" || 12 155 | 34.5 | 22 19 EZ5 2BC-12-30WD G3/4"X14 M30X2 22 WD-B12 16 34 32 36 "
1DB-18-04WD | M18X1.5 G1/4"X19 10 WD-B04 | “12 | 145 | 34 19 22 s 2BC-16-36WD G1"X11 M36X2 28 WD-B16 18 3678 41 41 P
1DB-18-06WD | M18X1.5 G3/8"X19 10 WD-B06 | 12 15 | 345 | 22 22 2BC-20-45WD G1.1/4"X11 M45X2 35 WD-B20 20 44.6 50 50 .
1DB-18-08WD | M18X1.5 G1/2'X14 10 WD-B0O8 | 14 | 17.5 | 39 27 22 2BC-24-52WD G1.1/2"X11 M52X2 42 WD-B24 22 46.5 55 60
1DB-20-04WD | M20X1.5 G1/4"X19 12 WD-B04 | 12 | 145 | 34 22 24 2BD-04-14WD G1/4"X19 M14X1.5 6 WD-B04 12 26.1 19 17
1DB-20-06WD | M20X1.5 G3/8"X19 12 WD-B06 | 12 15 | 345 | 22 24 2BD-04-16WD G1/4"X19 M16X1.5 8 WD-B04 12 26.7 19 19 63
1DB-20-08WD | MZ0X1.5 G1/2"X14 12 WD-B0O8 | 14 | 17.8 | 39.3 | 27 24 2BD-06-18WD G3/8"X19 M18X1.5 10 WD-B06 12 28.8 22 22 BRI
1DB-22-08WD | ‘M22X1.5 G1/2°X14 14 WD-B08 | 14 | 19.3 | 413 | 27 27 2BD-06-20WD G3/8"X19 M20X1.5 12 WD-B06 12 30.5 22 24 S
1DB-24-06WD | M24X15 G3/8"X19 16 WD-B06 | 12 | 185 | 39 27 30 40 2BD-08-22WD G1/2"%14 M22X1.5 14 WD-B08 14 32.9 27 27
1DB-24-08WD | M24X1.5 G1/2"X14 16 WD-B0O8 | 14 | 18.8 | 41.3 | 27 30 BERJIS 2BD-08-24WD G1/2"X14 M24X1.5 16 WD-B08 14 35.1 27 30
2BD-12-30WD G3/4"X'14 M30X2 20 WD-B12 16 35.5 32 36 40
P 2BD-16-36WD G1"X11 M36X2 25 WD-B16 18 42.4 41 46 ER5
2BD-20-42WD G1.1/4"X11 M42X2 30 WD-B20 20 47.5 50 50 S
2BD-24-52WD G1.1/2"X11 M52X2 38 WD-B24 22 49.45 55 60 |31.58&JIS

o




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

. 4 4
E B
_ 5 11
/A%ﬂﬁiﬂggiw g T[T D B . . i
METRICgﬁ/InALgEﬁG;;IW:Eﬁ:?:EALING EIE__ BEBYRM BT H R
152 OR BONDED SEAL STUD ENDS 5 METRIC THREAD WITH CAPTIVE SEAL
L1CM L1CM/RN 2
L1DM L1DM/RN L1CM-WD L1CM-WD/RN
‘ L1DM-WD L1DM-WD/RN
= 1240 THREAD & F5ME TUBE O.D. R~ DIMENSIONS EHZR
PART NO. E F L S1 MPa R 1247 THREAD &EF5MEDT B R~ DIMENSIONS ENER
1CM-12-10 M12X1.5 M10X1 6 8 9.5 24.5 14 14 PART NO. E F TUBE O.D. SEAL L S1 MPa
1CM-14-12 M14X1.5 M12X1.5 8 10 10 27 17 17 1CM-12-10WD M12X1.5 M10X1 6 WD-B02 8 9.5 | 245 14 14
1CM-14-18 M14X1.5 M18X1.5 8 12 11.5 | 305 24 17 1CM-14-12WD M14X1.5 M12X1.5 8 WD-M12 12 10.5 | 29.5 17 17
1CM-16-14 M16X1.5 M14X1.5 10 11 11 29 19 19 1CM-16-12WD M16X1.5 M12X1.5 10 WD-M12 12 11 30 17 19
1CM-16 M16X1.5 M16X1.5 10 12 12.5.1.31.5 22 19 1CM-16-14WD M16X1.5 M14X1.5 10 WD-B04 12 10 29 19 19
1CM-16-18 M16X1.5 M18X1.5 10 12 18 32 24 19 1CM-16-18WD M16X1.5 M18X1.5 10 WD-M18 12 12.5 | 31/5 24 19 31.5
1CM-16-22 M16X1.5 M22X1.5 10 14 15 36 27 19 1CM-18-16WD M18X1.5 M16X1.5 12 WD-M16 12 12.5 1 31.5 22 22 BR7
1CM-18-14 M18X1.5 M14X1.5 12 11 11 29 19 22 52;; 1CM-18WD M18X1.5 M18X1.5 12 WD-M18 12 12.5 [~31.5 24 22 L
1CM-18-16 M18X1.5 M16X1.5 12 12 12 31 22 22 L 1CM-18-22WD M18X1.5 M22X1.5 12 WD-M22 14 14 35 27 22
1CM-18 M18X1.5 M18X1.5 12 12 12.5 | 315 24 22 1CM-22-18WD M22X1.5 M18X1.5 15 WD-M18 12 14 33 24 27
1CM-18-22 M18X1.5 M22X1.5 12 14 14 35 27 22 1CM-22WD M22X1.5 M22X1.5 15 WD-M22 14 15 36 27 27
1CM-22-16 M22X1.5 M16X1.5 15 12 13.5 | 32.5 24 27 1CM-26-22WD M26X1.5 M22X1.5 18 WD-M22 14 14.8 | 36.3 27 32
1CM-22-18 M22X1.5 M18X1.5 15 12 13.5 | 325 24 27 1CM-30-26WD M30X2 M26X1.5 22 WD-B12 16 16.5 40 32 36
1CM-22 M22X1.5 M22X1.5 15 14 15 36 27 27 1CM-30-27WD M30X2 M27X2 22 WD:B12 16 16.5 40 32 36 16
1CM-26-18 M26X1:5 M18X1:5 18 12 14.5 34 27 32 1CM-36-33WD M36X2 M33X2 28 WD-B16 18 17.5 43 41 41 B7&R73
1CM-26-22 M26X1:5 M22X1.5 18 14 14.5 36 27 32 1CM-45-42WD M45X2 M42X2 35 WD-B20 20 17.5 48 50 50 L
1CM-30-22 M30X2 M22X1.5 22 14 16.5 38 32 36 1CM-52-48WD M52X2 M48X2 42 WD-B24 22 20 53 55 60
1CM-30-26 M30X2 M26X1.5 22 16 16.5 42 32 36 1DM-14-12WD M14X1.5 M12X1.5 6 WD-M12 12 13 32 17 17
1CM-30-27 M30X2 M27X2 22 16 18.5 42 32 36 $é;j§l] 1DM-16-14WD M16X1.5 M14X1.5 8 WD-B04 12 15 34 19 19 63
1CM-36-33 M36X2 M33X2 28 18 17.5 43 41 41 L 1DM-18-16WD M18X1.5 M16X1.5 10 WD-M16 12 14.5 34 22 22 BRI
1CM-45-42 M45X2 M42X2 35 20 21.5 52 50 50 1DM-20-18WD M20XA1.5 M18X1.5 12 WD-M18 12 17 36.5 24 24 S
1CM-52-48 M52X2 M48X2 42 22 19 52 55 60 1DM-22-20WD M22X1.5 M20X1.5 14 WD-M20 14 19 41 27 27
1DM-14-12 M14X1.5 M12X1.5 6 10 12 29 17 17 1DM-24-22WD M24X1.5 M22X1.5 16 WD-M22 14 18.5 41 27 30 40
1DM-16-14 M16X1.5 M14X1.5 8 11 18 31 19 19 63 1DM-30-27WD M30X2 M27X2 20 WD-B12 16 20.5 47 32 36 E%5
1DM-18-16 M18X1.5 M16X1.5 10 12 15 34.5 22 22 E%5 1DM-36-33WD M36X2 M33X2 25 WD-B16 18 23 53 41 46 3
1DM-20-18 M20X1.5 M18X1.5 12 12 17 36.5 24 24 S 1DM-42WD M42X2 M42X2 30 WD-B20 20 23.5 57 50 50
1DM-20-22 M20X1.5 M22X1.5 12 14 15.5 37 27 24 1DM-52-48WD M52X2 M48X2 38 WD-B24 22 26 64 55 60 31.5E&R7IS
1DM-22-20 M22X1.5 M20X1-5 14 14 17 39 27 27 I WETFERFEREBEERITR, WFEKRSEM “RN” , f01DM-20-18WD/RN,
1DM-24-18 M24X1.5 M18X1.5 16 12 16.5 37 27 30 Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
1DM-24-22 M24X45 M22X1.5 1% 14 16.5 39 27 30 40 necessary to insert suffix “RN” after our part no.,for example 1DM-20-18WD/RN,
1DM-30-27 M30X2 M27X2 20 16 18.5 45 32 36 Efﬂ
1DM-36-33 M36X2 M33X2 25 18 23 53 41 46
1DM-42 M42X2 M42X2 30 20 23.5 57 50 50 o5 RIS
1DM-52-48 M52X2 M48X2 38 22 26 64 55 60
E: METFERFERBEEITSR, WBEEKRSEM “RN” , 311DM-20-18RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1DM-20-18RN,

o




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

I I 4
B
U 11
L2MC-WD
— 70
L2MD-WD % El}g RN
f PP P N 1 B EHIIC 74wt
60 2 1 B 4 B B A / o JIC 74°CONE SEALING
\ N IR G24° O B 3 2
METRIC THREAD WITH CAPTIVE SEAL/
METRIC FEMALE 24° CONE O-RING SEALING L1CJ L1CJ-RN
L1DJ L1DJ-RN

re #2457 THREAD HF5MED1 Beth R~t DIMENSIONS EHE e #2457 THREAD #F5Ma TUBE O.D. R~t DIMENSIONS EHE
PART NO. F TUBE O.D. SEAL L1 S1 MPa PART NO. = F S1 MPa
2MC-10-12WD M10X1 M12X1.5 6 WD-B02 8 245 14 14 1CJ-12-04 M12X1.5 7/6"X20 6 14 8 29 12 14
2MC-12-14WD M12X1.5 M14X1.5 8 WD-M12 12 26.5 17 17 315 1CJ-14-04 M14X1.5 7/6"X20 8 14 8 29 14 17
2MC-14-16WD M14X1.5 M16X1.5 10 WD-B04 12 27.5 19 19 ety 1CJ-14-06 M14X1.5 9/16"X18 8 141 8 29.1 17 17
2MC-16-18WD M16X1.5 M18X1.5 12 WD-M16 12 30.5 22 22 L 1CJ-16-06 M16X1.5 9/16"X18 10 14.1 8.9 30 17 19 315
2MC-18-22WD M18X1.5 M22X1.5 15 WD-M18 12 31.5 24 27 1CJ-18-06 M18X1.5 9/16"X18 12 141 9.9 31 19 22 ety
2MC-22-26WD M22X1.5 M26X1.5 18 WD-M22 14 31.5 27 32 1CJ-18-08 M18X1.5 3/4"X16 12 16.7 10.3 34 22 22 L
2MC-26-30WD M26X1.5 M30X2 22 WD-B12 16 32.5 32 36 1CJ-22-08 M22X1.5 3/4"X16 15 167 10.8 34.5 24 27
2MC-33-36WD M33X2 M36X2 28 WD-B16 18 35 41 41 5%25'] 1CJ-22-10 M22X1.5 7/8"X14 15 1913 1 37.3 24 27
2MC-42-45WD M42X2 M45X2 35 WD-B20 20 42.5 50 50 L 1CJ-26-10 M26X1.5 7/8"X14 18 19.3 1.7 38.5 27 32
2MC-48-52WD M48X2 M52X2 42 WD-B24 22 46.5 55 60 1CJ-26-12 M26X1.5 1.1/6"X12 18 21.9 11.6 41 30 32
2MD-12-14WD M12X1.5 M14X1.5 6 WD=M12 12 27 17 17 1CJ-30-12 M30X2 1.1/6"X12 22 21.9 13.6 43 32 36
2MD-14-16WD M14X1.5 M16X1.5 8 WD-B04 12 29.5 19 19 63 1CJ-36-16 M36X2 1.5/6"X12 28 23.1 14.5 451 41 41 16
2MD-16-18WD M16X1.5 M18X1.5 10 WD-M16 12 32 22 22 BRI 1CJ-45-20 M45X2 1.5/8"X12 35 24.3 14.7 49.5 46 50 BR7
2MD-18-20WD M18X1.5 M20X1.5 12 WD-M18 12 34 24 24 S 1CJ-52-20 M52X2 1.5/8"X12 42 24.3 16 51.3 55 60 L
2MD-20-22WD M20X1.5 M22X1.5 14 WD-M20 14 36.5 27 27 1CJ-52-24 M52X2 1.7/8"X12 42 27.5 16 54.5 55 60
2MD-22-24WD M22X1.5 M24X1.5 16 WD-M22 14 37 27 30 1DJ-14-04 M14X1.5 7116"X20 6 14 11 32 14 17
2MD-27-30WD M27X2 M30X2 20 WD-B12 16 43 32 36 40 1DJ-16-04 M16X1.5 7/16"X20 8 14 13 34 17 19
2MD-33-36WD M33X2 M36X2 25 WD-B16 18 48 41 46 EIS%EU 1DJ-16-06 M16X1.5 9/16"X18 8 141 12.9 34 17 19 63
2MD-42-42WD M42X2 M42X2 30 WD-B20 20 51 50 50 1DJ-18-04 M18X1.5 7/16"X20 10 14 125 34 19 22 & %51
2MD-48-52WD M48X2 M52X2 38 WD-B24 22 60 55) 60 31.5E&7%S 1DJ-18-06 M18X1.5 9/6"X18 10 14.1 12.4 34 19 22 s
1DJ-20-06 M20X1.5 9/6"X18 12 141 14.4 36 22 24
1DJ-20-08 M20X1.5 3/4"X16 12 167 14.3 38.5 22 24
1DJ-22-08 M22X1.5 3/4"X16 14 16.7 15.8 40.5 24 27
1DJ-24-08 M24X1.5 3/4"X16 16 16.7 {1583 40.5 27 30
1DJ-24-10 M24X1.5 7/8"X16 16 19.3 15.2 43 27 30
1DJ-30-12 M30X2 1.1/16"X12 20 21.9 17.6 50 32 36 40
1DJ-36-12 M36X2 1.4116"X12 25 21.9 20.1 54 38 46 Efﬂ
1DJ-36-16 M36X2 1.5/16"X12 25 231 19.9 55 38 46
1DJ-42-20 M42X2 1.5/8"X12 30 24.3 20.2 58 46 50
1DJ-52-24 M52X2 1.718"X12 38 27.5 23 66.5 55 60 31.5E&7%IS
FMETFERFERSREEITS, WSEKSREM “RN” , 11DJ-20-08RN,
Note:In case if you are interested to orde the adapter in complete set with cutting ring and nut, it is necessary
toinset suffix “RN” after our part no., for example 1DJ-20-08RN .

B47 B48




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS

L2JC. 2JD

EHJIC74° HEH/ NHNEL24° FOMEFH
JIC 74° CONE SEALING/
METRIC FEMALE 24° CONE O-RING SEALING

re 247 THREAD &F5ME TUBE O.D. R~F DIMENSIONS EHER
PART NO. F D1 S1 s2 MPa
2JC-04-12 | 7/16"X20 | M12X1.5 6 14 22 14 14
2JC-04-14 | 7/16"X20 | M14X1.5 8 14 | 221 | 14 17
2JC-05-14 1/2"X20 M14X1.5 8 14 | 221 | 14 17
2JC-05-16 1/2"X20 M16X1.5 10 14 | 227 | 17 19
2JC-06-14 | 9/16"X18 | M14X1.5 8 14.1 | 2254 117 17
2JC-06-16 | 9/16"X18 | M16X1.5 10 14.1 | 22.6 |17 19 ;;;Zu
2JC-06-18 | 9/16"X18 | M18X1.5 12 141 | 25 117 22 .
2JC-08-18 3/4"X16 M18X1.5 12 16.7 | 26.4 | 22 22
2JC-08-22 3/4"X16 M22X1.5 15 16.7 283 | 22 27
2JC-10-22 7/8"X14 M22X1.5 15 19.3-7 276 | 24 27
2JC-10-26 7/8"X14 M26X1.5 18 19.3 | 31.2 | 27 32
2JC-12-26  |1.1/16"X12|  M26X1.5 18 21.9 | 321 | 30 32
2JC-12-30  |1.1/16"X12 M30X2 22 21.9 | 336 | 30 36
2JC-16-36 | 1.5/16X12 M36X2 28 231 | 36.4 | 36 41
2JC-16-45 | 1.5/16X12 M45X2 35 23.1 | 414 | 41 50 1°
2JC-20-45 | 1.5/8"X12 M45X2 35 243 | 423 | 46 50 Eé’fyu
2JC-20-52 | 1.5/8"X12 M52X2 42 243 | 46.4 | 50 60
2JC-24-52 | 1.7/8"X12 M52X2 42 275 | 46.2 | 50 60
2JD-04-14 | 7/16"X20 |  M14X1.5 6 14 | 221 | 14 17
2JD-04-16 | 7/16"X20 |  M16X1.5 8 14 | 227 | 17 19
2JD-04-18 | 7/16"X20 |  M18X1.5 10 14 | 248 | 17 22
2JD-05-18 1/2"X20 M18X1.5 10 14 | 248 (17 22 63
2JD-06-16 | 9/16"X18 |  M16X1.5 8 14,14 22,6 |17 19 E])
2JD-06-18 | 9/16"X18 |  M18X1.5 10 14.1 1| 24.7 |17 22 S
2JD-06-20 | 9/16"X18 |  M20X1.5 12 141 | 284 19 24
2JD-06-22 | 9/16"X18 |  M22X1.5 14 141|288 | 22 27
2JD-08-22 3/4"X16 M22X1.5 14 167 | 28.7 | 22 27
2JD-08-24 3/4"X16 M24X1.5 16 16.7 | 30.9 | 24 30
2JD-10-30 7/8"X14 M30X2 20 19.3 | 33.7 | 30 36
2JD-10-36 7/8"X14 M36X2 25 19.3 | 36.1 | 36 46
2JD-12-30 | 1.1/16"X12/ "\ 'M30X2 20 21.9 | 346 | 30 36 40
2JD-12-36 | 1.1/16"X12)\ > M36X2 25 21.9 | 365 | 36 46 BRI
2JD-16-42 | 1.5/16"X12 M42X2 30 23.1 | 419 | 41 50 S
2JD-20-42 | 1.5/8"X12 M42x2 30 24.3 | 427 | 46 50
2JD-20-52 | 1.5/8"X12 M52X2 38 24.3 | 46.15 | 50 60
2JD-24-52 | 1.7/8"X12 M52X2 38 27.5 | 46.25 | 50 60

B49

0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

B
11
L1
N7 e
7] = T \
240l m L 1Bla 1Rk
WELD FITTINGS
S92 Sl
L1CW L1CW-RN
L1DW L1DW-RN
®e #247 THREAD &F5MzE TUBE O.D. R~+ DIMENSIONS EHER
PART NO. E D1 B 1 L1 MPa
1CW-12-06 | M12X1.5 6 6 7 10 7 21 12 14
1CW-14-08 | M14X1.5 8 8 8 12 8 23 14 17
1CW-16-10 | M16X1.5 10 10 8 14 10 25 17 19 °Te
1CW-18-12 | M18X1.5 12 12 8 16 10 25 19 22 | B
1CW-22-15 | M22X1.5 15 15 10 19 11 28 22 27 .
1CW-26-18 | M26X1.5 18 18 10 22 | 135 | 31 27 32
1CW-26-22 | M26X1.5 18 22 12 27 | 115 | 31 27 32
1CW-30-22 M30X2 22 22 12 27 | 135 |\ 38 32 36
1CW-30-25 M30X2 22 25 12 29 7135 | |33 32 36 ﬁ;ﬁu
1CW-36-28 M36X2 28 28 12 32| | 145 | 34 41 41 .
1CW-45-35 M45X2 35 35 14 40\ | 18.5\ 43 46 50
1CW-52-42 M52X2 42 42 16 46 19 46 55 60
1DW-14-06 | M14X1.5 6 6 7 11 11 25 14 17
1DW-16-08 | M16X1.5 8 8 8 13 13 28 17 19 63
1DW-18-10 | M18X1.5 10 10 8 15 | 125 | 28 19 22 | BRI
1DW-20-12 | M20X1.5 12 12 10 17 | 145 | 32 22 24 S
1DW-22-14 | M22X1.5 14 14 10 19 16 34 24 27
1DW-24-16 | M24X1.5 16 16 10 21 | 165 | 35 27 30
1DW-30-20 M30X2 20 20 12 26 | 17.5 | 40 32 36 *0
1DW-36-25 M36X2 25 25 12 32 20 44 41 a6 | TEA
1DW-42-30 M42X2 30 30 14 37 | 205 | 48 46 50 S
1DW-52-38 M52X2 38 38 16 44 22 54 55 60 |31.5ERIS

FMEFTFERFERSEEITSE, WEEKRSEM “RN” , 11DW-20-12RN,
Note:In case if you are interested to orde the adapter in complete set with cutting ring and nut,it is necessary
toinset suffix “RN” after our part no., for example 1DW-20-12RN .




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

4 4 L
L1
11
77w L2GC. 2GD
m -— - =4 - - (= . .
i 0 (B 5 48 4 Sk
N CYLINDER STRAIGHT BULKHEAD EHERBGOMBZEHER / A NIEL24° #HOMEZH
L = BSP THREAD STUD ENDS WITH O-RING SEALING /
L1C-Y L1C-Y/RN METRIC FEMALE 24° CONE O-RING SEALING
L1D-Y L1D-Y/RN
R 240 THREAD &F4ME TUBE O.D. R~ DIMENSIONS EHER re 240 THREAD &F5ME TUBE O.D. R~ DIMENSIONS EHER
PART NO. E F D1 L1 d S2,83 MPa PART NO. E S1 S2 MPa
1C-12Y M12X1.5 M12X1.5 6 6 56 85 18 14 2GC-02-12 G1/8"X28 M12X1.5 6 9.5 23.5 14 14
1C-14Y M14X1.5 M14X1.5 8 8 56 85 20 17 315 2GC-04-14 G1/4"X19 M14X1.5 8 11 241 19 17 315
1C-16Y M16X1.5 M16X1.5 10 10 58 87 22 19 2 %75 2GC-04-16 G1/4"X19 M16X1.5 10 11 24.2 19 19 2 %75
1C-18Y M18X1.5 M18X1.5 12 12 58 87 25 22 L 2GC-06-18 G3/8"X19 M18X1.5 12 11.5 | 29.1 22 22 L
1C-22Y M22X1.5 M22X1.5 15 15 70 100 28 27 2GC-08-22 G1/2"X14 M22X1.5 15 14 33 27 27
1C-26Y M26X1.5 M26X1.5 18 18 69 101 32 32 2GC-08-26 G1/2"X14 M26X1.5 18 14 35 27 32
1C-30Y M30X2 M30X2 22 22 73 105 36 36 16 2GC-12-30 G3/4"X14 M30X2 22 15.51| 34.5 32 36 16
1C-36Y M36X2 M36X2 28 28 73 106 40 41 2GC-16-36 G1"X11 M36X2 28 18 36.8 41 41
BR BR5
1C-45Y M45X2 M45X2 35 35 71 114 50 50 L 2GC-20-45 G1.1/4"X11 M45X2 35 20 47.6 50 50 L
1C-52Y M52X2 M52X2 42 42 70 115 60 60 2GC-24-52 G1.1/2"X11 M52X2 42 215 | 46.5 55 60
1D-14Y M14X1.5 M14X1.5 6 6 60 89 20 17 2GD-04-14 G1/4"X19 M14X1.5 6 11 241 19 17
1D-16Y M16X1.5 M16X1.5 8 8 60 89 22 19 63 2GD-04-16 G1/4"X19 M16X1.5 8 11 24.7 19 19 63
1D-18Y M18X1.5 M18X1.5 10 10 59 91 25 22 BRI 2GD-06-18 G3/8"X19 M18X1.5 10 11.5 | 271 22 22 BRY
1D-20Y M20X1.5 M20X1.5 12 12 59 91 28 24 S 2GD-06-20 G3/8"X19 M20X1.5 12 11.5 28 22 24 S
1D-22Y M22X1.5 M22X1.5 14 14 72 107 30 27 2GD-08-22 G1/2"X14 M22X1.5 14 14 32.9 27 27
1D-24Y M24X1.5 M24X1.5 16 16 71 107 35 30 2GD-08-24 G1/2"X14 M24X1.5 16 14 35.1 27 30
1D-30Y M30X2 M30X2 20 20 71 114 38 36 Egﬁﬂ 2GD-12-30 G3/4"X14 M30X2 20 155 | 37.5 32 36 Egﬁﬂ
1D-36Y M36X2 M36X2 25 25 72 120 45 46 s 2GD-16-36 G1"X11 M36X2 25 18 41.4 41 46 s
1D-42Y M42X2 M42X2 30 30 73 126 50 50 2GD-20-42 G1.1/4"X11 M42X2 30 20 44 .6 50 50
1D-52Y M52X2 M52X2 38 38 72 133 60 60 31.5E&7%IS 2GD-24-52 G1.1/2"X11 M52X2 38 21.5 | 48.45 55 60 31.5E &3S
i WERFERFERBEEITR, WBEERSFEM “RN” , fM1DM-20-18RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1DM-20-18RN,




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

4 4
L
S5
Yot T “‘l _ MBZHREENREL
—_ BSP FEMALE 52 =1
L5CB L5CB/RN L5CB-GDK L5CB-GDK/RN
L5DB L5DB/RN L5DB-GDK L5DB-GDK/RN
re 247 THREAD &F5M2 TUBE O.D. R~F DIMENSIONS EHER re #2457 THREAD &F5Mz2 TUBE O.D. R~t DIMENSIONS HHWE EHESR
PART NO. F D1 L S1 MPa PART NO. E F L1 B S1 S2 SEALING PRING DKI MPa
5CB-12-02 M12X1.5 G1/8"X28 6 14 20 27 14 14 5CB-12-04GDK | M12X1.5 | G1/4"X19 6 7.5 | 37 |145| 19 | 14 DP-B04DK -
5CB-12-04 M12X1.5 G1/4"X19 6 16 23 30 19 14 5CB-14-04GDK | M14X1.5 | G1/4"X19 8 7.5 | 37 |14.5| 19 | 17 DP-B04DK 2 %5
5CB-14-04 M14X1.5 G1/4"X19 8 17 24 31 19 17 5CB-16-04GDK | M16X1.5 | G1/4"X19 10 8.5 38114519 | 19 DP-B04DK L
5CB-14-06 M14X1.5 G3/8"X19 8 17 25 32 22 17 5CB-18-04GDK | M18X1.5 | G1/4"X19 12 8.5/| 38 14.5| 19 | /22 DP-B04DK
5CB-14-08 M14X1.5 G1/2"X14 8 20 29 36 27 17 5DB-14-08GDK | M14X1.5 | G1/2"X14 6 11| 46 | 20| 2717 DP-B08DK 63
5CB-16-04 M16X1.5 G1/4"X19 10 17 25 32 19 19 315 5DB-16-08GDK | M16X1\5 ("G1/2"X14 8 11746 | 20 | 27 | 19 DP-B08DK & %5
5CB-16-06 M16X1.5 G3/8"X19 10 17 26 33 22 19 2 %7 5DB-18-08GDK | M18X1.5 | G+/2"X14 10 10.5| 47 | 20 | 27 | 22 DP-B0O8DK S
5CB-16-08 M16X1.5 G1/2"X14 10 20 30 37 27 19 L 5DB-20-08GDK | M20X1.5 |-G1/2"X14 12 10.5| 47 | 20 | 27 | 24 DP-B08DK
5CB-18-04 M18X1.5 G1/4"X19 12 17 24 31 19 22 I WETFERFEBESERITSE, WEEKRSEM “RN” , i15CB-18-04GDK/RN,
5CB-18-06 M18X1.5 G3/8"X19 12 17 26 38 22 22 Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
5CB-18-08 M18X1.5 G1/2"X14 12 20 30 37 27 22 necessary to insert suffix “RN” after our part no.,for example 5CB-18-04GDK/RN,
5CB-22-06 M22X1.5 G3/8"X19 15 17 26 33 24 27
5CB-22-08 M22X1.5 G1/2"X14 15 20 31 38 27 27
5CB-26-08 M26X1.5 G1/2"X14 18 20 30.5 38 27 32
5CB-30-12 M30X2 G3/4"X14 22 22 35.5 43 36 36 1 ! L7BC-GDK/S
5CB-36-16 M36X2 G1"X11 28 24.5 38 45,5 41 41 ié;;l] Ny 2 5 L7BD-GDK/S
5CB-45-20 M45X2 G1.1/4"X11 35 26.5 41 51.5 50 50 L = i .
5CB-52-24 | M52X2 | G1.1/2'X11 42 285 | 4251535 | 55> | 60 e & nREAREEARES
5DB-14-04 | M14X1.5 | G1/4"X19 6 17 26 33 19 17 = ) BSP PRESSURE GAUGE CONNECTOR
5DB-16-04 M16X1.5 G1/4"X19 8 17 26 33 19 19 _E S ’ WITH DRI SEALING RING
5DB-18-06 M18X1.5 G3/8"X19 10 17 26.5 34 22 22 63
5DB-20-06 M20X1.5 G3/8"X19 12 17 27.5 35 24 24 Efﬂ = 1247 THREAD &F4ME TUBE O.D. R~ DIMENSIONS R EHZER
5DB-20-08 M20X1.5 G1/2"X14 12 20 30.5 38 27 24 PART NO. E F D1 S1 S2 SEALING PRING DKI MPa
5DB-22-08 M22X1.5 G1/2"X14 14 20 32 40 27 27 7BC-04-12GDK/S | G1/4"X19 | M12X1.5 6 14.5 | 35.5 19 14 DP-B04DK 315
5DB-24-08 M24X1.5 G1/2"X14 16 20 31.5 40 27 30 40 7BC-04-14GDK/S | G1/4"X19 | M14X1.5 8 145 | 355 | 19 17 DP-B04DK 2575
5DB-30-12 M30X2 G3/4"X14 20 22 34.5 45 36 36 %50 7BC-04-16GDK/S | G1/4"X19 | M16X1.5 10 145 | 36 19 19 DP-B04DK L
5DB-36-16 M36X2 G1"X11 25 245 | 37.5 | 495 41 46 S 7BC-04-18GDK/S | G1/4"X19 | M18X1.5 12 145 | 36 19 22 DP-B04DK
5DB-42-20 M42X2 G11/4"X11 30 26.5 42 55.5 50 50 7BD-04-14GDK/S | G1/4"X19 | M14X1.5 6 14/5 | 35.5 19 17 DP-B04DK
5DB-52-24 M52X2 G1.1/2"X11 38 28.5 | 43.5 | 59.5 55 60 31.5E R3S 7BD-04-16GDK/S | G1/4"X19 | M16X1.5 8 14.5 | 3555 | |19 19 DP-B04DK
i NMEERERFEEEEEITE, WEEREFM “RN” , W5CB-45-20RN, 7BD-04-18GDK/S | G1/4"X19 | M18X1.5 10 14.5 || 36 19 22 DP-B04DK 63
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis 7BD-04-20GDK/S | G1/4"X19 | M20X1.5 12 145 39 19 24 DP-B04DK
necessary to insert suffix “RN” after our part no.,for example 5CB-45-20RN, 7BD-08-14GDK/S | G1/2"X14 |\ M14X1.5 6 20 425 27 17 DP-B0O8DK BRI
7BD-08-16GDK/S | G1/2"X14 | _.M16X1.5 8 20 43 27 19 DP-B08DK S
7BD-08-18GDK/S | G1/2"X14-M18X1.5 10 20 | 435 | 27 22 DP-B08DK
7BD-08-20GDK/S | G1/2"X14| M20X1.5 12 20 45 27 24 DP-B08DK




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

4 4 4 4
L
"
- g D1
vapg !
i - . 24° LI..I‘ o T REBGEEL
2 H RS _ [
METRIC FEMALE \ ! = | BSPBANJO
§2 S
L5CM L5CM/RN L1CI-B L1CI-B/RN
L5DM LS5DM/RN L1DI-B L1DI-B/RN
re ¥247 THREAD &F Mz TUBE O.D. R~ DIMENSIONS EHER re 3247 THREAD EFIMED  mEigk R~F DIMENSIONS EHER
PART NO. E F D1 L S1 MPa PART NO. E TUBE O.D. BOLT H L MPa
5CM-12-10 M12X1.5 M10X1 6 12.5 | 19.5 | 26.5 14 14 1CI-12-B02 M12X1.5 6 720B-02 24 9.9 16 15 30 14 16
5CM-14-12 M14X1.5 M12X1.5 8 17 24 31 17 17 o5 1CI-14-B04 M14X1.5 8 720B-04 24 1353 15 16 31 17 B&R7
5CM-16-14 M16X1.5 M14X1.5 10 17 25 32 19 19 257 1CI-16-B04 M16X1.5 10 720B-04 24 13.3 15 18 33 19 L
5CM-18-16 M18X1.5 M16X1.5 12 17 26 33 22 22 L 1CI-18-B06 M18X1.5 12 720B-06 29 16.7 20 22 37 22 10
5CM-22-18 M22X1.5 M18X1.5 15 17 28 35 24 27 1Cl1-22-B08 M22X1.5 15 720B-08 38 21 25 26 41 27 7575
5CM-26-22 M26X1.5 M22X1.5 18 19 2¢.5 37 30 32 1CI-26-B08 M26X1.5 18 720B-08 38 21 25 27 42 32 L
5CM-30-26 M30X2 M26X1.5 22 21 34.5 42 32 36 16 1CI-30-B12 M30X2 22 720B-12 48 26,5 26.5 31 47 36
5CM-36-33 M36X2 M33X2 28 24 37.5 45 41 41 227 1DI-14-B04 M14X1.5 6 720B-04 24 13.3 15 17.5 32 17 16
5CM-45-42 M45X2 M42X2 35 26 405 51 55 50 L 1DI-16-B04 M16X1.5 8 720B-04 24 13.3 15 19 34 19 HZRIS
5CM-52-48 M52X2 M48X2 42 28 42 53 60 60 1DI-18-B06 M18X1.5 10 720B-06 29 16.7 20 23 38 22
5DM-14-12 M14X1.5 M12X1.5 6 17 26 33 17 17 1DI1-20-B06 M20X1.5 12 720B-06 29 16.7 20 24 39 24 10
5DM-16-14 M16X1.5 M14X1.5 8 17 26 33 19 19 63 1DI-22-B08 M22X1.5 14 720B-08 38 21 25 27 42 27 BRI
5DM-18-16 M18X1.5 M16X1.5 10 17 26.5 34 22 22 EE]l 1DI-24-B08 M24X1.5 16 720B-08 38 21 25 28 43 30 S
5DM-20-18 M20X1.5 M18X1.5 12 17 27.5 35 24 24 S 1DI-30-B12 M30X2 20 720B-12 48 31 26.5 32 49 36
5DM-22-20 | M22X1.5 | M20X1.5 14 19 | 31 | 39 | 27 | 2z B FERFERBREITR, WHERSEM RN, M1DI-30-B12/RN,
5DM-24-22 M24X1.5 M22X1.5 16 19 30.5 39 30 30 Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
5DM-30-27 M30X2 M27X2 20 22 34.5 45 36 36 40 necessary to insert suffix “RN” after our part no.,for example 1DI-30-B12/RN,
5DM-36-33 M36X2 M33X2 25 24 37 49 41 46 ER3
5DM-42 M42X2 M42X2 30 26 41.5 55 55 50 S
5DM-52-48 M52X2 M48X2 38 28 43 59 60 60 25E R %S
F: METFERFERBEEITSR, WEERSFEM “RN” , f15DM-30-27RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 5DM-30-27RN,




C"ﬁ%ﬂ%ﬁﬂagﬁﬁk METRIC THREAD BITE TYPE TUBE ADAPTERS G, ~HIEKXREEL METRIC THREAD BITE TYPE TUBE ADAPTERS
— I

C
S2
Van
NI B Sk DIN 7642 N i LNL
METRIC BANJO DIN 7642 L -
+EZE
L1c| L1C|IRN ‘ RETAINING NUTS
L1DI L1DI/RN A\

e R THREAD BEFMED  mmugie R~t DIMENSIONS ENEH e #240 THREAD #F5ME TUBE O.D. R~ DIMENSIONS EhEs
PART NO. TUBE O.D. BOLT H L MPa PART NO. S MPa
1CI-12-10 M12X1.5 6 700M-10 17 10 10 16 31 14 16 NL-12 M12X1.5 6 14.5 6.1 14
1Cl-14-12 M14X1.5 8 700M-12 20 12 12 18.5 33 17 BRI NL-14 M14X1.5 8 14.5 8.1 17
1Cl-16-14 M16X1.5 10 700M-14 24 14 14 20.5 35 19 L NL-16 M16X1.5 10 15.5 104 19
1CI-18-16 M18X1.5 12 700M-16 28 16 16 22 37 22 10 NL-18 M18X1.5 12 15.5 121 22
1ClI-22-18 M22X1.5 15 700M-18 32 18 20 23 38 27 p— NL-22 M22X1.5 15 17 15.1 27 —
1Cl-26-22 M26X1.5 18 700M-22 39 22 25 275 | 43.5 32 L NL-26 M26X1.5 18 18 18.1 32 o
1CI-30-26 M30X2 22 700M-26 46 26 30 34 50.5 36 NL-30 M30X2 29 20 22 1 36
1DI-14-12 M14X1.5 6 700M-12 20 12 12 20.5 35 17 16 NL-36 M36X2 28 21 28 1 41
1DI-16-14 M16X1.5 8 700M-14 24 14 14 22.5 36 19 HRIIS NL-45 M45X2 35 24 359 50
1DI-18-16 M18X1.5 10 700M-16 28 16 16 23 39.5 22 NL-52 M52X2 42 24 422 60
1DI-20-18 M20X1:5 12 700M-18 32 18 20 25 41 24 10
1DI-22-18 M22X1.5 14 700M-18 32 20 20 28 46 27 BRY
1DI1-24-22 M24X1.5 16 700M-22 39 22 25 28.5 | 46.5 30 S
1DI-30-26 M30X2 20 700M-26 46 26 30 37 58.5 36

i WERFERFEBREGEEITR, WHEERSEM “RN” , 1DI-30-26/RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1DI-30-26RN,

B57 B58




0 ~HIEY-REREL METRIC THREAD BITE TYPE TUBE ADAPTERS 0 AHNRNREREL METRIC THREAD BITE TYPE TUBE ADAPTERS

I T ————
C S2 777/ /N
s
N\ i
LNS H -4 A LRL LRS
L o
‘ FEBRE +E
N RETAINING NUTS CUTTING RING
re #24 THREAD & F5M& TUBE O.D. R~f DIMENSIONS EHEG e HFIMED R~t DIMENSIONS EhEg
PART NO. S0 MPa PART NO. TUBEO.D. MPa
NS-14 M14X1.5 6 16.5 | 6.1 17 RL-06 6
NS-16 M16X1.5 8 16.5 | 8.1 19 RL-08 8 BRI
NS-18 M18X1.5 10 17.5 104 | /22 RL-10 10 EL’/?;E"
NS-20 M20X1.5 12 175 | [12/1 | 24 RL-12 12
NS-22 M22X1.5 14 205 |/ 141 |2 RL-15 15
NS-24 M24X1.5 16 20.5 1163 | 30 ERIIS RL-18 18
NS-30 M30X2 20 24 | 201 | 36 RL-22 22 —
NS-36 M36X2 25 27 | 251 | 46 RL-28 28 L
NS-42 M42X2 30 29 | 302 | 50 RL-36 35
NS-52 M52X2 38 32.5 | 38.2 60 RL-42 42
RS-06 6
RS-08 8
RS-10 10
RS-12 12
RS-14 14 BRI
RS<16 16 S
RS-20 20
RS-25 25
RS-30 30
RS-38 38




0 LHEIENT74° #EY O EL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS
—

AHIBNT74° #HEmYTOFEFEL  Metric Thread 74°

Cone Flared Tube Adapters

0 AHIIENT4° Y OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS
—

L

|

A B
77

b (740

)

NEISMEGT40 ShE
METRIC MALE 74° CONE

L1Q LAQ L2Q9 L4Q L6Q L6Q9
co2 Co3 Co3 Co4 Co5 Cco6
L1QH L1QH9-0G LAQHQ-0OG LAQQH-0G L1QG L1QG9-0G
co7 cos Co9 C10 C11 C11
L1QO L1Q09-0G L1QN L1QN4 L1QN9 L1QT-SP
C12 Cc12 C13 C14 C15 C16
L1QT9-SP L1QB L1QL LNB200-Q LNB500-Q
C17 C18 C19 C20 C20

S1
L1Q
pr2 #2471 THREAD &F5MZ TUBE O.D. Rt DIMENSIONS
PART NO. E F D1,D2 B L

1Q-10 M10X1 M10X1 5 12 12 30 12 14
1Q-12 M12X1.5 M12X1.5 6 15.7 15.7 37.5 14 14
1Q-14 M14X1.5 M14X1.5 8 17 17 40 17 17
1Q-16 M16X1.5 M16X1.5 10 18 18 42 17 22
1Q-18 M18X1.5 M18X1.5 12 18 18 42 19 24
1Q-22 M22X1.5 M22X1.5 14 19.5 19.5 47 24 27
1Q-24 M24X1.5 M24X1.5 16 20 20 50 27 30
1Q-27 M27X1.5 M27X1.5 18 20 20 50 30 32
1Q-30 M30X1.5 M30X1.5 20 23 23 57 32 36
1Q-30E M30X2 M30X2 20 26 26 63 32 36
1Q-33 M33X2 M33X2 22 26 26 63 36 38
1Q-36 M36X2 M36X2 25 26 26 63 38 41
1Q-39 M39X2 M39X2 28 26 26 65 41 46
1Q-42 M42X2 M42X2 32 28.5 28.5 70 46 50
1Q-45 M45X2 M45X2 34 28.5 28.5 70 46 55

MBS HERIEBEEITE, WEERSEM “RN” M1Q-18RN, HERSNB500-Q, EEKENB200-Q,

Note:In case is you are interested to order the adapter in complete set with sleeve and nut,it is necessary to insert

suffix “RN” affer our part no., for example 1Q-18RN,The sleeveno.,is NB500-Q and the unt no., is NB200-Q.

Co2




0 NHRNT4° HE O EEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHNRNT74° I OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS
I

DNHISMRELIT4 SR Sk
METRIC MALE 74° CONE PLUG

NHISMEYT4 SMEZE
METRIC MALE 74° CONE TEE

re 247 THREAD &F5ME TUBE O.D. R~F DIMENSIONS

re 1247 THREAD &EF4Mz TUBE O.D. R~ DIMENSIONS PART NO. E L S1

PART NO. F D1,D2,D3 C 4Q-10 M10X1 5 12 18 12 14
AQ-14 M14X1.5 | M14X1.5 | M14X1.5 8 27 27 27 14 17 4Q-12 M12X1.5 6 15.7 21.5 14 14
AQ-16 M16X1.5 | M16X1.5 | M16X1.5 10 29.5 29.5 295 16 22 4Q-14 M14X1.5 8 17 23 17 17
AQ-18 M18X1.5 | M18X1.5 | M18X1.5 12 34 34 34 19 24 4Q-16 M16X1.5 10 18 24 17 22
AQ-22 M22X1.5 | M22X1.5- M22X1.5 14 37/.5 87.5 37/5 22 27 4Q-18 M18X1.5 12 18 24 19 24
AQ-27 M27X1.5 | M27X1.5!|IM27X1.5 18 41.5 41.5 415 27 32 4Q-22 M22X1.5 14 1975 27.5 24 27
AQ-30 M30X1.5 | M30X1-5|'M30X1.5 20 42.8 42.8 42.8 30 36 4Q-24 M24X1.5 16 20 30 27 30
AQ-33 M33X2 M33X2 M33X2 22 49.5 49.5 49.5 33 38 4Q-27 M27X1.5 18 20 30 30 32
EMBEHHERBBEEITR, WEERSEM “RN” MAQ-18RN, HERSNB500-Q, BERENB200-Q, 4Q-30 M30X1.5 90 23 34 32 36
e e et e o 20 | o | @ | s
4Q-33 M33X2 22 26 37 36 38
4Q-36 M36X2 25 26 38 38 41
4Q-39 M39X2 28 26 39 41 46
4Q-42 M42X2 32 28.5 41.5 46 50
4Q-45 M45X2 34 28.5 41.5 46 55

EWNETHEREBEEITS, WIEERSEM “RN” 114Q-18RN, #HERSNB500-Q, EHRSNB200-Q,

Note:In case is you are interested to order the adapter in complete set with sleeve and nut,it is necessary to insert

suffix “RN” affer our part no., for example 4Q-18RN,The sleeveno.,is NB500-Q and the unt no., is NB200-Q.

NEISMNBELT4 SEE S AFIRELT4 N
METRIC MALE 74° CONE/METRIC FEMALE 74° SEAT

L2Q9-RN

1247 THREAD &F4ME TUBE O.D. R~ DIMENSIONS

PART NO. E F D C S1
2Q9-14 M14X1.5 M14X1.5 8 30.2 8.5 14 19 17
2Q9-16 M16X1.5 M16X1.5 10 32.5 9 16 22 22
2Q9-18 M18X1.5 M18X1.5 12 34 9.5 19 24 24
2Q9-22 M22X1.5 M22X1.5 14 37.5 10 22 27 27
2Q9-27 M27X1.5 M27X1.5 18 41.5 10 27 32 32
2Q9-30 M30X1.5 M30X1.5 20 45.8 11 30 36 36
2Q9-33 M33X2 M33X2 22 495 13 33 41 38
2Q9-36 M36X2 M36X2 25 51.5 13 36 41 41
2Q9-39 M39X2 M39X2 28 55.5 13.5 41 46 46
2Q9-45 M45X2 M45X2 34 62.5 13.2 48 50 55

EMFFHEREFGEEITS, WIEERSEM “RN” 102Q9-18RN, #HERENB500-Q, EHRENB200-Q,

Note:In case is you are interested to order the adapter in complete set with sleeve and nut,it is necessary to insert

suffix “RN” affer our part no., for example 2Q9-18RN ,The sleeve no.,is NB500-Q and the unt no.,is NB200-Q .

co3 co4




0 NHRNT4° HE O EEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHNRNT74° I OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS

I I I 4
Hif} LOCK NUT ,li

e HISLEEVE AINUT

L6Q-LN L6Q-RN L6Q-LN/RN e

PNEISMEG740 ST RIS K
METRIC MALE 74° CONE BULKHEAD L6QY9 L6Q9-LN L6Q9-RN L6Q9-LN/RN

= 1247 THREAD EF4MzE TUBE O.D. R~ DIMENSIONS 90° TRHIIMELT74° ShETRIEE L
PART NO. E F D1,D2 L S1 90° ELBOW METRIC MALE 74° CONE BULKHEAD
6Q-10 M10X1 M10X1 5 12.5 34 52.5 14 14 14
6Q-12 M12X1.5 M12X1.5 6 15.7 38 59.7 17 17 14 re 1247 THREAD EF5ME TUBE O.D. R~} DIMENSIONS
6Q-14 M14X1.5 M14X1.5 8 17 40 64 19 19 17 PART NO. E F D1,D2 B S1
6Q-16 M16X1.5 M16X1.5 10 18 41 65 19 22 22 6Q9-12 M12X1.5 M12X1.5 6 25.5 52 11 17 14
6Q-18 M18X1.5 M18X1.5 12 18 43 69 24 24 24 6Q9-14 M14X1.5 M14X1.5 8 30.2 56 14 19 17
6Q-22 M22X1.5 M22X1.5 14 19.5 44 73.5 27 27 27 6Q9-16 M16X1.5 M16X1.5 10 32 58 16 22 22
6Q-24 M24X1.5 M24X1.5 16 20 45 75 27 30 30 6Q9-18 M18X1.5 M18X1.5 12 34 62 19 24 24
6Q-27 M27X1.5 M27X1.5 18 20 48 78 30 32 32 6Q9-22 M22X1.5 M22X1.5 14 37.5 64 22 27 27
6Q-30 M30X1.5 M30X1.5 20 23 53 87 34 36 36 6Q9-27 M27X1.5 M27X1.5 18 41.5 72 27 32 32
6Q-33 M33X2 M33X2 22 26 55 92 36 41 38 6Q9-30 M30X1.5 M30X1.5 20 45.8 78 30 36 36
6Q-36 M36X2 M36X2 25 25 56 94 41 41 41 6Q9-33 M33X2 M33X2 22 51.5 82 33 41 38
6Q-39 M39X2 M39X2 28 26 58 97 41 46 46 6Q9-36 M36X2 M36X2 25 51.5 86 36 41 41
6Q-42 M42X2 M42X2 32 28.5 59 102.5 50 50 50 6Q9-39 M39X2 M39X2 28 55.5 88 41 46 46
6Q-45 M45X2 M45X2 34 28.5 60 103.5 50 55 55 6Q9-42 M42X2 M42X2 32 57 95 41 50 50
i MESHGTH WAERSEM LN, M6Q-15LN; NRBHERBSRETH, WHERTEM "RV, M6Q-18RN; 6Q9-45 Masx2 Masx2 34 62.5 96 48 %5 %5
MEMMG. HESGIUE, ERSFA LWRK OISR, HEC S, SR SN0 L, Mak S, £ BERNSTE WWERSEN L, 56 0N, HESHEREGUETS, NULLSER TN, 500
6Q-18LN;.order the adapter with sleeve an.d nut, plegs? insert '?Ufflx "LN" after our part NO., for example ?Q'18RN; order the Note: In case if you are inter,ested to order the adar;ter with lock nut,'please insert suffix :'LN" after our part N’O., for example
z%as%tg_rQW:;:J?ﬁz rr:ﬂtt ﬁgd isslileggo?)r_]g gl:]td {EZEI};tciur:E;(NIE)'\.Uing‘Cafter part NO., for example 6Q-18LN/RN; The sleeve NO. iS 6Q-18LN; order the adapter with sleeve and nut, please insert suffix "LN" after our part NO, for example 6Q-18RN; order the
° adapter with lock nut and sleeve and nut, insert suffix "LN/RN" after part NO., for example 6Q-18LN/RN; The sleeve NO. iS
NB500-Q and the nut NO. is NB200-Q and the lock nut NO. is 8C,

o




0 LHEIENT74° EEY O EL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHIIENT4° Y OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS
IS

W NUT

HgsienE (T
s e NEI74 5N/ ABISMELER R 1SO 6149-3

: a1 |
v METRIC 74° CONE /METRIC MALE ~.
' sl L-SERIES ISO 6149-3 "

L1QH-RN

f

90° TAHIT4 shsE/
NI SME S AT m iR R S 1SO 6149-3
90° ELBOW METRIC 74° CONE /

METRIC MALE ADJUSTABLE STUD END
L-SERIES ISO 6149-3

L1QH9-0G L1QH9-0OG/RN

re 247 THREAD EFs5MED OB O-RING R=t DIMENSIONS

re #2557 THREAD BFIMED  OHE O-RING R~ DIMENSIONS

PART NO. F TUBE O.D. Fif B L

1QH-14-12 M14X1.5 M12X1.5 8 009.3X2.4 17 11.0 35 17 17 PART NO. E F TUBE O.D. F iy B S1
1QH-16-14 M16X1.5 M14X1.5 10 011.3X2.4 18 11.0 37.5 19 22 1QH9-14-120G M14X1.5 M12X1.5 8 009.3X2.4 29 32 14 17 17
1QH-18-16 M18x1.5 M16x1.5 12 013.3X2.4 18 1.5 38 22 24 1QH9-16-140G M16X1.5 M14X1.5 10 011.3X2.4 33 35.5 19 19 22
1QH-22-18 M22x1.5 M18x1.5 14 015,3X2/4 19.5 12.5 40.6 24 27 1QH9-18-160G M18x1.5 M16x1.5 12 013.3X2.4 34 36 19 22 24
1QH-27-22 M27x1.5 M22x1.5 18 019.3X2.4 20 13.0 45.5 30 32 1QH9-22-180G M22x1.5 M18x1.5 14 015:3X2.4 37.5 39:5 22 24 27
1QH-30-27 M30x1.5 M27x2 20 023.5X3.0 23 16.0 50 32 36 1QH9-27-220G M27x1.5 M22x1.5 18 019.3X2.4 41.5 435 27 27 32
1QH-33-27 M33x2 M27x2 22 023.5%3.0 26 16.0 53 34 38 1QH9-30-270G M30x1.5 M27x2 20 023.5X3.0 45.8 50 30 32 36
1QH-36-33 M36x2 M33x2 25 029.5X3.0 26 16.0 55 41 41 1QH9-33-270G M33%x2 M27x2 22 023/5X3.0 49.5 52 33 32 41
1QH-39-33 M39x2 M33x2 28 029.5X3.0 26 16.0 55 41 46 1QH9-36-330G M36x2 M33x2 25 029.5X3.0 818 54 36 41 41
1QH-45-42 M45x2 M42x2 34 038.5X3.0 28.5 16.0 59.5 50 55 1QH9-39-330G M39x2 M33x2 28 029.5X3.0 55.5 57.2 41 41 46
B IMBEHERESEETE, WEERSEM RN, M1QH-22-18/RN, #ERSNB500-Q, BB SNB200-Q. Jobemozoe | it M42x2 34 038.5X3.0 | 625 | 6 48 20 20
s s ' B | 13 . ’ -
2 Fi 'ﬁl_809974 13 I:M'EEE, %?ﬁ?él@k]'ﬁlS_O_GMQ 15 I:I’{‘EEE_o Note: 1 II'n case if you are interested to order the . MBEHEREEREITE, NEERSEM “RN’, 111QH9-22-18/RN, #E/KESNB500-Q, 8K SNB200-Q.
adapter in complete set with sleeve and nut, itis necessary to insert suffix "RN" after our part NO., for example 2 Fi% 51S09974- 158 O AR, 24BN 51S06149-13H N8 A Note: 11 if int ted t der th
1QH-22-18/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q, 2 F end is connected with SO 9974-1 port w1 =i L, 315061491 o ote: 1'ncase ityouare interested o ordertne
and connected with SO 6149-1 port without retaining ring. adapterin complete set with sleevle and nut, itis necessary to |.nsert suffix "RN" after our part NO., for.example
1QH9-22-18/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q, 2 F end is connected with ISO 9974-1 port
and connected with ISO 6149-1 port without retaining ring.

co7 cos




0 NHINRNT74° HE O EL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHNRNT74° I OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS

L I
I ] 74°
| f;?’
S, o
- A#I740 [ 4> 5 2 S0 RT A ek 5 .
. | ] e MO S A AAHI740 SMEE /2B SNELLTT I PSR
f . AT4 ~ - . S -33 =i
741 T METRIC 74° CONE / METRIC MALE ) 7R3 |°so 6149-3 X =1#
P ADJUSTABLE STUD END L-SERIES raJw S | ALJUSTABLE STUD END L -SERIES
| A I'®Tg | ISO 6149-3 BRANCH TEE ! " ABLE STUDEND LS
LAQHQ-0G LAQHQ-OG/RN
LAQQH-0G LAQQH-OG/RN

re 4240 THREAD &F5MED1,D2 OB O-RING R~ DIMENSIONS

PART NO. E,G F TUBE O.D. Fif B S1 S2 re 1247 THREAD EF5MED1,D2 O O-RING R~F DIMENSIONS
AQHQ-14-12-140G M14X1.5 M12X1.5 8 009.3X2.4 29 32 14 17 17 PART NO. E,F G TUBE O.D. Gify C S1 S2
AQHQ-16-14-160G M16X1.5 M14X1.5 10 011.3X2.4 33 3585 16 19 22 AQQH-14-14-120G M14X1.5 M12X1.5 8 009.3X2.4 29 32 14 17 17
AQHQ-18-16-180G M18x1.5 M16X1.5 12 013.3X2.4 34 36 19 22 24 AQQH-16-16-140G M16X1.5 M14X1.5 10 011.3X2.4 33 35-5 16 19 22
AQHQ-22-18-220G M22x1.5 M18x1.5 14 015.3X2:4 37.5 395 22 24 27 AQQH-18-18-160G M18x1.5 M16x1.5 12 013.3X2.4 34 36 19 22 24
AQHQ-27-22-270G M27X1.5 M22x1.5 18 019.3X2.4 41.5 435 27 27 32 AQQH-22-22-180G M22x1.5 M18x1.5 14 015.3X2.4 37/5 39.5 22 24 27
AQHQ-30-27-300G M30x1.5 M27X2 20 023.5X3.0 45.8 50 30 32 36 AQQH-27-27-220G M27x1.5 M22x1.5 18 019.3X2.4 41.5 43.5 27 27 32
AQHQ-33-27-330G M33x2 M27X2 22 023.5X3.0 49.5 52 33 32 38 AQQH-30-30-270G M30x1.5 M27x2 20 023.5X3.0 45.8 50 30 32 36
AQHQ-36-33-360G M36x2 M33X2 25 029.5X3.0 578 54 36 41 41 AQQH-33-33-270G M33x2 M27x2 22 023.5X3.0 49.5 52 33 32 38
AQHQ-39-33-390G M39X2 M33x2 28 029.5X3.0 55.5 57.2 41 41 46 AQQH-36-36-330G M36x2 M38x2 25 029.5X3.0 1.8 54 36 41 41
AQHQ-45-42-450G M45X2 M42x2 34 038.5X3.0 62.5 61 48 50 55 AQQH-39-39-330G M39x2 M33x2 28 029.5X3.0 55.5 57.2 41 41 46
. NMESHEREEREEITE, WSERSEM “RN”, AQHQ-22-18-220G/RN, HERESNB500-Q, &K ZSNB200- AQQH-45-45-420G M45x2 M42x2 34 038.5X3.0 62.5 61 48 50 55

i 5 -1l =1ERIES -1j [l o : i i TN kY kY =] “ » 3 = =
Q. 2Fik51S09974-1i OAAE, XI=HE N 51S06149-1iH OHHE, 'l'\lote'z' 1 In case if you are interested to order the . MESHEREBEEITE, NEEARSEM “RN", MAQQH-22-22-180G/RN, 2/ ENB500-Q, 28 ZNB200-
adapterin complete set with sleeve and nut, itis necessary to insert suffix "RN" after our part NO., for example Q. 2GR 5I1SO9974- 13 O MEE, 31545 E Ml 51S06149-13H M 48 & Note: 1| if int ted t der th
AQHQ-22-18-220G/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q, 2 F end is connected with ISO 9974- o i S - ' M= - o ote:dIncase it you are Interested to order the
1 port and connected with ISO 6149-1 port without retaining ring. adapter in complete set with sleeve and n_ut, itis necessary to insert su_fflx RN" after our part N_O., for exampl(—;
AQQH-22-22-180G/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q, 2 G end is connected with ISO 9974-
1 port and connected with ISO 6149-1 port without retaining ring.

co9 Cc10




0 LHEIENT74° #EY O EL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS
—

NHEISMEGT4 S/ FESMEGORE

METRIC MALE 74° CONE/BSP MALE O-RING

L1QG L1QG-RN
R 247 THREAD &EFIMED  OFE O-RING R~+ DIMENSIONS
PART NO. E F TUBE O.D. F i B L
1QG-14-04 M14X1.5 G1/4"X19 8 0111 17 11 36 19 17
1QG-16-06 M16X1.5 G3/8"X19 10 0113 18 11.5 40 22 22
1QG-18-06 M18X1.5 G3/8"X19 12 0113 18 1.5 40 22 24
1QG-18-08 M18X1.5 G1/2"X14 12 o115 18 14 43 27 24
1QG-22-08 M22X1.5 G1/2"X14 14 0115 19.5 14 44.5 27 27
1QG-27-12 M27X1.5 G3/4"X14 18 0119 20 18.8 49.5 32 32
1QG-30-12 M30X1.5 G3/4"X14 20 0119 23 15.5 52.5 32 36
1QG-39-16 M39X2 G1"X11 28 0217 26 18 60 41 46
1QG-45-20 M45X2 G1A4"X11 34 0222 28.5 20 66.5 50 55
F IMERHEREFEREITS, MEAERSEM “RN”, 101QG-18-06RN, #ERENB500-Q, BHEHKSNB200-Q,
2 Fin 5DIN 3852iff 0 #HEL, Note: 1 In case if you are interested to order the adapter in complete set with sleeve and nut,
itis necessary to insert suffix "RN" after our part NO., for example 1QG-18-06RN, The sleeve NO. is NB500-Q and the nut
NO.is NB200-Q, 2F endisconnected with DIN 3852 port.

90° TANHISMELI74° HheE/
FE HME GO B AT A [ A i
90° ELBOW METRIC MALE 74° CONE /
BSP MALE O-RING ADJUSTABLE STUD END

L1QG9-0G L1QG9-0OG/RN
ke 4247 THREAD BEFSMED OMEO-RING R~ DIMENSIONS
PARTNO. E F TUBE O.D. F i B S1
1QG9-14-040G M14X1.5 G1/4"X19 8 o111 29 31.3 14 19 17
1QG9-16-060G M16X1.5 G3/8"X19 10 0113 33 35.8 16 22 22
1QG9-18-060G M18X1.5 G3/8"X19 12 0113 34 36.8 19 22 24
1QG9-18-080G M18X1.5 G1/2"X14 12 o115 36 43.2 22 27 24
1QG9-22-080G M22X1.5 G1/2"X14 14 0115 37.5 43.2 22 27 27
1QG9-27-120G M27X1.5 G3/4"X14 18 0119 415 49.3 27 32 32
1QG9-30-120G M30X1.5 G3/4'X14 20 0119 45.8 52 30 32 36
1QG9-39-160G M39X2 G1"X11 28 0217 5585 58 41 41 46
1QG9-45-200G M45X2 G1T.4H4"X11 34 0222 62.5 63 48 50 55
I TMEHFAEREBEEEITE, WEERSEM “RN”, 11QG9-22-080G/RN, #EKSNB500-Q, BHEHKENB200-Q,
2 Fin 5DIN 38521 O4#HBL, Note: 1In case if you are interested to order the adapter in complete set with sleeve and nut,
it is necessary to insert suffix "RN" after our part NO., for example 1QG9-22-080G/RN, The sleeve NO. is NB500-Q and
the nut NO. is NB200-Q, 2 F endis connected with DIN 3852 port.

0 AHNRNT74° I OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS

4 .
! e W
A B m_‘//
Z R i e ABISMEGTA SME | SAE SMELLE
740‘@@%@ C’.t m OB R 71 1SO 11926-3
—{ o
- sy - sz H_ L) O—R'\fﬁgggs“gALL—EsgﬂlEcso |’\é|(53/181g56—3
L1QO L1QO-RN
re 240 THREAD &EFIMED  OFE O-RING R~ DIMENSIONS
PART NO. F TUBE O.D. F iy B L
1Q0-16-06 M16X1.5 9/16"X18 10 0906 18 9.9 35 17 22
1Q0-18-08 M18X1.5 3/4"X16 12 0908 18 11.13 37 22 24
1Q0-22-10 M22X1.5 7/8"X14 14 0910 19.5 12.7 42 27 27
1Q0-27-12 M27X1.5 1.1/16"X12 18 0912 20 15.1 46 32 32
1Q0-30-12 M30X1.5 141167X12 20 0912 23 15.1 49 32 36
1Q0-33-16 M33X2 1.5/16"X12 22 0916 26 15.1 54 38 38
1Q0-39-16 M39X2 1.5116"X12 28 0916 26 15.1 58 41 46
1Q0-42-20 M42X2 1.5/8"X12 32 0920 28.5 15.1 58 50 50
g
171 1
2%’ |
18 m‘
il A || 00° WABSMRLTA S/ SAE SMBALH
AU e O BR %3 1SO 11926-3
o 53 SAE O-ING BOSS L-SERIES 180 11926-3
L1Q09-0G L1Q09-0G/RN
re 247 THREAD BEFIMED OB O-RING R~ DIMENSIONS
PARTNO. E F TUBE O.D. F i B S1
1Q09-16-06 M16X1.5 9/16"X18 10 0906 32 31.8 16 19 22
1Q09-18-08 M18X1.5 3/4"X16 12 0908 34 36.8 19 24 24
1Q09-22-10 M22X1.5 7/8"X14 14 0910 37.5 44 22 27 27
1Q09-27-12 M27X1.5 1.1/16"X12 18 0912 41.5 51 27 32 32
1Q09-30-12 M30X1.5 1:1716"X12 20 0912 45.8 53 30 32 36
1Q09-33-16 M33X2 1.5/16"X12 22 0916 51 54.5 33 41 38
1Q09-39-16 M39X2 1:5/16"X12 28 0916 55.5 59.5 41 41 46
1Q09-42-20 M42X2 1:578"X12 32 0920 58.5 59 41 50 50
i TMEFHEREBESEEITE, WEARKRSEM “RN”, 11Q09-22-100G/RN, ##EHKESNB500-Q, EHKSNB200-Q,
2 Fiz 51S0O 11926-1i\ A tHAL o Note: 1 In case if you are interested to order the adapter in complete set with sleeve and
nut, it is necessary to insert suffix "RN" after our part NO., for example 1Q09-22-100G/RN, The sleeve NO. is NB500-Q
and the nut NO. is NB200-Q, 2 F end is connected with ISO 11926-1 port.

C12




0 NHRNT4° HE O EEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHNRNT74° I OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS

51

45° TNHISME G740 SN/ FRHE S MBS
45° ELBOW METRIC MALE 74° CONE /NPT MALE

ABISNBLITA SN ) T SN R DT 5
METRIC MALE 74° CONE /NPT MALE

re 1247 THREAD R~ DIMENSIONS re 1247 THREAD R~ DIMENSIONS

PART NO. F D B L PART NO. F B S1
1QN-12-02 M12X1.5 Z1/8"X27 6 15.7 10.5 32 14 14 1QN4-12-02 M12X1.5 Z1/8"X27 6 23 17 11 14
1QN-12-04 M12X1.5 Z1/4"X18 6 15.7 15 36.5 14 14 1QN4-14-02 M14X1.5 Z1/8"X27 8 26 18 14 17
1QN-14-02 M14X1.5 Z1/8"X27 8 17 10.5 33 17 17 1QN4-14-04 M14X1.5 Z1/4"X18 8 26 21 14 17
1QN-14-04 M14X1.5 Z1/4"X18 8 17 15 38 17 17 1QN4-16-06 M16X1.5 Z3/8"X18 10 24 24 16 22
1QN-16-04 M16X1.5 Z1/4"X18 10 18 15 39 19 22 1QN4-18-06 M18X1.5 Z3/8"X18 12 28 24 19 24
1QN-16-06 M16X1.5 Z3/8"X18 10 18 16 40 19 22 1QN4-22-08 M22X1.5 Z1/2"X14 14 30.5 29:5 22 27
1QN-18-04 M18X1.5 Z1/4"X18 12 18 15 39 19 24 1QN4-27-08 M27X1.5 Z1/2"X14 18 33 31 27 32
1QN-18-06 M18X1.5 Z3/8"X18 12 18 16 40 19 24 1QN4-27-12 M27X1.5 Z3/4"X14 18 33 35] 27 32
1QN-18-08 M18X1.5 Z1/2"X14 12 18 195 45.5 22 24 1QN4-30-12 M30X1.5 Z3/4"X14 20 36.2 35.5 30 36
1QN-22-06 M22X1.5 Z3/8"X18 14 19.5 16 43.5 24 27 1QN4-36-16 M36X2 Z1"X11\5 25 42 41 36 41
1QN-22-08 M22X1.5 Z1/2"X14 14 19.5 19.5 47 24 27 1QN4-39-16 M39X2 Z1"X11.5 28 44.5 42.5 41 46
1QN-27-06 M27X1.5 Z3/8"X18 18 20 16.5 46 30 32 1QN4-45-20 M45X2 Z1A14"X11.5 32 47 43 41 50
1QN-27-08 M27x1.5 | z1i2'X14 18 20 19 49 30 32 i MBHHEREBEETS, WEERSEM RN, M1QN4-22-08RN, #E{ENB500-Q, BE{ENB200-Q,
1QN-27-12 M27X1.5 73/4"X14 18 20 19.5 49.5 30 32 Note: In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert suffix
1QN-27-16 M27X1.5 Z1X11.6 18 20 95 5 56.5 36 39 "RN" after our part NO., for example 1QN4-22-08RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,
1QN-30-12 M30X1.5 Z3/4"X14 20 23 19.5 53.5 32 36
1QN-33-12 M33X2 Z3/4"X14 22 26 19.5 56.5 36 41
1QN-36-16 M36X2 Z1"X11.5 25 25 2585 63 41 41
1QN-39-16 M39X2 Z1"X11.5 28 26 25.5 64.5 41 46
1QN-45-16 M45X2 Z1"X11.5 34 28.5 25.5 67 46 50
1QN-45-20 M45X2 Z1.1/4"X11.5 34 28.5 26.5 68 46 50
1QN-45-24 M45X2 Z1.1/2"X11.5 34 28.5 27.5 71 50 50
1QN-52-20 M52X2 Z1.1/4"X11.5 42 30 26.5 71.5 55 60

i METHEREIEEITE, WEEKRSEM “RN”, 11QN-18-08RN, #HERKSNB500-Q, EHKSNB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert suffix

"RN" after our part NO., for example 1QN-18-08RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,

P




0 LHEIENT74° #EY O EL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHIIENT4° Y OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS
I —

[=a]
R N 90° TAHISMELTA SN/ AR B INRLL RHESMRET4 SheE | SEAEIMRL
A | X 51 90° ELBOW METRIC MALE 74° CONE /NPT MALE METRIC MALE 74° CONE/BSPT MALE
L1QN9 L1QT-SP L1QT-SP/RN

re #2427 THREAD R~F DIMENSIONS re 1247 THREAD . R~F DIMENSIONS

PART NO. F D B S1 PART NO. E F B L

1QN9-12-02 M12X1.5 Z1/8"X27 6 25.5 21 11 14 1QT-10-02SP M10X1 R1/8"X28 5 12 10 28 12 14
1QN9-12-04 M12X1.5 Z1/4"X18 6 28 2585 14 14 1QT-14-04SP M14X1.5 R1/4"X19 8 17 14.5 375 17 17
1QN9-14-02 M14X1.5 Z1/8"X27 8 30.2 23.5 14 17 1QT-14-06SP M14X1.5 R3/8"X19 8 17 15 38 17 17
1QN9-14-04 M14X1.5 Z1/4"X18 8 30.2 25.5 14 17 1QT-16-04SP M16X1.5 R1/4"X19 10 18 14.5 38.5 17 22
1QN9-16-04 M16X1.5 Z1/4"X18 10 32 26.5 16 22 1QT-16-06SP M16X1.5 R3/8"X19 10 18 15 39 17 22
1QN9-16-06 M16X1.5 Z3/8"X18 10 32 2975 16 22 1QT-18-04SP M18X1.5 R1/4"X19 12 18 145 38.5 19 24
1QN9-16-08 M16X1.5 Z1/2"X14 10 36 36.7, 22 22 1QT-18-06SP M18X1.5 R3/8"X19 12 18 15 39 19 24
1QN9-18-04 M18X1.5 Z1/4"X18 12 34 2877 19 24 1QT-22-08SP M22X1.5 R1/2"X14 14 1975 20 47.5 24 27
1QN9-18-06 M18X1.5 Z3/8"X18 12 34 31 19 24 1QT-27-08SP M27X1.5 R1/2"X14 18 20 20 50 30 32
1QN9-22-06 M22X1.5 Z3/8"X18 14 37.% 32.5 22 27 1QT-27-12SP M27X1.5 R3/4"X14 18 20 20 50 30 32
1QN9-22-08 M22X1.5 Z1/2"X14 14 37.5 36.7 22 27 1QT-30-12SP M30X1:5 R3/4"X14 20 23 20 53.5 32 36
1QN9-27-08 M27X1.5 Z1/2"X14 18 41.5 40 27 32 1QT-33-12SP M33X2 R3/4"X14 22 26 20 57 36 38
1QN9-27-12 M27X1.5 Z3/4"X14 18 41.5 44 27 32 1QT-36-16SP M36X2 R1X11 25 26 25.5 61.5 38 41
1QN9-27-16 M27X1.5 Z1"X11.5 18 45.5 50 33 32 1QT-39-16SP M39X2 R1"X11 28 26 25.5 64.5 41 46
1QN9-30-12 M30X1.5 Z3/4"X14 20 45.8 45 30 36 1QT-45-20SP M45X2 R1.1/4"X11 34 28.5 26.5 68 46 55
JELEELHE M36X2 &UX1-% 25 515 | 515 36 41 H: MBESHERBBEETE, WHERSEM “RN’, W1QT-22-08SP/RN, 4 E £ ENB500-Q, # 8 ENB200-Q,
1QN9-39-16 M39X2 Z1"X11.5 28 55.5 54.5 41 46 Note: In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert suffix
1QN9-42-20 MA2X2 2114115 32 57 545 a1 50 "RN" after our part NO., for example 1QT-22-08SP/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,
1QN9-45-16 M45X2 Z1"X11.5 34 62.5 58.5 48 55
1QN9-45-20 M45X2 Z1.1/4"X11.5 34 62.5 58.5 48 55
1QN9-45-24 M45X2 Z1.1/2"X11.5 34 62.5 63 48 55

i METHEREBEEITS, MEEKRSEM “RN”, 11QN9-22-08RN, #EKSNB500-Q, #EHKENB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert suffix

"RN" after our part NO., for example 1QN9-22-08RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,

P




0 NHRNT4° HE O EEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHNRNT74° I OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS

NS Ced Ny
HEMBA60° HEHARBEAAS B
METRIC MALE 74° CONE/

BSP MALE DOUBLE USE FOR 60°
SEAT ORBONDED SEAL

el

iy

90° T/NEISMIZLI74 SNE / B SME LT
90° ELBOW METRIC MALE 74° CONE /BSPT MALE

L1QT-SP L1QT9-SP/RN

o 1247 THREAD &F4M2 TUBE O.D. R~F DIMENSIONS
(=]

re #2247 THREAD . R~F DIMENSIONS

PART NO. E F D B S1 PART NO. F B L

1QT9-14-04SP M14X1.5 R1/4"X19 8 30.2 25.5 14 17 1QB-12-02 M12X1.5 G1/8"X28 6 15.7 10 32 14 14
1QT9-16-04SP M16X1.5 R1/4"X19 10 32 26.5 16 22 1QB-14-04 M14X1.5 G1/4"X19 8 17 12 35 19 17
1QT9-18-06SP M18X1.5 R3/8"X19 12 34 29 19 24 1QB-16-06 M16X1.5 G3/8"X19 10 18 13.5 39:5 22 22
1QT9-18-08SP M18X1.5 R1/2"X14 12 36 36 22 24 1QB-18-06 M18X1.5 G3/8"X19 12 18 43.5 39.5 22 24
1QT9-22-08SP M22X1.5 R1/2"X14 14 37.5 36 22 27 1QB-22-08 M22X1.5 G1/2"X14 14 19.5 16 455 27 27
1QT9-27-08SP M27X1.5 R1/2"X14 18 41.5 39.8 27 32 1QB-24-10 M24X1.5 G5/8"X14 16 20 17.5 47.5 30 30
1QT9-27-12SP M27X1.5 R3/4"X14 18 415 44 27 32 1QB-27-12 M27X1.5 G3/4"X14 18 20 18.5 49.5 32 32
1QT9-30-12SP M30X1.5 R3/4"X14 20 45.8 45.5 30 36 1QB-30-12 M30X1.5 G3/4"X14 20 23 18.5 52.5 32 36
1QT9-33-12SP M33X2 R3/4"X14 22 49.5 47.5 33 38 1QB-30E-12 M30X2 G3/4"X14 20 26 18.5 55.5 32 36
1QT9-36-16SP M36X2 R1"X11 25 B18 52 36 41 1QB-33-16 M33X2 G1"X11 22 26 20.5 59.5 41 38
1QT9-39-16SP M39X%2 R1"X11 28 55.5 55.2 41 46 1QB-39-16 M39X2 G1"X11 28 26 20.5 59.5 41 46
1QT9-45-20SP M45X2 R1.1/4"X11 34 62.5 61 48 55) 1QB-45-20 M45X2 G1.1/4"X11 34 28.5 20.5 64 50 55
I MEWHEREEEEITE, WEEKRSEM “RN”, I11QT9-22-08SP/RN, #ERSNB500-Q, #EKSNB200-Q, E: METHERBEEEITS, WiEEKSEM “RN”, M1QB-18-06RN, #EKSNB500-Q, &K SNB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert suffix Note: In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert suffix
"RN" after our part NO., for example 1QT9-22-08SP/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q, "RN" after our part NO., for example 1QB-18-06RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,

C17 C18




0 NHRNT4° HE O EEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS 0 AHNRNT74° I OFEEL METRIC THREAD 74° CONE FLARED TUBE ADAPTERS
I

£ Y
: : 52
LNB200-Q
w
/\ o E [ /\ PAS
" NEISMNRGT740 ShE /A FISMRGA S BE " AEIT4 Gy O3t S8 BGR/T 5647
METRIC MALE 74° CONE / METRIC MALE . : .
WITH BONDED SEAL NN METRIC 74° CONE FLARED NUT GB/T 5647

L1QL L1QL-RN
e #2457 THREAD #F4ME TUBE O.D. R~ DIMENSIONS
e 8247 THREAD EF5MED AEHE R~t DIMENSIONS PART NO. E
PART NO. E B TUBE O.D. BONDED SEAL L NB200-10Q M10X1 5 13.5 14
1QL-10 M10X1 M10X1 5 ZHD-10 12 8 27 17 14 NB200-12Q M12X1.5 6 16.5 14
1QL-12 M12X1.5 M12X1.5 6 ZHD-12 15.7 12 35.2 17 14 NB200-14Q M14X1.5 8 18.5 17
1QL-12-10 M12X1.5 M10X1 6 ZHD-10 15.7 8 305 17 14 NB200-16Q M16X1.5 10 195 22
1QL-14 M14X1.5 M14X1.5 8 ZHD-14 17 12 36.5 19 17 NB200-18Q M18X1.5 12 19.5 24
1QL-14-10 M14X1.5 M10X1 8 ZHD-10 17 8 32 17 17 NB200-22Q M22X1.5 14 19.5 27
1QL-14-12 M14X1.5 M12X1.5 8 ZHD-12 17 12 36.5 17 17 NB200-24Q M24X1.5 16 20 30
1QL-14-16 M14X1.5 M16X1.5 8 ZHD-16 17 12 37 22 17 NB200-27Q M27X1.5 18 20 32
1QL-16 M16X1.5 M16X1.5 10 ZHD-16 18 12 38 22 22 NB200-30Q M30X1.5 20 24.5 36
1QL-16-14 M16X1.5 M14X1.5 10 ZHD-14 18 12 37 19 22 NB200-30EQ M30X2 20 24.5 36
1QL-18 M18X1.5 M18X1.5 12 ZHD-18 18 12 39.5 24 24 NB200-33Q M33X2 22 25.5 38
1QL-18-16 M18X1.5 M16X1.5 12 ZHD-16 18 12 38 22 24 NB200-36Q M36X2 25 26 41
1QL-22 M22X1.5 M22X1.5 14 ZHD-22 19.5 14 43.5 27 27 NB200-39Q M39X2 28 27.5 46
1QL-22-18 M22X1.5 M18X1.5 14 ZHD-18 19.5 12 41 24 27 NB200-42Q M42X2 32 28.5 50
1QL-27 M27X1.5 M27X2 18 ZHD=27 20 16 49 34 32 NB200-45Q M45X2 34 29 55
1QL-27-22 M27X1.5 M22X1.5 18 ZHD-22 20 14 44 30 32
1QL-30-27 M30X1.5 M27X2 20 ZHD-27 23 16 50 34 36
1QL-33 M33X2 M33X2 22 ZHD-33 26 18 57 41 38
1QL-33-27 M33X2 M27X2 22 ZHD-27 26 16 55 34 38
1QL-36-33 M36X2 M33X2 25 ZHD-33 26 18 58 41 41 LNB500-Q
1QL-39-33 M39X2 M33X2 28 ZHD-33 26 18 59 41 46
1QL-42 M42X2 M42X2 32 ZHD-42 28.5 20 65.5 50 50 aHl74° #I OXERELHEGB/T 5646
1QL-45-42 M45X2 M42X2 34 ZHD-42 28.5 20 65.5 50 55 METRIC 74> CONE FLARED SLEEVE GB/T 5646
F: IETFHERBEEEITS, WEEKRSEM “RN”, 11QL-18RN, #ERENB500-Q, EHKSNB200-Q,
Note: In case if you are interested to order the adapter in complete set with sleeve and nut, it is necessary to insert suffix Rre EFI5MED R~f DIMENSIONS i FR g £
"RN" after our part NO., for example 1QL-18RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q, PART NO. TUBE OLD. L NUT
NB500-05Q 5 8.7 10 NB200-10Q
NB500-06Q 6 10.3 11 NB200-12Q
NB500-08Q 8 12.1 12 NB200-14Q
NB500-10Q 10 14.1 13 NB200-16Q
NB500-12Q 12 16.1 14 NB200-18Q
NB500-14Q 14 20.1 15 NB200-22Q
NB500-16Q 16 221 16 NB200-24Q
NB500-18Q 18 25.1 17 NB200-27Q
NB500-20Q 20 28.1 18 NB200-30Q. NB200-30EQ
NB500-22Q 22 30.5 20 NB200-33Q
NB500-25Q 25 335 20 NB200-36Q
NB500-28Q 28 36.5 22 NB200-39Q
NB500-32Q 32 39.5 23 NB200-42Q
NB500-34Q 34 42.5 23 NB200-45Q

P




0 BAAHNRN60° #HmEZEiEL JAPANESE METRIC THREAD 60° CONE ADAPTERS 0 BAAHIRN60° #HEmEZEEL JAPANESE METRIC THREAD 60° CONE ADAPTERS

4 .4 .4 4
L
A ) ’ B
7
" o . .
BAASNMEM60° EmEEZLiiEsL Japanese Metric Thread 60° Cone Fittings P
ol T T T AA/ABISMEE60° S
1 IHI U/ JIS METRIC MALE 60° CONE
e #2457 THREAD R~ DIMENSIONS
PART NO. E F B L
1K-14 M14X1.5 M14X1.5 17 17 40 17
L1K LAK L2K9 LBK LCK L4K
D02 D02 D03 D03 D04 D04 1K-16 M16X1.5 M16X1.5 18 18 42 17
1K-18 M18X1.5 M18X1.5 18 18 42 19
1K-20 M20X1.5 M20X1.5 20 20 48 22
1K-22 M22X1.5 M22X1.5 20 20 48 24
1K-24 M24X1-5 M24X1.5 21.5 AR5 53] 27
1K-30 M30X1.5 M30X1.5 26 26 63 32
L9K L1KH L1KH9-0G LAKHK-0OG LAKKH-0G L1KG
DOS DO5 D06 DOG D07 D07 1K-33 M33X1-5 M33X1/5 30 30 71 36
1K-36 M36X1.5 M36X1.5 33 33 79 41
1K-42 M42X1.5 M42X1.5 36 36 85 46
L1KG9-0G LAKGK-0G LAKKG-0G L1KT-SP 600
D08 D08 D09 D09 (\_7
F
B
i LAK
-
] - | N 5160° =i
“’“D“ ‘ \/ L :)mu AALHISMEL60° SMESTE
]]_lbjuL JIS METRIC MALE 60° CONE TEE
A | C
re #2457 THREAD R~ DIMENSIONS
PART NO. F B C
AK-14 M14X1.5 M14X1.5 M14X1.5 26.5 26.5 26.5 14
AK-16 M16X1.5 M16X1.5 M16X1.5 29-5 29.5 29.5 16
AK-18 M18X1.5 M18X1.5 M18X1:5 30/8 30.8 30.8 19
AK-22 M22X 1.5 M22X1.5 M22X1.5 35.5 85.5 35.5 22
AK-24 M24X1.5 M24X1.5 M24X1.5 37 37 37 22
AK-30 M30X*.5 M30X1.5 M30X1.5 45 45 45 30
AK-33 M33X1.5 M33X1.5 M33X1.5 50 50 50 33




0 BAAHNRN60° #HmEZEiEL JAPANESE METRIC THREAD 60° CONE ADAPTERS 0 BAAHIRN60° #HEmEZEEL JAPANESE METRIC THREAD 60° CONE ADAPTERS
I

L2K9
LCK

90° TZHAAFIIMNEL60° H
90° ELBOW JIS METRIC 60° CONE

HARHSMEL60° ShE/ BARNFINIRG60° NEEX =&

JIS METRIC MALE 60° CONE/JIS METRIC FEMALE
60° SEAT RUNTEE

) R~ DIMENSIONS
PART NO. B S1

2K9-14 M14X1.5 M14X1.5 29 11 14 19 rR= ¥4 THREAD R~ DIMENSIONS
2K9-16 M16X1.5 M16X1.5 31.5 10.5 16 22 PART NO. F B C
2K9-18 M18X1.5 M18X1.5 33/8 1 19 24 CK-14 M14X1.5 M14X1.5 M14X1.5 26.5 26.5 1 14 19
2K9-22 M22X1-5 M22X71.5 38 14 22 27 CK-16 M16X1.5 M16X1.5 M16X1.5 29.5 295 10.5 16 22
2K9-24 M24X1.5 M24X1.5 41.2 145 24 32 CK-18 M18X1.5 M18X1.5 M18X1.5 30/8 30.8 i 19 24
2K9-30-24 M30X1.5 M24X1.5 48 14.5 30 32 CK-22 M22X1.5 M22X1.5 M22X1.5 355 35.5 14 22 27
2K9-30 M30X1.5 M30X1°5 48 17 30 36 CK-24 M24X1.5 M24X1.5 M24X1.5 37 37 14.5 22 32
2K9-33 M33X1.5 M33X1.5 55 17.5 33 41 CK-30 M30X1.5 M30X1.5 M30X1.5 45 45 17 30 36
CK-33 M33X1.5 M33X1.5 M33X1.5 50 50 17.5 33 41
L
A
LBK i
g/ ==
BAASIMESO0° SheE/ B ARSI NEL60° HES T i // LaK
el
Jma JIS METRlCMg‘OLDESGg;-IE:BO;\lfl\I/éLSTNIlEIEETRlc FEMALE 60 } B AN SISMELI60° hEEE Sk
JIS METRIC MALE 60° CONE PLUG

e #2457 THREAD R~ DIMENSIONS

re 1247 THREAD R~ DIMENSIONS
PART NO. F B C

PART NO. = L S1

BK-14 M14X1.5 | M14X1.5 | M14X1.5 26.5 1" 26.5 14 19 4K-14 M14X1.5 17 23 17
BK-16 M16X1.5 | M16X1.5 | M16X1.5 29.5 10-5 29.5 16 22 4K-16 M16X1.5 18 24 17
BK-18 M18X1.5 | M18X1.5 | M18X1.5 30/8 " 30.8 19 24 4K-18 M18X1.5 18 25 19
BK-22 M22X1.5 -M22X1.56 | M22X1.5 355 14 3585 22 27 4K-20 M20X1.5 20 28 22
BK-24 M24X1.5 || 1 M24X1.5 | M24X1.5 37 14.5 37 22 32 4K-22 M22X1.5 20 28 24
BK-30 M30X1.5 | -M30X1.5 | MB80X1:5 45 17 45 30 36 4K-24 M24X1.5 21.5 31.5 27
BK-33 M33X1.5| | "M33X1:5-| M33X1.5 50 17.5 50 33 41 4K-30 M30X1.5 26 37 32

4K-33 M33X1.5 30 41 36




0 BAAHNRN60° #HmEZEiEL JAPANESE METRIC THREAD 60° CONE ADAPTERS

4
A
S
J 7 L9K
60 | A M1 1N
\ ) HAAHIRIE4160° KR L
\._.'-.Y/ JIS METRIC FEMALE 60° SEAT PLUG
e #2457 THREAD R~ DIMENSIONS
PART NO. E B L

9K-14 M14X1.5 1 15 19 19
9K-16 M16X1.5 10-5 17.5 22 22
9K-18 M18X1.5 1 1875 24 24
9K-22 M22X115 14 21 27 27
9K-24 M24X1.5 14.5 225 32 32
9K-30 M30X1.5 17 25 36 36
9K-33 M33X1.5 17.5 25.5 41 41

L1KH
| BAASISMBE60 ShE /A%
wi 60" | w SMELFTAEAERE RSSO 6149-2
| { ll JIS METRIC MALE 60° CONE /METRIC MALE
L] |

ADJUSTABLE STUD END S-SERIES ISO 6149-2

re OB O-RING R<t DIMENSIONS

PART NO. F F i B L
1KH-14-12 M14X1.5 M12X1.5 009.3X2.4 17 11 35.5 17

1KH-14 M14X1.5 M14X1.5 011.3X2.4 17 11 355 19
1KH-16-14 M16X1.5 M14X1.5 011.3X2.4 18 <N 36.5 19
1KH-18-14 M18X1.5 M14X1.5 011.3X2.4 18 11 36.5 19
1KH-18-16 M18X1.5 M16X1.5 013.3X2.4 18 11.5 40 22
1KH-18-20 M18X1.5 M20X1.5 017.3X2:4 18 12 40 27
1KH-20-18 M20X1.5 M18X1.5 015.3X2.4 20 12.5 43 24
1KH-22-20 M22X1.5 M20X1.5 017.3X2.4 20 12 42 27
1KH-24-20 M24X1-5 M20X1,5 017.3X2.4 21.5 12 43.5 27
1KH-24-22 M24X1.5 M22X1.5 019.3X2.4 21.5 13 45 27
1KH-30-27 M30X1.5 M27X2 023.5X3.0 26 16 53 32

1KH-33 M33X1:5 M33X2 029.5X3.0 30 16 62 41
1KH-36-33 M36X1.5 M33X2 029.5X3.0 33 16 65 41

i¥: Fis5I1SO6149-1M O# A, Note: Fendis fitfor ISO 6149-1 port.

0 BAAHIRN60° #HEmEZEEL JAPANESE METRIC THREAD 60° CONE ADAPTERS

L1KH9

90° THARNFIIMEL60° S/ Al
SMZLATA E AR E R SISO 6149-2

90° ELBOW JIS METRIC MALE 60° CONE/METRIC MALE
ADJUSTABLE STUD END S-SERIES ISO 6149-2

re OfE O-RING R~ DIMENSIONS
PART NO. Fif B st

1KH9-14-120G M14X1.5 M12X1.5 009.3X2.4 25.5 31.5 14 17

1KH9-140G M14X1.5 M14X1.5 011.3X2.4 27.5 32 14 19
1KH9-16-140G M16X1.5 M14X1.5 011.3X2.4 28.5 34 16 19
1KH9-18-140G M18X1.5 M14X1.5 011.3X2.4 30.8 35.5 19 19
1KH9-18-160G M18X1.5 M16X1.5 013.3X2.4 30.8 36 19 22
1KH9-18-200G M18X1.5 M20X1.5 017.3X2:4 30.8 37 19 27
1KH9-20-180G M20X1.5 M18X1.5 015.3X2.4 33 37 19 24
1KH9-22-200G M22X1.5 M20X1.5 017.3X2.4 35 40 22 27
1KH9-24-200G M24X1-5 M20X1.5 017.3X2.4 40 43.5 27 27
1KH9-24-220G M24X1.5 M22X1.5 019.3X2.4 40 44 27 27
1KH9-30-270G M30X1.5 M27X2 023.5X3.0 48 52 30 32

1KH9-330G M33X1:5 M33X2 029.5X3.0 50 52.5 33 41
1KH9-36-330G M36X1.5 M33X2 029.5X3.0 57 52.5 36 41
i Fin51SO6149-1iO4EAB, Note: F end is fit for ISO 6149-1 port.

LAKHK-0G
BAAHSNEL600 Sh4E ) 2%
2 JL SMELATA EFHRER SISO 6149-2 H X =@
g 60 JIS METRIC MALE 60° CONE / METRIC MALE
. ADJUSTABLE STUD END S-SERIES ISO 6149-2 BRANCH TEE
oA 1P ]
ke #2457 THREAD O O-RING R~ DIMENSIONS
PART NO. F e B c

AKHK-14-12-140G | M14X1.5 | M12X1.5 | M14X1.5 009.3X2.4 | 255 | 335 | 255 14

AKHK-140G M14X1.5 | M14X1.5 | M14X1.5 011.3X2.4 | 275 32 27/5 14
AKHK-16-14-160G | M16X1.5 | M14X1.5 | M16X1.5 011.3X2.4 | 285 355 | 285 16
AKHK-18-14-180G | M18X1.5 | M14X1.5 | M18X1.5 011.3x2.4)/| 30.8/ | 375 /| 308 19
AKHK-18-16-180G | M18X1.5 | M16X1.5 | M18X1.5 013.3%2.4 | 30.8 | /39.5 |/30.8 19
AKHK-18-20-180G | M18X1.5 | M20X1.5 | M18X1.5 017.3X2.4 | [30:8 44 30.8 19
AKHK-20-18-200G | M20X1.5 | M18X1.5 | M20X1.5 015.3X2.4 33 425 33 19
AKHK-22-20-220G | M22X1.5- M20X1.5 | M22X1.5 017.3x2.4 | 35 45.5 35 22
AKHK-24-20-240G | M24X135, || M20X1.5 | M24x1.5 017.3X2.4 | 40 47 40 24
AKHK-24-22-240G | M24X1.5° |-M22X1.5 || _M24X1.5 019.3X2.4 | 40 47 40 24
AKHK-30-27-300G | M30X1.5 | M27X2 | M30X1.5 023.5X3.0 | 48 57 48 30

AKHK-330G M33X1.5 | M33X2 | M33X1.5 029.5X3.0 | 54.5 59 54.5 33
iE: Fin51S06149-15mO#B, Note: F endis fit for ISO 6149-1 port.




0 BAAHIEN60° #HmEmEHEL JAPANESE METRIC THREAD 60° CONE ADAPTERS

LAKKH-0G

BANFISMEL60° S/ 2
SMEGATAEFRERIISO6149-2 EX =&
JIS METRIC MALE 60° CONE / METRIC MALE
ADJUSTABLE STUD END S-SERIES ISO 6149-2 RUN TEE

ke O O-RING R~t DIMENSIONS

PART NO. G B C S1
AKKH-14-14-120G M14X1.5 | M14X1.5 | M12X1.5 009.3X2.4 | 25.5 25.5 33.5 14 17
AKKH-140G M14X1.5 | M14X1.5 | M14X1.5 011.3X2.4 | 27.5 27.5 34.5 14 19
AKKH-16-16-140G M16X1.5 | M16X1.5 | M14X1.5 011.3X2.4 | 28.5 28.5 3515 16 19
AKKH-18-18-140G M18X1.5 | M18X1.5 | M14X1.5 011.3X2.4 | 30.8 30.8 37.5 19 19
AKKH-18-18-160G M18X1.5 | M18X1.5 | M16X1.5 013.3X2:4 | _30.8 30.8 39.5 19 22
AKKH-18-18-200G M18X1.5 | M18X1.5 | M20X1.5 017.3X2.4730.8 30.8 44 19 27
AKKH-20-20-180G M20X1.5 | M20X1.5 | M18X1.5 015.3X2.4 33 33 42.5 19 24
AKKH-22-22-200G M22X1.5 | M22X1.5 | M20X1.5 017.3X2.4 35 35 45.5 22 27
AKKH-24-24-200G M24X1.5 | M24X1.5 || M20X1.5 O17.3X2.4 40 40 47 24 27
AKKH-24-24-220G M24X1:5' | ' M24X1.5 | M22X1/5 019.3X2.4 40 40 47 24 27
AKKH-30-30-270G M30X1:5, | ‘M30X1.5 M27X2 023.5X3.0 48 48 57 30 32
AKKH-330G M33X 1.5 | -M33X1.5 M33X2 029.5X3.0| 54.5 54.5 59 33 41
AKKH-36-36-330G M36X1.5-1"M36X1.5 M33X2 029.5X3.0 57 57 60.5 36 41

£ Gim5ISO6149-1 A48, Note: Gendis fitfor ISO 6149-1 port.
L
A B
L1KG

HARNFISMELG60° S/ EESMEGORE
JIS METRIC MALE 60° CONE/BSP MALE O-RING

e #2250 THREAD OB O-RING R~ DIMENSIONS
PART NO. E F Fifs B L
1KG-14-04 M14X1.5 G1/4"X19 o111 17 1" 36 19
1KG-14-06 M14X1.5 G3/8"X19 0113 17 115 36.5 22
1KG-16-06 M16X1.5 G3/8"X19 o113 18 115 38 22
1KG-18-06 M18X1.5 G3/8"X19 0113 18 11.5 38 22
1KG-22-08 M22X1.5 G1/2/'X14 0115 20 14 47 27
1KG-30-12 M30X1.5 G3/4"X14 o119 26 1585 52.5 32
1KG-33-12 M33X1.5 G3/4"X14 0119 30 15.5 59.5 36
1KG-33-16 M33X1.5 G1"X11 0217 30 18 62 41

iE: Fit5DIN 3852ii0#HEL, Note: F end is connected with DIN 3852 port.

D07

0 BAAHIRN60° #HEmEZEEL JAPANESE METRIC THREAD 60° CONE ADAPTERS

L1KG9-0G

90° THARAFISMEL/
TEE SMR GO B T [ A 3k
90° ELBOW JIS METRIC MALE /BSP
MALE O-RING ADJUSTABLE STUD END

R~F DIMENSIONS

rs OFE O-RING
PART NO. E F Fig B S1
1KG9-14-040G M14X1.5 G1/4"X19 o111 26.5 31.3 14 19
1KG9-14-060G M14X1.5 G3/8"X19 0113 28.5 35.8 16 22
1KG9-16-060G M16X1.5 G3/8"X19 0113 28 358 16 22
1KG9-18-060G M18X1.5 G3/8"X19 0113 30.8 74 19 22
1KG9-22-080G M22X1.5 G1/2"X14 0115 35.5 43.2 22 27
1KG9-24-080G M24X1.5 G1/2"X14 0115 3 46 24 27
1KG9-24-120G M24X1.5 G3/4"'X14 0119 40 49.3 27 32
1KG9-30-120G M30X1.5 G3/4"X14 0119 47.5 53 33 32
1KG9-33-160G M33X1.5 G1"X11 0217 50 53 33 41
1KG9-42-200G M42X1.5 | G1.1/4"X11 0222 63 59 41 50
E: Fim5DIN 3852l A48 &L, Note: F endis connected with DIN 3852 port.
LAKGK-0G
BARAHISMEL / HE

s

PART NO.

#2471 THREAD

E. G

OB O-RING
F F s

SMEGOR B WA | iR 5 X =18
JIS METRIC MALE /BSP MALE O-RING
ADJUSTABLE STUD END BRANCH TEE

R~F DIMENSIONS
B C

AKGK-14-04-140G | M14X1.5 | G1/4"X19 0111 26.5 31.3 26.5 14 19
AKGK-14-06-140G | M14X1.5 | G3/8"X19 0113 28.5 35.8 28.5 16 22
AKGK-16-06-160G | M16X1.5 | G3/8"X19 0113 28 358 28 16 22
AKGK-18-06-180G | M18X1.5 | G3/8"X19 0113 31 37 34 19 22
AKGK-22-08-220G | M22X1.5 | G1/2"X14 0115 35,6 43.2 3565 22 27
AKGK-24-08-240G | M24X1.5 ]\ G1/2"X14 0115 37 46 37 24 27
AKGK-24-12-240G | M24X1.5 | "G3/4"X14 0119 40 49.3 40 27 32
AKGK-30-12-300G | M30X1.5-] G3/4"X14 0119 47.5 53 47.5 30 32
AKGK-33-16-330G | M33X1.5 G1"X11 0217 50 53 50 33 41

iE: Fim5DIN 3852ih OHAL

Note: F end is connected with DIN 3852 port.

D08




0 BAAHNRN60° #HmEZEiEL JAPANESE METRIC THREAD 60° CONE ADAPTERS 0 BAESEIRN60° #HmEZEiEL JAPANESE BSP THREAD 60° CONE ADAPTERS

[ [
Ly
£ LAKKG-0G
.ot R BAESIEMN60° #EmZifiEsL Japanese Bsp Thread 60° Cone Fittings
g JIS METRIC MALE /
807, BSP MALE O-ROING RUN TEE
ADJUSTABLE STUD END
#2470 THREAD OB O-RING R~ DIMENSIONS
PART NO. B G G B c
AKKG-14-14-040G | M14X1.5 | G1/4"X19 0111 26.5 26.5 315 14 19 ';;032 IE%% IE%? 'I-E‘g% 'I-E%i 'I-E%i
AKKG-14-14-060G | M14X1.5 | G3/8"X19 0113 28.5 28.5 35.5 16 22
AKKG-16-16-060G | M16X1.5 | G3/8"X19 0113 28 28 358 16 22
AKKG-18-18-060G | M18X1.5 | G3/8"X19 0113 30.8 308 37 19 o
AKKG-22-22-080G | M22X1.5 | G1/2"X14 0115 355 35.5 43 22 27
AKKG-24-24-080G | M24X1.5 1| G1/2"X14 0115 40 40 46 27 27
AKKG-24-24-120G | M24X1.5| | G3/4"X14 oMg 40 40 49.3 27 32 L;ﬁ? L1S§8g°G LASE&;OG LASSEfngG H S,ETO}SP H Sgg‘gsp
AKKG-30-30-120G | M30X1.5 | G3/4"X14 0119 47.5 47.5 53 30 32
AKKG-33-33-160G | M33X15 | G1"X11 0217 50 50 53 33 41
E: Gin5DIN 3852iliO#HAL, Note: G end is connected with DIN 3852 port.
L1ST9-SP
L E09
A B
77 /7%/ L1KT-SP
6oog -] N
J | AAASISMBLO0° ShE / BB INBL
JIS METRIC MALE 60° CONE / BSPT MALE
S F/
re #2450 THREAD R~ DIMENSIONS
PART NO. E F B L S1
1KT-14-04SP M14X1.5 | R1/4"X19 17 14.5 37.5 17
1KT-14-06SP M14X1.5 R3/8"X19 17 15 38 19
1KT-16-06SP M16X1.5 | R3/8"X19 18 15 39 19
1KT-18-06SP M18X1.5 R3/8"X19 18 15 39 19
1KT-20-06SP M20X1.5 | R3/8"X19 20 15 43 22
1KT-22-06SP M22X1.5 | R3/8"X19 20 15 43 24
1KT-22-08SP M22X1.5 | R1/2"X14 20 20 48 24
1KT-24-08SP M24X1.5 | R1/2"X14 21.5 20 51.5 27
1KT-24-12SP M24X15, | R3/4"X14 21.5 20 51.5 30
1KT-30-12SP M30X1\5 \| R3/4"X14 26 20 57 32
1KT-33-16SP M33X1.5 \|\ R1"X11 30 25.5 66.5 36
1KT-36-20SP M36XT.5~ -R1.1/4"X11 33 26.5 72.5 46
1KT-42-24SP M42X1.5 | R1.1/2"X11 36 26.5 77.5 50




0 BAXEEIRWN60° #HmEZEiiEL JAPANESE BSP THREAD 60° CONE ADAPTERS 0 BAESEIRN60° #HmEZEiEL JAPANESE BSP THREAD 60° CONE ADAPTERS

4 .4 .4 4
507
L - ) F
B/ V- L1s B o LCS
) 1 o
| | A AZESMBLO0° SMEE/
AAKEAEE60° AEES=iE

60°) = -—r ——- 1T = {60° HAZESMEL60° S 3\
] i JIC GAS MALE 60° CONE ol Bl N ol |
s1 V- il \ | JIS GAS MALE 60° CONE /

S JIS GAS FEMALE 60° SEAT RUN TEE

1247 THREAD R~F DIMENSIONS

RS

PART NO. F L
15-02 G1/8"X28 | G1/8"X28 12 12 30 1 #85 THREAD R~ DIMENSIONS
15-04 G1/4"X19 | G1/4"X19 16 | 16 |—38/ |/ 17 PART NO. F
15-06 G3/8"X19 | G3/8"X19 18 18 42 19 CS-04 | G1/4"X19 | G1/4"X19 | G1/4"X19 28 28 9 14 19
15-08 G1/2'X14 | G1/2'x14 — N =] b [| ped ) a8\ 22 cs-06 | Ga/sx19leamxte | cugxte | T/ /120 )| /20 /17 95| 16 22
15-12 G3/4"X14 | G34"X14 22 22 54 30 CS-08 | G1/2'X14 |[G1/2'X14 | G1/2"XA4 38 38| 13 | 22 27
1516 et | & [ I i | ] ] [T 2a 59 36 cs-12 | caarxial[slaxih | dskad | L) ) 1/ el a5 A 27 32
15-20 G141 | G114 X1 27 27 67 46 CS-16 c1'x11l - Grxn | Fetxtd 485 | 485 | 15 33 41
15-24 Latam2rxh| | G1aendrr | 27 27 69 50
15-32 G2"X 11 G2'X11 30 30 77 65
S o LBS L4S
“l ) 52 60°
51 1 BARZEINEL60° ShiE/ HAZEIMEL60° SRR
. TP | A AARZENRL60° HESXZE JIS GAS MALE 60° CONE PLUG
60" :_._u‘ i I 0 e JIS GAS MALE 60° CONE/
| ) JIS GAS FEMALE 60° SEAT BRANCH TEE
LA c

#2457 THREAD R~} DIMENSIONS

RS

PART NO. E S1

424 THREAD R~ DIMENSIONS 45.04 51/4"X19 6 ” Y
PR NGO £ © 4s-06  [—eaEx1s | S/ [/ | I 7 /) /i8] s "/ 19
BS-04 G1/4"X19 | G1/4"X19 | G1/4"X19 28 9 28 14 19 45.08 Ry AR o0 ’8 .
BS-06 G3/8"X19 | G3/B'X1e-(G38X19 | 7 /| ) |/ 28 |95/ /20,1 |16 22 48-12 — G314 L] O L T 75— s
BS-08 G1/2"X14 | G1/2"X14) | G1/2"X14 38 11.3 38 22 27 4516 | 04 25 26
BS-12 G3/4'x14 | G3axa4-caiaxia/| /[ /) L) /| Ja3) |/ 13| as | Sor | 32
BS-16 G1"X11 | G1"X11— | G1"X11 485 15 485 33 41




0 BAXEEIRN60° #HEmEiiEL JAPANESE BSP THREAD 60° CONE ADAPTERS

60°

L9S

HAZENIZEL60° KHEEL
JIS GAS FEMALE 60° SEAT PLUG

0 BAEERN60° #HEEHiEL JAPANESE BSP THREAD 60° CONE ADAPTERS
C

re 240 THREAD R~ DIMENSIONS
PART NO. S1
9S-04 G1/4"X19 9 14.5 17 19
9S-06 G3/8"X19 9.5 15-5 19 22
9S-08 G1/2"X14 11.3 19 22 27
9S-12 G3/4"X14 18 23.5 32 32
9S-16 G1"XI1 15 25 36 41
9S-20 G1.1/4"X11 188 29.5 50 50
9S-24 G117/2" X1 17.5 29.5 55 55
9S-32 G2"X11 24 32 70 70
L Bit LOCK NUT
A

60" (>
L]

BAZEIMEL60° TRk
JIS GAS MALE 60° CONE BULKHEAD

L
B B
,_r LD L1SG
60°3 W - L
i BAZGIMIL60° Sk / HEIMELONE
B JIS GAS MALE 60° CONE/BSP MALE O-RING
V51
ke #8247 THREAD OF%E O-RING R+t DIMENSIONS

PART NO. F F i B L
18G-02 G1/8"X28 G1/8"X28 0011 12 9.5 29 14
1SG-04 G1/4"X19 G1/4"X19 O111 16 11 345 19
1SG-06 G3/8"X19 G3/8"X19 O113 18 11.6 37.5 22
1SG-08 G1/2"X14 G1/2"X14 o115 20 14 44 27
1SG-12 G3/4"X14 G3/4"X14 0119 22 15.5 485 32
18G-16 G1"X11 G1"XA1 0217 24 18 55) 41
18G-20 G1.1/4"X11 G1.1/4"X41 0222 27 20 59 50
18G-24 G1.172"X 11 G1.1/2"X11 0224 27 21.5 62.5 55)

i¥: Fim5DIN 3852ik O4HEL,

Note: F end is connected with DIN 3852 port.

L1SG9-0G

90° ETHAEEIMELE0° S/
EE SN GO B 7T 8 [ A v
90° ELBOW JIS GAS MALE 60° CONE/BSP
MALE O-RING ADJUSTABLE STUD END

L6S L6S-RN
e #2457 THREAD R~F DIMENSIONS
PART NO. F B L
6S-04 G1/4"X19 | G1/4"X19 16 32 56 19 19
6S-06 G3/8"X19 | G3/8"X19 18 36 62 22 22
6S-08 G1/2"X14 | || G1/2"X14 20 40 70 27 27
6S-12 G3/4"X14 | ||~ G3/4"X14 22 41 74 32 32
6S-16 G1"X11 G1"X11 24 45 88 41 41

I MEHFHSEEITR, WEEKRSEM “LN”, 6S-16LN, &K SH8B,
Note: In case if you are interested to order the adapter in complete set with lock nut, it is necessary to insert suffix "LN"
after our part NO., for example 6S-16LN, The lock nut NO. is 8B.

e #2450 THREAD OfE O-RING R~ DIMENSIONS

PART NO. E F Fif B L s1
15G9-020G G1/8"X28 | G1/8"X28 0011 218 | 26.2 11 14
15G9-040G G1/4"X19 | G1/4"X19 o111 28 31.3 14 19
15G9-060G G3/8"X19 | G3/8"X19 o3 29 35.8 16 22
15G9-080G G1/2'X14 | GH2"X14 0115 38 4322 22 27
15G9-120G Gol4X14 | G3/4"X14 0119 43 49.3 27 32
15G9-160G G1"X11 G1"X11 0217 485 53 33 41
15G9-200G | [GT.H4"X11 | /G1.1/4"X11 0222 57 59 41 50
18G9-240G |- GT1/2'X11 | G1.1/2"X11 0224 61 65 48 56

i¥: Fin5DIN 3852ih OHEAL,

Note: F end is connected with DIN 3852 port.




0 BAXEEIRN60° #HEmEZEiEL JAPANESE BSP THREAD 60° CONE ADAPTERS

0 BAESEIRN60° #HmEZEiEL JAPANESE BSP THREAD 60° CONE ADAPTERS

L1ST-SP

HARREIMIL60° SME/ HEE ML
JIS GAS MALE 60° CONE/BSPT MALE

L I
F
o ?“ [I
91 7 o LASGS-0G
s1 m
/ HARZEESMELI60° SME / B SMBLL
~ Z 7275 G OB FA M4 X =18
60" %\';',3 R JIS GAS MALE 60° CONE / BSP MALE
: O-RING ADJUSTABLE STUD END BRANCH TEE
A C
e O O-RING R~ DIMENSIONS
PART NO. Fith B c
ASGS-020G | G1/8"X28 | G1/8"X28 | G1/8"X28 0011 218 | 262 | 21.8 11 14
ASGS-040G | G1/4"X19 | G1/4"X19 | G1/4"X19 0111 28 31.3 28 14 19
ASGS-060G | G3/8"X19 | G3/8"X19 | G3/8"X19 0113 29 35.8 29 16 22
ASGS-080G | G1/2"X14 | G1/2"X14 | G1/2"X14 0115 38 43.2 38 22 27
ASGS-120G | G3/41X14|| GBI4"X14 | /G3/4"X14 0119 43 49.3 43 27 32
ASGS-160G | G1'x11| ||| G1'x11 | G1"X1A 0217 485 | 545 | 485 33 41
ASGS-200G | G1.1/4"X11[G1.1/4"X1| G1.1/4"X11 0222 57 59 57 41 50
ASGS-240G |G1.1/2"X11[GT.1/2"X11| G1.1/2"X11 0224 61 65 61 48 55
iE: Fi5DIN 3852ii 0#HEL, Note: F end is connected with DIN 3852 port.
60°
i i : LASSG-0G
|
== HARZEESMBLI60° SME / FEE SMBLL
ot — OB B TAMKSES=5E
L) JIS GAS MALE 60° CONE / BSP MALE
| O-RING ADJUSTABLE STUD END RUN TEE

e #250 THREAD R~ DIMENSIONS
PART NO. E F B L
1ST-02SP G1/8"X28 | R1/8"X28 12 10 28 14

1ST-02-04SP | G1/8"X28 | R1/4"X19 12 145 | 325 17
1ST-04SP G1/4"X19 | R1/4"X19 16 145 | 365 17
1ST-04-02SP | G1/4'X19 | R1/8"X28 16 10 32 17
1ST-04-06SP | G1/4"X19 | R3/8"X19 16 15 39 19
1ST-04-08SP | G1/4"X19 | R1/2"X14 16 20 44 22
1ST-06SP G3/8"X19 | R3/8"X19 18 15 41 19
1ST-06-04SP | G3/8"X19 | R1/4"X19 18 145" | 405 19
1ST-06-08SP | G3/8"X19 | R1/2"X14 18 20 46 22
1ST-08SP G1/2"X14 | R1/2"X14 20 20 48 22
1ST-08-04SP | G1/2'X14 | R1/4"X19 20 14.5 | 42.5 22
1ST-08-06SP | G1/2'X14 | R3/8"X19 20 15 45 22
1ST-08-12SP | G1/2'X14 | R3/4"X14 20 20 50 27
1ST-128P G3/4"X14 | R3/4"X14 22 20 53 30
1ST-12-08SP | G3/4"X14 | R1/2"X14 22 20 53 30
18T-12-16SP | G3/4"X14 R1"X11 22 25.5 59 36
1ST-16SP G12XH R1"X11 24 255 | 625 41
1ST-16-12SP GAX 1 R3/41X14 24 20 57 41
1ST-20SP G1.1/4"X M| R1A/4"X11 27 26.5 66 46
1ST-24SP G1.1/2"X11| R1.1/2"X11 27 265 | 675 50
1ST-32SP G2"X11 R2"X11 30 30 77 65

1247 THREAD OF.E O-RING R~F DIMENSIONS
PART NO. F G B C
ASSG-020G | G1/8"X28 | G1/8"X28 | G1/8"X28 0011 21.8 21.8 27 1 14
ASSG-040G | G1/4"X19 | G1/4"X19 | G1/4"X19 o111 28 28 3 14 19
ASSG-060G | G3/8"X19 | G3/8"X19 | G3/8"X19 o113 29 29 35.5 16 22
ASSG-080G | G1/2"X14 | G1/2"X14--G1/2"X14 0115 38 38 43.5 22 27
ASSG-120G | G3/4"X14 | |G3/4"X14 | /G3/4"X14 o119 43 43 495 27 32
ASSG-160G G1"X11 G1"X11 G1"X11 0217 48.5 48.5 54.5 33 41
ASSG-200G | G1.1/4"X11|G1.1/4"X11| G1-414"XT1 0222 57 57 59 41 50
ASSG-240G | GA:1/2"X11|G1.1/2"X11| G1.1/2"X11 0224 61 61 65 48 55

¥ : Fim 5DIN 3852il O4HEL,

Note: F end is connected with DIN 3852 port.

E07




0 HBAEEIEZEN60° #HEEHIEL JAPANESE BSP THREAD 60° CONE ADAPTERS 0 BAEERN60° #HEEHiEL JAPANESE BSP THREAD 60° CONE ADAPTERS
IS C

F
X
; <& L1ST4-SP L1ST9-SP
g
o0 =t 2 Q) ‘ . # : % :
U 45" TEKKEINELO0 I | HEIEL 00° & AAKEIMELE0° Sh/ B EBLL
A Sl 45° ELBOW JIS GAS MALE 60° CONE/BSPT MALE 90° ELBOW JIC GAS MALE 60° CONE/BSPT MALE

R #2457 THREAD R~ DIMENSIONS re #24r THREAD R~ DIMENSIONS

PART NO. E F B S1 PART NO. E F B St
1ST4-02SP G1/8"X28 R1/8"X28 19 17 11 1ST9-02SP G1/8"X28 R1/8"X28 21.8 21 11
1ST4-02-04SP G1/8"X28 R1/4"X19 19.8 21 14 1ST9-02-04SP G1/8"X28 R1/4"X19 24.3 25.5 14
1ST4-04SP G1/4"X19 R1/4"X19 24 21 14 1ST9-04SP G1/4"X19 R1/4"X19 29 26 14
1ST4-04-02SP G1/4"X19 R1/8"X28 24.5 17.5 14 1ST9-04-02SP G1/4"X19 R1/8"X28 29 23.5 14
1ST4-04-06SP G1/4"X19 R3/8"X19 245 23 16 1ST9-04-06SP G1/4"X19 R3/8"X19 30 29 16
1ST4-04-08SP G1/4"X19 R1/2"X14 26.5 29.5 22 1ST9-06SP G3/8"X19 R3/8"X19 31\5 28.5 16
1ST4-06SP G3/8"X19 R3/8"X19 26 23 16 1ST9-06-04SP G3/8"X19 R1/4"X19 31.5 26.5 16
1ST4-06-04SP G3/8"X19 R1/4"X19 26 21 16 1ST9-06-08SP G3/8"X19 R1/2"X14 36 36 22
1ST4-06-08SP G3/8"X19 R1/2"X14 28.5 29.5 22 1ST9-08SP G1/2"X14 R1/2"X14 38 36 22
1ST4-08SP G1/2"X14 R1/2"X14 31 29.5 22 1ST9-08-06SP G1/2"X14 R3/8"X19 38 32.5 22
1ST4-08-06SP G1/2"X14 R3/8"X19 30.5 25 22 1ST9-08-12SP G1/2"X14 R3/4"X14 41 43.5 27
1ST4-12SP G3/4"X14 R3/4"X14 34.5 30.5 27 1ST9-12SP G3/4"X14 R3/4"X14 43 43.5 27
1ST4-12-08SP G3/4"X14 R1/2"X14 34 30 27 1ST9-12-08SP G3/4"X14 R1/2"X14 43 40.5 27
1ST4-16SP G1"X 11 RA"X A1 37.5 39 33 1ST9-12-16SP G3/4"XA4 R1"X11 47 50 33
1ST4-16-12SP GIUX11 R3/4"X14 37.5 32.5 33 1ST9-16SP G1"X11 R1"X11 48.5 50 33
1ST4-20SP G1.1/4"X11, | R1.1/4"X11 44.5 44 41 1ST9-20SP G1.1/4"X11| R1.1/4"X11 57 59 41
1ST4-24SP G1.472"X11 | R1.1/2"X11 47.5 47 48 1ST9-24SP G1.1M2"X41 1 R1.1/2"X11 61 62.5 48
1ST4-32SP G2"X11 R2"X11 54 53 63 1ST9-32SP G2"X11 R2"X11 73.2 74.2 63




0 HEEN60° #HmEIIEL BSP THREAD 60° CONE ADAPTERS 0 HEEN60° HEEIIESL BSP THREAD 60° CONE ADAPTERS
IS C

REIRN60° Mgk Bsp Thread 60° Cone Fittings

L1B L1B9 L2B9 L2TB9-SP L4BN L4BN-WD L4B-WD L5B L5B9
FO3 FO4 FO7 F37 F37 F38 F38 F39 F40
]
./
LCB L4B L7B L7B9 LGB L5BN L5BT L5B-WD
Fos F11 F40 F41 F41 F42 F42 F43
i’”llly/fllllllllllllllllll/
S —
(]
L6B L5GB L7TB-S L2B-G L2B9-G LoTB-G/SP L5B-G
F12 F44 F44 F45 F45 F46 F46
L1BT9-SP L1BN L1BN9 L1BG L1BG4-OG L1IBG9-0OG
F16 F17 F18 F19 F20 F20

oF

LABBG-0G
F21 F21 F22 F23 F24 F25

L1BH9-0OG L1BJ

L2BJ-WD L2NB
F33 F34

L2TB-SP
F36




0 RERN60° HEEFEL BSP THREAD 60° CONE ADAPTERS

60°

60°

L1B

WEIMEL60° MRS RIREAESREH

BSP MALE DOUBLE USE FOR 60°
SEAT OR BONDED SEAL

R~ DIMENSIONS

0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

L1B9

90 LREEIMBLI60° Atk
90° ELBOW BSP MALE 60° SEAT

ke #2247 THREAD R~ DIMENSIONS
PART NO. 5 F B S1
1B9-02 G1/8"X28 | G1/8"X28 19.8 | 198 1
1B9-02-04 G1/8"X28 | G1/4"X19 23 25 14
1B9-04 G1/4"X19 | G1/4"X19 245 | 245 14
1B9-04-06 G1/4"X19 | G3/8"X19 26,5 ) 'R7.5 16
1B9-06 G3/8"X19 | G3/8"X19 27.5 ) 27.5 16
1B9-06-08 G3/8"X19 | G1/2"X14 31 34,5 22
1B9-08 G1/2'X14 | G1/2"X14 3451345 22
1B9-08-12 G1/2'X14 | G3/4"X14 375 40 27
1B9-10 G5/8"X14 | G5/8"X14 35 35 22
1B9-10-12 G5/8"X14 | G3/4"X14 37.5 40 27
1B9-12 G3/4"X14 | G3/4"X14 40 40 27
1B9-12-16 G3/4"X14 G X1 43.5 46 33
1B9-16 G1"X11 G1"X11 46 46 33
1B9-16-20 GUXTH\ | G1,1/4"X11 50.5 | 50.5 41
1B9-20 GTAAXIN |\ G1.1/4"X11 505 | 50.5 41
1B9-20-24 G [\ G1.1/2"X11 545 | 57.5 48
1B9-24 G1./2°XA1 1 G1.1/2"X11 575 | 57.5 48
1B9-32 G2'X 11 G2"X11 68 68 63

=
PART NO. B L
1B-02 G1/8"X28 G1/8"X28 10 10 26 14
1B-02-04 G1/8"X28 G1/4"X19 10 12 28 19
1B-02-06 G1/8"X28 G3/8"X19 10 13.5 31.5 22
1B-02-08 G1/8"X28 G1/2"X14 10 16 36 27
1B-04 G1/4"X19 G1/4"X19 12 12 30 19
1B-04-06 G1/4"X19 G3/8"X19 12 13,5 33.5 22
1B-04-08 G1/4"X19 G1/2"X14 12 16 38 27
1B-04-10 G1/4"X19 G5/8"X14 12 17.5 39.5 30
1B-06 G3/8"X19 G3/8"X19 135 13.5 35 22
1B-06-08 G3/8"X19 G1/2"X14 135 16 39.5 27
1B-06-10 G3/8"X19 G5/8"X14 13.5 17.5 41 30
1B-06-12 G318"X19 G3/4"X14 13.5 18.5 43 32
1B-08 G112'X14 G1/2"X14 16 16 42 27
1B-08-10 G112"X14 G5/8"X14 16 17.5 43.5 30
1B-08-12 G112"X14 G3/4"X14 16 18.5 45.5 32
1B-10 G5/8"X14 G5/8"X14 17.5 17.5 45 30
1B-10-12 G5/8"X14 G3/4"X14 17.5 18.5 47 32
1B-10-16 G5/8"X14 G1"X11 17.5 20.5 51.5 41
1B-12 G3/4"X14 G3/4"X14 18.5 18:5 48 32
1B-12-16 G3/4"X14 B 18.5 205 52.5 41
1B-12-20 G3/4"X14 G1.1/4"X11 18.5 205 56 50
1B-16 G1"X11 G1"X11 20,5 20.5 54 41
1B-16-20 G1"X11 G1.1/4"X11 20,5 20.5 58 50
1B-16-24 G1"X11 G1.1/2"°X 11 2015 23 60.5 55
1B-20 G1.1/4"X11 G1.1/4"X11 20.5 20.5 58 50
1B-20-24 G1.1/4"X11 G1.1y2"X14 20.5 23 60.5 55
1B-24 G 1/2"X11 G1.4/2"%11 23 23 63 55
1B-24-32 G1.1/2"X11 G2"X11 23 25.5 66.5 70
1B-32 62"X11 G2"X11 25.5 25.5 68 70
1B-40 G2:1/2"%11 G2.1/2"X11 32 32 81 90
1B-48 G3"X11 G3"X11 36 36 92 100




0 HERN60° #HmETEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

I I
60°
P L
‘ A
—— o L2B
J @ LAB E
?L | ° o HEEIMEL60°MER A RREAAS BT/
. \/. . 60° ||~ - - Héd . e
" @ w < Jo0 REIMBLE0 HEIE <o HERRAO0°ME
\ i BSP MALE DOUBLE USE FOR 60°SEAT
RCI BSP MALE 60° SEAT TEE 51 3 OR BONDED SEAL / BSP FEMALE 60°CONE

re #8247 THREAD R~F DIMENSIONS re #8247 THREAD R~ DIMENSIONS

PART NO. B © PART NO. F B

AB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 19.8 19.8 19.8 11 2B-02 G1/8"X28 G1/8"X28 10 6 25 14 14

AB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 24.5 24.5 2475 14 2B-02-04 G1/8"X28 G1/4"X19 10 5 27 14 19

AB-04-06-04 | G1/4"X19 | G3/8"X19 | G1/4"X19 26.5 27.5 26.5 16 2B-04 G1/4"X19 G1/4"X19 12 5 29 19 19

AB-06-04-06 | G3/8"X19 | G1/4"X19 | G3/8"X19 27.5 265 27.5 16 2B-04-06 G1/4"X19 G3/8"X19 12 6.5 30.5 19 22

AB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 27.5 27.5 27.5 16 2B-04-08 G1/4"X19 G1/2"X14 12 7.8 32 19 27

AB-06-08-06 | G3/8"X19 | G1/2"X14 | G3/8"X19 31 34.5 31 22 2B-06 G3/8"X19 G3/8"X19 13.5 6.5 34 22 22

AB-08-06-08 | G1/2"X14 | G3/8"X19 | G1/2"X14 34.5 31 34.5 22 2B-06-08 G3/8"X19 G1/2"X14 13.5 7:8 35.5 22 27

AB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 34.5 34.5 34.5 22 2B-06-10 G3/8"X19 G5/8"X14 13.5 9 36 22 30

AB-10 G5/8"X14 | G5/8"X14 | Gb5/8"X14 35 35 35 22 2B-08 G1/2"X14 G1/2"X14 16 7.8 40 27 27

AB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 40 40 40 27 2B-08-06 G1/2"X14 G3/8"X19 16 6.5 38-5 27 22

AB-12-16-12 | G3/4"X14 | G1"X11 G3/4"X14 43.5 46 435 33 2B-08-12 G1/2"X14 G3/4"X14 16 10.5 41 27 32

AB-16-12-16 G1"X11 G3/4"X14 || G17X11 46 43.5 46 33 2B-10 G5/8"X14 G5/8"X14 17.5 9 42 30 30

AB-16 G1"%11 G1"X11 G1"X11 46 46 46 33 2B-10-08 G5/8"X14 G1/2"X14 175 7.8 415 30 27

AB-20 G1.1/4"X 19| GH4/4"X11 | G1.1/4"X 11 50.5 50.5 50.5 41 2B-10-12 G5/8"X14 G3/4"X14 17.5 10.5 425 30 32

AB-24 G1.1/2"X11 G A2°X11 | G1.1/2"X11 57.5 57.5 57.5 48 2B-12 G3/4"X14 G3/4"X14 18.5 10.5 44.5 32 32

AB-32 G2"X11 G2"X11 G2"X11 72.5 72.5 72.5 63 2B-12-10 G3/4"X14 G5/8"X14 18.5 9 44 32 30

2B-12-16 G3/4"X14 G1"X11 18.5 11 46 32 41

2B-16 G1"X11 GA"X11 20.5 11 50 41 41

2B-16-12 G1"X11 G314"X14 20.5 10.5 49 41 32

2B-16-20 G1"X11 GII74"X 11 20.5 11.5 52 41 50

2B-20 G1.1/4"X11 | G1A74"X11 20.5 11.5 54 50 50

2B-20-16 G1.1/4"X11 G1"X11 20.5 11 52 50 41

2B-20-24 G1.1/4"X11 | G1.1/2"X11 20.5 12.5 55.5 50 55

2B-24 G1.1/2"X11 | G1.1/2"X11 23 12.5 57.5 55 55

2B-32 G2"X11 G2"X11 25.5 17 64.6 70 70




0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

0 HERN60° #HEmETHIEL BSP THREAD 60° CONE ADAPTERS

I I
o ? /OD6OO
L2B4 LBB
60°( =2 ‘ 45° EESMELI60° M/ EENIRE60° S TEIMRLI60° NHE/ZE NIRL60° IMENZ =R
45° ELBOW BSP MALE 60° SEAT/ BSP MALE 60° SEAT / BSP FEMALE 60° CONE
A 51 BSP FEMALE 60° CONE BRANCH TEE
e 247 THREAD R~t DIMENSIONS
PART NO. E F S1 s2
2B4-04 G1/4"X19 G1/4"X19 20.3 5 14 19 ®e #2450 THREAD Rt DIMENSIONS
2B4-04-06 G1/4"X19 G3/8"X19 20.3 6.5 14 22 PART NO. F C
2B4-06 G3/8"X19 G3/8"X19 22 6.5 16 22 BB-02 G1/8"X28 G1/8"X28 G1/8"X28 19.8 6 19.8 11 14
2B4-06-04 G3/8"X19 G1/4"X19 22 5 16 19 BB-04 G1/4"X19 G1/4"X19 G1/4"X19 24.5 5 24.5 14 19
2B4-08 G1/2"X14 G1/2"X14 27 7.8 22 27 BB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 27.5 6/5 27.5 16 22
2B4-08-06 G1/2"X14 G3/8"X19 27 65 22 29 BB-08 G1/2'X14 | G1/2"X14 | G1/2"X14 34/5 78 34.5 22 27
2B4-10 G5/8"X14 G5/8"X14 285 9 22 30 BB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 10.5 40 27 32
2B4-10-08 G5/8"X14 G1/2"X14 28.5 7.8 22 27 BB-16 G1rX11 G1"X11 G17X11 46 11 46 33 41
2B4-12 G3/4"X14 G3/4"X14 31 10.5 27 32 BB-20 G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 50.5 1.5 50.5 41 50
2B4-16 GAX 14 c1"x11 35 1" 33 41 BB-24 GI2ZXA4 | G 1/2X 44+ GT.1/2"X 11 57.5 12.5 57.5 48 55
2B4-20 G1.1/4"XH |\ \G1.1/4"%11 38.5 11.5 41 50 BB-32 G2"X11 G2"X11 G2"X11 72.5 17 72.5 63 70
2B4-24 G\ T2 XH-61.1/2"X 11 44 12.5 48 55
2B4-32 G2"X11 G2"X11 51 17 63 70
60°
%
// F
a2l INW
S2
L2B9 LCB
= Q0 T HIMBLL60° Ptk /B MIBLIO0°INE ‘ ‘
R P2 L I N A I 90°ELBOW BSP MALEG0°® SEAT/ REMBLURESNBEURE MRS
] l BSP FEMALE 60°CONE BSP MALE/BSP MALE/BSP FEMALE
S1
A
ke #47 THREAD R+t DIMENSIONS e B THREAD Rt DIMENSIONS
PART NO. 3 F A B st s2 AR INE: F
2B9-02 G1/8"X28 G1/8"X28 19.8 11 " CB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 25 25 5 14 19
289-04 G1/4"X19 G1/4"X19 i 7 5 CB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 27.5 275 6.5 16 22
2B9-04-06 G1/4"X19 G3/8"X19 Py 65 Vi 99 CB-08 G1/2'X14 | G1/2'X14 | G1/2'X14 34.5 345 7.8 22 27
2B9-06 G3/8"X19 G3/8"X19 e at 15 22 CB-08-06-08 G1/2'X14 | G3/8"X19 | G1/2'X14 34.5 315 7.8 22 27
2B9-06-04 G3/8"X19 G1/4"X19 27]5 5 NG 19 CB-10 G5/8"X14 | G5/8"X14 | G5/8"'X14 345 345 9 22 30
289-08 G1/2"X14 G1/2'%14 345 5 = = CB-12 G3/4"X14 | G3/4"X14,|—G3/4"X14 40 40 105 27 32
2B9-08-06 G1/2"X14 G3/8"X19 - 65 29 2 CB-12-06-12 G3M4"X14 | G3/8"X19 | G3/4/X14 40 345 105 27 32
2B9-10 G5/8"X14 G5/8"X14 e 5 7 0 CB-12-08-12 G3X14 ) \G1/2'X14 | [G3/4"X14 40 375 105 27 32
2B9-10-08 G5/8'X14 | G1/2'X14 35 7.8 22 27 cB-16 QIR Y QX —GTXT 46 46 n 3 “
2B9-12 G3/4"X13 Gakx1k 40 TG o » CB-20 G114 - GT/4A"X11 | G1.1/4"X11 50.5 50.5 115 41 50
28916 ek ) i x11 46 " 33 41 CB-24 G1.1/2°X11 | G1.1/2"X11 | G1.1/2"X11 57.5 57.5 125 48 55
2B9-20 G AT |\ G1.1/4"X11 50.5 11.5 41 50
2B9-24 G 1/2"X11 |- G1.1/2"X11 57.5 12.5 48 55
2B9-32 G2"X11 G2"X11 70 17 63 70

FoO7




@ ==iE960° #EZHEL  BSP THREAD 60°
. 4

I
A L B

N )
&

[Ga)]
60°(><

1247 THREAD

CONE ADAPTERS

L3B

HEENIRG60°5ME
BSP FEMALE 60°CONE

R~F DIMENSIONS

0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

L3B9

90° HEEHNHEL60° shiE

90° BSP FEMALE 60° CONE

RS
PART NO. F A B S1
3B-02 G1/8"X28 G1/8"X28 6 6 20.5 14 14
3B-02-04 G1/8"X28 G1/4"X19 6 5 23 14 19
3B-04 G1/4"X19 G1/4"X19 5 5 25 19 19
3B-04-06 G1/4"X19 G3/8"X19 B 6.5 27 19 22
3B-04-08 G1/4"X19 G1/2"X14 5 7.8 28.5 19 27
3B-06 G3/8"X19 G3/8"X19 6.5 6.5 29 22 22
3B-06-08 G3/8"X19 G1/2"X14 6.5 7.8 30.5 22 27
3B-08 G1/2"X14 G1/2"X14 7.8 7.8 31.5 27 27
3B-08-10 G1/2"X14 G5/8"X14 7.8 9 32.5 27 30
3B-08-12 G1/2"X14 G3/4"X14 78 10.5 32.5 27 32
3B-10 G5/8"X14 G5/8"X14 9 9 33 30 30
3B-10-12 G5/8"X14 G3/4"X14 9 10.5 33 30 32
3B-12 G3/4"X14 G3/4"X14 10.5 10.5 32.5 32 32
3B-12-16 G3/4"X14 G1"X11 10.5 1" 35 32 41
3B-16 GA"X11 G1"X11 11 1" 36.5 41 41
3B-16-20 G1"X11 G1.1/4"X11 11 11.5 38 41 50
3B-20 G1.1/4"X11 G1.1/4"X11 11.5 11.5 41 50 50
3B-24 G1.1/2"XM G1.1/2"X11 12.5 12.5 43 55 55
3B-32 G2"X11 G2"X11 17 17 51 70 70

Ke #5r THREAD R~ DIMENSIONS
PART NO. E F B S1
3B9-02 G1/8"X28 G1/8"X28 5.5 5.5 11 14 14
3B9-04 G1/4"X19 G1/4"X19 5.8 5.5 1 19 19
3B9-06 G3/8"X19 G3/8"X19 6-3 6.3 14 22 22
3B9-08 G1/2"X14 G1/2"X14 7.5 7.5 19 27 27
3B9-10 G5/8"X14 G5/8"X14 9.5 9./5 19 30 30
3B9-12 G3/4"X14 G3/4"X14 10.9 10.9 24 32 32
3B9-16 G1"X11 G1"X11 1.7 11.7 30 41 41
3B9-20 G1:174"X11 G1.1/4"X11 11 11 41 50 50
3B9-24 G1:172"X11 G1:412"X 11 13 13 48 55 55
3B9-32 G2"X11 G2"X11 16 16 63 70 70
60°
A\v4
F [aa]
S3
. L LDB
o DA } g = S HENRRO0" HEE
B_/H \ i BSP FEMALE 60° CONE TEE
.
re #4; THREAD R~ DIMENSIONS
PART NO. F S1 S2,54
DB-02 G1/8"X28 G1/8"X28 G1/8"X28 6 6 1 14 14
DB-04 G1/4"X19 G1/4"X19 G1/4"X19 5 11 19 19
DB-06 G3/8"X19 G3/8"X19 G3/8"X19 6.5 6.5 14 22 22
DB-08 G1/2"X14 G1/2"X14 G1/2"X14 78 78 19 27 27
DB-10 G5/8"X14 G5/8"X14 G5/8"X14 9 9 22 30 30
DB-12 G3/4"X14 G3/4"X14 G3/4"X14 10.5 10:5 24 32 32
DB-12-08-12 G3/4"X14 G1/2"X14 G3/4"X14 105 7.8 24 32 27
DB-16 G1"X11 G1"X11 G1"X11 1 1 30 41 41
DB-16-12-16 G1"X11 G3/4"X14 G1'X11 1 10.5 30 41 32
DB-20 G1.1/4'X11-] G111/4"X11 | G1A474"X11 11.5 11.5 36 50 50
DB-24 G1.172°X11 | -G1.4/2"X11 | G1.1/2"X11 12.5 125 48 55 55
DB-32 G2"X11 G2"X11 G2"X11 17 17 55 70 70




0 HEEN60° HEEIIESL BSP THREAD 60° CONE ADAPTERS
C

L
A B S

v

60° |
L4B i=w%
S1

0 HEEN60° #HmEIIEL BSP THREAD 60° CONE ADAPTERS
——

EESMELE0° ML
BSP MALE 60° SEAT BULKHEAD

3 HEIMBLIO0° PR IHE A A RS 5 5k
BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL PLUG Ke R~ DIMENSIONS
PART NO. B L
6B-02 G1/8"X28 G1/8"X28 10 33 49 14 14
rRe 1247 THREAD R~ DIMENSIONS 6B-04 G1/4"X19 G1/4"X19 12 35 53 19 19
PART NO. E L S1 6B-04-06 G1/4"X19 G3/8"X19 12 35 55 22 22
4B-02 G1/8"X28 10 16 14 6B-06 G3/8"X19 G3/8"X19 13.5 35 56.5 22 22
4B-04 G1/4"X19 12 18 19 6B-06-08 G3/8"X19 G1/2"X14 13.5 39 62.5 27 27
4B-06 G3/8"X19 13.5 21.5 22 6B-08 G1/2"X14 G1/2"X14 16 39 65 27 27
4B-08 G1/2"X14 16 26 27 6B-08-06 G1/2"X14 G3/8"X19 16 35 61 27 22
4B-10 G5/8"X14 17.5 27.5 30 6B-08-16 G1/2"X14 G1"X11 16 50 79 41 41
4B-12 G3/4"X14 18-5 29.5 32 6B-10 G5/8"X14 G5/8"X14 17.5 40 67.5 30 30
4B-16 G1"X11 20.5 34 41 6B-12 G3/4"X14 G3/4"X14 18.5 42 71.5 32 32
4B-20 G1.1/4'X11 20.5 37.5 50 6B-12-08 G3/4"X14 G1/2"X14 18.5 39 68.5 32 27
4B-24 G1.1/2"X11 23 40 55 6B-12-16 G3/4"X14 G1"X11 18.5 50 81.5 41 41
4B-32 G2"X11 2585 43.5 70 6B-16 G1"X 11 G1"X11 20.5 50 84 41 41
6B-20 G1.1/4"X11 G1.1/4"X11 20.5 52 89.5 50 50
6B-24 G1.1/2"X11 G1.42"X11 23 55 93 55 55
6B-32 G2"X11 G2"X11 25.5 55 97.5 70 70
FMEFHEEEITSR, MEEKRSE “LN” , 6B-16LN,
Note:In case if you are interested to order the adapter in complete set with lock nut, itis necessary to insert
A L suffix “LN” after our part no.,for example 6B—16LN.
S .

60

2,
| S|

;[4 L9B
wWlo
H HERIELI60° SR L o~ 59
BSP FEMALE 60° CONE PLUG ':
2 T

60@]4&% u_)}

90° TIHEIMEL60° ML HEESL

Re 247 THREAD R~ DIMENSIONS 90° ELBOW BSP MALE 60° SEAT BULKHEAD
PART NO. E L s2 A

9B-02 G1/8"X28 6 12 14 L6B9 L6B9-LN
9B-04 G1/4"X19 5) 14 19
9B-06 G3/8"X19 6.5 16 22 re 124 THREAD R~ DIMENSIONS
9B-08 G1/2"X14 7.8 175 27 PART NO. E F B S1
9B-10 G5/8"X14 9 18 30 6B9-04 G1/4"X19 G1/4"X19 25 51 16 19
9B-12 G3/4"X14 10.5 18.5 32 6B9-06 G3/8"X19 G3/8"X19 29 53.56 19 22
9B-16 G1"X11 11 20.5 41 6B9-08 G1/2"X14 G1/2"X14 345 58.56 22 27
9B-20 G1.1/4"X11 11.5 225 50 6B9-12 G3/4"X14 G3/4"X14 41 64 30 32
9B-24 G11/2"X 11 12.5 23.5 55 6B9-16 G1"X1H1 G1"X11 47.5 71 33 41
9B-32 G2"X11 17 28 70 i MEWHSEEITE, WEERSEM “LN” , WM6B9-16LN, HiEHK S 488,

Note:In case if you are interested to order the adapter in complete set with lock nut,itis necessary to

insert suffix “LN” after our part no.,for example 6B9-16LN. The lock nut NO. is 8B.




0 HEEN60° #HmEIIEL BSP THREAD 60° CONE ADAPTERS 0 HEEN60° HEEIIESL BSP THREAD 60° CONE ADAPTERS
IS C

S1/] 7 L1BT-SP
L8B
- T om . 60° o EEIMREL60° KNS RinHEAAA BT/ EHEIMEL
HERGHE BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL / BSPT MALE
e BSP LOCK NUT
NI
. RS 240 THREAD R~t DIMENSIONS

PART NO. F B L S1

rE 1247 THREAD R~F DIMENSIONS 1BT-02SP G1/8"X28 R1/8"X28 10 10 26 14
PART NO. E 1BT-02-04SP G1/8"X28 R1/4"X19 10 14.5 30.5 14
8B-02 G1/8"X28 5.5 14 1BT-04SP G1/4"X19 R1/4"X19 12 14.5 32 19
8B-04 G1/4"X19 6.5 19 1BT-04-02SP G1/4"X19 R1/8"X28 12 10 28 19
8B-06 G3/8"X19 7 22 1BT-04-06SP G1/4"X19 R3/8"X19 12 156 32 19
8B-08 G1/2"X14 9 27 1BT-04-08SP G1/4"X19 R1/2"X14 12 20 40 24
8B-10 G5/8"X14 9 30 1BT-06SP G3/8"X19 R3/8"X19 13.5 15 35.5 22
8B-12 G3/4"X14 10.5 32 1BT-06-04SP G3/8"X19 R1/4"X19 13.56 1475 35.5 22
8B-16 G1"X11 10.5 41 1BT-06-08SP G3/8"X19 R1/2"X14 13.5 20 40.5 24
8B-20 G1.1/4"X11 10.5 50 1BT-08SP G1/2"X14 R1/2"X14 16 20 45 27
8B-24 G1:1472"XHM 10.5 55 1BT-08-04SP G1/2"X14 R1/4"X19 16 14.5 40.5 27
8B-32 G2"X11 10.5 70 1BT-08-06SP G1/2"X14 R3/8"X19 16 15 40.5 27
1BT-08-12SP G1/2"X14 R3/4"X14 16 20 45 30

1BT-10-06SP G5/8"X14 R3/8"X19 17.5 15 41.5 30

1BT-10-08SP G5/8"X14 R1/2"X14 17.5 20 46.5 30

1BT-10-12SP G5/8"X14 R3/4"X14 178 20 46.5 30

1BT-10-16SP G5/8"X14 R1"X11 17.5 25.5 53 36

1BT-12SP G3/4"X14 R3/4"X14 18.5 20 48.5 32

1BT-12-08SP G3/4"X14 R1/2"X14 18.5 20 49.5 32

1BT-12-16SP G3/4"X14 R1"X11 18.5 25.5 53.5 36

1BT-12-20SP G3/4"X14 R1.1/4"X11 18.5 26.5 58 46

1BT-16SP G1"X11 R1"X11 20.5 2575 58 41

1BT-16-12SP G1"X11 R3/4"X14 20.5 20 53 41

1BT-16-20SP G1"X11 R1.1/4"X11 20.5 2675 60 46

1BT-20SP G1.1/4"X11 R1.1/4"X11 20.5 265 62 50

1BT-20-128SP G1.1/4"X11 R3/4"X14 20.5 20 55.5 50

1BT-20-16SP G1.1/4"X11 R1"X11 2075 25.5 61 50

1BT-20-24SP G1.1/4"X11 R1.1/2"X11 20.5 26.5 62 50

1BT-24SP G1.1/2"X11 R1.1/2"XM1 23 26.5 64.5 55

1BT-24-16SP G1.1/2"X11 R1"X11 23 25.5 63.5 55

1BT-24-20SP G1.1/2"X11 R1.1/4"X11 23 26.5 64.5 55

1BT-24-32SP G1 412 X 11 R2"X11 23 30 70 65

1BT-32SP G2"X11 R2"X11 25.5 30 72.5 70

1BT-32-20SP G2"X11 R1.1/4"X11 25.5 26.5 68.5 70

1BT-32-24SP G2"XM R1.1/2"X11 25.5 26.5 68.5 70

1BT-40SP G2.1/2"X11 R2.1/2"X11 32 35 84 90

1BT-48SP G3"X11 G3"X11 36 38 94 100




0 HEIRWN60° #HmEEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

I I T

F
A
% L1BT4-SP L1BT9-SP

60| w4 LN p
[ T LS 2 45° BHEEMELO0T A/ HEEIMEL 60°| = 00° TIHESMBLO0° M/ HEBSBL
\ﬂ 45° ELBOW BSP MALE 60° SEAT/BSPT MALE 90° ELBOW BSP MALE 60° SEAT/BSPT MALE
A

re 1247 THREAD R~ DIMENSIONS re 1247 THREAD R~ DIMENSIONS
PART NO. E F B S1 PART NO. E F B S1
1BT4-02SP G1/8"X28 R1/8"X28 17 17 11 1BT9-02SP G1/8"X28 R1/8"X28 19.8 21 1
1BT4-04SP G1/4"X19 R1/4"X19 20.3 21 14 1BT9-02-04SP G1/8"X28 R1/4"X19 223 25.5 14
1BT4-04-06SP G1/4"X19 R3/8"X19 20.5 23 16 1BT9-04SP G1/4"X19 R1/4"X19 25 26 14
1BT4-06SP G3/8"X19 R3/8"X19 22 23 16 1BT9-04-02SP G1/4"X19 R1/8"X28 245 23.5 14
1BT4-06-04SP G3/8"X19 R1/4"X19 22 24 16 1BT9-04-06SP G1/4"X19 R3/8"X19 25 28.5 16
1BT4-06-08SP G3/8"X19 R1/2"X14 24 29.5 22 1BT9-04-08SP G1/4"X19 R1/2"X14 30 36 22
1BT4-06-12SP G3/8"X19 R3/4"X14 25.5 30.5 27 1BT9-06SP G3/8"X19 R3/8"X19 27.5 28.5 16
1BT4-08SP G1/2"X14 R1/2"X14 27 29.5 22 1BT9-06-04SP G3/8"X19 R1/4"X19 275 26.5 16
1BT4-08-06SP G1/2"X14 R3/8"X19 27 25 22 1BT9-06-08SP G3/8"X19 R1/2"X14 31 36 22
1BT4-08-12SP G1/2"X14 R3/4"X14 28.5 30.5 27 1BT9-08SP G1/2"X14 R1/2"X14 345 36 22
1BT4-10-08SP G5/8"X14 R1/2"X14 28.5 29.5 22 1BT9-08-04SP G1/2"X14 R1/4"X19 345 30.5 22
1BT4-10-12SP G5/8"X14 R3/4"X14 29 35 27 1BT9-08-06SP G1/2"X14 R3/8"X19 345 325 22
1BT4-12SP G3/4"X14 R3/4"X14 31 30.5 27 1BT9-08-12SP G1/2'X14 R3/4"X14 375 43.5 27
1BT4-12-08SP G3/4"X14 R1/2"X14 31 30.5 27 1BT9-08-16SP G1/2!X14 R1"X11 41 50 33
1BT4-12-16SP G3/4"X14 R1"X11 325 38 33 1BT9-10-08SP G5/8"X14 R1/2"X14 35 36 22
1BT4-16SP G1"X11 R1"X11 35 38 33 1BT9-10-12SP G5/8"X14 R3/4"X14 39 435 27
1BT4-16-12SP G1"X11 R3/4"X14 35 32.5 33 1BT9-12SP G3/4"X14 R3/4"X14 40 43 27
1BT4-16-20SP GA"X11 R1.1/4"X11 38.5 43 41 1BT9-12-06SP G3/4"X14 R3/8"X19 40 36 27
1BT4-20SP G1.1/4"X11 R1:1/4*X11 38.5 43 41 1BT9-12-08SP G3/4"X14 R1/2"X14 40 39.5 27
1BT4-20-16SP G M4 X1 R1"X11 38.5 42 41 1BT9-12-16SP G3/4"X14 R1"X11 43.5 50 38
1BT4-20-24SP G1:A74"X11 R1.1/2"X11 41.5 47.5 48 1BT9-12-20SP G3/4"X14 R1.1/4"X11 48 56.5 41
1BT4-24SP G1:1/2"X11 R1.1/2"X11 44 47.5 48 1BT9-16SP G1"X11 R1"X11 46 50 33
1BT4-24-20SP G1.1/2"X11 R1.1/4"X11 44 45.5 48 1BT9-16-08SP G1"X11 R1/2"X14 46 43 33
1BT4-24-32SP G1.1/2"X11 R2"X11 51 60.5 63 1BT9-16-12SP G1"X11 R3/4"X14 46 475 33
1BT4-32SP G2"X11 R2"X11 49.5 55.5 63 1BT9-16-20SP G1"X11 R1.1/4"X11 50.5 56.5 41
1BT4-32-24SP G2"X11 R1.1/2"X11 51 52.5 63 1BT9-20SP G1.1/4"X11 R1.1/4"X11 52 59 41
1BT9-20-12SP G1.1/4"X11 R3/4"X14 50.5 52 41
1BT9-20-16SP G1.1/4"X11 R1*X11 50.5 56.5 41
1BT9-20-24SP G1.1/4"X11 R1.1/2"X11 54.5 62.5 48
1BT9-24SP G1.42"X11 R1.1/2"X11 OS] 62.5 48
1BT9-24-20SP G112 X 11 R1.1/4"XM1 57.5 62 48
1BT9-24-32SP Gl 1/2"X1 R2"X11 65 75 63
1BT9-32SP G2"X11 R2"X11 67 75 63
1BT9-32-24SP G2"X11 R1.1/2"X11 67 72 63




0 HEIRWN60° #HmEEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

4 .4 4 4
L
A, B -
L1BN %\ . L1BN9
60° = 2 60° FEEHMEL60° RS AinE A S B/ E B RS IMESL 60°| = \| 90° TIREIMEL60° M/ EFIMESIMEL
BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL / NPT MALE J)& 90° ELBOW BSP MALE 60° SEAT /NPT MALE
E A S1
S1
re 247 THREAD R~+ DIMENSIONS re 247 THREAD R=t DIMENSIONS
PART NO. E F B S1 S2 PART NO. E B S1
1BN-02 G1/8"X28 Z1/8"X27 10 10.5 26 14 1BN9-04 G1/4"X19 Z1/4"X18 24.5 25.5 14
1BN-02-04 G1/8"X28 Z1/4"X18 10 15 31 17 1BN9-04-02 G1/4"X19 Z1/8"X27 24.5 23.5 14
1BN-04 G1/4"X19 Z1/4"X18 12 15 33 19 1BN9-06 G3/8"X19 Z3/8"X18 28.5 31 19
1BN-04-02 G1/4"X19 Z1/8"X27 12 10.5 28 19 1BN9-06-04 G3/8"X19 Z1/4"X18 27.5 26.5 16
1BN-04-06 G1/4"X19 Z3/8"X18 12 16 34 19 1BN9-06-08 G3/8"X19 Z1/2"X14 31 36.5 22
1BN-04-08 G1/4"X19 Z1/2"X14 12 19.5 39.5 22 1BN9-06-12 G3/8"X19 Z3/4"X14 34.5 44 27
1BN-06 G3/8"X19 Z3/8"X18 13.5 16 37.5 22 1BN9-08 G1/2"X14 Z1/2"X14 345 37.5 22
1BN-06-04 G3/8"X19 Z1/4"X19 13.5 15 36 22 1BN9-08-06 G1/2"X14 Z318"X18 34.5 33 22
1BN-06-08 G3/8"X19 Z1/2"X14 13.5 19.5 41 22 1BN9-12 G3/4"X14 73/4"X14 38 43.5 27
1BN-06-12 G3/8"X19 Z3/4"X14 13.5 19.5 43 30 1BN9-12-08 G3/4"X14 Z1/2'X14 39 42 27
1BN-08 G1/2"X14 Z1/2"X14 16 19.5 45.5 27 1BN9-12-16 G3/4"X14 Z1"X11.5 43 50 33
1BN-08-06 G1/2"X14 Z3/8"X18 16 16 42 27 1BN9-16 G1"XM Z1"X11.5 46 50 &3
1BN-08-12 G1/2"X14 Z3/4"X14 16 19.5 45.5 30 1BN9-16-12 G1"X11 Z3/4"X14 46 46.5 33
1BN-08-16 G12"X14 Z1'X11.5 16 25.5 52.5 36
1BN-10-08 G5/8"X14 Z112"X14 17.5 19.5 47 30
1BN-10-12 G5/8"X14 Z3/4"X14 17.5 19.5 47 30
1BN-12 G3/4"X14 Z3/4"X14 18.5 19.5 49 32
1BN-12-06 G3/4"X14 Z3/8"X18 18.5 16 455 32
1BN-12-08 G3/4"X14 Z1/2"X14 18.5 19.5 49 32
1BN-12-16 G3/4"X14 Z1"X11.5 18.5 255 55 36
1BN-16 G1"X11 Z1"X11.5 20.5 25.5 59 41
1BN-16-12 G1"X11 Z3/4"X14 20.5 19.5 53 41
1BN-16-20 G1"X11 Z1.1/4"X11.5 20.5 26.5 60 46
1BN-20 G1.1/4"X11 Z1.1/4"X11.5 20.5 26.5 62 50
1BN-20-16 G1.1/4"X11 Z1"X11.5 20.5 25.5 61 50
1BN-20-24 G1.1/4"X11 Z1.1/2"X11.5 20.5 27.5 63 50
1BN-24 G1.1/2"X11 Z1.1/2"X11.5 23 27.5 65.5 55
1BN-24-20 G1.1/2"X114+1.Z1.1/4"X11.5 23 26.5 64.5 55)
1BN-24-32 G1.412"X11 Z2"X11.5 23 27.5 67.5 65
1BN-32 G2"X11 Z2"X115 25.5 27.5 70 70
1BN-32-20 G2"X11 Z1.474"X1.51 25.5 26.5 69 70
1BN-32-24 G2"X11 Z1.1/2"X1.51 25.5 27.5 70 70

=




0 HEEN60° HmEIIEL BSP THREAD 60° CONE ADAPTERS
——

L

A . B
/%

L1BG

RESMEYE0° NEHARIREAASRETSH/

60° = |J | REIMEYORE
l BSP MALE DOUBLE USE FOR 60° SEAT ORBONDED SEAL/
L BSP MALE O-RING
S1
re 1247 THREAD O O-RING R~F DIMENSIONS

PART NO. E F F s B L

1BG-02 G1/8"X28 G1/8"X28 0011 10 9.5 27 14

1BG-04 G1/4"X19 G1/4"X19 o111 12 1" 31 19
1BG-04-06 G1/4"X19 G3/8"X19 0113 12 11.5 32 22

1BG-06 G3/8"X19 G3/8"X19 0113 13.5 % ) 35.5 22
1BG-06-04 G3/8"X19 G1/4"X19 0111 13.5 11 32.5 22
1BG-06-08 G3/8"X19 G1/2"X14 0115 13.5 14 38.5 27

1BG-08 G1/2"X14 G1/2"X14 0115 16 14 41 27
1BG-08-06 G1/2"X14 G3/8"X19 0113 16 11.5 40 27
1BG-08-12 G1/2"X14 G3/4"X14 0119 16 156.5 45.5 32
1BG-10-08 G5/8"X14 G1/2"X14 0115 17.5 14 44.5 30

1BG-12 G3/4"X14 G3/4"X14 0119 18.5 15.5 46 32
1BG-12-08 G3/4"X14 G1/2"X14 0115 18.5 14 45.5 32
1BG-16-08 G1"XH G1/2"X14 0115 20.5 14 50.5 41

1BG-16 G1UX11 G1"X11 0217 20.5 18 53 41
1BG-16-12 G1'X11 G3/4"X14 0119 20.5 156.5 52 41

1BG-20 G1.1/4"X11 G1.1/4"X11 0222 20.5 20 58.5 50

1BG-24 G1.1/2"X11 G1.1/2"X11 0224 23 21.5 62.5 55

iE: Fir 5DIN 3852l N4HEL,

Note: F end is connected with DIN 3852 port.

0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

L1BG4-0G

A5°EHEIMBLL60° M/ SEEIMBLL O B T8 (a1 AL i

45° ELBOW BSP MALE 60°SEAT / BSP MALE
O-RINGADJUSTABLE STUD END

R 247 THREAD OF2E O-RING R~ DIMENSIONS
PART NO. F Fifs B S1
1BG4-040G G1/4"X19 G1/4"X19 O111 22 28 14 19
1BG4-04-060G G1/4"X19 G3/8"X19 0113 21 30 16 22
1BG4-04-080G G1/4"X19 G1/2"X14 0115 22.5 36 22 27
1BG4-060G G3/8"X19 G3/8"X19 0113 21 30 16 22
1BG4-06-080G G3/8"X19 G1/2"X14 0115 23.5 36 22 27
1BG4-080G G1/2"X14 G1/2"X14 0115 27 36 22 27
1BG4-120G G3/4"X14 G3/4"X14 0119 32 42 27 32
1BG4-12-160G G3/4'X14 G1"X11 0217 32.5 44 38 41
1BG4-160G G1"X11 G1"X1M1 0217 34 44 33 41
1BG4-200G G1:1/4"X11 G1:1/4"X11 0222 38.5 47.5 41 50
1BG4-240G G1.4/2"X11 G1.1/2"X11 0224 44 51.5 48 55
7. Fig5DIN 3852 A4#H&L, Note: F endis connected with DIN 3852 port.

ol

L1BG9-0G

90 LI IMBL60° M i/ T SMBL O B T [ A

7
607 | = ‘J_ T_ _le - 90° ELBOW BSP MALE 60°SEAT / BSP MALE
)@ O-RING ADJUST ABLE STUD END
A
re #2457 THREAD OFFE O-RING R~ DIMENSIONS
PART NO. E F Fis B S1
1BG9-040G G1/4"X19 G1/4"X19 0111 24.5 31.5 14 19
1BG9-04-060G | G1/4"X19 G3/8"X19 0113 26.5 36.8 16 22
1BG9-060G G3/8"X19 G3/8"X19 0113 28 36.8 16 22
1BG9-06-080G | G3/8"X19 G1/2"X14 0115 31 432 22 27
1BG9-080G G1/2"X14 G1/2"X14 o115 345 43.2 22 27
1BG9-08-120G | G1/2"X14 G3/4"X14 0119 40 49:3 27 32
1BG9-120G G3/4"X14 G3/4"%X14 0119 40 49.3 27 32
1BG9-12-160G | G3/4"X14 G1"X11 0217 45 53 33 41
1BG9-160G G1X 11 G1"XA1 0217 46 54 33 41
1BG9-20-160G |\ 'G111/4"X11 G1"X11 0217 50.5 58 41 41
1BG9-200G GTA4"XH | G1.1/4"X11 0222 51.5 58 41 50
1BG9-240G G1172"X11 | G1.1/2"X11 0224 58.5 63 48 55
iE: Fi%5DIN 3852 O0fHEL, Note: F end is connected with DIN 3852 port.




0 HEIRN60° #HEmETEHIEL BSP THREAD 60° CONE ADAPTERS

607 | w| 4!

LABBG-0G

HEIMEL60° M/ KEIMELORE

T AR EZ =8

BSP MALE 60° SEAT/BSP MALE O-RING

ADJUSTABLE STUD END RUN TEE

0 HEEN60° HEEIIESL BSP THREAD 60° CONE ADAPTERS
——

60°

L1BH

HEEIMEL60° NESABHERASREEH/
NHESMELGE R F|ISO 6149-3
BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/
METRIC MALE L-SERIES ISO 6149-3

A C

e #2247 THREAD OB O-RING R~ DIMENSIONS

PART NO. Gik B c S1
ABBG-040G G1/4"X19 | G1/4"X19 | G1/4"X19 0111 245 | 245 | 313 | 14 19
ABBG-04-04-060G | G1/4"X19 | G1/4"X19 | G3/8"X19 0113 | 265 265 | 355 |/ 16 22
ABBG-060G G3/8"X19 | G3/8"X19 | G3/8"X19 o113 /[ 275/ | 27157358 | 16 22
ABBG-06-06-080G | G3/8"X19 |,G3/8"X19 |/ G1/2"X14 0115 31 31 43 22 27
ABBG-080G G1/21X14 | G1/2"X14/| G1/2"X14 0118 | 345/ 345 | 432 | 22 27
ABBG-120G G3/4'X14" G3/4"X14 | G3/4)X14 0119 40 40 | 49.3 | 27 32
ABBG-160G GIXM [ G1"X11 | G1"X11 0217 46 46 53 33 41

i : Gin5DIN 3852ik O4EEE

Note: G end is connected with DIN 3852 port.

-
2
%
4
2
’..
%

LABGB-0G

EEIMEL60° M/ KEIMELORE

T A iR X =18

BSP MALE 60° SEAT/BSP MALE O-RING
ADJUSTABLE STUD END BRANCH TEE

51
re 1247 THREAD O, O-RING R~ DIMENSIONS
PART NO. E F Fifs B S1 L
1BH-02-10 G1/8"X28 M10X1 008.1X1.6 10 8.5 14 25
1BH-02-12 G1/8"X28 M12X1.5 009.3X2.4 10 11 17 28
1BH-04-12 G1/4"X19 M12X1.5 009.3X2.4 12 11 19 30
1BH-04-14 G1/4"X19 M14X1.5 011.3X2.4 12 11 19 31.5
1BH-04-16 G1/4"X19 M16X1.5 013.3X2.4 12 115 22 31.5
1BH-06-14 G3/8"X19 M14X1.5 011.3X2.4 13.5 11 22 35
1BH-06-16 G3/8"X19 M16X1.5 013.3X2.4 13.5 11.5 22 33
1BH-06-18 G3/8"X19 M18X1.5 015.3X2.4 13.5 12.5 24 36.5
1BH-08-18 G1/2"X14 M18X1.5 015.3X2.4 16 12.5 27 41
1BH-08-22 G1/2"X14 M22X1.5 019.3X2.4 16 13 27 41.5
1BH-10-22 G5/8"X14 M22X1.5 019.3X2.4 17.5 13 30 43
1BH-12-16 G3/4"X14 M16X1.5 013.:3X2.4 18.5 11.5 32 43.5
1BH-12-22 G3/4"X14 M22X1.5 019.3X2.4 18.5 13 32 45
1BH-12-27 G3/4"X14 M27X2 023.5X3.0 18.5 16 32 45.5
1BH-16-27 G1"X11 M27X2 023.5X3.0 20.5 16 41 49
1BH-16-33 G1"X11 M33X2 029.5X3.0 20.5 16 41 49.5
1BH-20-42 G1.1/4"X11 M42X2 038.5X3.0 20.5 16 50 51.5
1BH-24-48 G1.1/2"X11 M48X2 044.5X3.0 23 17.5 55 55.5
#: A5 1S09974-1 i OEE, HEHES51SO6149-1 M O4E . Note: fitforISO 9974-1 portor ISO 6149-1 port
when useless of retaining ring.

re O, O-RING R~F DIMENSIONS

PART NO. F iy B C S1
ABGB-040G G1/4"X19 | G1/4"X19 | G1/4"X19 o111 24.5 31.8 24.5 14 19
ABGB-06-04-060G G3/8"X19 | G1/4"XI9 | G3/8"X19 0111 27.5 3315 27.5 16 19
ABGB-060G G3/8"X19 | G3/8"X19 | G3/8"X19 0113 27.5 368 27.5 16 22
ABGB-08-06-080G G1/2"X14 | G3/8"X19 | G1/2"X14 0113 34.5 3935 34.5 22 22
ABGB-080G G1/2%X147) G1/2"X14 | [G1/2"X14 o115 34.6 432 34.5 22 27
ABGB-12-08-120G G3/4"X14 || G1/2"X14 | G3/4"X14 0115 40 46.5 40 27 27
ABGB-120G GB3/4"X14 ||G3/4"X14 | G3/4"X14 0119 40 49.3 40 27 32
ABGB-160G G X1 G1"X11 G1"X11 0217 46 53 46 83 41

iE: Firz 5DIN 3852l N4HEL,

Note: F end is connected with DIN 3852 port.




0 HEIRN60° #HmEHIEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

4 4 4 4
F
L1BH4-0G L1BH9-0G
fas]
o _“?""'m v o
NHIMEGIERFIISO 6149-3 OL\ 2L R 149
45" ELBOW BSP MALE 60 SEAT/ | METRIC MALE L. SERIES 150 61403
METRIC MALE L-SERIES ISO 6149-3 i L A 81 B B

re 1247 THREAD O, O-RING R~ DIMENSIONS re 1247 THREAD O, O-RING R~ DIMENSIONS
PART NO. F Fif B S1 PART NO. F Fif B S1

1BH4-02-100G G1/8"X28 M10X1 008.1X1.6 17 23.5 11 14 1BH9-02-100G G1/8"X28 M10X1 008.1X1.6 20 26.5 11 14
1BH4-02-120G G1/8"X28 M12X1.5 009.3X2.4 17 27.5 11 17 1BH9-02-120G G1/8"X28 M12X1.5 009.3X2.4 20 30.5 11 17
1BH4-04-120G G1/4"X19 M12X1.5 009.3X2.4 20.3 28.3 14 17 1BH9-04-120G G1/4"X19 M12X1.5 009.3X2.4 24.5 32 14 17
1BH4-04-140G G1/4"X19 M14X1.5 011.3X2.4 20.3 28 14 19 1BH9-04-140G G1/4"X19 M14X1.5 011.3X2.4 24.5 325 14 19
1BH4-04-160G G1/4"X19 M16X1.5 013.3X2.4 20.5 29 16 22 1BH9-04-160G G1/4"X19 M16X1.5 013.3X2.4 26.5 34.8 16 22
1BH4-06-140G G3/8"X19 M14X1.5 011.3X2.4 22 28.5 16 19 1BH9-06-140G G3/8"X19 M14X1.5 011.3X2.4 27.5 34 16 19
1BH4-06-160G G3/8"X19 M16X1.5 013,3X24 22 29 16 22 1BH9-06-160G G3/8"X19 M16X1.5 013.3X274 27.5 348 16 22
1BH4-06-180G G3/8"X19 M18X1.5 015.3X2.4 23 31 19 24 1BH9-06-180G G3/8"X19 M18X1.5 015.3X2.4 28.5 37 19 24
1BH4-08-180G G1/2"X14 M18X1.5 015.3X2.4 27 32 22 24 1BH9-08-180G G1/2"X14 M18X1.5 015.3X2.4 34.5 39.5 22 24
1BH4-08-220G G1/2"X14 M22X1.5 019.3X2:4 27 33 22 27 1BH9-08-220G G1/2"X14 M22X1.5 019.8X2.4 34.5 40.2 22 27
1BH4-10-220G G5/8"X14 M22X1:5 019.3X2.4 28 33 22 27 1BH9-10-220G G5/8"X14 M22X1.5 019.3X2.4 35 40.2 22 27
1BH4-12-220G G3/4"X14 M22X1.5 019.3X2.4 31 34.5 27 27 1BH9-12-220G G3/4"X14 M22X1.5 019.3X2.4 40 43.5 27 27
1BH4-12-270G G3/4"X14 M27X2 023.5X3.0 31 39.5 27 32 1BH9-12-270G G3/4"X14 M27X2 023.5X3.0 40 48.5 27 32
1BH4-16-270G G1"X 11 M27X2 023.5X3.0 35 40.5 33 32 1BH9-16-270G G1"X11 M27X2 023.5X3.0 46 52.5 33 32
1BH4-16-330G G1"XM M33X2 029.5X3.0 35 41 33 41 1BH9-16-330G G1"X 11 M33X2 029.5X3.0 46 52.5 33 41
1BH4-20-420G | G1.1/4"X11 M42X2 038.5X3.0 38.5 45 41 50 1BH9-20-420G | G1.1/4"XM M42X2 038.5X3.0 50.5 57.2 41 50
1BH4-24-480G | G1.1/2"X11 M48X2 044.5X3.0 44 49.5 48 55 1BH9-24-480G | G1.1/2"XM1 M48X2 044.5X3.0 57.5 62.5 48 55
F: AI51S09974-1 M OMEE, XHEHES I1SO6149-1 MO4ME., Note: fitfor SO 9974-1 portor ISO 6149-1 port iE: TS5 1S09974-1 M OMEE, £EHEBES51S06149-1 @ OMA., Note: fitfor SO 9974-1 portor 1SO 6149-1 port
when useless of retaining ring. when useless of retaining ring.




0 HEIRWN60° #HmEEL BSP THREAD 60° CONE ADAPTERS

IERENUT

| ﬁ #1495 SLEEVE
60°=2 e <> 4° “ A

. L

L1BJ

REIMELGE0° NEHARHEAASBRTH/
EHJICHNEL74° S

BSP MALE DOUBLE USE FOR 60°
SEAT ORBONDED SEAL/JIC MALE 74° CONE

0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

.4
74° ¥ {5 SLEEVE 2
L d e ]
[ NUI

607w

S1

)

L1BJ9

90° TIHEIMEL60° W/ EFIJICHBL74° ShE
90° ELBOW BSP MALE 60° SEAT/JIC MALE 74° CONE

re #4 THREAD R~ DIMENSIONS

PART NO. E F A B S1

1BJ9-04 G1/4"X19 7/16"X20 24.5 26.5 14
1BJ9-04-05 G1/4"X19 1/2"X20 2385 28 14
1BJ9-04-06 G1/4"X19 9/16"X18 245 26.9 14

1BJ9-06 G3/8"X19 9/16"X18 27.5 28.5 16
1BJ9-06-08 G3/8"X19 3/4”X16 28.5 32 19

1BJ9-08 G1/2"X14 3/4"X16 R2-5 35 22
1BJ9-08-10 G1/2"X14 7/8"X14 34.5 37.8 22

1BJ9-10 G5/8"X14 7/8"X14 32.7 38.1 22

1BJ9-12 G3/4"X14 1.1/16"X12 37 44 .2 27

1BJ9-16 G1"XHM 1.:5/16"X12 46 49 3
1BJ9-16-20 G1"X11 1.5/8"X12 50.5 55.5 41
I BERWEESITIIR. EFERDAAHIN, RABREBRFAESHIZANB200, NB500, EFHEEZEAXRGN, RABEZR
#E 4> 53% ANB200. NB300, Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable
for metric tube, the nut NB200 and sleeve NB300 is suitable for inch tube.

ke #2457 THREAD R~ DIMENSIONS
PART NO. 3 F B L
1BJ-02-04 G1/8"X28 | 7/16"X20 10 14 30 14
1BJ-02-05 G1/8"X28 1/2"X20 10 14 30 14
1BJ-04 G1/4"X19 | 7/16"X20 12 14 32 19
1BJ-04-05 G1/4"X19 1/2"X20 12 14 32 19
1BJ-06 G3/8"X19 | 9/16"X18 1355 14 35.5 22
1BJ-06-05 G3/8"X19 1/2"X20 135 14 35.5 22
1BJ-06-08 G3/8"X19 |  3/4"X16 135 16.7 | 385 22
1BJ-08 G1/2'X14 |  3/4"X16 16 16.7 43 27
1BJ-08-06 G1/2'X14 | 9/16/X18 16 14 40 27
1BJ-08-10 G1/2'X14~ | 7/8/X14 16 19.3 | 455 27
1BJ-10 G5/8"X14. |\ 7/8/X14 175 | 19.3 47 30
1BJ-10-08 G5/8'X147 |\ \3/4"X16 17.5 | 16.7 44 30
1BJ-10-12 G5/8"X 14| 1.1/16"X12 17.5 22 49.5 30
1BJ-12 G3M4"X14 | 1.1/16"X12 18.5 22 51.5 32
1BJ-12-10 G3/4"X14 |  7/8"X14 185 | 193 49 32
1BJ-12-14 G3/4"X14 | 1.3/16"X12 18.5 | 226 52 32
1BJ-16 G1"X11 | 1.5/16"X12 20.5 [ 23:1 57 41
1BJ-16-14 G1"X11 | 1.3/16"X12 205 || 22.6 56 41
1BJ-16-20 G1"X11 1.5/8"X12 205 || 243 58 46
1BJ-20 G1.1/4"X11 | 1.5/8"X12 205 | 243 | 617 50
1BJ-20-16 G1.1/4"X11 | 1.5/16"X12 205 | 231 | 605 50
1BJ-20-24 G1.1/4"X11 | 1.7/8"X12 205 | 27.5 63 50
1BJ-24-20 G1.1/2"X117|  1.5/8"X12 23 243 | 625 55
1BJ-24 GrAR™X11\ [\ 1.7/8"X12 23 275 | 675 55
1BJ-24-32 G11/2'X11 |\ \2.1/2"X12 23 34 74 65
1BJ-32 G2"XT1 2.1/2"X12 255 34 77.5 70
1BJ-32-24 G2"X11 1.7/8"X12 255 | 27.5 70 70

T BERWEERTIIR., EFEEDALKIR, BEABERFESSFEANB200. NB500, BEFEREAEGN, BABEER
#E 4 513%E FANB200, NB300, Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable
for metric tube, the nut NB200 and sleeve NB300 is suitable for inch tube.




0 HERWN60° #HmEHIEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

4 .4 .4 4
L
L2BJ A, B L1BL
5 . HESMEL60° WESRARIBEREAS BT/
HEIMRLO0 WRSARBARAGRE/ soclw d— — 1, LY Lot
EFJICHIZL74° M | BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL/
BSP MALE DOUBLE USE FOR 60° \ METRIC MALE WITH BONDED SEAL
K ]

SEAT ORBONDED SEAL/JIC FEMALE 74° SEAT

51
R 1247 THREAD B SEAL R~F DIMENSIONS

PART NO. E F F s L

1BL-02-10 G1/8"X28 M10X1 ZHD-10 10 8 25 17
1BL-04-10 G1/4"X19 M10X1 ZHD-10 12 8 27 19
1BL-04-14 G1/4"X19 M14X1.5 ZHD-14 12 12 31 19
1BL-06-14 G3/8"X19 M14X1.5 ZHD-14 13.5 12 35 22
1BL-06-16 G3/8"X19 M16X1.5 ZHD-16 13:5 12 34 22
1BL-06-18 G3/8"X19 M18X1.5 ZHD-18 1315 12 33.5 24
1BL-08-16 G1/2"X14 M16X1.5 ZHD-16 16 12 38 27
1BL-08-18 G1/2"X14 M18X1.5 ZHD-18 16 12 38 27
1BL-08-22 G1/2"X14 M22X1.5 ZHD-22 16 14 41.5 30
1BL-10-33 G5/8"X14 M33X2 ZHD-33 17.5 18 48.5 41
1BL-12-16 G3/4"X14 M16X1.5 ZHD-16 18.5 12 41.5 32
1BL-12-22 G3/4"X14 M22X1.5 ZHD-22 18.5 14 43.5 32
1BL-12-27 G3/4"X14 M27X2 ZHD-27 18.5 16 45.5 36
1BL-12-33 G3/4"X14 M33X2 ZHD-33 18.5 18 49.5 41
1BL-16-27 G1'X11 M27X2 ZHD-27 20.5 16 51.5 41
1BL-16-33 G1"X11 M33X2 ZHD-33 20.5 18 53.5 41
1BL-20-42 G1.1/4"X11 M42X2 ZHD-42 20.5 20 56.5 50

e 24 THREAD R~} DIMENSIONS
PART NO. F B L
2BJ-02-04 G1/8"X28 7/16"X20 10 9.5 24 14 17
2BJ-02-06 G1/8"X28 9/16"X18 10 9.5 245 14 19
2BJ-04 G1/4"X19 7/16"X20 12 9.5 26.5 19 17
2BJ-04-05 G1/4"X19 1/2"X20 12 9 26.5 19 19
2BJ-04-06 G1/4"X19 9/16"X18 12 9.5 27.5 19 19
2BJ-04-08 G1/4"X19 3/4"X16 12 10.8 29 19 24
2BJ-06 G3/8"X19 9/16"X18 135 9.5 30.5 22 19
2BJ-06-08 G3/8"X19 3/4"X16 135 10.8 32,5 22 24
2BJ-06-10 G3/8"X19 7/8"X14 135 12 33 22 27
2BJ-08 G1/2"X14 3/4"X16 16 108 37 27 24
2BJ-08-06 G1/2'X14 9/16"X18 16 95 35 27 19
2BJ-08-10 G1/2'X14 7/8"X14 16 12 375 27 27
2BJ-10 G5/8"X14 7/8"X14 175 12 38 30 27
2BJ-12 G3/4"X14 | 1.1/16"X12 18.5 13 42 32 32
2BJ-12-08 G3/4"X14 3/4"X16 18.5 10.8 40 32 24
2BJ-12-10 G3/4"X14 7/8"X14 18.5 12 41 32 27
2BJ-12-16 G3/4'X14 < | \1:5/16"X12 18.5 14 43 32 41
2BJ-16 G111 1.5/6"X12 205 14 46 41 41
2BJ-16-20 G111 1.5/8"X12 20.5 15 50 41 50
2BJ-20 G1.A/4"X11 A '5/8"X12 205 15 50 50 50
2BJ-20-24 G141 | 1.7/8"X12 20.5 19 50 50 55
2BJ-24 G1.A/2°X11 | 1.7/8"X12 23 19 54.5 55 55
2BJ-32 G2'X11 2.1/2"X12 255 235 57.5 70 75

F27




0 HEIRWN60° #HEmEIEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

L1BM L1BO

RESMAGE0 NEN A ARERAASREH/
AESMEGE0° NESARREAEGEES
BSP MALE DOUBLE USE FOR 60° SEAT ORBONDED SEAL/
METRIC MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL

REIMEGE0° NEHARREAASETH/
EHISAESMELHOM EIRR R 5ISO 11926-3

BSP MALE DOUBLE USE FOR 60° SEAT ORBONDED SEAL/
SAE O-RING BOSS L-SERIES ISO 11926-3

st
ke #2457 THREAD R~ DIMENSIONS ke #2247 THREAD OfZE O-RING R~ DIMENSIONS

PART NO. 3 F B L PART NO. E F Fif B L
1BM-02-10 G1/8"X28 M10X1 10 8 25 14 1BO-04 G1/4"X19 | 7/16"X20 0904 12 9.14 29 19
1BM-02-12 G1/8"X28 | M12X1.5 10 10 27 17 1B0O-04-05 G1/4"X19 1/2"X20 0905 12 9.14 29 19
1BM-04-12 G1/4"X19 | M12X1.5 12 10 29 19 1BO-04-06 G1/4"'X19 | 9/16"X18 0906 12 9.93 30 19
1BM-04-14 G1/4"X19 | M14X1.5 12 11 30 19 1B0O-04-08 G1/4"X19 |  3/4"X16 0908 12 113, | ) 31 22
1BM-04-16 G1/4"X19 | M16X1.5 12 12 33 22 1BO-06 G3/8"X19 | 9/16"X18 0906 13.5 9,9 38,5 22
1BM-04-18 G1/4"X19 | M18X1.5 12 12 33 24 1BO-06-04 G3/8"X19 | 7/16"X20 0904 135 | 944 33 22
1BM-06-10 G3/8"X19 M10X1 13.5 8 29.5 22 1B0O-06-08 G3/8"X19 |  3/4"X16 0908 135 L1113 | 325 22
1BM-06-12 G3/8"X19 | M12X1.5 13,5 10 31.5 22 1B0O-06-10 G3/8"X19 |  7/8"X14 0910 135 | 127 36 27
1BM-06-14 G3/8"X19 | M14X1.5 1375 11 32.5 22 1BO-08 G1/2'X14 | 3/4"X16 0908 16 1113 | 37 27
1BM-06-16 G3/8"X19 | M16X1.5 13.5 12 33.5 22 1BO-08-06 G1/2"X14 |\ 9/16'X18 0906 16 9.93 36 27
1BM-06-18 G3/8"X19 | M18X15 13.5 12 34.5 24 1B0O-08-10 G214\ |\ \ 7/8"X14 0910 16 12.7 | 385 27
1BM-06-20 G3/8"X19_ -, M20X1.5 13.5 14 38.5 27 1BO-08-12 GH2"X 14— | \1\1/16"X12 0912 16 15.1 42 32
1BM-06-22 G3/8"X19,\ |\ M22X1.5 13.5 14 38.5 27 1BO-10 G5/8"X14 | 7/8"X14 0910 175 | 127 43 30
1BM-08-14 Gi2X14 | \M14x1.5 16 11 38 27 1BO-10-08 G5/8'X14 |  3/4"X16 0908 175 | 1113 | 415 30
1BM-08-16 G1(2X14~ | _M16X1.5 16 12 39 27 1BO-10-12 G5/8"X14 | 1.1/16"X12 0912 175 | 151 | 435 32
1BM-08-18 G1/2'X14—| M18X1.5 16 12 39 27 1BO-12 G3/4"X14 | 1.1/16"X12 0912 185 | 151 | 445 32
1BM-08-20 G1/2'X14 | M20X1.5 16 14 41 27 1BO-12-08 G3/4'X14 |  3/4"X16 0908 18.5 | 11.13-[( 40'5 32
1BM-08-22 G1/2'X14 | M22X1.5 16 14 41 27 1BO-12-10 G3/4"X14 |  7/8"X14 0910 18.5 | 127 42 32
1BM-08-24 G1/2'X14 | M24X1.5 16 14 41 30 1BO-12-14 G3/4"X14 | 1.3/16"X12 0914 185 | 154 |/ 445 36
1BM-08-26 G1/2'X14 | M26X1.5 16 16 44 32 1BO-12-16 G3/4"X14 | 1.5/16"X12 09116 185 | 1547/ 445 38
1BM-08-27D | G1/2"X14 | M27X1.5 16 16 44 32 1BO-16 G1"X11 | 1.5/16"X12 0916 205-]| 151 | 485 41
1BM-08-30 G1/2"X14 M30X2 16 18 45 36 1BO-16-10 G1"X11 7/8"X14 0910 205 | 127 | 495 41
1BM-10-22 G5/8"X14 | M22X1.5 17.5 14 42.5 30 1BO-16-12 G1"X11 | 1.1/16X12 0912 205 | 151 | 515 41
1BM-10-26 G5/8"X14 | M26X1.5 17|5 16 4555 32 1BO-16-14 G1"X11 1.3/67X12 0914 205 | 151 | 515 41
1BM-12-18 G3/4"'X14 | M18X1.5 18.5 12 42.5 32 1BO-16-20 GT'X{1 1.5/8"X12 0920 205 | 151 | 515 50
1BM-12-20 G3/4"X14 | M20X1.5 185 14 44.5 32 1BO-20 G1IdrX 11, |\ 1.5/8"X12 0920 205 | 151 | 515 50
1BM-12-22 G3/4"'X14 | M22X1.5 18.5 14 44.5 32 1BO-20-16 | G1\1/4"X11~|—1.5/16"X12 0916 205 | 151 | 515 50
1BM-12-24 G3/4"X14 | M24X1.5 18.5 14 44.5 32 1BO-24 G1.A2"X11 | 1.7/8"X12 0924 23 15.1 53 55
1BM-12-26 G3/4"'X14 | M26X15 18.5 16 46.5 32

1BM-12-27 G3/4"X14 M27X2 18.5 16 46.5 32

1BM-12-27D | G3/4"X44. [\ \M27X1.5 18.5 16 46.5 32

1BM-12-30 G3/4"X 14 M30X2 18.5 18 47.5 36

1BM-12-30D | G3/4'X14 -\ M30X1.5 18.5 18 475 36

1BM-16-14 G1"X11 M14X1.5 205 11 45.5 41

1BM-16-22 G1"X11 M22X1.5 205 14 48.5 41




0 HERWN60° #HmEIEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

I I
L
L1BW A B L1B-WD
- oo o ot «//7%
EEIMEL60° NES A RInEAASREH/ BES . L . SFEIMEL60° AT A B E A S T
BSP MALE DOUBLE USE FOR 60° 60° - TET 60° HEIMEG R
SEAT OR BONDED SEAL /BUTT-WELD TUBE BSP MALE DOUBLE USE FOR 60° SEAT

S1

OR BONDED SEAL /BSP MALE CAPTIVE SEAL

e #2457 THREAD & CAPTIVE R~F DIMENSIONS
PART NO. E F Fith B L
1B-04WD G1/4"X19 | G1/4"X19 WD-B04 12 12 32 19
1B-04-06WD | G1/4'X19 | G3/8"X19 WD-B06 12 12 34/5 22
1B-04-08WD | G1/4'X19 | G1/2"X14 WD-B08 12 14 39 27
1B-06WD G3/8"X19 | G3/8"X19 WD-B06 13.5 12 34 22
1B-06-08WD | G3/8"'X19 | G1/2"X14 WD-BO8 18.5 14 405 27
1B-08WD G1/2'X14 | G1/2'X14 WD-B08 16 14 43 27
1B-08-12WD | G1/2'X14 | G3/4"X14 WD-B12 16 16 46 32
1B-12WD G3/4"X14 | G3/4"X14 WD-B12 18.5 16 46.5 32
1B-12-16WD |~ G3/4"X14 G1"X11 WD-B16 18.5 18 52.5 41
1B-16WD G1tX11 G1"X11 WD-B16 205 18 54.5 41
1B-16-20WD GT"XH_ |\ GT1.1/4"X11 WD-B20 205 20 58.5 50
1B-20WD GTAMX11 | G1.1/4"X11 WD-B20 205 20 58.5 50

re #2457 THREAD EFHERE R~ DIMENSIONS

PART NO. E TUBEO.D. D L

1BW-04-10 G1/4"X19 10 12 7 10 25 19
1BW-06-14 G3/8"X19 14 13.5 8 14 295 22
1BW-08-18 G1/2"X14 18 16 10 18 36 27
1BW-12-22 G3/4"X14 22 18.5 10 22 39.5 32
1BW-12-28 G3/4"X14 28 1875 12 28 41,5 32
1BW-16-28 G1"X11 28 20.5 12 28 45.5 41
1BW-16-30 G1"X11 30 20.5 12 30 45.5 41
1BW-20-34 G1.1/4"X11 34 20.5 14 34 49.5 50
1BW-20-36 G1.1/4"X11 36 20.5 14 36 49.5 50
1BW-20-42 G1.1/4"XT4 42 20.5 16 42 51.5 50
1BW-24-36 G1.1/2"X11 36 23 14 36 52 55
1BW-24-42 G1.1/2"X11 42 23 16 42 54 55
1BW-24-50 G1.1/2"X11 50 23 16 50 54 55

L B
7777777, - L2WB

607

REE / RENBEL60° S
BUTT-WELD TUBE/BSP FEMALE 60° CONE

re #2457 THREAD EFER R~} DIMENSIONS

PART NO. F TUBEO.D. D L

2WB-10-04 G1/4"X19 10 5 10 35 19
2WB-14-06 G3/8"X19 14 6.5 14 40 22
2WB-18-08 G1/2"X14 18 78 18 50 27
2WB-22-08 G1/2"X14 22 7.8 22 50 27
2WB-22-12 G3/4"X14 22 10.5 22 62 32
2WB-28-16 G1"X11 28 H 28 65 41
2WB-34-20 G1.1/4"X11 34 11.5 34 68 50
2WB-42-20 G1.1/4"X11 42 11.5 42 68 50
2WB-50-24 G1.1/2"X11 50 12.5 50 57.5 55




0 HEEN60° HmEIIEL BSP THREAD 60° CONE ADAPTERS 0 HEEN60° HEEIIESL BSP THREAD 60° CONE ADAPTERS
IS C

L B
A
L2BJ-WD % L2NB
[ 23 60°
HEIMELG IR E / EHJICHIEL74° R FosEEIMNB L [ HE NIEL60° e
BSP MALE CAPTIVE SEAL/JIC FEMALE 74° SEAT E NTP MALE /BSP FEMALE 60° CONE
S1
S2

e #2557 THREAD Bt CAPTIVE R~} DIMENSIONS e 4257 THREAD R~ DIMENSIONS
PART NO. E F Eif L PART NO. E F B
2BJ-02-04WD | G1/8"X28 | 7/16"X20 WD-B02 8 9.5 23.5 14 17 2NB-02 Z1/8"X27 G1/8"X28 10.5 6 255 12 14
2BJ-04-05WD | G1/4"X19 1/2"X20 WD-B04 12 9 28.5 19 19 2NB-02-04 71/8"X27 G1/4"X19 105 5 27 14 19
2BJ-04-06WD | G1/4"X19 | 9/16"X18 WD-B04 12 9.5 28.5 19 19 2NB-04-02 Z1/4"X18 G1/8"X28 15 6 30 17 14
2BJ-04-08WD | G1/4"X19 3/4"X16 WD-B04 12 10.8 _|—30.5 19 24 2NB-04 Z1/4"X18 G1/4"X19 15 5 31 17 19
2BJ-04WD G1/4"X19 | 7/16"X20 WD-B04 12 9.5 28 19 17 2NB-04-06 Z1/4"X18 G3/8"X19 15 6.5 33 17 22
2BJ-06-08WD | G3/8"X19 3/4"X16 WD-B06 12 10.8 33 22 24 2NB-04-08 Z1/4"X18 G1/2'X14 15 7.8 35 19 27
2BJ-06WD G3/8"X19 | 9/16"X18 WD-B06 12 9.5 31 22 19 2NB-06 Z3/8"X18 G3/8"X19 16 6.5 35 19 22
2BJ-08-06WD | G1/2"X14 | 9/16"X18 WD-B08 14 9.5 33.5 27 19 2NB-06-04 73/8"X18 G1/4"X19 16 5 33 19 19
2BJ-08-10WD | G1/2"X14 7/8"X14 WD-B08 14 12 38 27 27 2NB-06-08 Z3/8"X18 G1/2"X14 16 7.8 36 19 27
2BJ-08WD G1/2"X14 3/4"X16 WD-B08 14 10.8 | 37.5 27 24 2NB-08 Z1/2"X14 G1/2"X14 19.5 78 41 22 27
2BJ-12-16WD | G3/4"X14 | 1.5/16"X12 | WD-B12 16 14 42.5 32 41 2NB-08-04 Z1/2"X14 G1/4"X19 195 5 38.5 22 19
2BJ-12WD G3/4"X14 | +1161X12 | WD-B12 16 13 42.5 32 32 2NB-08-06 Z1/2°X14 G3/8"X19 19.5 6.5 40.5 22 22
2BJ-16WD G1"X11 1.5/161X12 | WD-B16 18 14 46.5 41 41 2NB-08-12 Z1/2"X14 G3/4"X14 19.5 105 44.5 27 32
2BJ-20-16WD | G1.1/4"X11\ | M15716"X12 |~ WD-B20 20 14 50.5 50 41 2NB-12 Z3/4"X14 G3/4"X14 19.5 10.5 445 30 32
2BJ-20WD G1.1/4"X11\ | 1.5/8"X12 WD-B20 20 15 54.5 50 50 2NB-12-06 Z3/4"X14 G3/8"X19 19.5 6.5 41.7 30 22
2BJ-24WD G1.1/2"X11 |-1.7/8"X12 WD-B24 22 19 58.5 55 55 2NB-12-08 Z3/4"X14 G1/2"X14 19.5 7.8 435 30 27
2NB-12-16 Z3/4"X 14 G1"X11 19.5 11 46.5 32 41
2NB-16-12 Z1"X11.5 G3/4"X14 25.5 10.5 51.5 36 32
2NB-16 Z1"X11.5 G1"X11 25.5 11 52.5 36 41
2NB-20 Z1.4/4"X11.5 | G1.1/4"X11 26.5 11.5 58 46 50
2NB-24 Z1A2°X11.5 | G1.4/2'X11 275 125 62 50 55
2NB-32 Z2"X11.5 G2"X11 275 17 68 65 70




0 HEEN60° HmEIIEL BSP THREAD 60° CONE ADAPTERS 0 HEEN60° HEEIIESL BSP THREAD 60° CONE ADAPTERS
I IS E—

L2NB9 ) L2TB-SP

o

Vi

REEIMEL / HENIEL60° S
BSPT MALE /BSP FEMALE 60° CONE

90° LT IMEL / HENIEL60° M
90° ELBOW NPT MALE /BSP FEMALE 60° CONE

re 1247 THREAD R~F DIMENSIONS R 1247 THREAD R~F DIMENSIONS

PART NO. E B S1 S2 PART NO. F B L
2NB9-02 Z1/8"X27 G1/8"X28 21 6 11 14 2TB-02SP R1/8"X28 G1/8"X28 10 6 25 12 14
2NB9-04 Z1/4"X18 G1/4"X19 25.5 5 14 19 2TB-04SP R1/4"X19 G1/4"X19 14.5 5 31.5 17 19
2NB9-04-06 Z1/4"X18 G3/8"X19 25.5 6.5 14 22 2TB-06SP R3/8"X19 G3/8"X19 15 6.5 33 19 22
2NB9-06 Z3/8"X18 G3/8"X19 31 65 19 22 2TB-06-04SP R3/8"X19 G1/4"X19 15 5 32 19 19
2NB9-06-04 Z3/8"X18 G1/4"X19 31 5 19 19 2TB-06-08SP R3/8"X19 G1/2"X14 15 7.8 35 19 27
2NB9-06-08 Z3/8"X18 G1/2"X14 31 7.8 19 27 2TB-08SP R1/2"X14 G1/2"X14 20 7.8 42 22 27
2NB9-08 Z1/2"X14 G1/2"X14 37.3 7.8 22 27 2TB-08-06SP R1/2"X14 G3/8"X19 20 6.5 40 22 22
2NB9-08-06 Z1/2"X14 G3/8"X19 36.7 6.5 22 22 2TB-08-12SP R1/2"X14 G3/4"X14 20 1075 45 27 32
2NB9-12 Z3/4"X14 G3/4"X14 4375 10.5 27 32 2TB-12SP R3/4"X14 G3/4"X14 20 10.5 45 30 32
2NB9-12-08 Z3/4"X14 G1/2"X14 44 7.8 27 27 2TB-12-08SP R3/4"X14 G1/2"X14 20 7.8 44 30 27
2NB9-12-16 Z3/4"X14 G1"X11 45 1" 30 41 2TB-12-16SP R3/4"X14 G1"X11 20 11 47 32 41
2NB9-16 Z1"X11.5 G1"X11 50 1" 33 41 2TB-16SP R1"X11 G1"X11 25.5 11 52.5 36 41
2NB9-16-12 Z1"X115 G314"X14 50 10.5 33 32 2TB-16-12SP R1"X11 G3/4"X14 25.5 10.5 51.5 36 32
2NB9-20 Z1.1/4"X11.5\ \ G1.1/4"X11 54.5 1.5 41 50 2TB-20-16SP R1.1/4%X11 G1'X11 26.5 11 55.5 46 41
2NB9-24 Z1.1/2"X11.6. + G1.112"X11 59 12.5 48 55 2TB-20SP R1.1/4"X11 G1.1/4*X11 26.5 11.5 58 46 50
2NB9-32 Z2"X11.5 G2"X11 788 17 63 70 2TB-24SP R1.1/2"X11 G1A72"X11 26.5 12.5 60.5 50 55
2TB-32SP R2"X11 G2"X11 30 17 68 65 70




0 HERWN60° #HmEHIEL BSP THREAD 60° CONE ADAPTERS

L2TB9-SP

90° TRHEEIMAL / HENIEL60° shif
90° ELBOW BSPT MALE/BSP FEMALE 60° CONE

© =EEM60° ®wEZEEL BSP THREAD 60° CONE ADAPTERS
4 4

L

A
L4A4BN-WD
NS MBS TR 1 R Sk
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
g

e #2457 THREAD R~} DIMENSIONS
PART NO. F B St
2TB9-02SP R1/8"X28 | G1/8"X28 21 6 11 14
2TB9-04SP R1/4"X19 | G1/4"X19 26 5 14 19
2TBY-06SP R3/8"X19 | G3/8"X19 28 6:5 16 22
2TB9-06-08SP | R3/8"X19 | G1/2"X14 31 7.8 19 27
2TB9-08-06SP | R1/2'X14 | G3/8"X19 36 6.5 22 22
2TB9-08SP R1/2"X14 | G1/2"X14 36 7.8 22 27
2TB9-08-12SP | R1/2'X14 | G3/4"X14 37 10.5 24 32
2TBY-12-08SP | R3/4"X14 |\ G1/2"X14 43.5 7.8 27 27
2TBY-12SP R8747X14\ |\ |\ | G3/4/X14 435 | 105 27 32
2TBY9-16SP R1"X11 G1X11 50 11 33 41
2TB9-20SP | R1M/A"X11 | G1.1/4"X11 57.5 11.5 41 50
2TB9-24SP | R1.4/2"X11 | G1.1/2"X11 62.5 | 12.5 48 55
L
A
wi\ S1
L LABN
&)
D REMEGAARERAEAERZTHR A AEL
BSP MALE DOUBLE USE FOR
BONDED SEAL HOLLOW HEX PLUG

e #2457 THREAD & CAPTIVE R~ DIMENSIONS
PART NO. E Eif L D
4BN-02WD G1/8"X28 WD-B02 8 12.2 5 o4
4BN-04WD G1/4"X19 WD-B04 12 17.2 6 ©19
4BN-06WD G3/8"X19 WD-B06 12 17.2 8 022
4BN-08WD G1/2"X14 WD-B08 14 19.2 10 ©27
4BN-12WD G3/4"X14 WD/B12 16 21:2 12 ©32
4BN-16WD G1"X11 WD-B16 16 22.8 17 ©39
4BN-20WD G1.1/4"X11 WD-B20 20 26.8 22 ©49
4BN-24WD G1.1/2"X11 WD-B24 22 28.8 24 ©55

L
A S1
paL
L4B-WD
60°| =9
HEE MG BB HE L

BSP MALE CAPTIVE SEAL PLUG

re #2457 THREAD B# CAPTIVE R~} DIMENSIONS
PART NO. E Ei L St
4B-02WD G1/8"X28 WD-B02 8 15.5 14
4B-04WD G1/4"X19 WD-BO04 12 19:6 19
4B-06WD G3/8"X19 WD-BO6 12 225 22
4B-08WD G1/2'X14 WD-B08 14 25 27
4B-12WD G3/4"X14 WD-B12 16 29 32
4B-16WD G1X11 WD-B16 18 35 41
4B-20WD G1.1/4"X 1 WD'B20 20 37 50
4B-24WD G1:1/2"X 11 WD-B24 22 40 55
4B-32WD G2'X11 WD-B32 20 41 75

e #2247 THREAD R~ DIMENSIONS
PART NO. E L S )
4BN-02 G1/8"X28 8 11 5 014
4BN-04 G1/4"X19 12 15 6 018
4BN-06 G3/8"X19 12 15 8 022
4BN-08 G1/2"X14 14 18 10 ©25
4BN-12 G3/4"X14 16 20 12 032
4BN-16 G1"X11 16 21 17 ©39




0 HERN60° #HmETEHIEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

4 4 .
L F
A —T |
L5B
) T = L5B9
sod it ﬂ_______m HEIMBLO0° MESARBEAAL LT/ |
HENIELISO 1179 60°| = 1 T\b 90° LHREIMEL60° M/ HENELISO 1179
. BSP MALE DOUBLE USE FOR 60° SEAT ORBONDED SEAL/ 90° ELBOW BSP MALE 60° SEAT/BSP FEMALE I1SO 1179
o BSP FEMALE ISO 1179 T s1

R #2457 THREAD R~F DIMENSIONS re #8247 THREAD R~ DIMENSIONS
PART NO. F L S1 PART NO. E F A B S1
5B-02-04 G1/8"X28 G1/4"X19 10 29 19 5B9-02 G1/8"X28 G1/8"X28 225 20 16
5B-04-02 G1/4"X19 G1/8"X28 12 28 19 5B9-04 G1/4"X19 G1/4"X19 255 22 19

5B-04 G1/4"X19 G1/4"X19 12 33 19 5B9-06 G3/8"X19 G3/8"X19 30.5 26 24
5B-04-06 G1/4"X19 G3/8"X19 12 36 22 5B9-08 G1/2"%14 G1/2"X14 39 3 30
5B-06-04 G3/8"X19 G1/4"X19 13.5 33.5 22 5B9-12 G3/41X14 G3/4"X14 435 37 33

5B-06 G3/8"X19 G3/8"X19 13.5 37.5 22 5B9-16 G1"X11 G1"X11 50.5 43 41
5B-06-08 G3/8"X19 G1/2"X14 13.5 42.5 27 5B9-20 G1:174"%11 G1.1/4"X11 55 46 50
5B-08-06 G1/2"X14 G3/8"X19 16 38 27

5B-08 G1/2"X14 G1/2"X14 16 45 27
5B-08-10 G1/2"X14 G5/8"X14 16 46 30
5B-08-12 G1/2"X14 G3/4"X14 16 44,5 36 L,
5B-10-08 G5/8"X14 G1/2"X14 17.5 415 30
5B-12-08 G3/4"X14 G1/2"X14 18.5 445 32 /) L7B

5B-12 G3/4"X14 G3/4"X14 18.5 48 36 [ ] i -
5B-12-16 G3/4"X14 G1"X11 18.5 53.5 41 mT HEEHRELISO 1179
5B-16-12 G1'X11 G3/4"X14 20.5 475 41 , BSP FEMALE ISO 1179

5B-16 G1"X11 G1"X11 20.5 55.5 41
5B-16-20 G1"X11 G1.1/4"X11 20.5 56.5 50
5B-20-16 G1.1/4"X11 G1"X11 20.5 49 50 re #24r THREAD R~F DIMENSIONS

5B-20 G1.1/4"X11 G1.1/4"X11 20.5 52.5 50 PART NO. E F
5B-20-24 G1.1/4"X11 G1.1/2"X11 20.5 57.5 55 7B-02 G1/8"X28 G1/8"X28 22 14

5B-24 G1.1/2"X1 G1.1/2"X11 23 58 55 7B-02-04 G1/8"X28 G1/4"X19 24 19
5B-32-24 G2"X11 G1.1/2"X11 25.5 59.5 70 7B-04 G1/4"X19 G1/4"X19 24 19

5B-32 G2"X11 G2"X11 25.5 63 70 7B-04-06 G1/4"X19 G3/8"X19 29 22

7B-06 G3/8"X19 G3/8"X19 26 22
7B-06-08 G3/8"X19 G1/2"X14 33 27
7B-08 G1/2"X14 G1/2"X14 32 27
7B-08-10 G1/2"X14 G5/8"X14 36 30
7B-10 G5/8"X14 G5/8"X14 36 30
7B-12 G3/4"X14 G3/4"X14 36 32
7B-12-16 G3/4"X14 G1"X11 43 41
7B-16 G1"X11 G1"X11 40 41
7B-16-20 GHX11 G1.1/4"X11 46 50
7B-20 G174 11 G1.1/4"X11 44 50
7B-20-24 G1.1/4"X11 G1.1/2"X11 48 55
7B-24 G1.472"X11 G1.1/2"X11 45 55
7B-24-32 G1.1/2"X11 G2"X11 56 70
7B-32 G2"X11 G2"X11 54 70




0 HEIRWN60° #HmEEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

I I
i
L5BN
EEIMEL60° AES A NRirEAAGERZH/
L7B9-RW EHIBEENBRLY
o | BSP MALE DOUBLE USE FOR 60° SEAT OR BONDED SEAL /
NPT FEMALE
90° TEREMNIELISO 1179

90° ELBOW BSP FEMALE ISO 1179

re ¥247 THREAD R~ DIMENSIONS

ke #2457 THREAD R~} DIMENSIONS PART NO. E F L S1
PART NO. E F B S1 5BN-04 G1/4"X19 Z1/4"X18 12 30 19
7B9-02RW G1/8"X28 G1/8"X28 20 20 16 5BN-06 G3/8"X19 Z3/8"X18 13.5 33 22
7B9-04RW G1/4"X19 G1/4"X19 225 225 19 5BN-08 G1/2"X14 Z1/2"X14 16 42 30
7B9-06RW G3/8"X19 G3/8"X19 26 26 24 5BN-12 G3/4"X14 Z3/4"X14 18.5 44.5 36
7B9-08RW G1/2"X14 G1/2"X14 31 31 27 5BN-16 GA"X11 Z1"X115 20.5 52 41
7B9-12RW G3/4"X14 GB/4"X14 34 34 33 5BN-20 G1.1/4'X11 |\21.1/4"X11.5 20.5 55 50
7B9-16RW G1rX1 G1"X11 42 42 41 5BN-24 G1.1/2"X11 | Z1/4/2"X11.5 23 58 60
7B9-20RW GT.4/4"X11 G1.1/4"X11 48 48 50 5BN-32 G2"X11 Z2'X11.5 25.5 62 70

7B9-24RW GTA2"X1M1 G1.1/2"X11 53 53 60

7B9-32RW G2"'X11 G2"'X11 62 62 70

L
—AJ/ L5BT
\S1
E . A | REMBO0° NEHARBARAS BT/
A T W 60 m‘J l N HEEHEL
A }77? o LGB-RW . BSP MALE DOUBLE usBESFlacaTRF%?\;A?EAT OR BONDED SEAL /
|
oA Lo R IBAISO 1179= 8
[ ) BSP FEMALE ISO 1179 TEE Re 1247 THREAD R~ DIMENSIONS

A C PART NO. E F L S1
5BT-04-02 G1/4"X19 Rc1/8"X28 12 28 19
re #2457 THREAD R~t DIMENSIONS 5BT-04 G1/4"X19 Rc1/4"X19 12 335 19
PART NO. F B C 5BT-04-06 G1/4"X19 Rc3/8"X19 12 34 22
GB-02RW G1/8"X28 | G1/8"X28 | G1/8"X28 20 20 20 16 5BT-04-08 G1/4"X19 Rc1/2"X14 12 41 27
GB-04RW G1/4"X19 | G1/4"X19 | G1/4"X19 225 225 225 19 SBT-06-04 G3/8"X19 Rc1/4"X19 13.5 35 22
GB-06RW G3/8"X19 | G3/8"X19 | G3/8"X19 26 26 26 24 SBT-06 G3/8"X19 Rc3/8"X19 13.5 34 22
GB-08RW G1/2"X14 | G1/2"X14 | G1/2"X14 31 31 31 27 SBT-08-06 G1/2"X14 Rc3/8"X19 16 39.5 27
GB-12RW G3/4"X14 | G3/4"X14—+ G3/4"X14 34 34 34 33 5BT-08 G1/2"X14 Rc1/2"X14 16 45 27
GB-16RW G111 G1"X11 G1"X11 42 42 42 41 5BT-10-08 G5/8"X14 Rc1/2"X14 17.5 43.5 30
GB-20RW G1.1/4"X11.| G1.1/4/'X11/ | G1.1/4"X11 48 48 48 50 5BT-12-08 G3/4"X14 Rc1/2"X14 18.5 475 32
GB-24RW G1. 12X -G 1/2"X 11| G1.1/2"X11 53 53 53 60 SBT-12 G3/4"X14 Rc3/4"X14 18.5 49 36
GB-32RW G2"X11 G2"X11 G2"X11 62 62 62 70 5BT-16-12 G1°X11 Rc3/4"X14 20.5 47.5 41
5BT-16 G1'X11 Rc1"X11 20.5 57 41
5BT-20 G1.1/4"%11—~Rc1.1/4"X11 20.5 58.5 50
5BT-24 G1.1/2"X11 | Rc1.1/2"X11 23 61 55




0 HEIRWN60° #HmEEL BSP THREAD 60° CONE ADAPTERS 0 HERN60° HEmEHIEL BSP THREAD 60° CONE ADAPTERS

4 . 4 4 4
]
L A
A
Ias _ j
= L5B-WD ¥ L5GB
ik w w i
i = = b ppe . A - pte .

\ | HEIMNBLR BT/ 3% R IBLISO 1179 | SREMNRYOME | REMBAISO 1179
f N Y BSP MALE CAPTIVE SEAL / BSP FEMALE ISO 1179 : BSPMALE O-RING/BSP FEMALEISO 1179
e P TSt

e #2557 THREAD & CAPTIVE R~ DIMENSIONS e #2457 THREAD O/ O-RING R~F DIMENSIONS
PART NO. F Eif L St PART NO. E F Eif L St
5B-02-04WD | G1/8"X28 | G1/4"X19 | WD-B02 8 30.5 19 5GB-04 G1/4"X19 | G1/4"X19 0111 11 32 19
5B-02-06WD | G1/8"X28 | G3/8"X19 | WD-B02 8 325 22 5GB-04-06 G1/4"X19 | G3/8"X19 0111 11 365 22
5B-04-02WD | G1/4"X19 | G1/8"X28 | WD-B04 12 315 19 5GB-06 G3/8"X19 | G3/8"X19 0113 11.5 36 22
5B-04-06WD | G1/4"X19 | G3/8"X19 | WD-B04 12 37 22 5GB-06-08 G3/8"X19 | G1/2"X14 0113 115 41 27
5B-04-08WD | G1/4"X19 | G1/2'X14 | WD-B04 12 43 27 5GB-08 G1/2'X14 | G1/2"X14 0115 14 41 27
5B-06-02WD | G3/8"X19 | G1/8"X28 | WD-B06 12 30.5 22 5GB-08-12 G1/2'X14 | GB3/4"X14 0115 14 46 36
5B-06-04WD | G3/8"X19 | G1/4"X19 | WD-B06 12 37.5 22 5GB-12 G3/4'X14\ | G3/47X14 0119 15.5 46 36
5B-06-08WD | G3/8"X19 | G1/2'X14 | WD-B06 12 43.5 27 5GB-12-16 G3/4'X14 G1"X11 0119 15.5 50 41
5B-08-04WD | G1/2'X14 | G1/4"X19 | WD-B08 14 38 27 5GB-16-12 GT"X ™M G3/4"X14 0217 18 47 41
5B-08-06WD | G1/2"X14 | G3/8"X19 | WD-B08 14 41 27 5GB-16 GT"X11 G1"X11 0217 18 52.5 41
5B-08-12WD | G1/2'X14 | GB3/4"X14 | WD-BO08 14 46 36
5B-12-08WD | G3/4"X14 | G1/2'X14 | WD-B12 16 47.5 32
5B-12-16WD | G3/4"X14 G1"X11 WD-B12 16 53.5 41
5B-12-20WD | G3/4"X14 | G1.1/4"X¥ || WD-B12 16 54.5 50
5B-16-12WD G1"X11 G3/4"X14| | | WD-B16 18 50.5 41 . .
5B-16-20WD G1"X11 _"\G1.1/4!X11| | .| WD-B16 18 56.5 50
5B-20-16WD | G1.1/4"X11\ [\ \ 'G1"X11 WD-B20 20 57.5 50 L7TB-S
5B-20-24WD | G1.4/4"X11|_GN1/2"X11 | WD-B20 20 59.5 55 )
5B-20-32WD | G1.1/4'X11- |~ -G2"X11 WD-B20 20 64 70 H S A ) 8 IBE60° SMEBSPT
5B-24-16WD | G1.1/2'X{1°}" G1"X11 WD-B24 22 59.5 55
FEMALE / BSP FEMALE 60° CONE
5B-24-20WD | G1.1/2"X11 | G1.1/4"X11 | WD-B24 22 60 55
5B-24-32WD | G1.1/2'X11 |  G2"X11 WD-B24 22 66 70
e #2457 THREAD R~} DIMENSIONS
PART NO. E F L St
7TB-02-04S | Rc1/8"X28 | G1/4"X19 5 26.5 17 19
7TB-04S Rc1/4"X19 |  G1/4"X19 5 31 19 19
7TB-04-06S | Rc1/4"X19 | G3/8"X19 65 31 19 22
7TB-06S Rc3/8"'X19 | G3/8"X19 6.5 35.2 22 22
7TB-06-085 | Rc3/8"X19 | G1/2"X14 7.8 37 22 27
7TB-08-06S | Rc1/2'X14— | [1G3/8"X19 6.5 40.5 27 22
7TB-08S Rc1/2'X14\ || \G1/2"X14 7.8 42 27 27
7TB-128 Rc3/4"X 14— G3/4'X14 105 | 45.1 36 32
7TB-16S Rc1"X11 G1"X11 11 51.3 41 41




0 HEEN60° #HmFEIIEL BSP THREAD 60° CONE ADAPTERS
——

1247 THREAD

L2B-G

RESMELE0° N/ RENBRESL

BSP MALE 60° SEAT/
BSP FEMALE PRESSURE GAUGE CONNECTORS

£4f K COPPER WASHER R~F DIMENSIONS

0 HEEN60° HEEIIESL BSP THREAD 60° CONE ADAPTERS
——

L2TB-G

EEIMEL / RENBYREL

BSPT MALE /BSP FEMALE
PRESSURE GAUGE CONNECTORS

RS
PART NO. E F Fil L s1
2B-02-04G G1/8"X28 | G1/4"X19 DP-B04G 10 145 | 24.5 14 19
2B-04G G1/4"X19 | G1/4"X19 DP-B04G a5 265 V| 19 19
2B-04-08G G1/4"X19 | -G12"X14 DP-B08G 12 20 29 19 27
2B-06-04G Gae'x1e | |Glyax1s| | / | bP-Bosc/ | /135 | a5 30 | 22 19
2B-08-04G G1/2'X14 | | G1/4"X19 DP-B04G 16 14.5 | 345 27 19
2B-08G G1/2"X14 172"X14 DP-B08G 16 20 37 a7 27
L2B9-G

90° TIEIMRLO0° M/ HE NIBLIRESL

90° ELBOW BSP MALE 60° SEAT/
BSP FEMALE PRESSURE GAUGE CONNECTORS

re #5; THREAD 24 COPPER WASHER R~ DIMENSIONS
PART NO. F Fih B
2TB-02-04G/SP | R1/8"X28 | G1/4"X19 DP-B04G 10 145 | 245 12 19
2TB-04G/SP | R1/4"X19 | G1/4"X19 DP-B04G | 145 | 145 | 729 || 17 19
2TB-04-08G/SP | R1/4"X19 | GH2"X14 DP-B0SG /| 14.5 20 31.5 19 27
2TB-06-04G/SP | R3/8"x19 | Gilax19 | / / / pp-poac/| /18 | Aas' | 296 || 19 19
2TB-08-04G/SP | R1/2'X14 | G1/4"X19 DP'B04G 20 145 | 36.5 22 19
2TB-08G/SP | R1/2'X14 | G1/2'X14 DP-B08G 20 20 39 22 27
L5B-G
60°| w- HEIMEL60° NENARHEAASREEH/

RENBREL

BSP MALE DOUBLE USE FOR 60° SEAT ORBONDED SEAL/
BSP FEMALE PRESSURE GAUGE CONNECTORS

re #2247 THREAD 24 COPPER WASHER R<t DIMENSIONS
PART NO. E F Fith B St s2
2B9-04G G1/4"X19 G1/4"X19 DP-B04G 245 14.5 14 19
2B9-08G G1/2"X14 G1/2"X14 —DP-B08G | ‘245 |/ 20 / 2,0 | 27

re #57 THREAD #41F COPPER WASHER R<F DIMENSIONS
PART NO. E F Fi B L
5B-04G G1/4"X19 | G1/4"X19 DP-B04G 12 11 26 9
5B-06-04G G3/8"XI9 | [ G1/4"X19 /s /op-Boag/ | /135 | /11 /] 85 | 22
5B-06-08G G3/8'x19 || [61/2"X14 DP-B08G | 13.5 17} 355 || 27
5B-08G G1/2'X14 | LGH2"X14 [ pp-Bose—| “t6— 17 37 | 27




0 HEEEENBSPTEL BSPT THREAD ADAPTERS

HRIESIEYBSPTIEsL BSPT Thread Fittings

0 HEEEYBSPTEL BSPT THREAD ADAPTERS
——

L1T-SP

TESMRLL
BSPT MALE

o TR 7 A | T
L 1= ; % —
L1T-SP L1T9-SP L4T-SP L4TN L5T-SP L5T9-SP
GO02 GO03 G04 G04 GO05 GO06
) Slife
L7T L7T9 LGT LZT L5GT
GO06 GO07 GO07 GO08 GO08

ke #2457 THREAD R~ DIMENSIONS
PART NO. F B L
1T-02SP R1/8"X28 R1/8"X28 10 10 26 12
17-02-04SP R1/8"X28 R1/4"X19 10 145 | 305 14
17-02-06SP R1/8"X28 R3/8"X19 10 15 31 17
1T-04SP R1/4"X19 R1/4"X19 14.5 14.5 34 14
17-04-06SP R1/4"X19 R3/8"X19 14.5 15 35 17
17-04-08SP R1/4"X19 R1/2'X14 14.5 20 43 22
1T-06SP R3/8"X19 R3/8"X19 15 15 36 17
17-06-08SP R3/8"X19 R1/2'X14 15 20 43 22
1T-08SP R1/2'X14 R1/2'X14 20 20 46 22
17-08-12SP R1/2'X14 R3/4"X14 20 20 48 27
1T-128P R3/4"X14 R3/4"X14 20 20 48 30
17-12-16SP R3/4"X14 R1"X11 20 255 | 555 36
1T-16SP R1"X11 RA"X11 255 | 255 61 36
17-16-20SP R1"X11 R1.1/4"X11 255 | 265 | 645 46
17-20SP R1AM™11 | \REA/4X 11 265 | 265 | 655 46
17-20-24SP R11M4™X11 \| “RAA/2"X11 265 | 265 67 50
1T-24SP R1.4/2'X11 | R1.1/2"X11 265 | 265 67 50
17-24-32SP R1.1/2"X11 R2"X11 265 30 715 65
17-32SP R2"X11 R2"X11 30 30 75 65




@ =#ZELBSPTEL BSPT THREAD ADAPTERS @ =EEEmBSPTEL BSPT THREAD ADAPTERS
4 4

L1T9-SP L4T-SP

R E IMR G K
BSPT MALE PLUG

90° TEREEIMEY
90° ELBOW BSPT MALE

re #5r THREAD R+ DIMENSIONS #5r THREAD R DIMENSIONS
PART NO. E F s1 PART NO. F
179-025P R1/8"X28 R1/8"X28 21 21 11 4T-02SP R1/8"X28 10 16 12
179-02-04SP R1/8"X28 R1/4"X19 235 | 255 | (4 4T-04SP R1/4"X19 145 | 20 \/ A
179-04SP R1/4"X19 R1/4"X19 255 | 255 14 4T-06SP R3/8"X19 15 21 17
1T9-04-06SP R1/4"X19 R3/8"X19 265 285 | 16 47-08SP R1/2'X14 T ] ] % 0 fip] \=
179-04-08SP R1/4"X19 R1/2'X14 305 36 22 4T-125P R3/4"X14 20 29 30
179-06SP R3/8"X19 R3/8"X19 (| 25 j85 ] 16 4T-16SP =\ [/ [ /1~ A | T 255 | 365 36
179-06-08SP R3/8"X19 R1/2'X14 325 36 22 4T-208P RA.1/arx11 265 | 385 46
1T9-08SP R1/2"X14 R1/2"X14 AN ] P 36 22 4T-248P Rt || [ — 26.5 42 50
179-08-12SP R1/2"X14 R3/4"X14 395 | 435 27 4T-325P R2"X11 30 46 65
179-12SP R3/4"X14 ramxia | )\ | 435 | 435 27
179-12-16SP R3/4"X14 RA"X11 475 50 33
1T9-16SP RIXMAA Rkt | ] 50 50 33
179-16-20SP R R1.1/4"X11 565 | 575 41
1T9-20SP RTAMKXIY” | _R144"11 575 | 575 | 41 L
179-24SP R1A2KAT | R1.1/2'X11 625 | 625 a8
179-325P R2"X11 R2"X11 68 68 63 (7 W S|
7 L4TN
REE MR AN RAE L
BSPT MALE HOLLOW HEX PLUG
E
Ke #4r THREAD < DIMENSIONS
PART NO. E
4TN-02 R1/8"X28 8 5
4TN-04 R1/4"X19 L7 T\ A
4TN-06 R3/8"X19 12 8
4TN-08 \Riexe |/ /) A ) H 1= %" 0
4TN-12 R3/4™X14 18 12
4TN-16 LRIXAT 20 17




0 HEEEYBSPTEL BSPT THREAD ADAPTERS
C

0 HEERYBSPTHEL BSPT THREAD ADAPTERS
IS

L -E
A y
L5T-SP L5T9-SP
- K 90° LHYEZIMEL / HEBHIBL
! . £ FAE S MB L / FEZ N IELL TRESTIMEL / ZESHEY
X s1 90° ELBOW BSPT MALE / BSPT FEMALE
E/' — BSPT MALE / BSPT FEMALE

re #5; THREAD R<F DIMENSIONS
PART NO. E F B S1
5T9-02SP R1/8"X28 Rc1/8"X28 24.5 23 16
5T9-04SP R1/4"X19 Rc1/4"X19 27 22.4 19
5T9-06SP R3/8"X19 Rc3/8"X19 33.5 25 24
5T9-08SP R1/2"X14 Rc1/2"X14 40.5 31.2 30
5T9-12SP R3/4"X14 Rc3/4"X14 4572 34.5 33
5T9-16SP RA'X11 Rc1"X11 54.5 41.1 41
5T9-20SP R1.17/4"X11 Rc1.1/4"X44 61 50 48
5T9-24SP R1.42"X11 Rc1.1/2"X11 75 55 63
L
| LT
E/ \ [ B NEL
BSPT FEMALE

ke #2457 THREAD R~ DIMENSIONS

PART NO. 3 F L St
5T-02-04SP R1/8"X28 | Rc1/4"X19 11 325 19
5T-04-02SP R1/4"X19 | Rc1/8"X28 145 | 20.5 14

5T-04SP R1/4"X19 | Re1/4"X19 14.5 36 19
5T-04-06SP R1/4"X19 | Re3/8"X19 14.5 38 22
5T-06-02SP R3/8"X19 | Rc1/8"X28 15 23 19
5T-06-04SP R3/8"X19 | Rc1/4"X19 15 23 19

5T-06SP R3/8"X19 | Rc3/8"X19 15 38.5 22
5T-06-08SP R3/8"X19 | Re1/2"X14 15 44 27
5T-08-04SP R1/2'X14 | Re1/4"X19 20 30 24
5T-08-06SP R1/2'X14 | Re3/8"X19 20 30 24

5T-08SP R1/2'X14 | Rc1/2"X14 20 49 27
5T-08-12SP R1/2"X14\\| Rc3/4"X14 20 51 36
5T-12-04SP R3/4"X14 |\ Re1/4"X19 20 31 30
5T-12-06SP R3/4"X 14" | Rc3/8"X19 20 31 30
5T-12-08SP R3M"X14 | Re1/2"X14 20 31 30

5T-12SP R3/4"X14 | Rc3/4"X14 20 51 36
5T-12-16SP R3/4"X14 | Rc1"X11 20 56.5 41
5T-16-04SP R1"X11 Rc1/4"X19 25.5 37 36
5T-16-06SP R1"X11 Rc3/8"X19 25.5 37 36
5T-16-08SP R1"X11 Rc1/2"X14 25.5 37 36
5T-16-12SP R1"X11 Rc3/4"X14 25.5 37 36

5T-16SP R1"X11 Rc1"X11 255 60 41
5T-16-20SP R1"X11 | Rc1.1/4"X11 25.5 64 50
5T-20-04SP | R1.1/4"X11 | Rc1/4"X19 26.5 38 46
5T-20-08SP | R1.1/4"X11 | Rc1/2"X14 265 36 46
5T-20-12SP | R1.1/4"X11 | Rc3/4"X14 26.5 38 46
5T-20-16SP | R1.1/4"X11 |  Rc1"X11 26.5 38 46

5T-20SP R1.1/4"X11 | Re1(1/4"X11 26.5 | 64.5 50
5T-24-128P | R1.1/2"X11\| Rc3/4"X14 26.5 41 50
5T-24-16SP | RTA2°X11\)\  Re1"X11 26.5 41 50
5T-24-20SP | RUM2'XH, |\Rc1:474"X11 26.5 41 50
5T-32-16SP R2"X11 Re1"X11 30 45 65
5T-32-20SP R2'X11 | Re1.1/4"X11 30 45 65
5T-32-24SP R2"X11 | Re1.1/2"X11 30 45 65

ke #2247 THREAD R~ DIMENSIONS
PART NO. F
77-02 R1/8"X28 | R1/8"X28 20 14
77-02-04 R1/8"X28 | R1/4"X19 30 19
7T-04 R1/4"X19 | R1/4"X19 30 19
77-04-06 R1/4"X19 | R3/8"X19 30 22
77-04-08 R1/4"X19 | R1/2"X14 40 27
77-06 R3/8"X19 | R3/8"X19 30 22
77-06-08 R3/8"X19 | R1/2"X14 40 27
77-06-12 R3/8"X19 | R3/4"X14 37 36
77-08 R1/2"X14 | R1/2"X14 40 27
77-08-12 R1/2"X14 | R3/4"X14 42 36
7T-12 R3/4"X14 | R3/4"X14 42 36
7T-12-16 R3/4"X14 R1"X11 50 41
7T-16 RTIX11 R1"X11 50 41
77-16-20 R, [\ R1.4/4"X11 52 50
7T-20 R1.1/4"X 111 R1.1/4"X11 55 50
7T-24 R1.4/2"X11 | R1.1/2"X11 55 55
7T-32 R2"X11 R2"X11 65 70




@ =wZELBSPTEL BSPT THREAD ADAPTERS @ =EEEmBSPTEL BSPT THREAD ADAPTERS

S E——
F
[ f'l 7
A | o
L7T9-RW <L ; LZT
EA_ G
90° TREENIRY - a REFENEL M@
90° ELBOW BSPT FEMALE sy| || BSPT FEMALE CROSS
7
A C
e #40 THREAD R~ DIMENSIONS re #47 THREAD R DIMENSIONS
PART NO. E F B St PART NO. EF.GH St
7T9-02RW | Rc1/8"X28 | Rc1/8X28 20 20 16 Z1-02 Rc1/8"X28 20 16
7T9-02-04RW | Rc1/8"X28 | Rc1/4'X19 20 | 225/ So ZT-04 Rc1/4"X19 [ ees ) 1
7T9-04RW | Rc1/4"'X19 | Rc1/4"X19 225 225 | {19 zT-06 Rc3/8"X19 26 24
7T9-06RW | Rc3/8"X19 | Rc3/8"X19 )26 A6, | \oa ZT-08 rRetizxis | — = " L2 o
7T9-08RW | Rc1/2'X14 | Rc1/2'X14 31 31 27 zT-12 Ro3/4"X14 34 33
7T9-12RW | Rc3/4'X14 | Rc3/4'xt4 || = 34 33 Z1-16 repin\\ /| L 42 41
7T9-16RW Ro1"H1- | Re1'X11 42 42 41 ZT-20 Ro1.1/4"X11 48 50
7T9-20RW | Rotl.(4" 11 Ret.1/a"xa1 | 48 48 50
7T9-24RW | Rol.1/2'x11| Ret.1/27x11 53 53 60
7T9-32RW Re2'X11 | Rc2"X11 62 62 70
F
o T L5GT
e - LGT-RW HESNBROWE | R E HEL
A0 BSP MALE O-RING / BSPT FEMALE
E/) G HEEHBLZE
BSPT FEMALE TEE
A C

re 1247 THREAD OF.E O-RING R~} DIMENSIONS

PART NO. E F Euf S1

s A MAIREAD 77 DIIEREIONE 5GT-02 G1/8"X28 | Rc1/8"X28 0011 9.5 26 14
PART NO. E = c B C S1 5GT-04 G1/4"X19 | Rc1/4"X19 0111 A e 19
GT-02RW Rc1/8'X28 | Rol/8'X28 | Ro1/8'X28 20 20 20 16 5GT-06 G3/8"X19 | Rc3/8"X19 ona i3 e 22
GT-04RW Re1/4"X19 | Rcl/4’X19 | Rc1/4™X19 25 | 25/ 25 | 19 g cizxis | Reamxts | o5 || ) | 14 38 P
GT-06RW Rc3/8'X19 | Rc3/8'X19 | Rc3/8'X19 26 26 2 24 5GT-08 G125 \D\Re1/2"x 1 =i 14 46 o7
GT-08RW Ro12’xt4 | Rotzx1a | Retextd | I | [| /a1~ /31 |\ 3 2 5GT-12 G3/4'X14\ | Re3/4"X14/ | — 0119 155 | 495 36
GT-12RW Re34'X14 | Re3M4'X14 | Ro3/4X14 34 34 34 33 5GT-16 1T TP 0217 18 5o a1
GT-16RW Retxtt——Raxtt /| Rexti ), ] LT a2 | 42 | 2 | &
GT-20RW | Rol. 14T | | Re1AA4'X1 | Rot.1/4"X1H 48 48 48 50
GT-24RW | Rol1/21X11 |-Ret. 12Xt | ReT.1/2'X11 53 53 53 60
GT-32RW Re2'’X1t— | Re2Xi1 | Re2’X11 62 62 62 70

Go07




0 EHIEEBRMUNPTIESL NPT THREAD ADAPTERS
C

© =5IEEEMNPTIEL NPT THREAD ADAPTERS
4 4

L
A B
‘ /‘% L1N
ZHRSWHENPTIESL NPT Thread Fittings i 1
! T EHEE MY
_ ‘ [ NPT MALE
247 THREAD R~ DIMENSIONS
PART NO. F B L
1N-02 Z1/8"X27 Z1/8"X27 10.5 10.5 27 12
L1N L1N9 LAN L4N L4NN L5N - -
Ho2 Ho3 Ho3 HO4 Ho4 HO5 1N-02-04 Z1/8"X27 Z1/4"X18 10.5 15 31 17
1N-02-06 Z1/8"X27 Z3/8"X18 10.5 16 32 19
1N-04 Z1/4"X18 Z1/4"X18 15 15 35 17
1N-04-06 Z1/4"X18 Z3/8"X18 15 16 37 19
1N-04-08 Z1/4"X18 Z1/2"X14 15 19.5 415 22
1N-06 Z3/8"X18 Z3/8"X18 16 16 38 19
L5N4 L5N9 LJN LHN L7N L7N4 - -
HOG H06 HO7 HO7 HO8 Ho8 1N-06-08 Z3/8"X18 Z1/2"X14 16 19.5 435 22
1N-06-12 Z3/8"X18 Z3/4"X14 16 19.5 455 27
1N-08 Z1/2"X14 Z1/2"X14 19.5 195 47 22
1N-08-12 Z1/2"X14 Z3/4"X14 19.5 19.5 49 27
1N-08-16 Z1/2"X14 Z1"X11.5 195 25.5 56 36
1N-12 Z3/4"X14 Z3/4"X14 19.5 19.5 49 27
L7N9 LON-CAP LGN LZN L1NO L50N p .
Hoo Hoo H10 H10 11 N2 1N-12-16 Z3/4"X14 Z1"X11.5 19.5 25.5 55 36
1N-12-20 Z3/4"X14 Z1.1/4"X11.5 19.5 26.5 59 46
1N-16 Z1"X11.5 Z1"X11.5 25.5 255 61 36
1N-16-20 Z1"X11.5 Z1.1/4"X11.5 25.5 26.5 64 46
1N-16-24 Z1"X115 Z1.1/2"X11.5 25.5 27.5 68 50
1N-20 Z1 A5 ) 24.1/4"X11.5 26.5 26.5 65 46
L50ON9-0G L5NO L5GN L5HN L5LN L5TN 1N-20-24 Z114"X14.5.1Z1.1/2"X11.5 26.5 275 69 50
H13 H14 H15 H16 H16 H17
1N-24 Z1.1/2"X14:5 A Z1412"X11.5 275 275 69 50
1N-24-32 Z1.1/2"X11:5 Z2"X11.5 275 275 72 65
1N-32 Z2"X11.5 Z2"X11.5 27.5 27.5 71 65




© =HEBEENPTEL NPT THREAD ADAPTERS © =HIEESELNPTEL NPT THREAD ADAPTERS

IEEEESS——— EEEEE— _
| L
o A
E | -
. i L1N9 ? L4N
— l_"T_ j 90° TEFIHEE IMELL EFIFmEE IR L L
- )@ 90° ELBOW NPT MALE b NPT MALE PLUG
A St
ra #47 THREAD R~ DIMENSIONS e #24 THREAD R~ DIMENSIONS
PART NO. E F s1 PART NO. E L s1
1N9-02 Z1/8"X27 Z1/8"X27 21 21 11 4N-02 Z118"X27 10.5 16 12
1N9-02-04 Z1/8"x27 Z1/4"X18 235 | 255 7 4N-04 Z1/4"X18 15 20 17
1N9-04 Z1/4"X18 Z1/4"X18 255 | 255 14 4N-06 73/8"X18 16 21 19
1N9-04-06 Z1/4"X18 73/8"X18 28 31 19 4N-08 Z1/2'X14 1905 27 2
1N9-04-08 Z1/4"X18 Z1/2'X14 305 1 365 22 4N-12 73/4"X14 195 | /298 27
1N9-06 73/8"X18 73/8"X18 31 31 19 4N-16 Z1"X11.5 25 | 365 36
1N9-06-08 73/8"X18 Z1/2'X14 338+ 373 22 4N-20 Z1.147X11.5 265 | 385 46
1N9-08 Z1/2'X14 Z1/2'X14 573 | 373 22 4N-24 Z11/2°X11.5 275 43 50
1N9-08-12 711214 7314"X14 40 44 27 4N-32 72'X115 275 | 435 65
N9-12 Z314"X14 731414 44 44 27
1N9-12-16 Z3/4'X14 71X 5 465 50 33
1N9-16 Z4X115 Z11X1 5 50 50 33
1N9-20 Z1 A5 | 71.1/4"X11.5 54 54 1
1N9-24 ZIARXITE | Z1.4/2'X11.5 63 63 48
1N9-32 22'X11.5 72'X11.5 68 68 63
s1
Y LANN
EFIREE MR A NRAE L
o T | NPT MALE HOLLOW HEX PLUG
L |
|
LR _‘__[_ | RHHREIMRL=E re 247 THREAD R~ DIMENSIONS
NPT MALE TEE PART NO. E s
A C ANN-02 Z1/8"X27 8 5
4NN-04 Z1/4"X18 10 6
K #240 THREAD R~ DIMENSIONS INNO6 a8 o .
Eaalh ok 3 & & il 4NN-08 Z1/2"X14 15 10
AN-02 ZU8'X27 | z18'X2T | ZA/8"X27 21 21 21 1 ANNA2 EEERZYIY i 0
AN-04 ZU4'X18 | Z14"X18 | Z1/4"X18 255 | 255 | 255 |/ 14 ANNAG N 8 -
AN-06 Z38'X18 | Z3/8"X18 | Z3/8"X18 31 3 31 19
AN-08 ZU2'X14 | z12'X14 | Z1/2'X14 367 | 367 / 367 \| 22
AN-12 Z34'X14 | Z34"X14\| Z314"X14 44 44 44 27
AN-16 ZI"X1.5 || ZIR15 || ZX11 5 50 50 50 33
AN-20 Z1A/4"X11.5 | Z1 114" 11,5 Z1.1/4"X 1.8 545 | 545 | 545 | 41
AN-24 Z11/2'X11.5 | ZL 12X 115 | Z1.4/2'X 1.5 505 | 595 | 595 | 48




0 EHIEEBRMUNPTIESL NPT THREAD ADAPTERS
C

© =5IEEEMNPTIEL NPT THREAD ADAPTERS
4 4

: ﬂ‘liéé; L5N i\ e L5N4
o | ey

oS!
[«
I

NPT MALE /NPT FEMALE

NE EH RS IMNEL TG HEY L e

45° TBEHIHEEIMEL/ HEENIZYL

45° ELBOW NPT MALE /NPT FEMALE

re 1247 THREAD R~ DIMENSIONS re 124 THREAD R~ DIMENSIONS
PART NO. F L S1 PART NO. E F 2] S1

5N-02 Z1/8"X27 Z1/8"X27 10.5 25.5 17 5N4-02 Z1/8"X27 Z1/8"X27 19 17 16
5N-02-04 Z1/8"X27 Z1/4"X18 10.5 31 19 5N4-04 Z1/4"X18 Z1/4"X18 22 20 19
5N-02-06 Z1/8"X27 Z3/8"X18 1 31 24 5N4-06 Z3/8"X18 Z23/8"X18 27 19 24
5N-04-02 Z1/4"X18 Z1/8"X27 15 22 17 5N4-08 Z1/2"X14 Z1/2"X14 8497 28 30

5N-04 Z1/4"X18 Z1/4"X18 15 85.3 19 5N4-12 Z3/4"X14 Z3/4"X14 36.5 30 33
5N-04-06 Z1/4"X18 Z3/8"X18 15 36.6 24 5N4-16 Z1"X11:5 Z1"X11.6 42.5 37.5 41
5N-04-08 Z1/4"X18 Z1/2"X14 15 43 30 5N4-20 Z1.1/4"X11.5 | Z1.1/4"X115 44 30 48
5N-06-02 Z3/8"X18 Z1/8"X27 16 22 19 5N4-24 Z1.1/2"X11:57 21.1/2"X11.5 51 36 63
5N-06-04 Z3/8"X18 Z1/4"X18 16 22 19

5N-06 Z3/8"X18 Z3/8"X18 16 37.6 24
5N-06-08 Z3/8"X18 Z1/2"X14 16 43.7 30
5N-06-12 Z3/8"X18 Z3/4"X14 16 46 36
5N-08-04 Z1/2"X14 Z1/4"X18 19.5 28 22 F
5N-08-06 Z112"X14 Z3/8"X18 19.5 28.5 22

5N-08 Z172"X14 Z1/2"X14 19.5 47.5 30 E ’:‘ M L5N9
5N-08-12 Z4/2"X14 Z3/4"X14 19.5 49 36
5N-12-06 Z3/4"X14 Z3/8"X18 19.5 30.5 27 ! ] ) 00° T E BB IMELL /1S KB
5N-12-08 Z3/4"X14 Z1/2"X14 19.5 30.5 27 | X S 90° ELBOW NPT MALE /NPT EEMALE

5N-12 Z3/4"X14 Z3/4"X14 19.5 49 36 A
5N-12-16 Z3/4"X14 Z1"X11.5 19.5 55.5 41
5N-16-08 Z1"X11.5 Z1/2"X14 255 35.5 36
5N-16-12 Z1"X11.5 Z3/4"X14 255 36.5 36 g 1247 THREAD R~ DIMENSIONS

5N-16 Z1"X11.5 Z1"X11.5 255 60.7 41 PART NO. E F B S
5N-16-20 Z1"X11.5 Z1.1/4"X11.5 255 63.5 50 5N9-02 71/8"X27 71/8"X27 245 17.8 16
5N-20-12 Z1.1/4"X11.5 Z3/4"X14 265 38.5 46 5N9-04-02 Z1/4"X18 71/8"X27 26.5 16.8 16
5N-20-16 Z1.1/4"X11.5 Z1"X11.5 26.5 41 46 5N9-04 Z1/4"X18 Z1/4"X18 28 204 19

5N-20 Z1.1/4"X11.5 | Z1.1/4"X11.5 26.5 61.5 50 5N9-04-06 Z1/4"X18 73/8"X18 31 25 24
5N-20-24 Z1.1/4"X11.5 | Z1.1/2"X11.5 26.5 62.5 60 5N9-06-04 73/8"X18 Z1/4"X18 31 224 19
5N-24-16 Z1.1/2"X11.5 Z1"X11.5 27.5 41.5 50 5N9-06 73/8"X18 73/8"X18 33.5 25 24
5N-24-20 Z1.1/2"X11.5 | Z1.1/4"X11.5 27.5 41 50 5N9-08 Z1/2"X14 Z1/2"X14 412 31.2 30

5N-24 Z1.1/2"XA1:5 | Z21.1/2"X11:5 27.5 62.5 60 5N9-12-08 Z3/4"X14 Z1/2"X44 45 31.2 30
5N-24-32 Z1 /2" X11.5 Z2"X11:5 27.5 66.5 70 5N9-12 Z3/4"X14 Z3/4"X14 45.2 34.5 33
5N-32-20 Z2"X11.5 Z1.1/4"X11.5 27.5 44.5 65 5N9-16 ZA4XA15 Z1"X11.5 545 41.1 41
5N-32-24 Z2XI5 7 Z1.1/2"X11.5 275 45 65 5N9-20 Z11/4'X11.5 |\ 'Z1.1/4"X11:5 63 432 48

5N-32 Z2'X1.5 22°X11.5 275 62.5 70 5N9-24 Z1./2" X115 (-Z1.1/2"X11.5 715 52.8 63

5N9-32 Z2"X11:5 Z2"X11.5 73.5 62 65




© =HEBEENPTEL NPT THREAD ADAPTERS © =HIEESELNPTEL NPT THREAD ADAPTERS

4 . 4 4
L
7 %
LJN E F L7N
NiImE
EHAESTNEY / GHEEIMEGS T ZE R EHMER MR
NPT FEMALE /NPT MALE BRANCH TEE NPT FEMALE
§81

=] 1247 THREAD R~ DIMENSIONS re 124 THREAD R~ DIMENSIONS
PART NO. F B Cc St PART NO. F
JN-02 Z1/8"X27 Z1/8"X27 Z1/8"X27 17.8 24.5 17.8 16 7N-02 Z1/8"X27 Z1/8"X27 24 17
JN-04 Z1/4"X18 Z1/4"X18 Z1/4"X18 22.4 28 22 4 19 7N-02-04 Z1/8"X27 Z1/4"X18 27 19
JN-06 Z3/8"X18 Z3/8"X18 Z3/8"X18 25 33.5 25 24 7N-02-06 Z1/8"X27 Z3/8"X18 30 22
JN-08 Z1/2"X14 Z1/2"X14 Z1/2"X14 31.2 41.2 31.2 30 7N-04 Z1/4"X18 Z1/4"X18 29 19
JN-12 Z3/4"X14 Z3/4"X14 Z3/4"XN4 34.5 45.2 34.5 33 7N-04-06 Z1/4"X18 Z3/8"X18 31 22
JN-16 Z1"X11.5 Z1"X11.5 Z1"X11.5 41.1 54.5 41.1 41 7N-04-08 Z1/4"X18 Z1/2"X14 35 30
7N-06 Z3/8"X18 Z3/8"X18 29 22
7N-06-08 Z3/8"X18 Z1/2"X14 38 30
7N-06-12 Z3/8"X18 Z3/4"X14 40 36
7N-08 Z1/2"X14 Z1/2"X14 38 30
7N-08-12 Z1/2"X14 Z3/4'X14 43 36
7N-12 Z3/4"X14 Z3/4"X14 39 36
7N-12-16 Z3/4"X14 Z1"X11.5 45.5 41
7N-16 Z1'X11.5 Z1""X11'’5 48 41
LHN 7N-20 Z4. /4" X115 N \Z1.1/4"X11.5 49 50
7N-24 ZAM2"X1151 21.1/2"X11.5 49 60
ERHEENBRY / FHEMNEGEL=E 7N-32 79"%11.5 Z2"%X11.5 50 70
NPT FEMALE /NPT MALE RUN TEE
F
=] #2457 THREAD R~ DIMENSIONS %
PART NO. F B c S1 P L7N4-RW
HN-02 Z1/8"X27 Z1/8"X27 Z1/8"X27 20 20 24.5 16 :
HN-04 Z1/4"X18 Z1/4"X18 Z1/4"X18 25 25 285 19 E / 45° LEFHHEENBEY
HN-06 Z3/8"X18 Z3/8"X18 Z3/8"X18 27 27 33.5 24 45° ELBOW NPT FEMALE
HN-08 Z1/2"X14 Z1/2"X14 Z1/2"X14 35 35 42.5 30
HN-12 Z3/4"X14 Z3/4"X14 Z3/4"X14 37 37 45.2 33
HN-16 Z1"X11.5 Z1"X11.5 Z1"XA15 44 44 54.7 41 . #85 THREAD R+ DIMENSIONS
HN-20 Z1.1/4" X5 Z1A4/4"X11.5 | Z1.1/4"X11.5 48 48 58.5 48 PART NO. E . 3 S1
7N4-02RW Z1/8"X27 Z1/8"X27 18.5 18.5 16
7N4-04RW Z1/4"X18 Z1/4"X18 20 20 19
7N4-06RW Z3/8"X18 Z3/8"X18 25 25 24
7N4-08RW Z1/2'X14 Z1/2"X14 27.5 27.5 27
7N4-12RW Z3/4"X14 Z3/4"X14 315 315 33
7N4-16RW Z1"X115 Z1"X11.5 375 375 41

HO7




© =HEBEENPTEL NPT THREAD ADAPTERS © =HIEESELNPTEL NPT THREAD ADAPTERS

I I
F F
|
% S1 \
- - > =@ LGN-RW
L7N9-RW ‘
- | EAT | G EHHEENBL=E
y 4 90° LEFIMHEE NIEL NPT FEMALE TEE
T )<§ 90° ELBOW NPT FEMALE A C
; ®e 247 THREAD R~ DIMENSIONS
re #2471 THREAD R~ DIMENSIONS PART NO. Erye 5 c
PART NO. E 5 S GN-02RW Z1/8"X27 20 20 20 16
7N9-02RW Z1/8"X27 Z1/8"X27 20 20 16 GN.0IRW v 5 o5 o5 1
7N9-04RW Z1/4"X18 Z1/4"X18 225 225 19 GN-0BRW 738718 % o6 26 24
7N9-04-06RW Z1/4::X18 Z3/8::X18 25 26 24 GN0BRW — i1 31 31 27
7N9-06RW zs/aux18 zs/aux18 26 26 24 GNA2RW S ” " 2 23
7N9-08RW Z1/2"X14 Z1/2"X14 31 31 27 ON-16RW 1115 e 42 e 21
7N9-12RW Z3/4"X14 Z3/4"X14 34 34 33 GN.20RW TN 28 28 28 o
7N9-16RW Z1"X11.5 Z1"X11.5 42 42 41 ON.24RW 11 = = = 50
7N9-20RW Z1AM4X115 |\ Z1004"X1 5 48 48 50 GN32RW p—— 62 62 62 70
7N9-24RW Z14/2X1.5 | =24 A2"X 115 53 53 60
7N9-32RW 72'X115 72'X11.5 62 62 70
9 =
g
L ,_J:.:-'_ | L
LON-CAP LZN
EHEE NIRLUE L ETIEE N E L E

NPT FEMALE PLUG NPT FEMALE CROSS

g #2457 THREAD R~ DIMENSIONS
= re #8540 THREAD R~ DIMENSIONS

PART NO. 8 PART NO EF.GH St
9N-02CAP Z18x27 175 17

ZN-04 Z1/4"x18 225 19
ON-04CAP Z14x18 2 19

ZN-06 Z3/8"x18 2 24
ON-06CAP z38'x18 24 24

ZN-08 21/2'x14 31 27
ON-08CAP Z12x14 2 50

ZN-12 231414 34 33
ON-12CAP Z3ux14 28 36

ZN-16 Z1X11.5 42 41
ON-16CAP 215 34 46

ZN-20 ZAATXA S 48 50
ON20CAP || ZIAX1 5 37 55
ON2ACAP | \ZARX115 37 65
ON-32CAP 215 405 75




© =5IEEEMNPTIEL NPT THREAD ADAPTERS
4

S1

L1NO

EFMEEINEL ) EHSAEIMELTTOR B R R
ISO 11926-3

NPT MALE / SAE O-RING BOSS L-SERIES
ISO 11926-3

0 EHHERMUNPTEL NPT THREAD ADAPTERS

I .
L
A
i e
%
S1

L50N

EHISAESMELFHORBR AT
I1ISO 11926-3 / E£HI fHH#HEE RNIZL
SAE O-RING BOSS L-SERIES

ISO 11926-3 /NPT FEMALE

e #2547 THREAD OfE O-RING R~ DIMENSIONS
PART NO. 3 F Fif B L
1NO-04 Z1/4"X18 | 7/16"X20 0904 15 9.14 30 14
1NO-04-06 Z1/4"X18 | 9/16"X18 0906 15 9.93 31 17
1NO-06-04 Z3/8"X18 | 7/16"X20 0904 16 9.14 1 '83.5 19
1NO-06 Z3/8"X18 | 9/16"X18 0906 16 9.93 32 19
1NO-06-08 Z3/8"X18 3/4"X16 0908 16 11.43 /| /35.5 22
1NO-08 Z1/2"X14 3/4"X16 0908 195 || 1118+ 38.5 22
1NO-08-10 Z1/2"X14 7/8"X14 0910 19571127 42 27
1NO-08-12 Z1/2"X14 | 1.1/16"X12 0912 195 | 151 | 455 32
1NO-12-10 Z3/4"X14 7/8"X14 0910 195 | 127 43 30
1NO-12 Z3/4"X14 | A71/16"X12 0912 195 | 151 | 455 32
1NO-16 Z1"X41:5\ | \1.5/16"X12 0916 255 | 151 | 515 38
1NO-20-16 | Z1.1/4"X11\5 | 1.5/6"X12 0916 265 | 151 | 545 46
1NO-20 Z1.1/4"XAW 5| 1.5/8"X12 0920 265 | 151 | 565 50
1NO-24 Z1.1/2"X115 | 1.7/8"X12 0924 275 | 151 | 575 55

e #2451 THREAD OB O-RING R~ DIMENSIONS
PART NO. 3 F Eif L s
50N-02 5/16"X24 | Z1/8"X27 0902 754 | 245 17
50N-02-04 5/16"X24 Z1/4"X18 0902 7.54 29 19
50N-03-02 3/8"X24 z1/8"X27 0903 7.54 11245 17
50N-03-04 3/8"X24 Z1/4"XI8 0903 7.54 29 19
50N-04-02 7/16"X20 | Z1/8"X27 0904 9.14 | /24/5 17
50N-04 7/16"X20 Z1/4"X18 0904 9.14 29 19
50N-04-06 7/16"X20 Z3/8"X18 0904 914 | 305 22
50N-05-02 1/2"X20 Z1/8"X27 0905 9.14 26 17
50N-06-04 9/16"X18 z1/4"X18 0906 9.93 | 315 19
50N-08-04 3/4"X16 Z1/4"X18 0908 1.13 | 325 22
50N-08-06 3/4"X16 Z3/8"XI8 0908 11.13 34 22
50N-08 314°X 16 Z172"X14 0908 1.13 | 40 30
50N-08-12 314"X 16 Z3/4"X14 0908 1.13 | 40 36
50N-10-08 7/8"X14 Z1/2"X14 0910 12.7 | 415 30
50N-10-06 7/8"X14 Z3/8"X18 0910 12.7 | 35.5 27
50N-10-12 7/8"X14 Z3/4"X14 0910 12.7 41 36
50N-12-08 1.1/16"X12 | Z1/2"X14 0912 151 42 32
50N-12 1.1/16"X12 |  Z3/4"XI4 0912 15.1_+ /45 36
50N-12-16 1.1/16"X12 | Z1"X11.5 0912 15.11)/50.5 41
50N-16-12 1.5/16"X12 |  Z3/4"XI4 0916 1571 43 38
50N-16 1.5/16"X12 | Z1"X11.5 0916 151 | 515 41
50N-20-16 1.5/8"X12 | Z1"X11.5 0920 15.1 40 50
50N-20 1.5/8"X42\ | Z1.1/4"X11.5 | | -Q920 151 | 53.5 50
50N-24-16 r78:X12\ | z1"x11:5 0924 15.1 34 55
50N-24-20 1708'X12 | Z1.14"X11.5| 0924 15.1 48 55
50N-24 1.7/8"X42 | Z1.1/2"X11.5 | 0924 15.1 50 60
50N-32 2.1/2"X12 2"X11.5 0932 15.1 50 70




© =HEBEENPTEL NPT THREAD ADAPTERS © =HIEESELNPTEL NPT THREAD ADAPTERS

I I
L
P A
s2 - L50N9-0G E L5NO
) I _
o s 7 s
A, 7 Z 90° %?%%USAEﬁféi%gzgzﬂ o " IS SMBL / £ HISAER LSO 119261
: ISO 11926-3 / 2 I % £ o |
¥ M L 90° ELBOW SAE O-RING BOESSL-SERlEs —eo— NPT MALE / SAE FEMALE 1SO 11926-1
) ! )( ISO 11926-3/NPT FEMALE '
id st
A §s1

= 1247 THREAD O O-RING R~ DIMENSIONS re 1247 THREAD R~ DIMENSIONS
PART NO. E F Exf B S1 PART NO. F L S1
50N9-040G 7/16"X20 Z1/4"X18 0904 31.5 22.4 16 17 5NO-02-04 Z1/8"X27 7/16"X20 10.5 29.5 17
50N9-05-040G 1/2"X20 Z1/4"X18 0905 31.5 22.4 16 17 5NO-02-05 Z1/8"X27 1/2"X20 10.5 30.5 17
50N9-060G 9/16"X18 Z3/8"X18 0906 36.5 26.5 22 19 5NO-04 Z1/4"X18 7/16"X20 15 34 17
50N9-06-040G 9/16"X18 Z1/4"X18 0906 33.3 224 16 17 5N0O-04-06 Z1/4"X18 9/16"X18 15 36 19
50N9-06-080G 9/16"X18 Z1/2"X14 0906 40 31.2 27 19 5N0O-04-08 Z1/4"X18 3/4"X16 15 41 27
50N9-080G 3/4"X16 Z1/2"X14 0908 43 842 27 24 5N0O-06-04 Z3/8"X18 7/16"X20 16 22 19
50N9-08-060G 3/4"X16 Z3/8"X18 0908 40 26.5 22 24 5NO-06 Z3/8"X18 9/16"X18 16 34.5 19
50N9-08-120G 3/4”X16 Z3/4"X14 0908 46.5 34.5 33 24 5NO-06-08 Z3/8"X18 3/4"X16 16 40 24
50N9-10-080G 7/8"X14 Z1/2"X14 0910 48 31.2 27 27 5NO-08-06 Z1/2"X14 9/16"X18 19.5 27.5 24
50N9-120G 1.1/16"X12 Z3/4"X14 0912 55 34.5 33 32 5NO-08 Z1/2"X14 3/4"X16 19.5 41.5 27
50N9-12-160G | 1.1/16*X12 Z1"X11.56 0912 59.5 41.1 41 32 5N0O-08-10 Z112"X14 7/8"X14 19.5 46.5 30
50N9-160G 1.5/16"X12 Z1'X11.5 0916 595 41.1 41 41 5N0O-12-08 Z3/4"X14 3/4"X16 19.5 29.5 30
50N9-16-120G | 1.5/16"X12 Z3/4"X14 0916 56 34.5 33 41 5NO-12-10 Z23/4"X14 7/8"X14 19.5 42.5 30
50N9-200G 1.5/8"X12| Z1.1/4"X11.5 0920 65 43.2 48 50 5NO-12 Z3/4"X14 1.1/16"X12 19.5 47 36
i¥: E51S0O 11926-13M O4HE, Note: E end is connected with ISO 11926-1 port. 5NO-16-12 Z1"X11.5 1.1/16"X12 25.5 36.5 36
5NO-16 Z1"X11.5 1.5/16"X12 25.5 53 41
5NO-20 Z1.1/4"X11.5 1.5/8"X12 26.5 55.5 50




© =HEBEENPTEL NPT THREAD ADAPTERS © =HIEESELNPTEL NPT THREAD ADAPTERS
4 4 4 .

L5GN S L5HN
REMEYORE / EFMEBT NEL { 81 NHISMEGERTIISO 6149-3/ EFIMEE NEL
BSP MALE O-RING /NPT FEMALE METRIC MALE L-SERIES ISO 6149-3 /NPT FEMALE

re #2457 THREAD OB O-RING R~} DIMENSIONS e #2457 THREAD O O-RING R~} DIMENSIONS
PART NO. 3 F Eif L St PART NO. E F Fi L St
5GN-02 G1/8"X28 | Z1/8"X27 0011 9.5 245 17 5HN-10-02 M10X1 Z1/8"X27 | 008.1X1.6 8.5 24 14
5GN-02-04 G1/8"X28 | Z1/4"X18 0011 9.5 29.5 19 5HN-12-02 M12X1.5 | Z1/8"X27 | 009.3X2.4 11 26 17
5GN-04-02 G1/4"X19 | Z1/8"X27 0111 11 26 19 5HN-12-04 M12X1.5 | Z1/4"X18 | 009.3X2.4 11 315 19
5GN-04 G1/4"X19 | Z1/4"X18 0111 11 31 19 5HN-14-04 M14X1.5 | Z1/4'X18 | O11.3X2.4 11 81.5 19
5GN-04-06 G1/4"X19 | Z3/8"X18 0111 11 38 22 5HN-16-06 M16X1.5 | Z3/8"X18 | 013.3X2.4 12.5 |/ 345 22
5GN-06-04 G3/8"X19 | Z1/4"X18 o113 115 30 22 5HN-16-08 M16X1.5 | Z1/2'X14 | 013.3X2.4 12.5 40 30
5GN-06 G3/8"X19 | Z3/8"X18 0113 11.5 35 22 5HN-18-06 M18X1.5 | Z3/8"X18 | O15.3X2.4 125 | 36.5 24
5GN-08-04 G1/2'X14 | Z1/4"X18 o115 14 27 27 5HN-18-08 M18X1.5 | Z1/2'X14[ | 015.3X2.4 125 | 415 30
5GN-08-06 G1/2'X14 | Z3/8"X18 o5 14 34 27 5HN-22-08 M22X1.5 | Zz1/2'X14| | [019.3X2.4 13 425 30
5GN-08 G1/2"X14-1\ Z1/2'X14 o115 14 43 30 5HN-27-12 M27X2 Z3/4"X14| | 0235X3.0 185 | 47.5 36
5GN-12 G3/4"X14\ | \ \Z3/41X14 0119 15.5 | 44.5 36 5HN-33-16 M33X2 Z1"X11.5 | 029.5X3.0 18.5 | 53.5 41
5GN-16 G1"X11 Z1"X115 0217 18 54.5 41 5HN-42-20 M42X2° | Z1.1/4"X11.5 | 038.5X3.0 16 52 50
5GN-20 G1.AMX11Z1.1/4"X11.5 | 0222 20 55.5 50 5HN-48-24 M48X2~ | Z1.1/2"X11.5 | 044.5X3.0 17.5 53 60
5GN-24 G1.1/2"X11 | Z1.1/2"X11.5 | 0224 215 57 60

L5LN

AHEISMNELBERE/ EHHEENBELYL
METRIC MALE WITH BONDED SEAL /NPT FEMALE

e #2457 THREAD B SEAL R~} DIMENSIONS
PART NO. E F Eif L St
5LN-10-02 M10X1 z1/8"X27 ZHD-10 8 23 17
5LN-12-02 M12X1.5 | Z1/8"X27 ZHD-12 12 34.8 19
5LN-14-04 M14X1.5 | Z1/4"X18 ZHD-14 12 34.8 19
5LN-16-06 M16X1.5 | Z3/8"X18 ZHD-16 12 35 22
5LN-18-06 M18X1.5 | Z3/8"X18 ZHD-18 12 35 24
5LN-22-06 M22X1.5 | Z3/8"X18 ZHD-22 14 28 27
5LN-22-08 M22X15| | Z1/2'X14 ZHD22 14 39 30
5LN-27-08 M27X2 Z1/2/ X 14 ZHD-27 16 40 34
5LN-27-12 M27X2 Z3/4"X14 ZHD-27 16 41 36
5LN-33-16 M33X2 Z1"X11.5 ZHD-33 18 54.5 41




0 EHHEEEUNPTESL NPT THREAD ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

4 4 .4 4
L:
L5TN-SP
N o
e . EFNENT74° MmOk JIC 74° cone Flared Tube Adapters
EETIMEL  EHIHES NEL
BSPT MALE /NPT FEMALE
e #2250 THREAD R~ DIMENSIONS
PART NO. E F L S1
5TN-02SP R1/8"X28 Z1/8"X27 1 25 17 L1J L1J4 L1J9 LAJ LXJ LoJ
5TN-04-02SP R1/4"x19 Z1/8"X27 14.5 21.5 17 Jo3 J0o4 JO5 J0O6 J0o6 Jo7
5TN-04SP R1/4"X19 Z1/4"X18 145 34.5 19
5TN-06-04SP R3/8"X19 Z1/4"X18 15 23 19
5TN-06SP R3/8"X19 Z3/8"X18 15 36.5 24
5TN-08-06SP R1/2"X14 Z3/8"X18 20 28.5 24
5TN-08SP R112"X14 Z1/2"X14 20 47 30 L2J4 L2J9 L5J-S LBJ LCJ LEJ
5TN-12-08SP R3/4"X14 Z1/2"X14 20 30.5 32 J0o8 Jo9 J10 J11 J12 J12
5TN-12SP R3/4"X 14 Z314"X14 20 49 36
5TN-16-12SP R1"X11 Z3/4"X14 25.5 36.5 36
5TN-16SP R1"X11 Z1"X11.5 25.5 60 41
LDJ L2WJ L3J L4J L9J L9J-CAP
J13 J13 J14 J14 J15 J15
L6J L6J4 L6J9 LAJ6JJ LAJJGJ L8J
J16 J17 J18 J19 J20 J20
L1JN L1JN4 L1JN9 L1JN9-L L1JN9-LL LAJJN
J21 J22 J23 J24 J25 J26
LAJNJ L2NJ L5JN L5JN9 LKJNJ LLJJN
J27 J28 J29 J30 J31 J32
L6NJ L7NJ-S L1JT-SP L1JT4-SP L1JT9-SP L2TJ-SP
J33 J33 J34 J35 J36 J37

H17 Jo1




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS

EFENT7 4 @@y O JIC74°

cone Flared Tube Fittings

L5JT L1JO L1JO-L L1J04-0G L1JO9-0G L1JO9-0OGL
J37 J38. J39 J39 J40 Ja1 Ja2
LAJJO-0G LAJOJ-0G L20J L1JH L1JH4-0G L1JH9-0G
Ja3 Jaa Jaa Jas J46 Jaz
LAJJH-0G L1JG L1JG4-0G L1JG9-0G LAJGJ-0G LAJJG-0G
Jas J49 J50 J51 J52 J53
L2GJ L1JB-WD L5JB L1JF L1JL L1JM
J54 J55 J56 J57 J58 J59
L1JM-WD LNB200 LNB300 LNB500
J60 J61 J62 J62

J02

0 EHIENT74° Y- OEL JIC74° CONE FLARED TUBE ADAPTERS
C

W%) .
74"% 74" DE

SRS \
' ?I
)

N 7

L1J

EHIJICHNERELT 4 S
JIC MALE 74° CONE

S1
rR= 1247 THREAD R~ DIMENSIONS
PART NO. F B L
1J-02 5/16"X24 5/16"X24 11.4 1.4 29 12
1J-02-03 5/16"X24 3/8"X24 11.4 12.2 295 12
1J-03 3/8"X24 3/8"X24 12.2 12.2 30.5 12
1J-04 7/16"X20 7/16"X20 14 14 34 12
1J-04-05 7/16"X20 1/2"X20 14 14 34 14
1J-04-06 7/16"X20 9/16"X18 14 141 341 17
1J-04-08 7/16"X20 3/4"X16 14 167 38.5 22
1J-05 1/2"X20 1/2"X20 14 14 34 14
1J-05-06 1/2"X20 9/16"X18 14 14.1 341 17
1J-05-08 1/2"X20 3/4"X16 14 16.7 38.5 22
1J-05-10 1/2"X20 7/8"X14 14 19.3 41 24
1J-06 9/16"X18 9/16"X18 14.1 141 34.2 17
1J-06-08 9/16"X18 3/4"X16 14.1 16.7 38.5 22
1J-06-10 9/16"X18 7/8"X14 14.1 19.3 41.5 24
1J-06-12 9/16"X18 1.1/16"X12 14.1 21.9 46 30
1J-08 3/4"X16 3/4"X16 16.7 16.7 42 22
1J-08-10 3/4"X16 7/8"X14 16.7 19.3 44 24
1J-08-12 3/4"X16 11/16"X12 16.7 21.9 48.5 30
1J-08-16 3/4"X16 1.5/16"X12 16.7 23.1 51 36
1J-10 7/8"X14 7/8"X14 19.3 19.3 46.5 24
1J-10-12 7/8"X14 1.1/16"X12 19.3 21.9 51 30
1J-10-16 7/8"X14 1.5/16"X12 19.3 231 5315 36
1J-12 1.1/16"X12 1.1/16"X12 21.9 21.9 54 30
1J-12-14 1.1/16"X12 1.3/16"X12 21.9 22.6 5515 32
1J-12-16 1.1/16"X12 1.5/16"X12 21.9 231 56 36
1J-14 1.3/16"X12 1.3/16"X12 22.6 22.6 56 32
1J-14-16 1.3/16"X12 1.5/16"X12 226 23.1 56.5 36
1J-16 1.5/16"X12 1.5/16"X12 23.1 23.1 57 36
1J-16-20 1.5/16"X12 1.5/8"X12 23.1 243 60.5 46
1J-16-24 1.5/16"X12 1.7/8"X12 23.1 27.5 65.5 50
1J-20 1.5/8"X12 1.5/8"X12 24.3 24.3 62 46
1J-20-24 1.5/8"X12 1.7/8"X12 24.3 27.5 67 50
1J-20-32 1.5/8"X12 2:112"X12 243 33.9 75 65
1J-24 1.7/8"X12 1:7/8"X12 275 27.5 70 50
1J-24-32 1.7/8"X12 2.12"X12 27.5 33.9 78.5 65
1J-32 2.1/2"X12 2.1/2"X12 33.9 3319 85 65
I BEBRHEERTIIR. EFERDARHN, RABERFESFEANB200, NB500, EFEHZAXHN, KRABERFELS LR
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

JO3




0 EFIENT74° EEY-OEL JIC74° CONE FLARED TUBE ADAPTERS
——

74"(>m ]

L1J4

45° LEHJICHNEL T4 Shif
45° ELBOW JIC MALE 74° CONE

R~F DIMENSIONS

Q© =HiEg74°

#mEy Ok JIC74° CONE FLARED TUBE ADAPTERS

4 .
74° 1
i F \
BEEENUT
— = #1 45 SLEEVE

e

L1J9

90° TEHIJICIMEL74° ShE
90° ELBOW JIC MALE 74° CONE

PART NO. S1
1J4-04 7/16"X20 7/16"X20 21.5 21.5 11
1J4-05 1/2"X20 1/2"X20 28 23 14
1J4-06 9/16"X18 9/16"X18 22.8 22.8 14
1J4-08 3/4"X16 3/4"X16 26.8 268 19
1J4-10 7/8"X 14 7/8"X14 31 31 22
1J4-12 1.1716%X12 1.1/16"X12 35.5 35.5 27
1J4-16 1.5/16"X12 1.5/16"X12 38.5 38.5 33

T BERVEESTIISR, EFEZDARHE, BEAEBERMTESFEANB200, NB500, EFHEZAXFN, RABERHESHER
Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

NB200, NB300,

nut NB200 and sleeve NB300 is suitable inch tube.

J04

e #2457 THREAD R~ DIMENSIONS
PART NO. F B s
1J9-02 5/116"X24 5/116"X24 205 | 205 7
1J9-03 3/8"X24 3/8"X24 22 22 11
1J9-04 7/16"X20 7116"X20 245 | 245 11
1J9-05 1/2'X20 1/2'X20 266 || 266 14
1J9-05-06 1/2'X20 9/116"X18 266 | |1 269 14
1J9-06 9/16"X18 9/116"X18 269 | 269 14
1J9-06-08 9/116"X18 3/4"X16 30 32 19
1J9-06-10 9/116"X18 7/8"X14 32 37.8 22
1J9-08 3/4"X16 3/4"X16 32 32 19
1J9-08-10 3/4"X16 7/8"X14 348 | 378 22
1J9-10 7/8"X14 7/8"X14 378 | 378 22
1J9-10-12 7/8"X14 14716"X12 41 44.2 27
1J9-12 1.116"X12 | 1.1/16"X12 442 | 442 27
1J9-14 1,31161X12\ | 1.3/16"X12 475 | 415 30
1J9-16 1:5(16"X12 \ |\ 1.5/16"X12 49 49 33
1J9-20 1.5/8"X12 1.5/8"X12 555 | 555 41
1J9-24 \T718°X12 1.7/8"X12 625 | 625 48
1J9-32 2.472"X12 2.1/2"X12 78 78 63

I BEBRHEERTITR. EFERDARHN, RABERFESFEANB200, NB500, EFEHZAXHN, KRABERFES LR
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

nut NB200 and sleeve

NB300 is suitable inch tube.

J05




0 EFNENT74° #mEmy Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHIENT74° Y- OEL JIC74° CONE FLARED TUBE ADAPTERS
S I

74°

FESLEEVE WA BENUT

B
LAJ A - L2J

EFJICHNEG 74 ShE=1E
JIC MALE 74° CONE TEE

EHJICHNELT4° S/ JICHIRL74° W
JIC MALE 74° CONE/JIC FEMALE 74° SEAT

P —Ir\__—w T4

748

= 247 THREAD R~ DIMENSIONS re 124 THREAD R~ DIMENSIONS
PART NO. F B C S1 PART NO. E F L

AJ-04 7/16"X20 7/16"X20 7/16"X20 245 245 245 11 2J-04 7/16"X20 7/16"X20 14 9.5 28 12 17
AJ-04-06-04 7/16"X20 9/16"X18 7/16"X20 26.6 26.6 26.6 14 2J-04-05 7/16"X20 1/2"X20 14 9 285 12 19
AJ-05 1/2"X20 1/2"X20 1/2"X20 26 26 26 14 2J-04-06 7/16"X20 9/16"X18 14 9.5 28.5 14 19
AJ-06-04-06 9/16"X18 7/16"X20 9/16"X18 26.9 26.9 269 14 2J-04-08 7/16"X20 3/4"X16 14 10.8 30.5 19 24
AJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 26.9 269 14 2J-05 1/2"X20 1/2"X20 14 9 29 14 19
AJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 32 19 2J-05-06 1/2"X20 9/16"X18 14 9.5 295 14 19
AJ-08-06-08 3/4"X16 9/16"X18 3/4"X16 32 30 32 19 2J-05-08 1/2"X20 3/4"X16 14 10.8 30.5 19 24
AJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 37.8 37.8 22 2J-06 9/16"X18 9/16"X18 14.1 o165 29 17 19
AJ-12 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 44.2 44.2 442 27 2J-06-08 9/6"X18 3/4"X16 14.1 10.8 31 19 24
AJ-16 1.5/16"°X12 | 1.5/16"X12 | [1.5/16"X12 49 49 49 33 2J-06-10 9/16"X18 718'X14 141 12 33.5 22 27
AJ-16-12-16 1.5M6"X12 | 1.1/16"X12]1.5/16"X12 49 49 49 33 2J-08 3/4"X16 3/4"X16 16.7 10.8 36 22 24
AJ-20 1.5/8"X12\ | 1.5/8"X12 | 1.5/8"X12 56.5 56.5 56.5 41 2J-08-06 3/4"X16 9/16"X18 16.7 9.5 34 22 19
AJ-24 1.7/8"X12- 1.7/8"X12 | 1.7/8"X12 63 63 63 48 2J-08-10 3/4"X16 718"X14 16.7 12 36.5 22 27
AJ-32 21/2"X11 | 2.4/2"X11 | 2.1/2"X11 78 78 78 63 2J-08-12 3/4"X16 1.1/16"X12 16.7 13 395 27 32
: BERHERSTIIN, STHEDAAHN, RASSRTESSHEANB200, NB500, EFHENKHE, BAESRHES LA 2J-10 7/8"X14 7/8"X14 19.3 12 39 24 2
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the 2J-10-08 7/8"X14 3/4"X16 19.3 10.8 38 24 24
nut NB200 and sleeve NB300 is suitable inch tube. 2J-10-12 7/8"X14 1.1/16"X12 193 13 42 27 32
2J-12 1.1/16"X12 1.1/16"X12 219 13 445 30 32
2J-12-10 1.1/16"X12 7/8"X14 21.9 12 43.5 30 27
2J-12-16 1.1/16"X12 1.5/16"X12 21.9 14 45.5 36 41
2J-16 1.5/16"X12 1.5/16"X12 231 14 46.5 36 41
LXJ 2J-16-20 1.5/16"X12 1.5/8"X12 23.1 15 50 41 50
2J-20 1.5/8"X12 1:5/8"X12 243 15 52 46 50
ZEEIJICHNBBIT74° SMETUSE 2J-20-24 1.5/8"X12 1.7/8"X12 243 19 52 46 55
JIC MALE 74° CONE CROSS 2J-24 1.7/18"X12 1.7/8"X12 275 19 57 50 55
2J-24-32 1.7/8"X12 21412"X12 275 23.5 59.6 65 75
2J-32 2.1/2"X12 2.1/2"X12 33.9 23.5 66 65 75
®e G THREAD o DIRENEI00E H: BBRHERSMII%. STERDAAHM, EABSRTENS%EANB200, NB500, EFHENKHA, BARERHES %A
PART NO. E,F,G,H NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

nut NB200 and sleeve NB300 is suitable inch tube.

XJ-04 7/16"X20 245 1

XJ-05 1/2"x20 26.5 14

XJ-06 9/16"X18 269 14

XJ-08 374'X16 32 19

XJ-10 7/8"X14 37.8 22

XJ-12 1.116"X12 44.2 27

XJ-16 1.5/16"X12 49 33
T BEBRWERSTITR. EFERDALGHN, RABERFESFEANB200, NB500, BEFEHEZAXRGN, RAZERGESAER
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J06 J0o7




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

4 4
74°
4
' L2J4 L2J9
III-
; € ‘ . .
74 s _ - b o =R ) ) \\\\\&777 o =R o o
Mﬂﬂ — s2 45° BRHICINRE74? SME/JICHIRELT4° Py L5 90° TWEHJICHMESTAS SME/ JICRIBET4 Pk
A \S1 45° ELBOW JIC MALE 74° CONE /JIC FEMALE 74° SEAT 90° ELBOW JIC MALE 74° CONE/JIC FEMALE 74° SEAT

RS

#2471 THREAD

R~F DIMENSIONS

PART NO. E F S1
2J4-04 7/16"X20 7/16"X20 21.5 9.5 11 107 re 124 THREAD R~ DIMENSIONS
2J4-05 1/2"X20 1/2"X20 22 9 14 19 PART NO. E F S1
2J4-06 9/16"X18 9/16"X18 22.8 9.5 14 19 2J9-02 5/16"X24 5/16"X24 21 5.6 1 12
2J4-08 3/4"X16 3/4"X16 26.8 10.8 19 24 2J9-03 3/8"X24 3/8"X24 22 5 1 14
2J4-10 7/8"X14 7/8"X14 31 12 22 27 2J9-04 7/16"X20 7/16"X20 245 9.5 1 17
2J4-12 1.1/16"X12 1.1/16"X12 355 13 27 32 2J9-05 1/2"X20 1/2"X20 26.5 9 14 19
2J4-14 1.3/16"X12 1.3/16"X12 37 15 30 36 2J9-06 9/16"X18 9/16"X18 26.9 9.5 14 19
2J4-16 1.5/16"X12 1.5/16"X12 38.5 14 33 41 2J9-06-08 9/16"X18 3/4"X16 28.5 10.8 16 24
2J4-20 1.5/8"X12 1.5/8"X12 43 15 41 50 2J9-08-06 3/4"X16 9/16"X18 32 9.5 19 19
2J4-24 1.7/8" X142 1.718"X12 49 19 48 55 2J9-08 3/4"X16 3/4"X16 32 10.8 19 24
2J4-32 2\17/2"X12 2.1/2"X12 56 23.5 63 75 2J9-08-10 3/4"X16 7/8"X14 32 12 19 27
i BERAEBSTITH. SFEEDAAHE, RAESRESHEANB200, NB500, EFHAAXAMN, RABSRAESFLR Al 5249 e £ 12 22 7
NB200., NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the 2J9-10-08 7/8"X14 3/4"X16 37.8 10.8 22 24
nut NB200 and sleeve NB300 is suitable inch tube. 2J9-10-12 7/8"X14 1.1/16"X12 30.5 13 2 32
2J9-12 1.1/16"X12 1.1/16"X12 44.2 13 27 32
2J9-12-10 1.1/16"X12 7/8"X14 44.2 12 27 27
2J9-12-16 1.1/16"X12 1.5/16"X12 46 14 30 41
2J9-14 1.3/16"X12 1.3/16"X12 47.5 15 30 36
2J9-16 1.5/16"X12 1.5/16"X12 48.8 14 33 41
2J9-16-20 1.5/16"X12 1.5/8"X12 54 15 41 50
2J9-20-16 15/8"X12 1:5/16"X12 55.5 14 41 41
2J9-20 1.5/8"X12 1:5/8"X12 55.5 15 41 50
2J9-20-24 1.5/8"X12 1:7/8"X12 59.5 19 48 55
2J9-24-20 1.7/8"X12 1.5/8"X12 62.5 15 48 50
2J9-24 1.7/8"X12 1.7/8"X12 62.5 19 48 55
2J9-32 2.1/2"X12 2.1/2"X12 75.5 23.5 63 75
i BERHEESTITR. EFERDAQHE, BABERMESEANB200, NB500, EFHEZAXFN, RABERHEENFER
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J08

J09




0 EFIBENT74° EEY- O JIC74° CONE FLARED TUBE ADAPTERS
——

4 ) NUT

L5J-S

EFIJICHMNELL / EFIJICHIELL

JIC MALE /JIC FEMALE

#2471 THREAD R~F DIMENSIONS

PART NO. F B L

5J-04-06S 7/16"X20 9/16"X18 14 10 26.2 19
5J-04-08S 7/16"x20 3/4"X16 14 11 26.2 24
5J-04-10S 7/16"X20 7/8"X14 14 12 28 27
5J-04-12S 7/16"X20 1.1/16"X12 14 T3 29.8 32
5J-04-14S 7/16"X20 1.3/16"X12 14 14 32.5 36
5J-05-08S 1/2"X20 3/4"X16 14 11 26.2 24
5J-05-10S8 1/2"X20 7/8"X14 14 12 28 27
5J-05-128 1/2"X20 1.1/16"X12 14 13 29.8 32
5J-06-08S 9/16"X18 3/4"X16 14.1 11 26.3 24
5J-06-10S 9/16"X18 7/8'X14 141 12 28.2 27
5J-06-12S 9/16"X18 1.1/16"X12 141 13 30.1 32
5J-06-14S 9/16"X18 1.3/16"X12 14.1 14 32.5 36
5J-06-16S 9/16"X18 1.5/16"X12 14.1 16 33 41
5J-08-128 3/4"X16 1.1/16"X12 16.7 13 33.3 32
5J-08-148 3/4"X16 1.3/16"X12 16.7 14 35 36
5J-08-16S 3/4"X16 1.5/16"X12 16.7 16 35.6 41
5J-08-20S 3/4"X16 1.5/8"X12 16.7 15 35.5 50
5J-10-16S 7/8"X14 1.5/16"X12 19.3 16 7.5 41
5J-10-20S 7/8"X14 1.5/8"X12 19.3 15 37.9 50
5J-10-248 7/8"X14 1.7/8"X12 19.3 19 42 55
5J-12-16S 1.1/16"X12 1.5/16"X12 2179 16 40.2 41
5J-12-20S 1.1/16"X12 1.5/8"X12 21.9 15 40.6 50
5J-12-248 1.1/16"X12 1.7/8"X12 21.9 19 42 55
5J-16-20S 1.5/16"X12 1.5/8"X12 23.1 15 41.8 50
5J-16-24S 1.5/16"X12 1.7/8"X12 23.1 19 43.2 55
5J-16-32S 1.5/16"X12 2.1/2"X12 23.1 24 49 75
5J-20-248 1.5/8"X12 1.7/8"X12 243 19 443 55
5J-20-32S 1.5/8"X12 2.1/2"X12 243 24 50 75

it BEBRERWERRTIIR. EFERDANHN, BEAZERAESAEANB200, NB500, EFEEAXKHN, BAZBERGES XA
Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

NB200, NB300,

J10

© =hiEm74c BEF OEL

B EINUT
AHEESLEEVE

A e
L ey =a=
C

JIC74° CONE FLARED TUBE ADAPTERS

LBJ

EFJICHMNRL 74 SPE/EFIIICHIELT74° NESZ=E
JIC MALE 74° CONE/JIC FEMALE BRANCH TEE

e 4247 THREAD R~ DIMENSIONS

PART NO. F B c st
BJ-04 716'X20 | 7M6'X20 | 7M6"X20 245 | 95 | 245 | 17
BJ-05 1/2'X20 1/2"X20 1/2"X20 265 | 97 266 ) 14 19
BJ-06 9M6"X18 | 9/16'X18 | 9/16"X18 269 | /95 | 269/ 14 19
BJ-08 3/4"X16 3/4"X16 3/4"X16 2 | 108 |, 32 19 2
BJ-10 7/8"X14 7/8"X14 718X 14 378 2 38 | 22 27
BJ-12 6127\ 1.116/X12 /| 1.116°X12 442 | 13 | 442 | 27 32
BJ-16 1516°x12" | | 1.516"X12/ | /1.5116"X12 49 14 49 33 41
BJ-20 115/8%120 || | 1.5/8"X12 '~ 1.5/8"X12 56 15 56 41 50
BJ-24 1782 178X12 | 1.7/8"X12 635 | 19 | 635 | 48 55

i BEBRHEERTITHR., EFEREDALGN, BABEBRFENHIIZEANB200, NB500, BEFHEAXG N, ABERHEESHIER
Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

NB200. NB300,

nut NB200 and sleeve NB300 is suitable inch tube.

J11




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

NB200. NB300,

Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J12

J13

I 4 4 .
74"
¢ E
LCJ = = LDJ
A C
=) T
EHIJICHNRELT74° SME/EHIIICHIRL74 NEETZ=E | EHJICHIEBY74° NHE=E
740Cm JIC MALE 74° CONE/JIC FEMALE 74° SEAT RUN TEE "w N | |74 JIC FEMALE 74° SEAT TEE
ey N
S2 ol 54
R 1247 THREAD R~ DIMENSIONS
PART NO. F B C S1 = 1247 THREAD R~ DIMENSIONS
CJ-04 7/16"X20 7/16"X20 7/16"X20 245 245 9.5 1 17 PART NO. F S1 S2,S3,S4
CJ-05 1/2"X20 1/2"X20 1/2"X20 26.6 26.6 9 14 19 DJ-04 7/16"X20 7/16"X20 7/16"X20 9.5 11 17
CJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 26.9 95 14 19 DJ-05 1/2"X20 1/2"X20 1/2"X20 9 14 19
CJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 10.8 19 24 DJ-06 9/16"X18 9/16"X18 9/16"X18 9.5 14 19
CJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 37.8 12 22 27 DJ-08 3/4"X16 3/47X16 3/4"X16 10.8 16 24
CJ-10-08-10 7/8"X14 3/4"X16 7/8"X14 378 34.8 12 22 27 DJ-10 7/8"X14 7/8"X14 7/8"X14 12 22 27
CJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 442 442 13 27 32 DJ-12 1.1716%X12) | 1.1/16"X12/ | 1.1/16"X12 13 24 32
CJ-12-08-12 1:17/16"X12 3/4"X16 1.1/16"X12 442 37.9 13 27 32 DJ-16 1.5/16"X142- 1.5/16"X12 | 1.5/16"X12 14 33 41
CJ-16 1.5/16"X12 1.5/16"X12 1:5/16"X12 49 49 14 33 41
CJ-20 1:5/8"X12 1.5/8"X12 1.5/8"X12 56 56 15 41 50
CJ-24 1.7/8"X12 1.7/18"X12 1.7/8"X12 63 63 19 48 55
i BEBRWEERTIIR. EFERDAXHN, EABERFAESAEANB200, NB500, EFEEAXHN, BRABERAESAEHA
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.
L B
e | L2WJ
g ‘»]h__h_“ J"d_—"u' " BEE / EHJICHIRLT74 K
__Q BUTT-WELD TUBE /JIC FEMALE 74° SEAT
LEJ s1
EFIJICHIEL74° NHE/EFIJIICIHELT74° SMERT =18 re 1247 THREAD EFERZ R~ DIMENSIONS
JIC FEMALE 74° SEAT /JIC MALE 74° CONE BRANCH TEE PART NO. = TUBE O.D. D L
2WJ-10-04 7/16"X20 10 9.5 10 255 17
2WJ-12-05 1/2"X20 12 9 12 27 19
re 1247 THREAD R~ DIMENSIONS 2WJ-14-04 7/16"X20 14 9.5 14 27 17
PART NO. F B S1 S2,54 2WJ-14-06 9/16"X18 14 9.5 14 55 19
EJ-04 7/16"X20 7/16"X20 7/16"X20 9.5 24.5 11 17 2WJ-18-08 3/4"X16 18 10.8 18 60 24
EJ-06 9/16"X18 9/16"X18 9/16"X18 9.5 27 14 19 2WJ-20-10 718"14 20 12 20 33 27
EJ-08 3/4"X16 3/4"X16 3/4"X16 10/8 34 19 24 2WJ-22-12 1:117116"X12 22 13 22 68 32
EJ-10 7/8"X14 7/8"X14 7/8"X14 12 37.8 22 27 2WJ-28-16 1.5/16"X12 28 14 28 68 41
EJ-12 1 A716" X127 || 1.1/16'X12/ | 1.1/16"X12 13 4472 27 32 2WJ-34-20 1.5/8"X12 34 15 34 75 50
EJ-16 1.5/16"X*12 | 11.5/16"X12 | 1.5/16"X12 14 49 33 41
EJ-20 1.5/8"X12 1.5/8"X12 1:518"X12 15 56.5 41 50
EJ-24 1.7/8"X12 1.7/8"X12 1.7/8"X12 19 63 48 55
i BEBRWEESTITR. EFERDALHN, BEABERFESAEANB200, NB500, EFEHEZAXHEN, RABERGELS LR




0 EFIBENT74° EY- Ok JIC74° CONE FLARED TUBE ADAPTERS
IS

© =HnEm74 gEy OEL

JIC74° CONE FLARED TUBE ADAPTERS

L9J

EFRJICHIEBLT74° AL

JIC FEMALE 74° SEAT PLUG

A L B
SN L3J
= w | |7 £HIICHIEBLT4 A
H JIC FEMALE 74° SEAT
S2 S3
e #24 THREAD R~ DIMENSIONS
PART NO. E F B L
3J-04 7/16"X20 7/16"X20 9.5 9.5 19 17 17
3J-05 1/2"X20 1/2"X20 9 9 21 19 19
3J-06 9/16"X18 9/16"X18 9.5 9.5 21 19 19
3J-06-08 9/16"X18 3/4"X16 9.5 10.8 23 19 24
3J-08 3/4"X16 3/4"X16 10-8 10.8 24 24 24
3J-10 7/8"XA4 7/8"X14 12 12 2F 27 27
3J-12 1.1/16"X12 1.1/16"X12 13 13 27.5 32 32
3J-16 1.5/16"X12 1.5/16"X12 14 14 30.5 41 41
3J-20 1.5/8"X12 1.5/8"X12 15 15 35 50 50
3J-24 1.7/8"X12 1.7/8"X12 19 19 37 55) 55
L
A V]
) ’ o1 W R B
7 rI\V/ﬂﬁ RN L4J

ST

::"'(:'"’(i'm

EFJICIHNEG 74 ShESE K
JIC MALE 74° CONE PLUG

se
e #2457 THREAD R~ DIMENSIONS
PART NO. E L s2
9J-04 7/16"X20 9.5 10.5 17
9J-05 1/2"X20 9 11 A9
9J-06 9/16"X18 9.5 12 19
9J-08 3/4"X16 10.8 13 24
9J-10 7/8"X14 12 14.5 27
9J-12 1.1/16"X12 13 15.5 32
9J-14 1.3/16"X12 15 16 36
9J-16 1.6/16X12 14 17 41
9J-20 1.5/8"X12 15 19 50
9J-24 1.7/8"X12 19 19.5 55
9J-32 2:172"X12 23.5 21.5 75
L
s1
I
L9J-CAP

JIC74° MURgEL
JIC 74° FEMALE PLUG

rE { THREAD R~ DIMENSIONS
PART NO. L S1

4J-04 7/16"X20 14 20 12

4J-05 1/2"X20 14 20 14

4J-06 9/16"X18 14.1 20 17

4J-08 3/4"X16 16.7 25 22

4J-10 7/8"X14 19.3 27.5 24

4J-12 1.1/16"X12 21.9 32 30

4J-14 1.3/16"X12 22.6 33.5 32

4J-16 15/16"X12 23.1 34 36

4J-20 1.5/8"X12 24.3 38 46

4J-24 1718" X2 27.5 44.5 50

4J-32 2.12"X12 33.9 51 65
i BEBRWERERTIIR. EFERDANGHN, BAZERAESAEANB200, NB500, EFEEAXKHN, BABERAESAEA
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

ke #2247 THREAD R~ DIMENSIONS

PART NO. 3

9J-04CAP 7/16"X20 15.1 14
9J-05CAP 1/2"X20 15.5 17
9J-06CAP 9/16"X18 16 19
9J-08CAP 3/4"X16 19 24
9J-10CAP 7/8"X14 21.4 27
9J-12CAP 1.1/16"X12 23 32
9J-16CAP 1.5/16"X12 25.8 41
9J-20CAP 1:5/81X12 27 50
9J-24CAP 1.7/8"X12 30.2 60
9J-32CAP 2.112"X12 36.5 75

J14

J15




0 EFIENT74° EEY- OEL JIC74° CONE FLARED TUBE ADAPTERS
A

L i RELOCK NUT JASSLEEVE S RENUT

v, R A
i’/)]’/[ll/’/[l/’}

U I R TS e

EHIJICINELIT4° S B B Sk
JIC MALE 74° CONE BULKHEAD

0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

#HESLEEVE |

_ Ilr'

45° TLEFIICHMEL74° ST IIE L

L6J4 L6J4-LN 45° ELBOW JIC MALE 74° CONE BULKHEAD

e #2547 THREAD R~ DIMENSIONS
PART NO. 3 F B L

6J-04 7/16"X20 7/16"X20 14 32.5 52.5 17 17
6J-05 1/2"X20 1/2"X20 14 32.5 52.5 19 19
6J-06 9/16"X18 9/16"X18 14.1 32.5 54.5 22 22
6J-08 3/4"X16 3/4"X16 18,7 36.5 64.5 24 24
6J-10 7/8"X14 7/8"X14 19.3 40 69/5 30 30
6J-12 1.1/16"X12 1.1/16"X12 2479 44,5 78.5 36 36
6J-14 1.3/16"X12 1.3/16"X12 22.5 44.5 79.2 38 38
6J-16 1.5/16"X12 1.5/16"X12 23.1 44.5 79.8 41 41
6J-20 1.5/8"X12 1.5/8"X12 24.3 45.7 84 50 50
6J-24 1.7/8"X12 1.7/8"X12 27.5 46 89.5 55 55
6J-32 2.1/2"X12 2:1/2"X12 33.9 53.1 106.5 70 70

i MEWMEITR, MEEKRSEM “LN” , 06J9-12LN, BEBRHEZTRITITHR., EFEEDALXGN, RABEBREESFIER
NB200. NB500, & FHEZAFEH A, fAEIRTESSEMBNB200. NB300, Note: In case if you are interested to order the adapter
with lock nut, please insert suffix "LN" after our part NO., for example 6J9—-12LN. Nut and sleeve should be ordered separately. The nut
NB200 and sleeve Nb500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable for inch tube.

J16

124 THREAD R~ DIMENSIONS
PART NO. E F B S1

6J4-04 7/16"X20 7/16"X20 21 38.9 11 17

6J4-05 1/2"X20 1/2"X20 23 42:2 14 19

6J4-06 9/16"X18 9/16"X18 23 424 14 22

6J4-08 3/4"X16 3/4"X16 27 49.3 19 24

6J4-10 7/8"X14 718'X14 31 55.1 22 30

6J4-12 1.1/16"X12 1.1/16"X12 35 62 27 36

6J4-16 1.5/16"X12 1.5/16"X12 37.8 65 33 41

6J4-20 1.5/8"X12 1.5/8"X12 43 67.3 41 50
i MEHMEITE, WEEKRSEM “LN” , W6J4-12LN, BERHAEFRITITE., EFEREDALNFN, EABRBRHES %A
NB200. NB500, EFHZHEHIR, B AEERTESHEANB200. NB300, Note: In case if you are interested to order the adapter
with lock nut, please insert suffix "LN" after our part NO., for example 6J4-12LN. Nut and sleeve should be ordered separately. The nut
NB200 and sleeve Nb500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable forinch tube.

J17




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

L I
74’
74°
<7 i
F | A
/ ‘A
! ié el S1 A |
‘ M Qi? ¢ P i it L
1 /:i'i SN RY 74 ¥ ° ’ - w‘~4?41
an § o e 1
, | ; LA 2
e s — Z £HUICHIMBETA SN % =
T \s1 LAJ6JJ JIC MALE 74° CONE BULKHEAD BRANCH TEE
90° TERIJICIMEL 74 ST IRIEK
L6J9 L6J9-LN 90° ELBOW JIC MALE 74° CONE BULKHEAD re #2470 THREAD R~ DIMENSIONS

PART NO.

F

B

C

S1

= 247 THREAD R~F DIMENSIONS AJ6JJ-04 7/16"X20 7/16"X20 7/16"X20 24.5 40.4 24.5 11 17
PART NO. E F B S1 AJ6JJ-05 1/2"X20 1/2"X20 1/2"X20 26.6 43.7 26.6 14 19
6J9-04 7/16"X20 7/16"X20 24.5 40.4 11 17 AJ6JJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 46 26.9 14 22
6J9-05 1/2"X20 1/2"X20 26.6 43.7 14 19 AJ6JJ-08 3/4"X16 3/4"X16 3/4"X16 32 53.5 32 19 24
6J9-06 9/16"X18 9/16"X18 27.7 46 14 22 AJ6JJ-10 7/8"X14 718"X14 7/87X14 37.8 60.7 37.8 22 30
6J9-08 3/4"X16 3/4"X16 34/5 535 19 24 AJ6JJ-12 1.1/16"X12 | \1.1/16"X12 | 1.1/16"X12 44 .2 67.8 44.2 27 36
6J9-10 7/8"X14 7/8"X14 39.6 60.7 22 30 AJ6JJ-14 1.3/16"X12 || 1:3/16"X12 |/ 1:3/16"X12 48.5 71 48.5 33 38
6J9-12 1.1/16"X12 111/16"X12 45.2 67.8 27 36 AJ6JJ-16 1.5/16"X12 | 1:5/16"X12 | 1.5/16"X12 49 71 49 33 41
6J9-14 1.3/16"X11 |} 1L3/15'X12 48.2 69.5 30 38 Hr MEHHBITE, WEERSEM “LN” , MAJBII-12LN, BEBRAEERTITH, SFERDAAHN, RABRERAES LA
6J9-16 1.5/16"X12 1.5/16X12 50 71 33 41 NB200. NB500, EFHZHEHIR, A ABERITESHEANB200, NB300, Note: Incase if you are interested to order the adapter
6J9-20 N R with lock nut, please insert suffix "LN" after our part NO., for example AJ6JJ-12LN. Nut and sleeve should be ordered separately. The nut
. 1.5/8"X12 1.5/8"X12 57.5 79.2 41 50 NB200 and sleeve Nb500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable forinch tube.
i MEWMEITR, MEEKRSEM “LN” , 06J9-12LN, BEBRHEZTRITITHR., EFEEDALXGN, RABEBREESFIER
NB200. NB500, & FHEZAFEH A, fAEIRTESSEMBNB200. NB300, Note: In case if you are interested to order the adapter
with lock nut, please insert suffix "LN" after our part NO., for example 6J9—-12LN. Nut and sleeve should be ordered separately. The nut
NB200 and sleeve Nb500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable for inch tube.

J18 J19




© =HiEm74° EEHOIBL  JIC74° CONE FLARED TUBE ADAPTERS

0 EHIENT74° Y- OEL JIC74° CONE FLARED TUBE ADAPTERS
C

L

BEBENUT

A B
EZ?{ | 4145 SLEEVE
ya ji; s

L1JN

EHIJICIMNELTA S/ FEBIMEL
JIC MALE 74° CONE /NPT MALE

I

&

o

a Ssif | g

] | e
?4-(}1._-1—] J]}_"____”r_ o )7a
A Cc
EHJICHRG74 ShERIRESLET =8
LAJJ6J LAJJ6J-LN JIC MALE 74° CONE BULKHEAD RUN TEE
re #2457 THREAD R~t DIMENSIONS
PART NO. F B o} S1

AJJBJ-04 7/16"X20 7/16"X20 7/16"X20 245 | 245 | 40.4 11 17
AJJ6J-05 1/2"X20 1/2"X20 1/2"X20 26.6 | 26.6 | 43.7 4 19
AJJBJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 |/26.9 46 14 22
AJJBJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 53.5 19 24
AJJ6J-10 7/8"X14 7/8"X14 7/8"X14 37.8 37.8 60.7 22 30
AJJBJ-12 1.1/16"X12 | 1.1/46"X12 |11.1/16"X12 44.2 44.2 67.8 27 36
AJJBJ-16 1.5/16"X12 | 1.5/16"X12 |\ 1.5/16"X12 49 49 71 33 41
AJJBJ-20 1.5/8"X12 | 1.5(8"X12 " 1.5/8"X12 55.3 | 55.3 | 79.2 41 50
AJJBJ-24 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 63.5 | 63.5 | 86.9 48 55

i MEHMHEITE, WEEKRSEM “LN” , WAJJ6J-12LN, BEBRHEERTITR, EFERDANGHIN, EABSRHNESFEA
NB200. NB500, EFHZHHEHIR, BAEBERFTESFEMANB200. NB300, Note: Incase if you are interested to order the adapter
with lock nut, please insert suffix "LN" after our part NO., for example AJJ6J-12LN. Nut and sleeve should be ordered separately. The nut
NB200 and sleeve Nb500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable for inch tube.

L8J

=] EHIJICE S8 £
JIC LOCKNUT

re #2470 THREAD R~ DIMENSIONS
PART NO. F B L
1JN-02 5/16"X24 Z1/8"X27 11.4 10.5 28 12
1JN-04-02 7/16"X20 Z1/8"X27 14 10.5 305 12
1JN-04 7/16"X20 Z1/4"X18 14 15 35 17
1JN-04-06 7/16"X20 Z3/8"X18 14 16 36 19
1JN-04-08 7/16"X20 Z1/2"X14 14 19.5 415 24
1JN-05-04 1/2"X20 Z1/4"X18 14 15 35 17
1JN-05-06 1/2"X20 Z3/8"X18 14 16 36 19
1JN-05-08 1/2"X20 Z1/2"X14 14 19.5 415 24
1JN-06-04 9/16"X18 Z1/4"X18 14.1 15 34.5 17
1JN-06 9/16"X18 Z3/8"X18 14.1 16 36 19
1JN-06-08 9/16"X18 Z1/2"X14 14.1 19.5 415 24
1JN-08-04 3/4"X16 Z1/4"X18 16.7 15 39 22
1JN-08-06 3/4"X16 Z3/8"X18 16.7 16 40 22
1JN-08 3/4"X16 Z1/2"X14 16.7 19.5 44 24
1JN-08-12 3/4"X16 2314"X18 16.7 19.5 46.5 30
1JN-10-06 7/8"X14 Z3/8"X18 19.3 16 43.5 24
1JN-10-08 7/8"X14 Z1/2"X14 19.3 19.5 47 24
1JN-10-12 7/8"X14 Z3/4"X14 19.3 19.5 49 30
1JN-12-08 1.1/16"X12 Z1/2"X14 21.9 19.5 51 30
1JN-12 1.1/16"X12 Z3/4"X14 21.9 19.5 51.5 30
1JN-12-16 1.1/16"X12 Z1"X11.5 21.9 2575 58.5 36
1JN-12-20 1.1/16"X12 | Z1.1/4"X11.5 21.9 26.5 61.5 46
1JN-14-12 1.3/16"X12 Z3/4"X14 22.6 195 53 32
1JN-16-12 1.5/16"X12 Z3/4"X14 23.1 195 53.5 36
1JN-16 1.5/16"X12 Z1"X11.5 23.1 25.5 58.5 36
1JN-16-20 1.5/16"X12 | Z1.1/4"X11.5 2341 26.5 62.5 46
1JN-16-24 1.5/16"X12 | Z1.1/2"X11.5 23.1 275 65.5 50
1JN-20-16 1.5/8"X12 Z1"X11.5 24.3 255 63 46
1JN-20 1.5/8"X12 | Z1.1/4"X11.5 24.3 26.5 63.5 46
1JN-20-24 1.5/8"X12- 1 \Z1.1/2"X11.5 24.3 275 67 50
1JN-24-20 1.718"X92\ | \Z1.1/4"X11.5 27.5 26.5 69 50
1JN-24 1.7/8"X42 | Z1.1/2"X11.5 27.5 275 70 50
1JN-24-32 1.7/8"%X12 72"X11.5 27.5 275 72 65
1JN-32 2.1/2"X12 Z2"X11.5 33.9 275 78.5 65
1JN-32-24 2.1/2"X12 | Z1.1/2"X11.5 33.9 275 78.5 65

ke #24 THREAD R~ DIMENSIONS
PART NO. E A
8J-04 7/16"X20 7 17
8J-05 1/2"X20 7 19
8J-06 9/16"X18 7 22
8J-08 3/4"X16 8 24
8J-10 7/8"X14 9 30
8J-12 1.1/16"X12 10.5 36
8J-14 1.3/16"X12 10.5 38
8J-16 1.5/16"X12 10.5 41
8J-20 1.5/8"X12 10.5 50
8J-24 1.7/8"X12 10.5 55)
8J-32 2.1/2"X12 10.5 70

J20

I BEBRHEERTIIR. EFERDARHN, RABERFESFEANB200, NB500, EFEHZAXHN, RABERFELS LR
Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

NB200. NB300,

nut NB200 and sleeve NB300 is suitable inch tube.

J21




0 EHIRNT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS

4
E
g
w ] L /_.-"
s _ 2
74 C) ~.:[J]7 I A1 4 %r
h

L1JN4

45° LEHIJICIMBL 74 S/ Fa B SMEBLL
45° ELBOW JIC MALE 74° CONE /NPT MALE

© =hiEm74c BEF OEL

L

PR

JIC74° CONE FLARED TUBE ADAPTERS

IZRENUT

L1JN9

90° TEFIJICIMEL74° S/ TRHEEIMELL
90° ELBOW JIC MALE 74° CONE /NPT MALE

e R~} DIMENSIONS
PART NO. B St
1JN4-02 5/16"X24 Z1/8"X27 18 17 11
1JN4-03-02 3/8"X24 Z1/8"X27 19 17 11
1JN4-04-02 7/16"X20 Z1/8"X27 215 17 11

1JN4-04 7/16"X20 Z1/4"X18 223 21 14
1JN4-04-06 7/16"X20 Z3/8"X18 23 24/5 19
1JN4-04-08 7/16"X20 Z1/2"X14 245 | -295 22
1JN4-05-02 1/2"X20 Z1/8"X27 223 18 14
1JN4-05-04 1/2"X20 Z1/4"X18 223 21 14
1JN4-06-02 9/16"X18 Z1/8"X27 228 | 173 14
1JN4-06-04 9/16"X18 Z1/4"X18 22.8 21 14

1JN4-06 9/16"X18 Z3/8"X18 24 24 19
1JN4-06-08 9116"X18 Z172"X14 25 29.5 22
1JN4-08-04 3/4"X16 Z1/4"X18 26.8 22 19
1JN4-08-06 314"X16 Z3/8"X18 26.8 24 19

1JN4-08 3/4"X16 Z1/2"X14 28 29.5 22
1JN4-08-12 3/4"X16 Z3/4"X14 29 35 27
1JN4-10-08 7/8"X14 Z1/2"X14 31 29.5 22
1JN4-10-12 7/8"X14 Z3/4"X14 32 35 27
1JN4-12-08 1.1/16"X12 Z1/2"X14 35.5 31 27

1JN4-12 1.1/16"X12 Z3/4"X14 355 35 27
1JN4-12-16 1.1/16"X12 Z1"X11.5 375 39 33
1JN4-14-12 1.3/16"X12 Z3/4"X14 37 35.5 30
1JN4-16-12 1.5/16"X12 73/4"X14 385 | 365 33

1JN4-16 1.5/16"X12 Z1°X11.5 38.5 39 33
1JN4-16-20 1.5/16"X12 | Z1.1/4"X11.5 42 42.5 41
1JN4-20-16 1:5(8"X12 Z11X11.5 43 42.5 41

1JN4-20 105(8"X12 Z1.1/4"X11.5 43 42 41
1JN4-20-24 1,5/8"X12 Z1.1/2"X11.5 46 45 48

1IN4-24 1\7/8"X12 Z1.1/2"X11.5 49 45 48

1JN4-32 2.1/2"X12 Z2"X11.5 58 50 63

I BEEHERSHITINE, EFERDAAHM, RABSRAESFIEMANB200, NB500, EFHEZAXHMN, EABSRAES LR

NB200, NB300,

nut NB200 and sleeve NB300 is suitable inch tube.

Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

J22

A
Re R~ DIMENSIONS
PART NO. B S1
1JN9-02 5/16"X24 Z1/8"X27 21 21 11
1JN9-03-02 3/8"X24 Z1/8"X27 22 21 11
1JN9-04 7/16"X20 Z1/4"X18 26.6 255 14
1JN9-04-02 7/16"X20 Z1/8"X27 24.5 21 1
1JN9-04-06 7/16"X20 Z3/8"X18 29.5 31 19
1JN9-05-02 1/2"X20 Z1/8"X27 26.6 23/5 14
1JN9-05-04 1/2"X20 Z1/4"X18 26.6 25.5 14
1JN9-05-06 1/2"X20 Z3/8"X18 295 31 19
1JN9-06 9/16"X18 Z3/8"X18 29 31 19
1JN9-06-04 9/16"X18 Z1/4"X18 26.9 25.5 14
1JN9-06-08 9/16"X18 Z1/2"X14 32 36.7 22
1JN9-08 3/4"X16 Z1/2"X14 34.8 37.3 22
1JN9-08-04 374"X16 Z1/4"X18 32 28.5 19
1JN9-08-06 8/4"X16 Z3/8"X18 32 31 19
1JN9-08-12 3/4"X16 Z3/4"X14 37.9 44 27
1JN9-10-06 7/8"X14 Z3/8"X18 37.8 32.5 22
1JN9-10-08 7/8"X14 Z1/2"X14 37.8 37.3 22
1JN9-10-12 7/8"X14 Z3/4"X14 41 44 27
1JN9-10-16 7/8"X14 Z1"X11.5 44.5 50 33
1IN9-12 1.1/16"X12 Z3/4"X14 44.2 44 27
1JN9-12-08 1.1/16"X12 Z1/2"X14 44.2 40 27
1JN9-12-16 1.1/16"X12 Z1"X11.5 49 50 33
1JN9-12-20 1.1/16"X12 Z1.1/4"X11.5 52.5 54.5 441
1JN9-14-12 1.3/16"X12 Z3/4"X14 47.5 45 30
1JN9-14-16 1.3/16"X12 Z1"X11.5 48.5 50 33
1JN9-16 1.5/16"X12 Z1"X11.5 49 50 33
1JN9-16-12 1.5/16"X12 Z3/4"X14 49 45.2 33
1JN9-16-20 1.5/16"X12 Z1.1/4"X11.5 54 60.5 41
1JN9-16-24 1.5/16"X12 Z1.1/2"X11.5 58 63 48
1JN9-20 1.5/8"X12 Z1.1/4"X11.5 5585 54.5 41
1JN9-20-16 1:5/8"X12 Z1"X11.5 55.5 54.5 41
1JN9-20-24 1.5/8"X12 Z1.412"X11.5 59.4 63 48
1JN9-24 1.7/8"X12 Z1.1/2"X11.5 62.5 63 48
1JN9-24-20 1.718"X12 Z1.1/4"X11.5 62.5 63 48
1JN9-32-24 2.1/2"X12 Z1.1/2"X11.5 75.4 67.5 63
1JN9-32 2.1/2"X12 Z2"X11.5 75.4 67.5 63
I BEBRHEERTIIR. EFERDARHN, RABERFESFEANB200, NB500, EFEHZAXHN, KRABERFELS LR
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J23




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

4 4 4 4
£ ]
?: m ) W BENUT
] | ¥ 42 SLEEVE L1JN9-L —— L1JN9-LL
74u0 u.;] = R D H SRV
Jl ] s T 00" WEHICHBETI® Sh | MKFRENEL . 00 WEHIICHELTI Shl /R RENDL
A ) ] 90° ELBOW JIC MALE 74° CONE/LONG NPT MALE 7 D! 90° ELBOW JIC MALE 74° CONE/LONGER NPT MALE

R R~ DIMENSIONS
PART NO. B S1 R~ DIMENSIONS
1JN9-04-02L 7/16"X20 Z1/8"X27 24.5 30 1" PART NO. B S1
1JN9-04L 7/16"X20 Z1/4"X18 26.6 40.1 14 1JN9-04-02LL 7/16"X20 Z1/8"X27 24.5 39.6 11
1JN9-05-02L 1/2"X20 Z1/8"X27 26.6 31 14 1JN9-04LL 7/16"X20 Z1/4"X18 26.6 52.6 14
1JN9-05-04L 1/2"X20 Z1/4"X18 26.6 401 14 1JN9-05-04LL 1/2"X20 Z1/4"X18 26.6 52.6 14
1JN9-06-04L 9/16"X18 Z1/4"X18 26.9 40,1 14 1JN9-06-04LL 9/16"X18 Z1/4"X18 26.9 52.6 14
1JN9-06-08L 9/16"X18 Z1/2"X14 32 55.1 22 1JN9-06LL 9/16"X18 Z3/8"X18 30 61.5 19
1JN9-08-06L 3/4"X16 Z3/8"X18 32 46.2 19 1JN9-08-06LL 3/4"X16 Z3/8"X18 32 61.5 19
1JN9-08L 3/4"X16 Z1/2"X14 34.8 551 22 1JN9-10-08LL 7/8"X14 Z1/2"X14 37.8 72.9 22
1JN9-10-08L 7/8"X14 Z1/2"X14 37.8 55.1 22 1JN9-12LL 1.1/16"X12 Z3/4""X14 44.2 83.3 27
1JN9-12-08L 1.1/16"X12 Z1/2"X14 44.2 56.9 27 1JN9-16LL 1.5/16"X12 21"X11.5 49 102.9 33
1IJN9-12L 1.1/16"X12 Z3/4"X14 44.2 62 27 1JN9-20LL 1.5/8"X12 Z1.414"X11.5 5585 127 41
1JN9-16-12L 1.5/16"X12 Z3/4"X14 49 69.9 33 1IN9-24LL 1.718"X12 Z1.1/2"X11.5 62.5 141 48
1JN9-16L 1.5/16"X12 Z1"X11.5 49 76.5 33 1JN9-32LL 21/2"X12 Z2"X11.5 78 168.4 63
1JN9-20L 1.6/8°X12 21.1/4™X11.5 58.5 | 937 41 : BBRMERSTIN. GTEEDAAHN, RABSRAESLANB200, NB500, EFHEAHKHN, KALERTES LA
1JN9-24L 1.7/8"X12 Z1.1/2"X11.5 62.5 104.1 48 NB200., NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
1JN9-32L 2 1/2"X12 Z2"X11.5 78 122 2 63 nut NB200 and sleeve NB300 is suitable inch tube.
it BEBRWEERTITR. EFERDANHN, BEABERAESAEANB200, NB500, EFEHEAXHN, RABERAELS LR
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J24 J25




0 EFIENT74° EEY- O JIC74° CONE FLARED TUBE ADAPTERS 0 EHIENT74° Y- OEL JIC74° CONE FLARED TUBE ADAPTERS
—— C

74°
<7
K

LAJJN LAJNJ

EHJICHMNEL74° S/ REFIIMBLHXZE
JIC MALE 74° CONE /NPT MALE BRANCH TEE

e EHIJICIMNEGTA S/ MEEIMELEL =B

JIC MALE 74° CONE /NPT MALE RUN TEE

?T

R 1247 THREAD R~F DIMENSIONS re 1247 THREAD R~ DIMENSIONS

PART NO. F B C S1 PART NO. F B C S1
AJJIN-04 7/16"X20 7/16"X20 Z1/4"X18 26.6 26.6 255 14 AJNJ-04 7/16"X20 Z1/4"X18 7/16"X20 26.6 25.5 26.6 14
AJJIN-04-04-02 7/16"X20 7/16"X20 Z21/8"X27 245 245 21 1 AJNJ-04-02-04 7/16"X20 Z1/8"X27 7/16"X20 24.5 21 24.5 1"
AJJIN-05-05-02 1/2"X20 1/2"X20 Z21/8"X27 26.6 26.6 23.5 14 AJNJ-05-02-05 1/2"X20 Z1/8"X27 1/2"X20 26.6 235 26.6 14
AJJIN-06 9/16"X18 9/16"X18 Z3/8"X18 30 30 31 19 AJNJ-05-04-05 1/2"X20 Z1/4"X18 1/2"X20 266 25.5 26.6 14
AJJIN-06-04-06 9/16"X18 7/16"X20 Z3/8"X18 26.9 255 26.9 14 AJNJ-06 9/16"X18 Z3/8"X18 9/16"X18 30 31 30 19
AJJIN-06-06-04 9/16"X18 9/16"X18 Z1/4"X18 26:9 26.9 255 14 AJNJ-06-04-06 9/16"X18 Z1/4"X18 9/16"X18 26.9 25.5 26.9 14
AJJIN-08 3/4"X16 3/4"X16 Z1/2°X14 34.8 34.8 36.7 22 AJNJ-06-08-06 9/16"X18 Z1/2"X14 9/16"X18 32 36.7 32 22
AJJN-08-08-06 3/4"X16 3/4"X16 Z3/8"X18 32 32 31 19 AJNJ-08 3/4"X16 Z1/2"X14 3/4"X16 34.8 37.3 34.8 22
AJJIN-10-10-08 7/8"X14 7/8"X14 Z112"X14 37.8 37.8 36.7 22 AJNJ-08-06-08 3/4"X16 Z3/8"X18 3/4"X16 32 31 32 19
AJJIN-10-10-12 7/8"X14 7/8"X14 Z3/47X14 41 41 44 27 AJNJ-10-08-10 7/8"X14 Z1/2"X14 7/8"X14 37.8 36.7 37.8 22
AJJIN-12 1.4716"X12 1.1/16"X12 Z3/4"X14 44.2 44.2 44 27 AJNJ-12 1.1/16"X12 Z3/4"X14 1.1/16"X12 44.2 44 44.2 27
AJJIN-16 1.5/16"X12 1.5/16"X12 Z1"X11.5 49 49 50 38 AJINJ-16 1.5/16"X12 Z1"X11.5 1.5/16"X12 49 50 49 33
AJJIN-20 1.5(8"X12 1.5/8"X12 Z1.1/4"X11.5 55.5 55.5 54.5 41 AJINJ-20 1.5/8"X12 Z1114"X11.5 1.5/8"X12 55.5 54.5 55.5 41
AJJIN-24 1.7/8"X12 1.7/8"X12 Z1.1/2"X11.5 62.5 62.5 63 48 AJNJ-24 1.7/8"X12 Z1.1/2"X11.5 1.7/8"X12 62.5 63 62.5 48

i BEBRWEERTITR. EFERDANGHIN, BRAZERAESAEANB200, NB500, EFEEAXHN, RABERAES TR i BEBRHEERTITHR. EFEEDALGN, BABERFAESFIIEZANB200, NB500, EFHEAES N, RABBREESFIER

NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

nut NB200 and sleeve NB300 is suitable inch tube. nut NB200 and sleeve NB300 is suitable inch tube.

J26 J27




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

— —
L B -A;-
A [ . HEESLEEVE s FENUT
A L2NJ ” N L5JN
T [ T EIMRLL/ JICHIEL74° R ?4(><‘“ \ EHIJICINELG74° S/ TR HEE IR LL
NPT MALE /JIC FEMALE 74° SEAT = JIC MALE 74° CONE /NPT FEMALE

= 1247 THREAD R~ DIMENSIONS re 124 THREAD R~ DIMENSIONS

PART NO. F L PART NO. F L S1
2NJ-02-04 Z1/8"X27 7/16"X20 10.5 9.5 24.5 12 17 5JN-04-02 7/16"X20 Z1/8"X27 14 30.2 17
2NJ-02-05 Z1/8"X27 1/2"X20 10.5 9 25 12 19 5JN-04 7/16"X20 Z1/4"X18 14 5.8 19

2NJ-04 Z1/4"X18 7/16"X20 15 9.5 29 17 17 5JN-05-04 1/2"X20 Z1/4"X18 14 35.3 19
2NJ-04-05 Z1/4"X18 1/2"X20 15 9 29.5 17 19 5JN-06-04 9/16"X18 Z1/4"X18 14.1 35.6 19
2NJ-04-06 Z1/4"X18 9/16"X18 15 9.5 29.5 7 19 5JN-06 9/16"X18 Z3/8"X18 14.1 3741 22
2NJ-04-08 Z1/4"X18 3/4"X16 15 10.8 31.5 19 24 5JN-06-08 9/16"X18 Z1/2"X14 141 42.5 30

2NJ-06 Z3/8"X18 9/16"X18 16 95 30.5 19 19 5JN-08-06 3/4"X16 Z3/8"X18 16.7 39.6 22
2NJ-06-08 Z3/8"X18 3/4"X16 16 10.8 325 19 24 5JN-08 3/4"X16 Z1/2"X14 16.7 45.6 30
2NJ-06-10 Z3/8"X18 7/8"X14 16 12 35 22 27 5JN-08-12 3/4"X16 Z3/4"X14 1677 45 36

2NJ-08 Z1/2"X14 3/4"X16 19.5 10.8 37.5 22 24 5JN-10-08 7/8"X14 Z1/2"X14 19.3 48 30
2NJ-08-06 Z1/2"X14 9/16"X18 195 95 36 22 19 5JN-10-12 7/8"X14 Z3/4"X14 19.3 49.7 36
2NJ-08-10 Z1/2"X14 7/8"X14 19.5 12 38 22 27 5JN-12-08 1.1/16"X12 Z1/2"X14 21.9 52.1 30
2NJ-08-12 Z1/2"X14 1.1/16"X12 19.5 13 42 27 32 5JN-12 1.1/16"X12 Z3/4"X14 21.9 52.3 36

2NJ-12 Z3/4"X14 1.1/16"X12 19.5 13 42 30 32 5JN-16-12 1.5/46"X12 Z3/4"X14 23.1 50 36
2NJ-12-08 Z3/4"X14 3/4"X16 19.5 10.8 40 30 24 5JN-16 1.5/16"X12 Z1"X11:5 23.1 59.7 41
2NJ-12-10 Z23/4"X14 7/8"X14 19.5 12 40.5 30 27 5JN-20 1.5/8"X12 > | Z1.:1/4"X11.5 243 61.5 50
2NJ-12-16 Z3/4"X14 1.5/16"X12 19.5 14 425 32 41 5JN-24 1.7/8"X42.~| Z1.1/2"X11.5 27.5 62.5 60

2NJ-16 Z1"X11:5 1.5/16"X12 255 14 49 36 41 5JN-32 2.1/2"X12 Z2"X11.5 33.9 70 70
2NJ-16-12 ARNRN\ A 1K' 12 25.5 13 49 % 32 #: BERHEBRSTITH, BFERDAAHMN, RASSRMESHEANB00, NB500, BFHRNXMHN, RARSRHEN LA
2NJ-16-20 Z1"X11.5 1.5/8"X12 25.5 15 52.5 41 50 NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

2NJ-20 Z1.1/4"X115 1.5/8"X12 26.5 15 52.5 46 50 nut NB200 and sleeve NB300 is suitable inch tube.
2NJ-20-24 Z1.1/4"X115 1.7/8"X12 26.5 19 54 46 55
2NJ-24-20 Z1.1/2"X11.5 1.5/8"X12 27.5 15 56.5 50 50

2NJ-24 Z1.1/2"X11.5 1.7/8"X12 27.5 19 57 50 55

J28 J29




0 EFIBENT74° EEY- O JIC74° CONE FLARED TUBE ADAPTERS 0 EHIENT74° Y- OEL JIC74° CONE FLARED TUBE ADAPTERS
IS N

7 F iUt

‘ L5JN9 7BR" F ] : LKJNJ
o sl o e L

90° TJICHMRL7A® s/ TS MIRLL EHJIC HMRLTA SME/ HEENBY ST =R
90° ELBOW JIC MALE 74° CONE /NPT FEMALE JIC MALE 74° CONE /NPT FEMALE BRANCH TEE

s |.u- .
?4(\, |

[P

R R~ DIMENSIONS = 1247 THREAD R~ DIMENSIONS
PART NO. B S1 PART NO. F B C S1
5JN9-04-02 7/16"X20 Z1/8"X27 27.5 16.8 16 KJNJ-04 7/16"X20 Z1/4"X18 7/16"X20 29.5 22.4 29.5 19
5JN9-04 7/16"X20 Z1/4"X18 30.9 22.4 19 KJNJ-04-02-04 7/16"X20 Z1/8"X27 7/16"X20 26.5 16.8 26.5 16
5JN9-06-04 9/16"X18 Z1/4"X18 31.2 22.4 19 KJNJ-05-02-05 1/2"X20 Z1/8"X27 1/2"X20 27.5 16.8 27.56 16
5JN9-06 9/16"X18 Z3/8"X18 33.5 250 24 KJNJ-05-04-05 1/2"X20 Z1/4"X18 1/2"X20 29/5 22.4 29.5 19
5JN9-08-04 3/4"X16 Z1/4"X18 31.6 22.4 19 KJNJ-06 9/16"X18 Z3/8"X18 9/16"X18 33.5 2509 33.5 24
5JN9-08 3/4"X16 Z1/2"X14 39.5 31.2 30 KJNJ-06-04-06 9/16"X18 Z1/4"X18 9/16"X18 30 22.4 30 19
5JN9-12-08 1.1/16"X12 Z1/2"X14 46 31.2 30 KJNJ-08 3/4"X16 Z1/2"X14 3/4"X16 39.5 31.2 39.5 30
5JN9-12 1.1/16"X12 Z314"X14 48 34.5 33 KJNJ-08-06-08 3/4"X16 Z3/8"X18 3/47X16 36 25.9 36 24
5JN9-12-16 1.1/16"X12 Z1"X11.5 52.5 41.1 41 KJNJ-10-08-10 7/8"XA4 Z1/2"X14 7/8"X14 42.5 31.2 42.5 30
5JN9-16-12 1.5(16"X12 Z3/4"X14 49 34.5 33 KJINJ-12 1.1/16"X12 Z3/4"X14 1.1/16"X12 48 34.5 48 33
5JN9-16 1.5/16"X12 Z1"X11.5 55.1 41.1 41 KJNJ-16 1.5/16"X12 Z1"X11.5 1.5/16"X12 54 41.1 54 41
5JN9-20 1:5/8"X12 Z1.1/4"X11.5 59.2 43.2 48 KJNJ-20 1.5/8"X12-+Z1.1/4"X11.5| 1.5/8"X12 59.4 43.2 59.4 48
5JN9-24 LHEXT2 | 21.172'X11.5 734 | 528 63 #: BERWERSTITR, ETERDALHAN, RARBRMESSKANB200, NB500, EFHENXHN, RABERIESN LM
i EERHEERMFIIE. STEZDAAGEN, RAEERAESREANB200, NB500, SFEENHGN, BAEERAESRER NB200. NB300, Note:Nutgnd s!eeve§hould be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube.
nut NB200 and sleeve NB300 is suitable inch tube.

J30 J31




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

4 4 4
o B1FLOCK NUT |

¥ r——— BHNUT ) feSLEEVE

11 p LLJJN

‘ ‘ @

T e Voo £HIICHMNBETA SN HEENBLEZZE
| H G JIC MALE 74° CONE /NPT FEMALE RUN TEE Y]
AL L6NJ-LN £ HINPTIMELL / £ HIICHBLTL SMEST HREE %

NPT MALE /JIC MALE 74° CONE BULKHEAD

1247 THREAD R~ DIMENSIONS
PART NO. F B C S1 re 1247 THREAD R~ DIMENSIONS
LJIN-04 7/16"X20 7/16"X20 Z1/4"X18 30.9 30.9 25.1 19 PART NO. B L
LJIN-04-04-02 7/16"X20 7/16"X20 Z1/8"X27 27.5 2j/5 16.8 16 6NJ-02-04 Z1/8"X27 7/16"X20 10.5 32.5 49 17 17
LJJN-06 9/16"X18 9/16"X18 Z3/8"X18 33.5 33.5 26.8 24 6NJ-04 Z1/4"X18 7/16"X20 15 32.5 53.5 17 17
LJIN-06-06-04 9/16"X18 9/16"X18 Z1/4"X18 30 30 2215 19 6NJ-04-06 Z1/4"X18 9/16"X18 15 32.5 55.5 22 22
LJIN-08 3/4"X16 3/4"X16 Z12"X14 39.5 395 33 30 6NJ-06 Z3/8"X18 9/16"X18 16 32,5 56.5 22 22
LJJN-08-08-06 3/4"X16 3/4"X16 Z3/8"X18 36 36 2:580) 24 6NJ-08 Z1/2"X14 3/4"X16 19.5 365 64 24 24
LJIN-10-10-08 718"X14 7/8"X14 Z112!'%x14 42.5 42.5 31.2 30 6NJ-08-10 Z1/2"X14 7/8'"X14 19.5 40 69.5 30 30
LJJIN-12 1.1/146"X12_ | 1:11/16"X12 Z3/4"X14 48 48 39 33 6NJ-12 Z314"X14 1.1/16"X12 19.5 44.5 75 36 36
LJIN-16 1.5/16"X12"| 1.5/16"X12 Z1"X11.5 55.1 55.1 43.9 41 6NJ-16 ZA'X 1115 1.5/16"X12 25.5 44.5 83 41 41
LJJIN-20 1.5/8"X12 1.5/8"X12 [Z1.1/4"X11.5 59.2 59.2 43.3 48 6NJ-20 Z1.1/4"X11.5 1.5/8"X12 26.5 45.7 87 50 50
: BBRMERSTIIR. ETEEDAAHAN, RARSRMESLMANB200, NB500, EFHEANHHN, RALERITES LA 6NJ-24 iz e | il 275 46 88.5 55 5%
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the . MESHEITE, WEERSEN “LN” , W6NJ-12LN, EBERHEERTiIE. STHEADAA N, RAEERAESR%R
nut NB200 and sleeve NB300 is suitable inch tube. NB200. NB500, & FHEZ A M, A AZEFRTESF%EANB200. NB300, Note: In case if you are interested to order the adapter
with lock nut, please insert suffix "LN" after our part NO., for example 6NJ-12LN. Nut and sleeve should be ordered separately. The nut
NB200 and sleeve Nb500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable forinch tube.

el SR\
E \ L7NJ-S
E w )?4
ol / EFREFNBLY / ERIICHEBLT4 W
N NPT FEMALE / JIC FEMALE 74° SEAT
s1
ke R~ DIMENSIONS
PART NO. B L
7NJ-04S Z1/4"X18 7/16"X20 9.5 29 19 17
7NJ-04-06S Z1/4"X18 9/16"X18 9.5 29 19 19
7NJ-06S Z3/8"X18 9/16"X18 95 30 24 19
7NJ-06-08S Z3/8"X18 3/4"X16 10.8 32 24 24
7NJ-08S Z1/2"X14 3/4"X16 10.8 /| B7.5 30 24
7NJ-08-10S Z1/2"X14 7/8"X14 12 38 30 27
7NJ-08-128 Z1/2"X14 1.1/16"X12 13 375 30 32
7NJ-128 Z314"X14 1.1/167X12 13 40.5 36 32
7NJ-16S Z1"X115 1/5/16"X12 14 475 41 41
7NJ-20S Z1MM4" XI5 1.5/8"X12 15 52 50 50
7NJ-24S Z1A12°X11.5 | 1.7/8"X12 19 53. 5 60 55

J32 J33




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

4 4 4
L
A B ;
L1JT-SP | Suul L1JT4-SP
W | +f £ SLEEVE
; 40% I BRI £ HICHNBETAY SN/ HEHEE IR 74.{_&---? 45° TEHIICIMBLITA Mg/ TG IMBL
i ‘ JIC MALE 74° CONE/BSPT MALE = e 45° ELBOW JIC MALE 74° CONE/BSPT MALE

= 124 THREAD R~ DIMENSIONS R~ DIMENSIONS
PART NO. L PART NO. 2] S1
1JT-04-02SP 7/16"X20 R1/8"X28 14 10 30 12 1JT4-04-02SP 7/16"X20 R1/8"X28 21.5 17 1
1JT-04SP 7/16"X20 R1/4"X19 14 14.5 34.5 14 1JT4-04SP 7/16"X20 R1/4"X19 22.3 21 14
1JT-04-06SP 7/16"X20 R3/8"X19 14 15 35 17 1JT4-04-06SP 7/16"X20 R3/8"X19 22.8 23 16
1JT-05-02SP 1/2"X20 R1/8"X28 14 10.5 30.5 14 1JT4-04-08SP 7/16"X20 R1/2"X14 245 29.5 22
1JT-05-04SP 1/2"X20 R1/4"X19 14 145 34 14 1JT4-05-02SP 1/2"X20 R1/8"X28 21.5 17.5 14
1JT-05-06SP 1/2"X20 R3/8"X19 14 15 35 17 1JT4-05-04SP 1/2"X20 R1/4"X19 22.3 21 14
1JT-06-02SP 9/16"X18 R1/8"X28 14.1 105 30.5 17 1JT4-05-06SP 1/2"X20 R3/8"X19 22.8 23 16
1JT-06-04SP 9/16"X18 R1/4"X19 14.1 14.5 34 17 1JT4-06-02SP 9/16"X18 R1/8"X28 22.8 18.2 14
1JT-06SP 9/16"X18 R3/8"X19 14.1 15 34 17 1JT4-06-04SP 9/16"X18 R1/4"X19 22.8 21 14
1JT-06-08SP 9/16"X18 R1/2"X14 14.1 20 41 22 1JT4-06SP 9/16"X18 R3/8"X19 22.5 23 16
1JT-08-06SP 3/4"X16 R3/8"X19 16.7 15 39 22 1JT4-06-08SP 9/16"X18 R1/2"X14 25 29.5 22
1JT-08SP 3/4"X16 R1/2"X14 16.7 20 44.5 22 1JT4-08-04SP 3/4"X16 R1/4"X19 26.8 22 19
1JT-08-12SP 3/4'X16 R3/4"X14 16.7 20 46 30 1JT4-08-06SP 3/4"X16 R3/8"X19 26.8 24 19
1JT-10-06SP 7/8"X14 R3/8"X19 19.3 15 42.5 24 1JT4-08SP 3/4"X16 R1/2"X14 28 29.5 22
1JT-10-08SP 7/8"X14 R1/2"X14 19.3 20 46.5 24 1JT4-08-12SP 3/4"X16 R3/4"X14 29 30.5 27
1JT-10-12SP 7/8"X14 R3/4"X14 19.3 20 48.5 30 1JT4-10-06SP 7/8"X14 R3/8"X19 31 25 22
1JT-12-08SP 1.1/16"X12 R1/2"X14 21.9 20 51 30 1JT4-10-08SP 7/8"X14 R1/2"X14 31 29.5 22
1JT-12SP 1.1/16"X12 R3/4"X14 21.9 20 51 30 1JT4-10-12SP 7/8"X14 R3/4"X14 32 30.5 27
1JT-12-16SP 1.1/16"X12 R1"X11 21.9 25.5 57.5 36 1JT4-12-08SP 1.1/16"X12 R1/2"X14 3575 30 27
1JT-14-128P 1.3/16"X12 R3/4"X14 22.6 20 52.5 32 1JT4-12SP 1.1/16"X12 R3/4"X14 3b.5 30.5 27
1JT-14-16SP 1.3/16"X12 R1"X11 22.6 25.5 57.5 36 1JT4-12-16SP 1.1/16"X12 R1"X11 37.5 38 33
1JT-16-12SP 1.5/16"X12 R3/4"X14 23.1 20 53] 36 1JT4-16-12SP 1.5/16"X12 R3/4"X14 38.5 32.5 33)
1JT-16SP 1.5/16"X12 R1"X11 23.1 25.5 59 36 1JT4-16SP 1.5/16"X12 R1"X11 40 40 33
1JT-16-20SP 1.5/16"X12 R1.1/4"X11 23.1 26.5 61.5 46 1JT4-16-20SP 1.5/16"X12 R1.1/4"X11 42 43 41
1JT-20-16SP 1.5/8"X12 R1"X11 24.3 25.5 62.5 46 1JT4-20-16SP 1.5/8"X12 R1'X11 43 42 41
1JT-20SP 1.5/8"X12 R1.1/4"X11 24.3 26.5 63 46 1JT4-20SP 1.5/8"X12 R1.1/4"X11 43 43 41
1JT-20-24SP 1.5/8"X12 R1.1/2!X14 24.3 26.5 66.5 50 1JT4-20-24SP 1:5/8X12 R1.112"X14 46 47.5 48
1JT-24-20SP 1.7/8"X12 R1.1/4!'X11 27.5 26.5 67.5 50 1JT4-24-20SP 1.7/8'X12 R1:1/4"X11 49 45.5 48
1JT-24SP 1.7/8"X12 R1.1/2"X11 27.5 26.5 69.5 50 1JT4-24SP 1.7/8"X42 R1.1/2"X11 49 47.5 48
1JT-24-32SP 1.7/8"X12 R2"X11 27.5 30 73.6 65 1JT4-32SP 2.1/2"X12 R2"X11 58 50 63
1JT-32-24SP 24232 R1.1/2X11 339 | 265 | 775 65 H: BERHERSMII%, STEHRDAAHN, RABSRTESSEANB00, NB500, EFEEHKHN, BARERES S
1JT-32SP 2.1/2"X12 R2"X11 33.9 30 80 65 NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.
i BEBRWHEERTITR. EFERDALGHN, BEAZERAESFEANB200, NB500, EFEEZAXHN, BRABERAELS LR
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J34 J35




0 EFIENT74° EY- Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHIENT74° Y- OEL JIC74° CONE FLARED TUBE ADAPTERS
IS C

or L2TJ-SP
jf | - - L1JTO9-SP
| HEHIMRL/ EHICHBATE N
TR | E— 90° ZTEHIJICHMBLI74° HNE / SEHER SMBLL BSPT MALE /JIC FEMALE 74° SEAT
]I j)@ 90° ELBOW JIC MALE 74° CONE/BSPT MALE
A
®e R~f DIMENSIONS
e R~ DIMENSIONS PART NO. B L
PART NO. B S1 2TJ-02-04SP R1/8"X28 7/16"X20 10 9.5 24 12 17
1JT9-02SP 5/16"X24 R1/8"X28 20.5 21 11 2TJ-04SP R1/4"X19 7/16"X20 14.5 9.5 285 14 17
1JT9-04-02SP 7/16"X20 R1/8"X28 24.5 21 11 2TJ-04-05SP R1/4"X19 1/2"X20 14.5 9 29 14 19
1JT9-04SP 7/16"X20 R1/4"X19 26.6 25.5 14 2TJ-04-06SP R1/4"X19 9/16"X18 14.5 9.5 29.5 14 19
1JT9-04-06SP 7/16"X20 R3/8"X19 27.5 28.5 16 2TJ-06-05SP R3/8"X19 1/2"X20 15 9 29.5 19 19
1JT9-05-02SP 1/2"X20 R1/8"X28 26.6 24 14 2TJ-06SP R3/8"X19 9/16"X18 15 9.5 30.5 19 19
1JT9-05-04SP 1/2"X20 R1/4"X19 26.6 Z515 14 2TJ-06-08SP R3/8"X19 3/4"X16 15 10.8 31.5 19 24
1JT9-05-06SP 1/2"X20 R3/8"X19 275 28.5 16 2TJ-08SP R1/2"X14 3/4"X16 20 10.8 SiA5 22 24
1JT9-06-02SP 9/16"X18 R1/8"X28 26.9 24 14 2TJ-08-10SP R1/2"X14 7/8"X14 20 12 38.5 24 27
1JT9-06-04SP 9/16"X18 R1/4"X19 26.9 25.5 14 2TJ-08-12SP R1/2"X14 1.1/16"X12 20 13 41.5 27 32
1JT9-06SP 9/16"X18 R3/8"X19 28.5 28.5 16 2TJ-12SP R3/4"X14 1.1/16"X12 20 13 41.5 30 32
1JT9-06-08SP 9/16"X18 R1/2"X14 32 36 22 2TJ-12-16SP R3/4"XA4 1.5/16"X12 20 14 43.5 32 41
1JT9-08-04SP 3/4"X16 R1/4"X19 32 28 19 2TJ-16SP R1"X11 1:5/16"X12 255 14 48.5 36 41
1JT9-08-06SP 3/4"X16 R3/8"X19 32 30.5 19 2TJ-20SP R1.1/4"X11 1.518"X12 26.5 15 55 46 50
1JT9-08SP 3/4"X16 R1/2"X14 34.8 37 22 2TJ-24SP R1.1/2"X11 1.7/8"X12 26.5 19 59.5 50 55
1JT9-08-12SP 3/4"X16 R3/4"X14 37.9 43.5 27
1JT9-10-06SP 7/8"X14 R3/8"X19 38 32,5 22
1JT9-10-08SP 7/8"X14 R1/2"X14 37.8 36 22
1JT9-10-12SP 7/8"X14 R3/4"X14 41 435 27 FENUT
1JT9-12-08SP 1.1/16"X12 R1/2"X14 442 40 27 H fTSLfEVE_I' LSJT
1JT9-12SP 1.1/16"X12 R3/4"X14 44.2 43.5 27 g S i ) ) )
1JT9-12-16SP 1.1/16"X12 R1"X11 48 50 33 7 l'-»_.- Dl: RHJICSHRETA" SR/ REENRE
1JT9-16-12SP |  1.5/16"X12 R3/4"X14 49 48 33 JICMALE 74 CONE/BSPTMALE
1JT9-16SP 1.5/16"X12 R1"X11 49 50 33
1JT9-16-20SP 1.5/16"X12 R1.1/4"X11 54 56.5 41 R~ DIMENSIONS
1JT9-20-16SP 1.5/8"X12 R1"X11 55.5 56.5 41 PART NO. L S1
1JT9-20SP 1.5/8"X12 R1.1/4"X11 55.5 56.5 41 5JT-04-02 7/16"X20 Rc1/8"X28 14 30 14
1JT9-24-20SP 1.718"X12 R1.1/4" X1 62.5 61 48 5JT-04 7/16"X20 Rc1/4"X19 14 35R5 19
1JT9-24SP 1.7/8"X12 R1.1/2"X11 65 58 50 5JT-06-04 9/16"X18 Rc1/4"X19 14 .1 35.5 19
1JT9-24-32SP 1.7/8"X12 R2"X11 74.5 67 63 5JT-06 9/16"X18 Rc3/8"X19 14.1 365 22
1JT9-32SP 2.1/2"X12 R2"X11 75.4 67 63 5JT-08-06 3/4"X16 Rc3/8"X19 167 39.5 22
#: BEBRWERSTITR. ETEGDAAHNN, RARERWESKANB00, NB500, EFHRHHHN, RARSEIES M 5JT-08 3LXT8 Ref/2’K14 16.7 | 455 27
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the 5JT-10-08 718" X414 Rc1/2'X14 19.3 48 27
nut NB200 and sleeve NB300 is suitable inch tube. 5JT-12 1.1/16"X12 RC3/4"X14 219 52 5 36
5JT-16 1.5/16"X12 Rc1"X11 23.1 59.5 41

I BEBRHEERTIIR. EFERDARHN, RABERFESFEANB200, NB500, EFEHZAXHN, RABEERTELSAEHR
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J36 J37




0 EHIRNT74° @y O#EL JIC74° CONE FLARED TUBE ADAPTERS JIC74° CONE FLARED TUBE ADAPTERS

© =hiEm74c BEF OEL

4 4 4
A - B i L1JO 2 1L
42 SLEEVE N
W%ﬁ ; ‘&\)?}\77'%'77773 EHJICHBL T4 S/ re #2450 THREAD OB O-RING R~ DIMENSIONS
] o e 2
-7 “ 7 SAE O-RING BOSS L-SERIES ISO 11926-3 1JO-16 1.5/16"X12 1.5/16"X12 0916 23.1 15.1 49 38
1JO-16-12 1.5/16"X12 1.1/16"X12 0912 231 15.1 49.2 36
1JO-16-14 1.5/16"X12 1.3/16"X12 0914 23.1 1544 49 36
R H24 THREAD OF2El O-RING Rt DIMENSIONS 1JO-16-20 1.5/16"X12 1.5/8"X12 0920 23.1 15.1 53 50
PART NO. F F i B L 1J0O-20 1.5/8"X12 1.5/8"X12 0920 243 161 54.5 50
1J0-04-02 7/16"X20 5/16"X24 0902 14 7.5 27.5 14 1JO-20-16 1.5/8"X12 1.5/16"X12 0916 24.3 15.1 52.5 46
1J0-04-03 7/16"X20 3/8"X24 0903 14 7.54 275 14 1J0-20-24 1.5/8"X12 1.7/8"X12 0924 24.3 15.1 54.5 55
1J0O-04 7/16"X20 7/16"X20 0904 14 9.14 29 14 1J0-24 1.7/8"°X12 1.7/8"X12 0924 275 15.1 57.5 55
1J0O-04-05 7/16"X20 1/2"X20 0905 14 914 29 17 1J0-24-20 1.7/8"X12 1.5/8"X12 0920 27.5 15.1 57.5 50
1J0-04-06 7/16"X20 9/16"X18 0906 14 10 30 17 1J0-24-32 1.7/8"X12 2.1/2"X11 0932 27.5 15.1 59.5 70
1J0-04-08 7/16"X20 3/4"X16 0908 14 1143 33 22 1J0O-32 2.1/2"X11 2.1/2"X11 0932 33.9 151 66 70
1J0-05 1/2'X20 1/2"X20 905 L 814 29 17 i BERAEESTITR. EFEEDARHN, BARBRMESSEANB200, NB500, BFEEHHHA, EABSRTES LA
1J0-05-04 1/2"X20 7/16"X20 0904 14 9.14 29 14 NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
1J0-05-06 1/2"X20 9/16"XI8 0906 14 10 30 17 nut NB200 and sleeve NB300 is suitable inch tube.
1J0O-05-08 1/2"X20 3/4"X16 0908 14 11.13 33 22
1J0-06 9/16"X18 9/16"X18 0906 14.1 10 30 17
1J0-06-04 9/16"X18 7/16"X20 0904 14.1 9.14 29 17
1J0-06-05 9/16"X18 1/27X20 0905 14.1 9.14 29.5 17 L1JO-L
1J0O-06-08 9/16"X18 3/4"X16 0908 14.1 11.13 33 22
1J0-06-10 916"X18 7/8"X14 0910 14.1 12.7 37 27 MK E SIICHNB G740 SN /
1J0O-06-12 9/16"X18 1.1/16"X12 0912 14.1 15.1 40 32 EFISAEIMEL THOR B E R FIISO 11926-3
1J0-08 3/4"X16 3/4"X16 0908 16.7 11.13 36 22 LONG JIC MALE 74° CONE/
SAE O-RING BOSS L-SERIES ISO 11926-3
1J0-08-04 3/4"X16 7/16"X20 0904 16.7 9.14 34 22
1J0O-08-06 3/4"X16 9/16"X18 0906 16.7 10 35 22
1J0O-08-10 3/4"X16 7/8"X14 0910 16.7 12.7 40 27 = 247 THREAD OF2E O-RING R~ DIMENSIONS
1J0O-08-12 3/4"X16 1.1/16"X12 0912 16.7 15.1 43 32 PART NO. F F i B L
1J0-08-14 3/4"X16 1.3/16"X12 0914 16.7 1571 43 36 1J0-04L 7/16"X20 7/16"X20 0904 35 9.14 50.5 14
1JO-10 7/8"X14 7/8"X14 0910 19.3 12.7 425 27 1JO-05L 1/2"X20 1/2"X20 0905 37 9.14 52.5 17
1J0-10-08 7/8"X14 3/4"X16 0908 19.3 11.13 39 24 1J0O-06L 9/16"X18 9/16"X18 0906 39.5 9.93 55.5 17
1JO-10-12 7/8"X14 1.1/16"X12 0912 193 15.1 455 32 1J0O-08L 3/4"X16 3/4"X16 0908 48 11.13 67.5 22
1JO-10-14 7/8"X14 1.3/16"X12 0914 19.3 15.1 45.5 36 1JO-10L 7/8"X14 7/8"X14 0910 53 127 76 27
1J0O-12 1.1/16"X12 1.1/16"X12 0912 21.9 15.1 48 32 1JO-12L 1.1/16/"X12 1.1/16"X12 0912 63 15.1 89 32
1J0-12-08 1.1/16"X12 3/4'X16 0908 21.9 11.13 43 30 1JO-16L 1.5/16"X12 1.5/16"X12 0916 72 15.1 100 38
1J0-12-10 1.1/16"X12 7/8'X14 0910 21.9 12.7 45 30 1J0O-20L 1.5/8"X12 1.5/8"X12 0920 88.1 15.1 118 50
1J0-12-14 VRN 1316712 o914 G 48 36 % MERHERSMITE. STEEDAANN, RAEERIESSHANB200, NB500, HFHREHHHM, B&AEDHIES %M
1J0O-12-16 1.17/16"X12 1.5/16"X12 0916 21.9 15.1 48 38 NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
1J0-14 1\316" %12 1)3/16"X12 0914 226 15.1 485 36 nut NB200 and sleeve NB300 is suitable inch tube.
1J0-14-12 1.3/16"X12 1.1/16"X12 0912 22.6 15.1 48.5 32
1JO-14-16 1.3/16"X12 1.5/16"X12 0916 22.6 15.1 50.5 38
PR 0L

J38

J39




0 EFIBNT74° Y Ok  JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

| 2

L1J04-0G s2 L1J09-0G

45° LEFIJICIMNELG74° S/ 90° TEFIJICIHMELZ 74 St/

-
B

£ HISAESMBSHOMBE R 511SO 11926-3 T | I— £ HISAESMESHOR B R FISO 11926-3
45° ELBOW JIC MALE 74° CONE/ J 90° ELBOW JIC MALE 74° CONE/
SAE O-RING BOSS L-SERIES ISO 11926-3 sl SAE O-RING BOSS L-SERIES 1SO 11926-3

rRe 1247 THREAD Of2FE O-RING R~ DIMENSIONS
= 1247 THREAD O O-RING R~F DIMENSIONS PART NO. E F F it B S1

PART NO. F Fif B S1 1J09-04-030G 7/16"X20 3/8"X24 0903 245 28 11 14
1J04-040G 7/16"X20 7/16"X20 0904 21 24 11 17 1J09-040G 7/16"X20 7/16"X20 0904 24.5 28.2 1 17
1J04-04-060G 7/16"X20 9/16"X18 0906 22.3 27.5 14 19 1J09-04-050G 7/16"X20 1/2"X20 0905 26.6 29.9 14 17
1J04-04-080G 7/16"X20 3/4"X16 0908 23.5 31.56 19 24 1J09-04-060G 7/16"X20 9/16"X18 0906 26.6 31.8 14 19
1J04-050G 1/2"X20 1/2"X20 0905 22 26.7 14 17 1J09-05-040G 1/2"X20 7/16"X20 0904 26.6 30 14 17
1J04-05-040G 1/2"X20 7/16"X20 0904 22.3 26 14 17 1J09-050G 1/2"X20 1/2"X20 0905 26.6 29 14 17
1J04-060G 9/16"X18 9/16"X18 0906 23.5 28 14 19 1J09-05-060G 1/2"X20 9/16"X18 0906 26.6 31.8 14 19
1J04-06-040G 9/16"X18 7/16"X20 0904 22.8 26 14 17 1J09-06-040G 9/16"X18 7/16"X20 0904 26.9 32 14 17
1J04-06-050G 9/16"X18 1/2"X20 0905 22.8 26.5 14 17 1J09-06-050G 9/16"X18 1/2"X20 0905 26.9 29.9 14 17
1J04-06-080G 9/16"X18 3/4"X16 0908 23 32.5 19 24 1J09-060G 9/16"X18 9/16"X18 0906 26.9 31.8 14 19
1J04-06-100G 9/16"X18 7/8'X14 0910 25.5 38.5 22 27 1J09-06-080G 9/16"X18 3/4"X16 0908 30 36.8 19 24
1J04-080G 3/4"X16 3/4"X16 0908 25.8 32.5 19 24 1J09-08-040G 3/4"X16 7/16"X20 0904 32 33 19 17
1J04-08-060G 3/4"X16 9/16"X18 0906 255 28 19 19 1J09-08-060G 3/4"X16 9/16"X18 0906 33 33.5 19 19
1J04-08-100G 3/4"X16 7/8"X14 0910 28 38.7 22 27 1J09-080G 3/4"X16 3/4"X16 0908 33 36.8 19 24
1J04-08-120G 3/4"X16 1.1/16"X12 0912 30 43.9 27 32 1J09-08-100G 3/4"X16 7/8"X14 0910 34.8 44 22 27
1J04-100G 7/8"X14 7/8"X14 0910 29.5 38.7 22 27 1J09-08-120G 3/4"X16 1.1/16"X12 0912 37.9 51 27 32
1J04-10-080G 7/8"X14 3/4"X16 0908 29.5 33 22 24 1J09-10-080G 7/8"X14 3/4"X16 0908 38 40 22 24
1J04-10-120G 7/8"X14 1.1/16"X12 0912 33 43.9 27 32 1J09-100G 7/8"X14 7/8"X14 0910 37.8 44 22 27
1J04-120G 1.1/16"X12 1.1/16"X12 0912 34 43.5 27 32 1J09-10-120G 7/8"X14 1.1/16"X12 0912 41 51 27 32
1J04-12-100G 1.1/16"X12 7/8"X14 0910 34 42 27 27 1J09-12-080G 1.1/16"X12 3/4"X16 0908 45 44 27 24
1J04-12-160G 1.1/16"X12 1.5/16"X12 0916 37 45.5 83 41 1J09-12-100G 1.1/16"X12 7/8"X14 0910 44.2 47 27 27
1J04-140G 1.3/16"X12 1.3/16"X12 0914 37 44 30 36 1J09-120G 1.1/16"X12 1.1/16"X12 0912 44.2 51 27, 32
1J04-160G 1.5/16"X12 1.5/16"X12 0916 38 45.5 33 41 1J09-12-160G 1.1/16"X12 1.5/16"X12 0916 47.8 54.5 33 41
1J04-16-120G 1.5/16"X12 1.1/16"X12 0912 38 45 33 32 1J09-140G 1.3/16"X12 1.3/16"X12 0914 A7.5 53 30 36
1J04-16-200G 1.5/16"X12 1.5/8"X12 0920 40.5 47 41 50 1J09-14-160G 1.3/16"X12 1.5/16"X12 0916 485 54.5 33 41
1J04-200G 1:5/8"X12 1.5/8"X12 0920 42 48.5 41 50 1J09-16-120G 1.5/16"X12 1.1/16"X12 0912 48.8 54.5 33 32
1J04-20-240G 1.6/84X12 1.7/8"X412 0924 46 50 48 55 1J09-16-140G 1.5/16"X12 1.3/16"X12 0914 49 56 33 36
1J04-240G 1.718"X12 1.7/8"X12 0924 48 50 48 55 1J09-160G 1.5/16"X12 1.5/16"X12 0916 48.8 54.5 33 41
1J04-320G 2.1/2"X12 2.1/2"X12 0932 58 54 63 70 1J09-16-200G 1.5/16"X12 1.5/8"X12 0920 53.8 59 41 50
1 BBRAEERMI%, STAGDAIAHN, RASSRHESSHANB200, NB500, EFHEHEHN, RABSRHESIS 1206 20 1S 1.58%¢14 \\ \3/16112 0916 555 | %95 41 41
FANB200. NB300, 2 Fin51SO 11926-1 il O04#HE ., Note: 1 Nutand sleeve should be ordered separately. The nut NB200 and sleeve 1J09-200G 1.5/8"X12 1.5/8"X12 0920 55.3 59 41 50
NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube. 2 F endis connected with ISO 11926-1 port. 1J09-20-240G 15/8"%12 17/8"X12 0924 59 4 63 48 55
1J09-240G 1.7/8"X12 1.7/8"X12 0924 62.5 63 48 55
1J09-320G 2.1/2"X12 2.1/2"X12 0932 80 76 63 70

i 1 BEEBRAEESTIIR. EFERDALGN, EABERMESFIEANB200, NB500, EFHE ARG, RABEFRFES AL

FNB200. NB300, 2Fix51SO 119261 O0#fL, Note: 1 Nutand sleeve should be ordered separately. The nut NB200 and sleeve

NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube. 2 Fendis connected with ISO 11926-1 port.

J40 Ja1




0 EHIRNT74° @y O#EL JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

I IS
F
A1
82 LAJJO-0G
L1J09-0G/L
A |© £HIICHE ST SN/
iy 90° %%%IJJICQM?ZI?P 9"%&/ %*USAEQ"&?Q%C”%@&%%E“SO 11926—33E§Eiﬁ
| = M £ BSAES BAHORBR KIS0 11926-3 SAE O-RING B()Jé%'\fAéEgﬁés?ggi/ 26-3 RUN TEE
Y o 90° ELBOW JIC MALE 74° CONE/ - - 926-3 RU
P 81 LONG SAE O—RING BOSS L-SERIES ISO 11926-3

e #2457 THREAD OfE O-RING R~ DIMENSIONS
PART NO. 3 F Fif B s1
1J09-040G/L | 7/16"X20 | 7/16"X20 0904 24.5 44 11 17
1J09-060G/L | 9/16"X18 | 9/16"X18 0906 26.9/ | /52.8 14 19
1J09-080G/L | [3/4"X16 3/4"X16 0908 325 | 635 19 24
1J09-100G/L | |7/81X14 7/8"X14 0910 37.8,/| 734 22 27
1J09-120G/L | 1.1116"X12 || 1.1/16"X12 0912 442 | 848 27 32
1J09-160G/L | 1'5/16"X12 | 1.5/16"X12 0916 49 94.5 33 41

i 1 BBRAEFERTIIE, EFEEDALTN, BEABEBRMESHIEANB200, NB500, EFHEAXRG N, BABZGRAES AT
Note: 1 Nut and sleeve should be ordered separately. The nut NB200 and sleeve

FINB200. NB300,

2 Fix51S0 11926-1 i A E .
NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube.

2 Fendis connected with ISO 11926-1 port.

Ja2

ke #2450 THREAD OB O-RING R~ DIMENSIONS
PART NO. G B © S1
AJJO-040G 7/16"X20 | 7/16"X20 | 7/16"X20 0904 | 245 | 245 | 272 | 11 17
AJJO-050G 1/2"X20 | 1/2"X20 | 1/2"X20 0905 | 26.6 | 26.6 | 29 14 17
AJJO-05-05-040G | 1/2"X20 | 1/2"X20 | 7/16"X20 0904 | 26.6 | 26.6 | 30 14 17
AJJO-060G 9/16"X18 | 9/16"X18 | 9/16"X18 0906 | 26.9 | 26.9-]131.8 | {14 19
AJJO-06-06-040G | 9/16"X18 | 9/16"X18 | 7/16"X20 0904 | 26.9 |(26.9 | 30.1 | 14 17
AJJO-06-06-050G | 9/16"X18 | 9/16"X18 | 1/2"X20 0905 | 269 | 26.9-] /30 14 17
AJJO-06-06-080G | 9/16"X18 | 9/16"X18 | 3/4"X16 0908 30 301375 | 19 24
AJJO-080G 3/4"X16 | 3/4"X16 | 3/4"X16 0908 33 33 | 36.8 | 19 24
AJJO-08-08-060G | 3/4"X16 | 3/4"X16 | 9/16"X18 0906 32 32 | 335 | 19 19
AJJO-08-08-100G | 3/4"X16 | 3/4"X16 | 7/8"X14 0910 | | 34.8 | 348 | 44 22 27
AJJO-100G 7/8"X14 | 7/8"X14 | 7/8"X14 0910 | 37.8 | 378 | 44 22 27
AJJO-10-10-080G | 7/8"X14 | 7/8"X14 | (3/4"X16 0908 | 37.8 | 37.8 | 395 | 22 24
AJJO-120G 1.1/16"X12| 1.1/46"X12| 1.1/16"X12 0912 | 44.2 | 442 | 51 27 32
AJJO-12-12-080G  |1.1/16"X12{1:1/16"X12| |3/4"X16 0908 | 44.2 | 442 | 43 27 24
AJJO-12-12-100G | 1.1/16"X12{ 1. 1/16"X12| 7/8"X14 0910 | 442 | 442 | 49 27 27
AJJO-160G 1.5/16"X1211.5716"X12/ 1.5/16"X12 0916 | 48.8 | 48.8 | 54.5 | 33 41
AJJO-200G 1.5/8"X12, | 1:5/8"X12 | 1.5/8"X12 0920 | 55.3 | 553 | 59 41 50
AJJO-240G 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 0924 | 625 | 625 | 63 48 55

I 1 BEBRFAEESTIIR. EFERDALKN, BEABERHESHIZANB200, NB500, EFEHEAESN, RABEFRFES L
Note: 1 Nut and sleeve should be ordered separately. The nut NB200 and sleeve

FINB200. NB300, 2 Guri51SO 11926-1 il NHHEL

NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube.

2 Gendisconnected with ISO 11926-1 port.

J43




0 EHIRNT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

e S
_ LAJOJ-0G e NUT L1JH
i T T i fesLenve '
. | ‘ N e nris ‘
ssieeve | EFJICIMELT74° S/ T EHIJICIMELTA S/
s 1S s | EHISAESMELHOMEBR EFIISO 11926-35 % =38 . o |—, — AFISMESERRFIISO 6149-3

S-S s N T JIC MALE 74° CONE / : . ' H" I JIC MALE 74° CONE /

SAE O-RING BOSS L-SERIES ISO 11926-3 BRANCH TEE METRIC MALE END L-SERIES ISO 6149-3

=] OB O-RING R~F DIMENSIONS

PART NO. F i B C S1
AJOJ-040G 7/16"X20 | 7/16"X20 | 7/16"X20 0904 24.5 27.2 24.5 11 17
AJOJ-05-04-050G 1/2"X20 | 7/16"X20 1/2"X20 0904 26.6 30 2676 14 17
AJOJ-050G 1/2"X20 1/2"X20 1/2"X20 0905 26.6 29 26.6 14 17
AJOJ-06-04-060G 9/16"X18 | 7/16"X20 | 9/16"X18 0904 26.9 30 26.9 14 17
AJOJ-06-05-060G 9/16"X18 1/2"X20 | 9/16"X18 0905 26.9 30 26.9 14 17
AJOJ-060G 9/16"X18 | 9/16"X18 | 9/16"X18 0906 26.9 31.8 26.9 14 19
AJOJ-08-06-080G 3/4"X16 | 9/16"X18 | 3/4"X16 0906 32 33.5 32 19 19
AJOJ-080G 3/4"X16 3/4"X16 3/4"X16 0908 33 36.8 53] 19 24
AJOJ-10-08-100G 7/8"X14 3/4"X16 7/8"X14 0908 38 40 38 22 24
AJOJ-100G 7/8"X14 7/8"X14 7/8"X14 0910 37.8 44 37.8 22 27
AJOJ-12-08-120G |1.1/16"X12| 3/4"X16 |111/16"X12 0908 45 44 45 27 24
AJOJ-12-10-120G | 1.1/16"X12| 7/8"X14 |1.1/16"X12 0910 44.2 49 44.2 27 27
AJOJ-120G 1.1/16"X42}1.1/16"X12|1.1/16"X12 0912 44.2 51 44.2 27 32
AJOJ-160G 1.5/16"X12(1.5/16"X12|1.5/16"X12 0916 48.8 54.5 48.8 33 41
AJOJ-20-16-200G 1.5/8"X12 1.5/16"X12| 1.5/8"X12 0916 55.5 59.5 55.5 41 41
AJOJ-200G 1.5/8"X12- 15/8"X12 | 1.5/8"X12 0920 55.3 59 55.3 41 50
AJOJ-240G 1.7/8"X127| 1.7/8"X12 | 1.7/8"X12 0924 62.5 63 62.5 48 55

T 1 BEBRAEESRTIIS. EFEREDALHN, EABRBRHESHIEANB200, NB500, EFHEAZRGN, RABERFES AT
Note: 1 Nut and sleeve should be ordered separately. The nut NB200 and sleeve
NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube.

FINB200. NB300, 2 Fir5ISO 11926-1 if O4HAL,

2 F endis connected with ISO 11926-1 port.

L20J

EHISAESMR G HOR EIZ R F11SO 11926-3 /

EFHJICHEL 74 A

SAE O-RING BOSS L-SERIES ISO 11926-3/

JIC FEMALE 74° SEAT

) #2457 THREAD OfE O-RING R~ DIMENSIONS
PART NO. F Fif B L
1JH-04-10 7/16"X20 M10X1 008.1X1.6 | 14 8.5 28.5 14
1JH-04-12 7/16"X20 | M12X1.5 009.3X2.4 | 14 11 31 17
1JH-04-14 7/16"X20 | M14X1.5 011.3X2.4 14 11 31 19
1JH-05-10 1/2"X20 M10X1 008.1X1.6 | 14 8.5 29 14
1JH-05-12 1/2"X20 M12X1.5 009.3X2.4 | 14 11 31 17
1JH-05-14 1/2"X20 M14X1.5 011.3X2.4 14 1 33 19
1JH-06-14 9/16"X18 | M14X1.5 011.3X2.4 | 14.1 11 31 19
1JH-06-16 9/16"X18 | M16X1.5 013.3X2.4 | 14.1 1.5 | /335 22
1JH-06-18 9/16"X18 | M18X1.5 015.3X24 (|~ 141 | | 125 1| 34.5 24
1JH-08-14 3/4"X16 M14X1.5 Of1.3X2.4 | 167 1 38 22
1JH-08-16 3/4"X16 M16X1.5 013.3X2.4 | 1677 | 115 36 22
1JH-08-18 3/4"X16 M18X1.5 015.3X2.4 | 16.7 | 125 37 24
1JH-08-22 3/4"X16 M22X1.5 019.3X2.4 | 16.7 13 39.5 27
1JH-10-16 7/8"X14 M16X1.5 013.3x2.4 | 19.3 | 115 41 24
1JH-10-18 7/8"X14 M18X1.5 015.3X2.4 | 193 | 125 40 24
1JH-10-22 7/8"X14 M22x1.5 019.3X2.4 | 19.3 13 42 27
1JH-12-22 159/16"X12. 7 M22x1.5 019.3X2.4 | 21.9 13 475 30
1JH-12-27 1.1M6"X12- > _M27X2 023.5X3.0 | 21.9 16 51.5 32
1JH-16-27 1.5/16"X12- " M27X2 023.5X3.0 | 23.1 16 52.5 36
1JH-16-33 1.5/16"X12 | M33X2 029.5X3.0 | 23.1 16 52 41
1JH-20-42 1.5/8"X12 M42X2 038.5X3.0 | 24.3 16 58 50
1JH-24-48 1.7/8"X12 M48X2 044.5X3.0 | 275 | 175 63 55

F: 1 BEBRHMEERTITR. EFERDALHN, BERABZRMAESHEANB200, NB500, EFEFARGN, EABERFAESFIE

FINB200., NB300,

2 FiR AT 5180 99741 M O4HE, XiE#E51SO 6149-1jl O1HAL,
separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube.

is fit for ISO 9974-1 port or ISO 6149-1 port when useless of retaining ring.

Note: 1 Nut and sleeve should be ordered

2 Fend

re #2471 THREAD O2FE O-RING R~F DIMENSIONS

PART NO. F Eif L

20J-04 7/16"X20 7/16"X20 0904 9.1 9.5 23 14 17
20J-05 1/2"X20 1/2"X20 0905 9.1 9 235 17 19
20J-06 9/16"X18 9/16"X18 0906 9.93 9/5 25.5 17 19
20J-08 3/4"X16 3/4"X16 0908 1A 10.8 29.5 22 24
20J-10 7/8"X14 7/8"X14 0910 12.7 12 34 27 27
20J-12 1.1/16"X12 1.1/16"X12 0912 151 13 38.5 32 32
20J-14 1.3/16"X12 1.3/16"X12 0914 15.1 15 38.5 36 36
20J-16 1.5/16!'X12 1.5/16"X12 0916 1561 14 38.5 38 41
20J-20 1.5/8"X12 1.5/8"X12 0920 1561 15 44 50 50

Ja4

J45




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

L1JH4-0G L1JH9-0G

90° TEHIJICIMNEL74° HhsE/
oIS B2 S AT [ A iR 32 R 51SO 6149-3
90° ELBOW JIC MALE 74° CONE /
METRIC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3

45° TEFIJICIMBLG74° e/
N EISMZGUAT I AR R F1ISO 6149-3
45° ELBOW JIC MALE 74° CONE/
METRIC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3

1247 THREAD O O-RING R~ DIMENSIONS
PART NO. F Fif B S1 1247 THREAD Of2F& O-RING R~ DIMENSIONS
1JH4-04-100G 7/16"X20 M10X1 008.1X1.6 21.5 23.5 11 14, PART NO. F F i B S1
1JH4-04-120G 7/16"X20 M12X1.5 009.3X2.4 21.5 27.5 11 17 1JH9-04-100G 7/16"X20 M10X1 008.1X1.6 24.5 27.5 1" 14
1JH4-04-140G 7/16"X20 M14X1.5 011.3X2.4 22.3 28.3 14 19 1JH9-04-120G 7/16"X20 M12X1.5 009.3X2.4 24.5 30.3 11 17
1JH4-05-120G 1/2"X20 M12X1.5 009.3X2.4 22.3 28.3 14 17 1JH9-04-140G 7/16"X20 M14X1.5 011.3X2.4 26.6 32 14 19
1JH4-05-140G 1/2"X20 M14X1.5 011.3X2.4 22.3 28.3 14 19 1JH9-05-100G 1/2"X20 M10X1 008.1X1.6 26.5 28.5 14 14
1JH4-06-140G 9/16"X18 M14X1.5 011.3X2.4 22.8 28.3 14 19 1JH9-05-120G 1/2"X20 M12X1.5 009.3X2.4 26.5 32 14 17
1JH4-06-160G 9/16"X18 M16X1.5 013.3X2.4 22 29 16 22 1JH9-05-140G 1/2"X20 M14X1.5 011.3X2.4 26.5 32 14 19
1JH4-08-160G 3/4"X16 M16X1.5 013.3X2.4 26.8 30 19 22 1JH9-06-140G 9/16"X18 M14X1.5 011.3X2.4 26.9 32 14 19
1JH4-08-180G 3/4"X16 M18X1.5 015.3X2.4 26.8 31 19 24 1JH9-06-160G 9/16"X18 M16X1.5 013.3X2.4 28 34.8 16 22
1JH4-10-160G 7/8"X14 M16X1.5 013.3X2.4 31 31 22 22 1JH9-06-180G 9/16"X18 M18X1.5 015.3X2.4 30 37 19 24
1JH4-10-180G 7/8"X14 M18X1.5 015.3X2:4 31 32 22 24 1JH9-08-160G 3/4"X16 M16X1.5 013.3X2.4 32 38 19 22
1JH4-10-220G 7/8"X14 M22X1.5 01973X2.4 3l 33] 22 27 1JH9-08-180G 3/4"X16 M18X1.5 015.3X2.4 33 38 19 24
1JH4-12-220G 1.1/16"X12 M22X1.5 019.3X2.4 35.5 34.5 27 27 1JH9-08-220G 3/4"X16 M22X1.5 019.3X2.4 34.8 40.2 22 27
1JH4-12-270G 1.1/16"X12 M27X2 023.5X3.0 35.5 39.5 27 32 1JH9-10-160G 7/8"X14 M16X1.5 013.3X2.4 38 38 22 22
1JH4-16-270G 1.5/16"X12 M27X2 023.5X3.0 38.5 41 33 32 1JH9-10-180G 7/8"X14 M18X1.5 015.3X2.4 38 39.5 22 24
1JH4-16-330G 1.5/16"X12 M33X2 029.5X3.0 38.5 41.5 33 41 1JH9-10-220G 7/8"X14 M22X1.5 019.3X2.4 38 42.5 22 27
1JH4-20-420G 1.5/8"X12 M42X2 038.5X3.0 43 45 41 50 1JH9-12-220G 1.1/46"X12 M22X1.5 019.3X2.4 45 44 27 27
1JH4-24-480G 1.7/8"X12 M48X2 044.5X3.0 49 49.5 48 55 1JH9-12-270G 1. 1/164X12 M27X2 023.5X3.0 44.2 48.5 27 32
#: 1 MBRNERSTIIN. ETARDALAHN, RARBRIENILANB200, NB500, HFHAEHKHA, RARERHES ik 1JH9-16-270G | 1.5(N"24Z 1 ~M27X2 023.5X3.0 | 49 52 3 32
FINB200. NB300, 2Fiff[5I1SO9974-1 M O4HAL, X#HE5ISO6149-1iiO4HE ., Note: 1 Nutand sleeve should be ordered 1JH9-16-330G 1.5/16"X12 M33X2 029.5X3.0 49 52.5 33 41
.ser.Jarater.The nut NB200 and sleeve NB500 is suitable formetriF: Fube., the nut NB200 and sleeve NB300 is suitable inch tube. 2 Fend 1JH9-20-420G 1.5/8"X12 M42X2 038.5X3.0 555 57.2 41 50
is fit for ISO 99741 port or ISO 6149-1 port when useless of retaining ring.
1JH9-24-480G 1.7/8"X12 M48X2 044.5X3.0 62.5 62.5 48 55
F 1 BEBREEESRTITR, EFERDALNKE, EABEZSRFENFEANB200, NB500, EFHEZAXF N, RAEZSRFED AT
FINB200, NB300, 2FimA[51S0 99741 M OHMHE, XHLHE5ISO6149-1iO4HE, Note: 1 Nutand sleeve should be ordered
separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube. 2 Fend
is fit for ISO 9974-1 port or ISO 6149-1 port when useless of retaining ring.

J46 Ja7




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS

@ INUT LAJJH-0G

#1 4£SLEEVE

EHIJICHMEL74° SME /A HISMRLL
AT EARERFISO6149-3FE X =@
JIC MALE 74° CONE /METRIC MALE

ADJUSTABLE STUD END L-SERIES ISO
6149-3 RUN TEE

OB O-RING R~F DIMENSIONS

© =hiEm74c BEF OEL

JIC74° CONE FLARED TUBE ADAPTERS

B SRERENUT

HESLEEVE R
AN e L1JG

zed [

EHJICHMRGT74° S/ RESMEYORE

JIC MALE 74° CONE/BSP MALE O-RING

S1

PART NO. G 5 c =~ ke #2457 THREAD O O-RING R~t DIMENSIONS
AJJH-04-04-100G | 7/16"X20 | 7/16"X20 | M10X1 008.1X1.6| 24.5 | 245 | 265 | 14 14 AARITING: £ £ Fifi L
AJJH-04-04-120G | 7/16"X20 | 7/16"X20 | M12X1.5 009.3X2.4| 26.5 | 26.5 | 32,5/ /14 17 14G-04-02 7/16"X20 G1/8"X28 oot 14 95 31 )
AJJH-05-05-120G | 1/2"X20 | 1/2"X20 | M12X1.5 009.3X2.4| 26.5 | 26.5 1< 32 14 17 1JG-04 7/16"X20 GramX19 o 14 1 32.5 19
AJJH-05-05-140G | 1/2"X20 | 1/2"X20 | M14X1.5 011.3X2.4 | 26.5 | 265 | 32 14 19 1JG-04-06 7/16"X20 G3/8"X19 ons 14 s 34 22
AJJH-06-06-140G | 9/16"X18 | 9/16"X18 | M14X1.5 011.3X2.4 | 27 27 32 14 19 1JG-04-08 7/16"X20 G214 oms 14 4 39 27
AJJH-06-06-160G | 9/16"X18 | 9/16"X18 | M16X1.5 013.3%24 28 28 /3455 | 16 22 1JG-05-04 1/2"X20 GramX19 ot 14 1 3R 19
AJJH-08-08-160G | 3/4"X16 | 3/4"X16 | M16X1.5 015.3x2.4| 32 32 36 19 22 1JG-05-06 1/2"X20 G3/8"™X19 o1 14 118 36 22
AJJH-08-08-180G | 3/4"X16 | 3/4"X16 | M18X1.5 015.3X2.4 | 32 32 37 19 24 1JG-05-08 1/2"X20 G1/2X14 opns 14 i 39 27
AJJH-10-10-180G | 7/8"X14 | 7/8"X14 | M18X1.5 015.3X2.4 |~ 38 38 | 395 | 22 24 1JG-06-04 9/16"x18 G1/4"™X19 ot 1A m S 19
AJJH-10-10-220G | 7/8"X14 | 7/8"X14 | M22X1.5 019:3X2.4 | 37.8 | 37.8 | 402 | 22 27 1JG-06 9/16"x18 G3/8"xX19 qns 14.1 ms 34 22
AJJH-12-12-220G  [1.1/16"X12|1.1/16"X12| M22X1,5 019.3X2.4 | 44 44 44 27 27 1JG-06-08 9/16"X18 G1rx14 o115 141 14 39 27
AJJH-12-12-270G  [1.1/16"X12|1AM6"X12| M27X2 023.5X3.0| 44 44 | 485 | 27 32 1JG-08-04 34 X18 G14"™19 o 16.7 1 36 22
AJJH-16-16-270G | 1.5/16"X12|1.5/16"X12| M27X2 023.5X3.0| 49 49 52 33 32 1JG-08-06 SRXNS ki k) o113 16.7 s 87 22
AJJH-16-16-330G | 1.5/16"X12}1.5/16"X12 | _-M33X2 029.5X3.0| 49 49 | 525 | 33 41 1JG-08 K215 G1/2X14 o115 16.7 14 42 27
AJJH-20-20-420G | 1.5/8"X12[ 1:5/8"X12 | M42X2 038.5X3.0| 55.5 | 55.5 | 57.2 | 41 50 1JG-08-12 S8 b NEs o119 16.7 155 44 32
AJJH-24-24-480G | 1.7/8"X12-[1.7/8"X12 | M48X2 044.5X3.0 | 62.5 | 62.5 | 62.5 | 48 55 1JG-10-06 7/8"X14 G3/8"™X19 o113 19.3 s 40.5 24

E: 1 EBRAEERMIIL, STHEHADAAHN, BRABERIESFEANB200, NB500, EFHEAANKHN, RABBRIENFER 1J6-10-08 res erzxas ore 193 " 249 A

NB200. NB300, 2 G 51S0 9974-1 i O#HE, £#{4E51S06149-1 O#AE. Note: 1 Nutand sleeve should be ordered 1JG-10-12 7/8"X14 G3/4"X14 o119 19.3 15.5 48:5 32

separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube. 2 Gend 1JG-12-08 1.1/16"X12 G1/2"X14 0115 21.9 14 49 30

is fitfor ISO 9974-1 port or ISO 6149-1 port when useless of retaining ring. 14G-12 1.1/16"X12 G3/4"X14 o119 219 156 495 32

1JG-12-16 1.1/16"X12 G1"X11 0217 21.9 18 54 41
1JG-12-20 1.1/16"X12 G1.1/4"X11 0222 21.9 20 57 50
1JG-16-12 1.5/16"X12 G3/4"X14 o119 23.1 188 52.5 36
1JG-16 1.5/16"X12 G1"X11 0217 23.1 18 55 41
1JG-16-20 1.5/16"X12 G1.1/4"X11 0222 23.1 20 58 50
1JG-20-16 1.5/8"X12 G1"X11 0217 24.3 18 58 46
1JG-20 1.5/8"X12, G1.1/4"X11 0222 24.3 20 59.5 50
1JG-24-16 1.7/8"X12 G1"X11 0217 27.5 18 63.5 50
1JG-24-20 1.7/8"X12 G1.1/4"X11 0222 27.5 20 65.5 50
1JG-24 1.7/8"X12 G1.1/2"X11 0224 27.5 21.5 64 55
E: BRERAEESMIIK. ETERDALHN, EAESRTENFIEANB200, NB500, EFHAAKHN, RAESRAES %A
NB200., NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J48 J49




0 EHIRNT74° @y O#EL JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

L1JG4-0G
L1JG9-0G
45° TEFIIICIMEL74° M/ EHEIMELORE
45° ELBOW JIC MALE 74° CONE / BSP MALE O-RING

90° TWEHIJICHIZL74° S/ HEIMELORE
90° ELBOW JIC MALE 74° CONE /BSP MALE O-RING

1247 THREAD O O-RING R~ DIMENSIONS
PART NO. E F Fif B S1 = 247 THREAD Of2F& O-RING R~ DIMENSIONS

1JG4-040G 7/16"X20 G1/4"X19 o111 21 28 14 19 PART NO. = F F i B S1
1JG4-05-040G 1/2"X20 G1/4"X19 o111 21 28 14 19 1JG9-040G 7/16"X20 G1/4"X19 10.77X2.62 26.6 315 14 19
1JG4-06-040G 9/16"X18 G1/4"X19 o111 22 28 14 19 1JG9-04-020G 7/16"X20 G1/8"X28 7.65X1.78 245 26.2 11 14
1JG4-060G 9/16"X18 G3/8"X19 0113 28 32 19 22 1JG9-04-060G 7/16"X20 G3/8"X19 13.94X2.62 275 36.8 16 22
1JG4-08-060G 3/4"X16 G3/8"X19 0113 26.8 31 19 22 1JG9-05-040G 1/2"X20 G1/4"X19 10.77X2.62 26.5 318 14 19
1JG4-080G 3/4"X16 G1/2"X14 Q115 27 36 22 27 1JG9-05-060G 1/2"X20 G3/8"X19 13.94X2.62 27.5 35.8 16 22
1JG4-10-080G 7/8"X14 G1/2"X14 0115 295 38 22 27 1JG9-05-080G 1/2"X20 G1/2"X14 17.12X2.62 31.5 43.2 22 27
1JG4-100G 7/8"X14 G5/8"X14 0910 29.5 38 22 30 1JG9-060G 9/16"X18 G3/8"X19 13.94X2.62 28.5 35.8 16 22
1JG4-12-100G 1.1/16"X12 G5/8"X14 0910 34 38.5 27 30 1JG9-06-040G 9/16"X18 G1/4"X19 10.77X2.62 2679 31.3 14 19
1JG4-12-160G 1.1/16"X12 G1"X11 0217 37.5 44 33 41 1JG9-06-080G 9/16"X18 G1/2"X14 17.12X2:62 32.5 43.2 22 27
1JG4-120G 1.1/46"X12 G3/4"X14 0119 34 42 27 32 1JG9-080G 3/4"X16 G1/2"X14 17.12X2.62 34.8 43.2 22 27
1JG4-16-120G 1.5716"X12 G3/4"X14 0119 38 44 33 32 1JG9-08-040G 3/14"X16 G1/4"X19 10.77X2.62 32 33.5 19 19
1JG4-160G 1.5/16"%12 G1"X11 0217 38 44 33 41 1JG9-08-060G 3/4"X16 G3/8"X19 13.94X2.62 32 36.8 19 22
1JG4-200G 1:5/8"X12 G1.1/4"X11 0222 43 47.5 41 50 1JG9-08-120G 3/4"X16 G3/4"X14 23.47X2.62 37.9 49.3 27 32
1JG4-240G 1.718"X12 G1.1/2"X11 0224 49 51.5 48 55 1JG9-100G 718"X14 G5/8"X14 19.18X2.62 36.8 445 22 30
#: 1 BBRAERSTIIN, BFHADAANN, RARSRTENIEANB200, NB500, HFHEHEHN, RARERTEN Ik 169-10-0406 | 7/8°X14 GUA"X19 10.77X262 | 368 %6 22 12
FANB200. NB300, 2 Fim5DIN 3852iiO0#HE, Note: 1 Nutand sleeve should be ordered separately. The nut NB200 and sleeve 1JG9-10-060G 7/8"X14 G3/8"X19 13.94X2.62 37.8 39.2 22 22
NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube. 2 F endis connected with DIN 3852 port. 1JG9-10-080G 7/8"X14 G1/2"X14 17.12X2.62 378 43.2 2 27
1JG9-10-120G 7/8"X14 G3/4"X14 23.47X2.62 41 4933 27 32
1JG9-120G 1.1/16"X12 G3/4"X14 23.47X2.62 44:2 493 27 32
1JG9-12-080G 1.1/16"X12 G1/2"X14 17.12X2.62 44.2 46.5 27 27
1JG9-12-160G 1.1/16"X12 G1"X11 29.74X3.53 48 53 33 41
1JG9-160G 1.5/16"X12 G1"X11 29.74X3.53 49 53 33 41
1JG9-16-120G 1.5/16"X12 G3/4"X14 23.47X2.62 49 53 33 32
1JG9-16-200G 1.5/16"X12 G1.1/4"X11 37.69X3.53 53.8 58 41 50
1JG9-200G 1.5/8"X12 G1.1/4"X11 37.69X3.53 55.5 58 41 50
1JG9-20-160G 1°5/8"X12 G1'X11 29.74X3.53 55.5 58 41 41
1JG9-24-160G 1.7/8"X12 G1"X11 29.74X3.53 62.5 63 48 41
1JG9-24-200G 1.7/8"X12 G1.1/4"X11 37.69X3.53 62.5 63 48 50
1JG9-240G 1.7/8"X12 G1.1/2"X11 44.04X3.53 62.5 63 48 55

i 1V BERHEESTIIR, EFEEDALGN, BERAERRHESHILZANB200, NB500, EFEEZ ARG, MABERFAESFIE
FANB200. NB300, 2 Fix5DIN 3852iiO0#HE, Note: 1 Nutand sleeve should be ordered separately. The nut NB200 and sleeve
NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube. 2 F endis connected with DIN 3852 port.

J50 J51




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS

© =HnEm74 gEy OEL

JIC74° CONE FLARED TUBE ADAPTERS

[ I
F 74"
— o L
TTT | A P
A Il : _T o i NUT
s2 g8l | . _ o | (4 LAJGJ-0G 11l ; — LAJJG-0G
: ' i ] 31 7 | ; N H fESLEEVE
; —— - ‘ g Voo dd M G T s e
el —adu o LA EHJIICIMELTA S/ EBENEFORBES Z=1E u--t--m‘gﬂEH]u"” RHJICHRLTA Shek [ RESNRAOBBEEL =8
{ ] 8 JIC MALE 74° CONE /BSP MALE O-RING BRANCH TEE ' A L S § JIC MALE 74° CONE /BSP MALE O-RING RUN TEE
1
a8 ¢
re OF%B O-RING R~t DIMENSIONS re OF%E O-RING R~F DIMENSIONS
PART NO. Fis B o} S1 PART NO. Gi# B © S1
AJGJ-04-02-040G | 7/16"X20 | G1/8"X28 | 7/16"X20 0011 245 | 26.2 | 24.5 11 14 AJJG-040G 7/16"X20 | 7/16"X20 | G1/4"X19 0111 26.6 | 26.6 | 31.9 14 19
AJGJ-040G 7/16"X20 | G1/4"X19 | 7/16"X20 o111 26.6 | 31.8 | 26.6 14 19 AJJG-05-05-040G 1/2"X20 | 1/2"X20 | G1/4"X19 0111 26.6 | 26.6 | 31.3 14 19
AJGJ-05-02-050G 1/2"X20 | G1/8"X28 | 1/2"X20 0011 26.6 29 26.6 14 14 AJJG-05-06-040G 1/2"X20 | 9/16"X18 | G1/4"X19 0111 26.6-7| 26.9 /7 31.3 14 19
AJGJ-05-04-050G 1/2"X20 | G1/4"X19 | 1/2"X20 0111 26.6/| 81.8 11266 14 19 AJJG-060G 9/16"X18 | 9/16"X18 | G3/8"X19 o113 28.5/| 28.5 355 16 22
AJGJ-06-04-060G | 9/16"X18 | G1/4"X19 | 9/16"X18 0111 27 31 27 14 19 AJJG-06-06-040G | 9/16"X18 | 9/16"X18 | G1/4"x19 0111 26.9 | /26.9.131.3 14 19
AJGJ-060G 9/16"X18 | G3/8"X19 | 9/16"X18 0113 28.5) 35.8— 28.5 16 22 AJJG-08-08-060G 3/4"X16 | 3/4"X16 /| G3/8"X19 0113 32 32 36.8 19 22
AJGJ-08-06-080G 3/4"X16 -G3/8"X19 | 3/4"X16 0113 32 36.8 32 19 22 AJJG-080G 374"X16 | \3/4"X16/ | G1/2"X14 o115 35 35 43.2 22 27
AJGJ-080G 3/4"X16 )\ | G1/2"X14 | 3/4"X16 0115 35 43.2 35 22 27 AJJG-10-10-080G 7I8"X14, | 7/8"X14 | G1/2"X14 0115 37.8 | 37.8 | 43.2 22 27
AJGJ-10-08-100G 7I8VX14\_| G1/2"X14 | '718/X14 0115 37.8 | 435 | 37.8 22 27 AJJG-120G 1.1/16"X1211.1/16"X 12+~ G3/4"X14 0119 44 44 49.5 27 32
AJGJ-120G 1.4/16"X42|_G3/4"X14 |1.1/16"X12 0119 44.2 51 44.2 27 32 AJJG-160G 1.5/16"%121.5/16"X12| G1"X11 0217 48.8 | 48.8 53 33 41
AJGJ-160G 1.5/16"X12| G1"X11 |1.5/16"X12 0217 48.8 | 53 | 488 | 33 41 E: 1 EBRAEEBMIS. ETHADAAHN, RAEBRMESFEANB200, NB500, EFHEAKHN, BABERIES I
1 MBRHERSAIT R, ETEEDALNMN, RABERHESIEANB200, NB500, HEFHEHXHN, RAGTRHES SR FiNB200. NBS00. 2 GISSDIN 8852i CARC, Mote: 1 Nut and sleeve should be ordered soparately. The nut NB200 and slecve
FINB200. NB300, 2 Fi#5DIN 3852ii [#8% ., Note: 1 Nutand sleeve should be ordered separately. The nut NB200 and sleeve Is suitable for metric tube, the nut andsleeve Is suitable inch tube. endis connected wit port.
NB500 is suitable for metric tube, the nut NB200 and sleeve NB300 is suitable inch tube. 2 F endis connected with DIN 3852 port.

J52

J53




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS

I I
L B_
_A._' — -~ o /\\
w w74

L2GJ

HEIMELGOME / EHIJICHIRL74° #EBSP
MALE O-RING /JIC FEMALE 74° CONE

© =HEm74e sgEH OEL

JIC74° CONE FLARED TUBE ADAPTERS

L1JB-WD

EHJICHINELG 74 S/ HEISMEG R B EE
JIC MALE 74° CONE /BSP MALE CAPTIVE SEAL

e #2247 THREAD OB O-RING R~ DIMENSIONS
PART NO. 3 F Ei L
2GJ-04 G1/4"X19 | 7/16"X20 | 10.77X2.62 11 9.5 26.5 19 17
2GJ-04-05 G1/4"X19 1/2"X20 | 10.77X2.62 11 9 275 19 19
2GJ-04-06 G1/4"X19 | 9/16"X18 | 10.77X2.62 11 9.5 27.5 19 19
2GJ-06 G3/8"X19 | 9/16"X18 | 13.94X2.62 11.5 9.5 305 22 19
2GJ-06-08 G3/8"X19 | 3/4"X16 | 13.94X2.62 1.5 1 10.8 173265 22 24
2GJ-08 G1/2"X14 | 3/4"X16 | 17.12X2.62 14 10.8 [| 375 27 24
2GJ-08-06 G1/2'X14 | 9/16"X18 | 17.12X2.62 14 9.5 35.5 27 19
2GJ-08-10 G1/2'X14 | 7/8"X14 | 17.12X2.62 14 12 38 27 27
2GJ-12 G3/4"X14 | 1.1/16"X12_|23.47X2.62 155 13 39 32 32
2GJ-12-08 G3/4"X14 | _3/4"X16 || 23/47X2:62 155 | 10.8 39 32 24
2GJ-12-10 G3/4"X14 |\ 7/8"X14 || 23/47X2:62 15.5 12 40.5 32 27
2GJ-12-16 G3(4"X14,\ [-1)5/16"X12 | 23.47X2.62 15.5 14 39 32 41
2GJ-16 G1'X14 -/ \1.5(16"X12 | 29.74X3.53 18 14 46.5 41 41
2GJ-20 G1.1/4'X11 [ 1:5/8"X12 | 37.69X3.53 20 15 54.5 50 50
2GJ-24 G1.1/2"X11 | 1.7/8"X12 | 44.04X3.53 21.5 19 57.5 55 55

J54

) #2457 THREAD Bt CAPTIVE R~ DIMENSIONS
PART NO. F Fif B L
1JB-04-02WD | 7/16"X20 | G1/8"X28 WD-B02 14 8 295 14
1JB-04WD 7/16"X20 | G1/4"X19 WD-B04 14 12 34 19
1JB-04-06WD | 7/16"X20 | G3/8"X19 WD-B06 14 12 34.5 22
1JB-04-08WD | 7/16"X20 | G1/2"X14 WD-B08 14 14 41 27
1JB-05-04WD 1/2"X20 G1/4"X19 WD-B04 14 12 34 19
1JB-05-06WD 1/2"X20 G3/8"X19 WD-B06 14 12 34.5 22
1JB-06-02WD | 9/16"X18 | G1/8"X28 WD-B02 141 8 29.5 17
1JB-06-04WD | 9/16"X18 | G1/4"X19 WD-B04 14.1 12 34 19
1JB-06WD 9/16"'X18 | G3/8"X19 WD-B06 14.1 12 34.5 22
1JB-06-08WD | 9/16"X18"\ | G1/2"X14 WD-B08 14.1 14 41 27
1JB-08-04WD | | 3/41X16 G1/4"X19 WD-B04 16.7 12 37 22
1JB-08-06WD | \3/4"X16 G3/8"X19 WD-B06 16.7 12 37.5 22
1JB-08WD 3(4"X16 G1/2"X14 WD-B08 16.7 14 435 27
1JB-10-08WD |  7/8"°X14 G1/2"X14 WD-B08 19.3 14 46.5 27
1JB-10-12WD |  7/8"X14 G3/4"X14 WD-B12 19.3 16 47.5 32
1JB-12-08WD | 1.1/16"X12 | G1/2"X14 WD-B08 21.9 14 48.5 30
1JB-12WD 1.1/16"X12 | G3/4"X14 WD-B12 21.9 16 50 32
1JB-12-16WD | 1.1/16"X12 |  G1"X11 WD-B16 21.9 18 56 41
1JB-16-12WD | 1.5/16"X12 | G3/4"X14 WD-B12 23.1 16 53 36
1JB-16WD 1.5/16"X12 | G1"X11 WD-B16 231 18 57 41
1JB-16-20WD | 1.5/16"X12 | G1.1/4"X71 WD-B20 23.1 20 61 50
1JB-20-16WD | 1.5/8"X12 G1'X11 WD-B16 24.3 18 58 46
1JB-20WD 15/81X12, \[\ G1.1/4"X]11 WD-B20 24.3 20 62 50
1JB-20-24WD | 1.5/81X12, |\ 'G1.1/2"X11 WD-B24 24.3 22 64 55
1JB-24-20WD | 1.7/8"X12 |~ G1.1/4"X11 WD-B20 27.5 20 65.5 50
1JB-24WD 1.708°X12 | G1.1/2"X11 WD-B24 275 22 67.5 55

i BEBRHESESTITR. EFEEDAXHN, RABERFESFEANB200, NB500, EFEZAXRGE, RAZERAESFER
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

nut NB200 and sleeve NB300 is suitable inch tube.

J55




0 EHIRNT74° @y O#EL JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

I I 4
£ #LENUT L
RS SLEEUE\ \ A B
4 ey \.J..._‘._ = L5JB KINUT 2 L1JF
\[_ | ] L | EHIICHMBETE S/ EERRL " \ QES £HUICIMEETA SN/ ORFSIERE
g\ \ : N JIC MALE 74° CONE/BSP FEMALE =" — :LHJ_H_L JIC MALE 74° CONE/ORFS MALE

re 1247 THREAD R~ DIMENSIONS re 124 THREAD O#2FE O-RING R~ DIMENSIONS

PART NO. E F L S1 PART NO. F Fif B L

5JB-04 7/16"X20 G1/4"X19 14 33 19 1JF-04 7/16"X20 9/16"X18 7.65X1.78 14 10 29.5 17
5JB-04-02 7/16"X20 G1/8"X28 14 31 14 1JF-05-06 1/2"X20 11/16"X16 9.25X1.78 14 112 31.% 19
5JB-04-06 7/16"X20 G3/8"X19 14 35.5 22 1JF-06 9/16"X18 11/16"X16 9.25X1.78 14.1 1.2 31 19

5JB-06 9/16"X18 G3/8"X19 14.1 35 22 1JF-08 3/4"X16 13/16"X16 12.42X1.78 16.7 13 3.5 22
5JB-06-08 9/16"X18 G1/2"X14 141 39.5 27 1JF-10 7/8"X14 1"X14 15.6X1.78 19.3 15.5 44.5 27

5JB-08 3/4"X16 G1/2"X14 16.7 44 27 1JF-12 11/16"X12 1.3/16"X12 18.77X1/78 21.9 17 50 32
5JB-08-10 3/4"X16 G5/8"X14 16.7 46 30 1JF-16 1.5/16"X12 1.7/16"X12 23.52X1.78 231 17.5 51.5 38
5JB-10-12 7/8"X14 G3/4"X14 19.3 48 32 1JF-20 1.5/8"X12 1.11/16"X12 29.87X1.78 24.3 17.5 54.5 46

5JB-12 1.1/16"X12 G3/4"X14 21.9 50 36 1JF-24 1.7/8"%X12 2"X12 37.82X1.78 27.5 17.5 60 55
Sl 2eE U UE ez &) 20 e e il #: BEBRAEESTITH. FEEDARHN, KARBRIESFIEANB200, NB500, HFEEHHHA, RAEERTESFLA

5JB-16 1.5/16"X12 G1"X11 231 52.5 41 NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
5JB-16-20 15/16"X12 G1.1/4"X11 231 57 50 nut NB200 and sleeve NB300 is suitable inch tube.

5JB-20 1,5/8"X1.2 G1.1/4"X11 24.3 57 50

5JB-24 1.7/8"X12 G1.1/2"X11 27.5 62 55

5JB-32 2.1/2"X12 G2"X11 33.9 67 70

it BEBRWEERTITR. EFERDALHN, BRAZERFESAEANB200, NB500, EFEEAXHN, RABERAELS LR
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J56 J57




0 EHIRNT74° @y O#EL JIC74° CONE FLARED TUBE ADAPTERS 0 EHNRNT74° #my Ok JIC74° CONE FLARED TUBE ADAPTERS

4 4 .
R W L
= #5 NUT L1JL A B B L1JM
., \I
EHIJICHMRLG 74 SMNE / I SMBSUE & H 74 (/ ik e ™ ]‘ EHIJICHMRLG 74 S/ N HISMBL60° HHE
JIC MALE 74° CONE/METRIC MALE WITH BONDED SEAL : / JIC MALE 74° CONE/METRIC MALE 60° SEAT

51

= 1247 THREAD EHE SEAL R~ DIMENSIONS re 124 THREAD R~ DIMENSIONS
PART NO. F Fif B L PART NO. E F B L
1JL-04-10 7/16"X20 M10X1 ZHD-10 14 8 29 17 1JM-04-10 7/16"X20 M10X1 14 8 29 14
1JL-04-12 7/16"X20 M12X1.5 ZHD-12 14 12 32.5 17 1JM-04-12 7/16"X20 M12X1.5 14 10 31 17
1JL-06-12 9/16"X18 M12X1.5 ZHD-12 14.1 12 33.5 17 1JM-04-14 7/16"X20 M14X1.5 14 1" 32 19
1JL-06-14 9/16"X18 M14X1.5 ZHD-14 14.1 12 32 19 1JM-05-10 1/2"X20 M10X1 14 8 29 14
1JL-06-18 9/16"X18 M18X1.5 ZHD-18 14.1 12 35.5 24 1JM-05-12 1/2"X20 M12X1.5 14 10 30 17
1JL-06-22 9/16"X18 M22X1.5 ZHD-22 14.1 14 38 27 1JM-05-14 1/2"X20 M14X1.5 14 11 32 19
1JL-08-16 3/4"X16 M16X1.5 ZHD-16 16.7 12 37 22 1JM-06-12 9/16"X18 M12X1.5 14.1 10 31 17
1JL-08-18 3/4"X16 M18X1.5 ZHD-18 16-7 12 37.5 24 1JM-06-14 9/16"X18 M14X1.5 14.1 11 33 19
1JL-08-22 3/4"X16 M22X15 ZHD-22 16.7 14 40.5 27 1JM-06-16 9/16"X18 M16X1.5 14.1 12 35 22
1JL-10-18 7/8"X14 M18X1.5 ZHD-18 1953 12 40.5 24 1JM-06-18 9/16"X18 M18X1.5 14.1 12 34 24
1JL-10-22 718"X14 M22X1.5 ZHD-22 19.3 14 43 27 1JM-08-16 3/4"X16 M16X1.5 167 12 37.5 22
1JL-12-22 1.1/16"X12 M22X1.5 ZHD-22 21.9 14 48.5 30 1JM-08-18 3/4"X16 M18X1.5 16.7 12 36.5 24
1JL-12-27 1.1/16"X12 M27X2 ZHD-27 21.9 16 49 36 1JM-08-20 3/4"X16 M20X1-5 16.7 14 41 27
1JL-16-33 1.5/16"X12 M33X2 ZHD-33 23.1 18 56 41 1JM-08-22 3/4"X16 M22X1.5 16.7 14 41 27
% BERHERSMI%, STHROAAHMN, RABSRTESIEANB200, NB500, EFEEHKHMN, BARERES 5% 1JM-10-20 UL S M20xX11.5 19.3 14 44 27
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the 1JM-10-22 7/8"X14 M22X1.5 19.3 14 43.5 27
nut NB200 and sleeve NB300 is suitable inch tube. 1JM-10-26 7/8"X1 4 M26X1°5 19.3 16 47.5 32
1JM-12-20 1.1/116"X12 M20X1.5 21.9 14 47 30
1JM-12-22 1.1/16"X12 M22X1.5 21.9 14 47 30
1JM-12-26 1.1/16"X12 M26X1.5 21.9 16 50 32
i BERHEESTIIR, EFERDARHE, BABESRMAESEANB200, NB500, EFHEAXFN, EABESRHAENAEA
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

J58 J59




0 EHIENT74° @y Ok JIC74° CONE FLARED TUBE ADAPTERS

S NUT

HE SLEEVE

L1JM-WD

EHJICIMREG T4 SME/ NEISMEG R EE

JIC MALE 74° CONE/METIRC MALE CAPTIVE SEAL

© =hiEm74c BEF OEL

JIC74° CONE FLARED TUBE ADAPTERS

S1
=] #2471 THREAD B:# CAPTIVE R~F DIMENSIONS
PART NO. E F Fif B L
1JM-04-10WD 7/16"X20 M10X1 WD-B02 14 8 29.5 14
1JM-04-12WD 7/16"X20 M12X1.5 WD-M12 14 12 34 17
1JM-05-14WD 1/2"X20 M14X1.5 WD-B04 14 12 34 19
1JM-06-14WD 9/16"X18 M14X1.5 WD-B04 14.1 12 34 19
1JM-06-18WD 9/16"X18 M18X1.5 WD-M18 141 12 36.5 24
1JM-06-20WD 9/16"X18 M20X1.5 WD-M20 14.1 14 40.5 27
1JM-08-18WD 3/4"X16 M18X1.5 WD-M18 16.7 12 39 24
1JM-08-20WD 3/4"X16 M20X1.5 WD-M20 16.7 14 43 27
1JM-08-22WD 3/4"X16 M22X1.5 WD-M22 16,7 14 43.5 27
1JM-10-18WD 7/8"X14 M18X1.5 WD-M18 193 12 41.5 24
1JM-10-20WD 7/8"X14 M20X1.5 WD-M20 1973 14 45.5 27
1JM-10-22WD 7/8"X14 M22X1.5 WD-M22 19.3 14 46 27
1JM-12-20WD 1.1/16"X12 M20X1.5 WD-M20 21.9 14 48.5 30
1JM-12-22WD 1.1/16"X12 M22X1.5 WD-M22 21.9 14 49 30
1JM-12-26WD 1.1/16"X42 M26X1.5 WD-B12 21.9 16 52 32
1JM-12-27WD 1A716%X12 M27X2 WD-B12 21.9 16 52 32
1JM-16-26WD 1.5/16"X12 M26X1.5 WD-B12 23.1 16 53 36
1JM-16-33WD 1.5/16"X12 M33X2 WD-B16 23.1 18 57 41
1JM-20-42WD 1.5/8"X12 M42X2 WD-B20 24.3 20 62 50
1JM-20-48WD 1.5/8"X12 M48X2 WD-B24 24.3 22 64 55
1JM-24-48WD 1.7/8"X12 M48X2 WD-B24 27.5 22 67.5 55

I BEBRWHEESITITR. EFERDALHE, BRABERFESAEANB200, NB500, BEFEEZAXH, BRABERGESAER
Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

NB200, NB300,

nut NB200 and sleeve NB300 is suitable inch tube.

J60

I

VTN

S2
\ oo </_
LNB200
L
JICHZ i}
= § JIC LOCK NUT
L
re #247 THREAD B #12E INCH SLEEVE A#HEE METRIC SLEEVE R~ DIMENSIONS
PART NO. = EFH5ME 0D.  HERKRES NO. &F5ME OD.  #HERKE NO. L S2
NB200-04 7/16"X20 1/4" NB300-04 6 NB500-06 15.8 4, 14
NB200-05 1/2"X20 5/16" NB300-05 8 NB500-08 123 T 17
NB200-06 9/16"X18 3/8" NB300-06 10 NB500-10 18/5 | 19
NB200-08 3/4"X16 1/2" NB300-08 12 NB500:12 216 | 24
NB200-10 7/8"X14 14 NB500-14 24.9 | 27
NB200-10 7/8"X14 15 NB500-15 249 | 27
NB200-10 7/8"X14 5/8" NB300-10 16 NB500-16 249 | 27
NB200-12 1.1/16"X12 3/4" NB300-12 18 NB500-18 26.2 | 32
NB200-12A 1.1/16"X12 20 NB500-20A 26.2 | 32
NB200-14 1.3/16"X12 20 NB500-20 27.7 | 36
NB200-14 1.3/16"X12 718" NBB00-14 22 NB500-22 27.7 | 36
NB200-16 1.5/16"X12 1" NB300-16 25 NB500-25 28.7 | 38
NB200-20 1.5/8"X12 28 NB500-28 31.2 | 50
NB200-20 1.5/8"X12 30 NB500-30 31.2 | 50
NB200-20 1.5/8"X12 1.1/4" NB300-20 32 NB500-32 31.2 | 50
NB200-24 1.7/8"X12 35 NB500-35 36.1 60
NB200-24 1.7/8"X12 1.1/2" NB300-24 38 NB500-38 36.1 60
NB200-32 2.1/2"X12 2" NB300-32 50 NB500-50 445 | 75
J61




0 EHIENT74° @y O#EL JIC74° CONE FLARED TUBE ADAPTERS

L

LNB300

JICEHEE
JIC INCH SLEEVE

© =HEZONMEFEZHORFSEL ORFS ADAPTERS

EHIENOKMBEEZITORFSHEL ORFS Adapters

=] 1247 THREAD &EF5MZE TUBEO.D. R~F DIMENSIONS

PART NO. E in L

NB300-04 7/16"X20 1/4" 9.7 10.4
NB300-05 1/2"X20 5/16" 1.3 12
NB300-06 9/16"X18 3/8" 1275 12.7
NB300-08 3/4"X16 1/2" 17.32 14.2
NB300-10 7/8"X14 5/8" 20.24 16.8
NB300-12 1.1/16"X12 3/4" 24.69 17.3
NB300-14 1.3/16"X12 7/8" 27.7 19.3
NB300-16 1.5M16*X12 1" 30.8 19.8
NB300-20 1.5/8"X12 1.1/4" 38.96 23.1
NB300-24 1.7/8"X12 1.1/2" 45.25 28.4
NB300-32 2:112"X12 2" 61.19 30.2

L
LNB500
(@]

JICAHEE
JIC METRIC SLEEVE

re #2450 THREAD &F5M2 TUBEO.D. R~} DIMENSIONS

PART NO. 3 L

NB500-06 7/16"X20 6 9.7 10.4
NB500-08 1/2"X20 8 1.3 1422
NB500-10 9/16"X18 10 12.7_{"\/12/7
NB500-12 3/4"X16 12 173\ 142
NB500-14 7/8"X14 14 202 /| 1168
NB500-15 7/8"X14 15 20.2/ |/ 16.8
NB500-16 7/8"X14 16 202 | 16.8
NB500-18 1.1/16"X12 18 2469 | 173
NB500-20 1.3/16"X12 20 277 | 19.3
NB500-22 1.3/16"X12 22 277 | 19.3
NB500-25 1.5/16"X12 25 308 | 19.8
NB500-28 1.5/8"X12 28 38.96 | 23.1
NB500-30 1.5/8"X12 30 38.96 | 23.1
NB500-32 175/8"X12 32 38.96 | 23.1
NB500-35 1.7/8"X42 35 45.25 | 28.4
NB500-38 1.7/8"X12 38 45.25 | 28.4
NB500-50 2.1/2"X12 50 61.2 | 30.2

L1F L1F9 LAF L2F L2F4 L2F9
K02 K03 K03 K04 K05 K05
LCF L3F L4F LOF L6F L6F4
K06 K06 K07 K07 K08 K08
L6F9 LAF6FF LAFF6F L8F L1FN L1F4
K09 K09 K10 K10 K11 K12
L1FN9 L1FH L1FH4-0G L1FH9-0G LAFFH-OG LAFHF-OG
K13 K14 K15 K15 K16 K16
L1FO L1FO4-0G L1FO9-0G LAFFO-0G LAFOF-0OG L20OF
K17 K18 K19 K20 K21 K22
L20F9-0G L1FG L1FG4-0G L1FG9-0G LAFFG-0G LAFGF-0G
K22 K23 K24 K25 K26 K26
LNB200-F LNB300-F LNB500-F
K27 K27 K28

J62




@ =HEZONMEFEEZHORFSEL ORFS ADAPTERS
4

L1F

EHORFSHME GO, B F | % £
ORFS MALE O-RING

ke #24 THREAD OB O-RING R~t DIMENSIONS
PART NO. E F Eif Fifh L S
1F-04 9/16"X18 9/16"X18 0011 0011 10 10 27.5 17
1F-04-06 9/16"X18 11/16"X16 0011 0012 9.8 1.2 29.7 19
1F-04-08 9/16"X18 13/16"X16 0011 0014 9.8 12.8 32.5 22
1F-06 11/16"X16 11/16"X16 0012 0012 1.2 1.2 311 19
1F-06-08 11/16"X16 13/16"X16 0012 0014 1.2 12.8 33.8 22
1F-06-10 11/16"X16 1"X14 0012 0016 11.2 1575 38 27
1F-08 13/16"X16 13/16"X16 0014 0014 13 13 35.4 22
1F-08-10 13/16"X16 1"X14 0014 0016 12.8 15,5 40 27
1F-08-12 13/16"X16 1.3/16"X12 0014 0018 12.8 17 43 32
1F-10 1"X14 1"X14 0016 0016 1575 15.5 42.5 27
1F-10-12 1"X14 1.3/16"X12 0016 Q018 15.5 17 45.5 32
1F-12 1.3/16"X12 1.3/16"X12 0018 Q018 17 17 47 .1 32
1F-12-16 1.3/16"X12 1.7/16"X12 Q018 0021 17 17.5 45.5 38
1F-12-20 1.3/16"X12 1.11/16"X12 Q018 0025 17 17.5 50.5 46
1F-16 1.7/16"X12 1.7/16"X12 0021 0021 17.5 17.5 49.3 38
1F-16-20 1.7116"X12 1.11/16"X12 0021 0025 17.5 17.5 51.3 46
1F-16-24 N7/16"X12 2"X12 0021 0029 17.5 17.5 53 55
1F-20 1.1116"X12 1:11/16"X12 0025 0025 17.5 17.5 51.3 46
1F-20-24 1.11/16"X12 2"X12 0025 0029 17.5 17.5 53 55
1F-24 2"X12 2"X12 0029 0029 17.5 17.5 53 55

© =HEZONMEFEZHORFSEL ORFS ADAPTERS

L1F9

90° ZEHIORFSHMELON B F = =
90° ELBOW ORFS MALE O-RING

A

re #8240 THREAD OB O-RING R~ DIMENSIONS
PART NO. E F = Fi B S1
1F9-04 9/16"X18 9/16"X18 0011 0011 23 23 14
1F9-04-06 9/16"X18 11/16"X16 0011 0012 25.5 27 19
1F9-06 11/16"X16 11/16"X16 0012 0012 27.5 27.5 19
1F9-06-08 11/16"X16 13/16"X16 0012 Q014 29 341 22
1F9-08 13/16"X16 13/16"X16 0014 Q014 31 31 22
1F9-08-12 13/16"X16 1.3/16"X12 0014 0018 35.5 40.3 30
1F9-10 1"X14 1"X14 0016 0016 36.5 36.5 27
1F9-12 1.3/16"X12 1.3/16"X12 0018 0018 41 41 30
1F9-16 1.7/16"X12 1.7/16"X12 0021 0021 44.5 44.5 36
1F9-20 1.11/16"X12 1.117/16"X12 0025 0025 47.5 47 .5 41
1F9-24 2"X12 2"X12 0029 0029 53.5 53.5 50

F
51 LAF

= HORFSHMELOFEFTHEZH=E
ORFS MALE O-RING TEE

A
=" THREAD O, O-RING <} DIMENSIONS
PART NO. F F s C S1
AF-04 9/16"X18 9/16"X18 9/16"X18 O011 oM [lo)k| 23 23 23 14
AF-06 11/16"X16 11/16"X16 11/16"X16 0012 0012 0012 27 27 27 19
AF-08 13/16"X16 13/16"X16 13/16"X16 o014 Q014 0014 31 31 31 22
AF-10 1"X14 1"X14 1"X14 o016 o016 0016 36.5 36/5 36.5 27
AF-12 1.3/16"X12 1.3/16"X12 1.3/16"X12 Q018 Q018 0018 40.3 40.3 40.3 30
AF-16 1.7/16"X12 1.7/16"X12 1.716"X12 0021 0021 0021 44.5 44.5 44.5 36
AF-20 1.11/16"X12 1.114/16"X12 1.11/16"X12 0025 0025 0025 47.5 47.5 47.5 41
AF-24 2"X12 2"X12 2"X12 0029 0029 0029 53.5 53.5 53.5 50




@ =5EMOWMEFEEIHIORFSEL ORFS ADAPTERS

@ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS

51

S2

L2F4

45° BEFIORFSHMELON B FHEZ £ / EHORFSHIRLL
45° ELBOW ORFS MALE O-RING / ORFS FEMALE

re #57 THREAD OF%H O-RING Rt DIMENSIONS
PART NO. E F Eim B S1
2F4-04 9/16"X18 9/16"X18 0011 18.3 7.5 14 19
2F4-06 11/16"X16 11/16"X16 0012 20,5 9.5 19 22
2F4-08 13/16"X16 13/16"X16 0014 24 11/5 22 27
2F4-10 1"X14 1"X14 0016 28 12/5 27 32
2F4-12 1.3/16"X12 1.3/16"X12 0018 30.7 13 30 36
2F4-16 1.7/16"X12 1.7/16"X12 0021 33 14 36 41
2F4-20 1.11/16"X12-1.11/16"X12 0025 35.5 15 41 50
_F
|
m%
L2F9

{ |

90° TEHIORFSHIMNEL O B FEZH / EFHIORFSHIELL
90° ELBOW ORFS MALE O-RING / ORFS FEMALE

- 4 I
L B
A
55
. : . L2F
= EHIORFSHMELOF B FEZH / EHIORFSH MR 4L
S1 59 ORFS MALE O-RING / ORFS FEMALE

e #2457 THREAD O O-RING R~} DIMENSIONS
PART NO. F Eif B L

2F-04 9/16"X18 9/16"X18 0011 9.8 7.5 33 17 19
2F-04-06 9/16"X18 11/16"X16 0011 9.8 9.5 34.5 17 22
2F-04-08 9/16"X18 13/16"X16 0011 9.8 11.5 36.5 19 27
2F-06-04 11/16"X16 9/16"X18 0012 11.2 1.5 355 19 19

2F-06 11/16"X16 11/16"X16 0012 11.2 9.5 38.5 19 22
2F-06-08 11/16"X16 13/16"X16 0012 /.2 11.5 37.7 19 27
2F-06-10 11/16"X16 1"X14 0012 11.2 12.5 43.7 24 32
2F-08-06 13/16"X16 11/16"X16 0014 12.8 9.5 41 22 22

2F-08 13/16"X16 13/16"X16 0014 12.8 11.5 43 22 27
2F-08-10 13/16"X16 1"X14 0014 12.8 12.5 455 24 32
2F-08-12 13/16"X16 1.3/16"X12 0014 12.8 13 49 30 36
2F-10-08 1"X14 13/16"X16 0016 15.5 11.5 47 .5 27 27

2F-10 1"X14, 1"X14 0016 15.5 12.5 51.5 27 32
2F-10-12 1"X14 1.3/16"X12 0016 15.5 13 51.5 30 36
2F-10-16 1"X14 1.7/16"X12 0016 15.5 14 56 36 41
2F-12-08 1.3/16"X12 13/16"X16 0018 17 11.5 50.5 32 27
2F-12-10 1.3/16"X12 1"X14 0018 17 12.5 545 32 32

2F-12 1.3/16"X12 1.3/16"X12 0018 17 13 56 32 36
2F-12-16 1.3/16"X12 1.7/16"X12 0018 17 14 58 36 41
2F-16-12 1.7/16"X12 1.3/16"X12 0021 17.5 13 58 38 36

2F-16 1.7/16"X12 1.7/16"X12 Q021 175 14 60 38 41
2F-16-20 1.7/16"X12 1.11/16"X12 0021 17.5 15 58 41 50
2F-20-16 1.11/16"X12 1T7/16"X12 0025 17.5 14 58.5 46 41

2F-20 1.11/16"X12 4.11/16"X12 0025 17.5 15 58 46 50
2F-20-24 1.11/16"X12 2"X12 0025 17.5 17 65.5 50 60
2F-24-20 2"X12 1:11/16"X12 0029 17.5 15 64 55 50

2F-24 2"X12 2"X12 0029 17.5 17 61.5 55 60

A
r= 1247 THREAD O, O-RING R~F DIMENSIONS

PART NO. E F Eif B S1

2F9-04 9/16"X18 9/16"X18 oo0M 23 7.5 14 19
2F9-04-06 9/16"X18 11/16"X16 0011 23 9.5 14 22
2F9-06-04 11/16"X16 9/16"X18 0012 27.5 7.5 19 19

2F9-06 11/16"X16 11/16"X16 0012 27.5 9.5 19 22
2F9-06-08 11/16"X16 13/16"X16 0012 27 11.5 19 27
2F9-08-06 13/16"X16 11/16"X16 0014 31 95 22 22

2F9-08 13/16"X16 13/16"X16 0014 31 1.5 22 27
2F9-10-08 1"X14 13/16"X16 0016 36.5 11.5 27 27

2F9-10 1"X14 1"X14 0016 36.5 12.5 27 32
2F9-10-12 1"X14 1.3/16"X12 0016 36.5 13 27 36

2F9-12 1.3/16"X12 1.3/16"X12 0018 41 13 30 36
2F9-12-16 1.3/16"X12 1.7/16"X12 0018 42.5 14 33 41
2F9-16-12 1.7/16"X12 1.3/16"X12 0021 44.5 13 36 36

2F9-16 1.7/16"X12 1.7/16"X12 0021 44.5 14 36 41

2F9-20 1.11/16"X12 1.11/16"X12 0025 475 15 41 50

2F9-24 2"X12 2"X12 0029 53.5 17 50 60




@ =HEZONMEFEEZHORFSEL ORFS ADAPTERS
4 4

© =HEZONMEFEZHORFSEL ORFS ADAPTERS
.

L
A

LCF L4F

Z£HIORFSIMELOF B FHEZE / EHORFSHBYEXZE
ORFS MALE O-RING / ORFS FEMALE RUN TEE

Z FIORFSHMELUIE L
ORFS MALE PLUG

Ke #84; THREAD OB O-RING R+ DIMENSIONS Ke #84; THREAD OB O-RING R~ DIMENSIONS
PART NO. F Eir F i B C S1 PART NO. Eirm L S1
CF-04 9/16"X18 9/16"X18 9/16"X18 0011 0011 23 23 7.5 14 19 4F-04 9/16"X18 7.65X1.78 9.8 16.8 17
CF-06 11/16"X16 11/16"X16 11/16"X16 0012 0012 27.5 271.% 9.5 19 22 4F-06 11/16"X16 9.25X1.78 11.2 19.2 19
CF-08 13/16"X16 13/16"X16 13/16"X16 0014 0014 31 31 11.5 22 27 4F-08 13/16"X16 12.42X1.78 12.8 21.8 22
CF-10 1"X14 1"X14 1"X14 0016 0016 36.5 36.5 12:5 27 32 4F-10 1"X14 156X1.78 15.5 259 27
CF-12 1.3/16"X12 1:3116"X12 1.3/16"X12 0018 0018 40:3 40.3 13 30 36 4F-12 1.3/16"X12 18/77X1.78 17 27.4 32
CF-16 1.7/16"X12 1. 7/16'X12 1.7/16"X12 Q021 0021 44 .5 44 .5 14 36 41 4F-16 117/16"X12 23.52X1.78 175 27.9 38
CF-20 1.11/16"X12 | 1:11/16"X12 | 1.114/16"X12 0025 0025 47.5 47.5 15 41 50 4F-20 1.11/146"X12 29.87X1.78 17.5 279 46
CF-24 2"X12 2"X12 2"X12 0029 0029 5385 5385 17 50 60 AF-24 2"%12 37.82X1.78 17.5 27.9 55
SHORFSHBAL £ HIORFSH ML 3L
ORFS FEMALE ORFS FEMALE PLUG
S2
g2 #2247 THREAD R~ DIMENSIONS
PART NO. E F B L R 1247 THREAD R~ DIMENSIONS

3F-04 9/16"X18 9/16"X18 7.5 7.5 33.5 19 19 PART NO. E L S2
3F-06 11/16"X16 11/16"X16 9.5 9-5 40.5 22 22 9F-04 9/16"X18 12.5 19
3F-08 13/16"X16 13/16"X16 11.5 1145 44.5 27 27 9F-06 11/16"X16 13 22
3F-10 1"X14 1"X14 12/5 12.5 52.5 30 32 9F-08 13/16"X16 11 14 27
3F-12 1.3/16"X12 1.3/16"X12 13 13 56 36 36 9F-10 1"X14 125 15 30
3F-16 1.7/16"X12 1.7/16"X12 14 14 60 41 41 9F-12 1.3/16"X12 13 16 36
3F-20 1.11/16"X12 +1.11/16"X12 15 15 59.5 50 50 9F-16 1:7/16"X12 14 18 41
3F-24 2"X12 2"X12 17 17 64 60 60 9F-20 1.11/16"X12 15 19 50
9F-24 2"X12 15 21 60

Ko7




@ =5EMOWMEFESEIHORFSEL ORFS ADAPTERS @ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS

M

L
A | | B

= -—-H—-—-m MM_ % HIORFSHME SO B T E & £ 5 472 -
. $2 s
L6F

ORFS MALE O-RING BULKHEAD

90° L X HIORFSHMEL O B F mF & i iz sk
90° ELBOW ORFS MALE O-RING BULKHEAD

R 247 THREAD

O O-RING R~F DIMENSIONS

L6F9-LN

PART NO. E Eif F i B L
6F-04 9/16"X18 9/16"X18 7.65X1.78 7.65X1.78 9.8 32 48.2 22 22 1247 THREAD O [E O-RING R~ DIMENSIONS
6F-06 11/16"X16 11/16"X16 9.25X1.78 9.25X1.78 11.2 34 53.2 27 27 PART NO. F Eif F i B S1
6F-08 13/16"X16 13/16"X16 12.42X1.78 12.42X1.78 12.8 36.5 58.3 30 30 6F9-04 9/16"X18 9/16"X18 0011 0011 23 47 14 22
6F-10 1"X14 1"X14 15.6X1.78 15.6X1.78 15.5 40.6 66,6 36 36 6F9-06 11/16"X16 11/16"X16 0012 0012 27.5 52 19 27
6F-12 1.3/16"X12 1:3116"X12 18.77X1.78 18.77X1/78 17 4177 69.2 38 38 6F9-08 13/16"X16 13/16"X16 0014 0014 31 55.5 22 30
6F-16 1.7/16"X12 1.7/16"X12 23.52X1.78 23.52x1.78 17.5 42.2 70.2 46 46 6F9-10 1"X14 1"X14 0016 Q016 36.5 63 27 36
6F-20 1.11/16"X12 1.11/16"X12 29.87X1.78 29.87X1.78 17.5 42.2 70.2 50 50 6F9-12 1.3/16"X12 1.3/16"X12 0018 0018 41 67.2 30 38
6F-24 2"X12 2"X12 37.82X1.78 37.82X1.78 17.5 422 70.2 60 60 6F9-16 1.7/16"X12 || \1.7/16"X12 0021 0021 44.5 71.2 36 46
FWMEEHBEEITR, WEERSE “LN” , fW6F-16LN, 6F9-20 1.11/16"X127 1.11/16"X12 0025 0025 47.5 75.5 41 50
Note:In case if you are interested to order the adapter in complete set with lock nut, itis necessary toinsert 6F9-24 2"X12 2"X12 0029 0029 53.5 79.5 50 60
suffix “LN” after our part no.,for example 6F-16LN.
EMEFPRITE, WEERSE “LN” , 16F9-16LN, HiEKSAH8F,
Note:In case if you are interested to order the adapter with lock nut, please insert suffix “LN” after
our partno., forexample 6F9-16LN, The lock nut NO. is 8F.

F =
O - =
| - | S =
% I 5 o~
: v
T S
. i 3
Iy ‘ rad! by
w 45° £ HIORFSIMELION B F EE HTH 3k 1 A .
1 et P
45° ELBOW ORFS MALE O-RING BULKHEAD Y 5 IO N7 — | vl i
_ | £ $IORFSHMESONE FETHITRIE LS X =18
L6F4 L6F4-LN b & ) (o ORFS MALE O-RING BULKHEAD BRANCH TEE
. LAFG6FF LAF6FF-LN
=] 147 THREAD O O-RING R~ DIMENSIONS
PART NO. F Eifg F i B S1 =] 147 THREAD O O-RING R~ DIMENSIONS
6F4-04 9/16"X18 9/16"X18 0011 0011 18.5 42.4 14 22 PART NO. F Eifg F i Gif
6F4-06 11/16"X16 11/16"X16 0012 0012 205 48.5 19 27 AF6FF-04 9/16"X18 9/16"X18 9/16"X18 0011 0011 0011 23 47 23 14 22
6F4-08 13/16"X16 13/16"X16 0014 0014 24 51 22 30 AF6FF-06 11/16"X16 11/16"X16 11/16"X16 0012 0012 0012 27 52 27 19 27
6F4-10 1"X14 1"X14 0016 0016 28 56,6 27 36 AF6FF-08 13/16"X16 13/16"X16 13/16"X16 0014 0014 0014 31 55.5" 31 22 30
6F4-12 1.3/16'X12 1.3/16"X12 0018 0018 30.7 60.7 30 38 AF6FF-10 1"X14 1"X14 1"X14 0016 0016 0016 36.5 | /63 |36.5 27 36
6F4-16 1.7/16"X12 1.7/16"X12 0021 0021 33 65.2 36 46 AF6FF-12 1.3/16"X12 1.3/16!'X12 1.3/16"X12 0018 0018 Q018 41 67.2 |41 30 38
FIESSEITE, WEBEERER “LN” , WM6F4-16LN, 8K E H8F, AF6FF-16 1.7/16"X12 1.7/16"X12 1.7/16"X42 0021 0021 0021 445 | 71.2 |44.5 36 46
Note:In case if you are interested to order the adapter with lock nut, please insert suffix “LN” after AF6FF-20 1.11/16"X12 1 11116"X 12 1.11/16"X12 0025 0025 0025 475 | 75.5 |47.5 41 50
our part no., forexample 6F4-16LN, The lock nut NO. is 8F.
AF6FF-24 2"X12 2"X12 2"X12 0029 0029 0029 53.5 | 79.5 |53.5 50 60

EMEEPRITE, WEERSRFE “LN” , WAF6FF-16LN, $#ifFRE48F,
Note:In case if you are interested to order the adapter with lock nut, please insert suffix “LN” after
our partno., forexample AF6FF-16LN, The lock nut NO. is 8F.




© =HIEHONEFEELHORFSHEL ORFS ADAPTERS @ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS

4
. .
T S1 | | HiEELOCK NUT & /JV f,

L1FN

S2

ZHIORFSIMEL O B FHEE T / HHEE IMEL
ORFS MALE O-RING /NPT MALE

EFIORFSHMEGOME FHZHIMEXEL =8

ORFS MALE O-RING BULKHEAD RUN TEE S E/‘
S1
LAFFG6F LAFF6F-LN
rR= 124 THREAD Of2FE O-RING R~ DIMENSIONS
R 1247 THREAD O O-RING R~F DIMENSIONS PART NO. F Eir B L
PART NO. F Eufy F sy Gif B C S1 1FN-04-02 9/16"X18 Z1/8"X27 0011 9.8 10.5 26.5 17
AFF6F-04 9/16"X18 9/16"X18 9/16"X18 0011 0011 0011 23 23 47 14 22 1FN-04 9/16"X18 Z1/4"X18 0011 9.8 15 30.5 17
AFF6F-06 11/16"X16 11/16"X16 11/16"X16 0012 0012 0012 27 27 52 19 27 1FN-04-06 9/16"X18 Z73/8"X18 0011 9.8 16 31.5 19
AFF6F-08 13/16"X16 13/16"X16 13/16"X16 0014 0014 0014 31 31 55.5 | 22 30 1FN-06-04 11/16"X16 Z1/4"X18 0012 1.2 15 32 19
AFF6F-10 1"X14 1"X14 1"X14 0016 0016 0016 | 36.5 36/5 | 63 27 36 1FN-06 11/16"X16 Z3/8"X18 0012 1.2 16 33.5 19
AFF6F-12 1.3/16"X12 1.8/16"X12 1.3/16"X12 0018 0018 0018 41 41 67.2 | 30 38 1FN-06-08 11/16"X16 Z1/2"X14 0012 1.2 19.5 39 24
AFF6F-16 1.7/16"X12 1.7/16"X12 1.7/16"X12 0021 0021 0021 | 445 | 445|712 | 36 46 1FN-08-04 13/16"X16 Z1/4"X18 0014 12.8 15 36 22
AFF6F-20 1.11/16" X142 11.11/16/'X12_|-4-11716"X12 0025 0025 0025 | 47.5 | 475 | 755 | 41 50 1FN-08-06 13/16"X16 Z3/8"X18 0014 12.8 16 36.5 22
AFF6F-24 2"X12 2"X12 2"X12 0029 0029 0029 | 53.5 | 53.5| 79.5 | 50 60 1FN-08 13/16"X16 Z1/2"X14 0014 12.8 19.5 40 24
EMEFPEITE, WEAERSE “LN” , WAFF6F-16LN, #iE8RK S A8F, 1FN-08-12 13/16"X16 Z3/4"X14 0014 128 19.5 425 30
Note:In case if you are interested to order the adapter with lock nut, please insert suffix “LN” after 1FEN-10-08 1"X14 Z1/2"X14 0016 15.5 19.5 45 27
our part no., forexample AFF6F-16LN, The lock nut NO. is 8F. 1EN-10-12 1"X14 73/4"X14 0016 155 19.5 45 30
1FN-12-08 1.3/16"X12 Z1/2"X14 0018 17 19.5 46.5 32
1FN-12 1.3/16"X12 Z3/4"X14 0018 17 19.5 47 32
A 1FN-12-16 1.3/16"X12 Z1"X11.5 0018 17 255 53.5 36
W 1FN-16-12 1.7/16"X12 Z3/4"X14 0021 17.5 19.5 48 38
1FN-16 17116"X12 Z1"X11.5 0021 17.5 25.5 53.5 38
1FN-16-20 1.716"%12 Z1:1/4"X11.5 0021 17.5 26.5 57 46
() L8SF 1FN-20-16 1.1116"X12 Z1"X11.5 0025 17.5 25.5 56 46
1FN-20 1.11/16"X12 | Z1.1/4"X11.5 0025 17.5 26.5 56.5 46
>_°_°_ = HIORFSHi & 1FN-20-24 1.11/16"X12 | Z1.1/2"X11.5 0025 17.5 27.5 60 50
ORFS LOCKNUT 1FN-24 2"X12 Z1.1/2X11.5 0029 17.5 27.5 61 55
; S1

R 1247 THREAD R~ DIMENSIONS
PART NO. E A
8F-04 9/16"X18 7 22
8F-06 11/16"X16 8 27
8F-08 13/16"X16 9 30
8F-10 1"X14 10.5 36
8F-12 1.3/16"X12 10.5 38
8F-16 1.7116"X12 10.5 46
8F-20 1.11/16"X12 10.5 50
8F-24 2"X12 10.5 60
7E: 8F-0458J-06[E, Note: 8F-04 is the same as 8J-06.




© =HEZONMEFEEZHORFSEL ORFS ADAPTERS

I
F
-5

wil 4 -

| [

L1FN4

45° EEHIORFSHMNEGOW B FEE S / it EIMELL
45° ELBOW ORFS MALE O-RING /NPT MALE

© =HEZONMEFEZHORFSEL ORFS ADAPTERS

L1FN9

90° TEFIORFSHMELOFE FHEEH / frEEIMELY
90° ELBOW ORFS MALE O-RING /NPT MALE

e #2547 THREAD OfE O-RING R~ DIMENSIONS
PART NO. 3 F Ed B S
1FN4-04-02 9/16"X18 | Z1/8"X27 0011 18.3 18 14
1FN4-04 9/16"X18 | Z1/4"X18 0011 18.3 21 14
1FN4-04-06 9/16"X18 | Z3/8"X18 0011 19.5 25 19
1FN4-06-04 | 11/16"X16 | Z1/4"X18 0012 20.5 22 19
1FN4-06 11/16"X16 | Z3/8"X18 0012 20.5 25 19
1FN4-06-08 | 11/16"X16 | Z1/2"X14 0012 22 295 22
1FN4-08-06 | 13/16"X16 | Z3/8"X18 0014 24 26 22
1FN4-08 13/16"X16 | Z1/2"X14 0014 24 29.5 22
1FN4-10-08 1"X14 Z1/2"X14 0016 28 31 27
1FN4-12 1:3/16"X12\ | Z3/4"X14 o018 30.7 | 355 30
1FN4-16 17612 |\ Z1"X11:5 0021 33 40 36
1FN4-20 146X T2 21.1/4"X11.5 | 0025 355 | 425 41
1FN4-24 %12 | Z1.1/2"X11.5 | 0029 39 46.5 50

re #240 THREAD OB O-RING R+t DIMENSIONS
PART NO. E F Eif B S1
1FN9-04-02 9/16"X18 Z1/8"X27 0011 23 24 14
1FN9-04 9/16"X18 Z1/4"X18 0011 23 25.5 14
1FN9-06-04 11/16"X16 Z1/4"X18 0012 27 28.5 19
1FN9-06 11/16"X16 73/8"X18 0012 27.5 31 19
1FN9-06-08 11/16"X16 Z1/2"X14 0012 29 367 22
1FN9-08-06 13/16"X16 73/8"X18 0014 31 83/5 22
1FN9-08 13/16"X16 Z1/2"X14 0014 31 37.3 22
1FN9-08-12 13/16"X16 Z3/4"X14 0014 34,5 44 27
1FN9-10-08 1"X14 Z1/2"X14 0016 365 40 27
1FN9-10-12 1"X14 Z3/4"X14 0016 36.5 44 27
1FN9-12-08 1.3/16"X12 Z1/2"X14 0018 40.3 415 30
1FN9-12 1.3/16"X12 Z3/4"X14 0018 41 455 30
1FN9-12-16 1.3/16"X12 Z1"X11.5 0018 43 50 33
1FN9-16-12 1.7/16"X12 Z3/4"X14 0021 445 49 36
1FN9-16 1.7/16"X12 Z1"X11.5 0021 445 51.5 36
1FN9-20-16 1. 11/16"X12 Z1"X11.5 0025 47.5 54.5 41
1FN9-20 1.11/16"X12 | Z1.1/4"X11.5 0025 47.5 54.5 41
1FN9-24 2"X12 Z1.1/2"X11.5 0029 53.5 61 50




@ =5EMOWMEFEEIHIORFSEL ORFS ADAPTERS @ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS
4 4

L1FH4-0G

L1FH
45° TEHIORFSHMNELOME T EmZEH/
A HSMEG A E AR E R FIISO 6149-2
45° ELBOW ORFS MALE O-RING /
METRIC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2

EFIORFSIMELOM Bl FEZFEH / AHIIMELEZRFIISO 6149-2
ORFS MALE O-RING /METRIC MALE S-SERIES ISO 6149-2

e #2250 THREAD OB O-RING R~ DIMENSIONS e #2457 THREAD OB O-RING R~ DIMENSIONS
PART NO. F Eif F i B L PART NO. F Eif F i B S1
1FH-04-10 9/16"X18 M10X1 0011 008.1X1.6 9.8 9.5 28 17 1FH4-04-140G 9/16"X18 M14X1.5 0011 011.3X2.4 18.3 29.5 14 19
1FH-04-12 9/16"X18 M12X1.5 0011 009.3X2.4 9.8 11 29.5 17 1FH4-06-140G 11/16"X16 M14X1.5 0012 011.3X2.4 20.5 33 19 19
1FH-06-12 11/16"X16 M12X1.5 0012 009.3X2.4 11.2 11 31 19 1FH4-06-160G 11/16"X16 M16X1.5 0012 013.3X2.4 20.5 32.5 19 22
1FH-06-14 11/16"X16 M14X1.5 0012 011.3X2.4 11.2 11 31 19 1FH4-08-160G 13/16"X16 M16X1.5 0014 013.3X2.4 24 F875H 22 22
1FH-06-16 11/16"X16 M16X1.5 0012 013.3X2.4 11.2 1275 33.5 22 1FH4-08-180G 13/16"X16 M18X1:5 0014 015/3X2/4 24 36 22 24
1FH-08-16 13/16"X16 M16X1.5 0014 013:3X2.4 12.8 12.5 36 22 1FH4-10-220G 1"X14 M22X1.5 0016 019.3X2.4 28 38.5 27 27
1FH-08-18 13/16"X16 M18X1.5 0014 015.3X2.4 1278 14 36.5 24 1FH4-12-220G 1.3/16"X12 M22X1.5 0018 019.3X2.4 30.7 39.5 30 27
1FH-08-22 13/16"X16 M22X1.5 0014 019.3X2.4 12.8 15 S B 27 1FH4-12-270G 1.3/146"X12 M27X2 0018 023.5X3.0 30.7 40 30 32
1FH-10-22 1"X14 M22X1.5 0016 019.3X2.4 15.5 15 40.5 27 1FH4-16-330G 1.7/16"X12 M33X2 0021 029.5X3.0 33 48.5 36 41
1FH-12-22 1.3/16"X12 M22X1.5 0018 019.3X2.4 17 15 45.5 32 E: Fig51S06149-1ii OB, Note: F endis fit for ISO 6149-1 port.
1FH-12-27 1.3/16"X12 M27X2 0018 023.5X3.0 17 18.5 49 32
1FH-16-33 1.7/16"X12 M33X2 0021 029.5X3.0 17.5 18.5 51 41
1FH-20-42 1.11/16"X12 M42X2 0025 038.5X3.0 17.5 19 54.5 50
1FH-24-48 2"X12 M48X2 0029 044.5X3.0 17.5 21.5 57 55
iE: Fig51S06149-1ii OB, Note: F end is fit for ISO 6149-1 port. !
m L1FH9-0G
90° L EFIORFSHNRLOR Bl FHEZ =t/
L 3 SMZ SURT I [ 4 im E R 5ISO 6149-2
90° ELBOW ORFS MALE O-RING /
S1 METRIC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2

re #2457 THREAD OB O-RING R~ DIMENSIONS

PART NO. F Eif F i B S1
1FH9-04-120G 9/16"X18 M12X1.5 0011 009.3X2.4 23 32 14 17
1FH9-06-140G 11/16"X16 M14X1.5 0012 011.3X2.4 27 355 19 19
1FH9-06-160G 11/16"X16 M16X1.5 0012 013.3X2.4 27 38 19 22
1FH9-08-160G 13/16"X16 M16X1.5 0014 013.8X2.4 3 405 22 22
1FH9-08-180G 13/16"X16 M18X1.5 0014 015.3X2.4 31 43 22 24
1FH9-08-220G 13/16"X16 M22X45 Q014 019.3X2.4 31 44.5 22 27
1FH9-10-220G 1"X14 M22X1.5 0016 019:3X2.4 36.5 48 27 27
1FH9-12-270G 1.3/16"X12 M27X2 0018 023.5X3.0 40.5 50 30 32
1FH9-12-330G 1.3/16"X12 MB83X2 0018 029.5X3.0 42.5 56 33 41
1FH9-16-330G 1.7/16"X12 M33X2 0021 029.5X3.0 44.5 58.5 36 41
iE: Fin51S06149-15m OB, Note: F endis fit for ISO 6149-1 port.




@ =5EMOWMEFEEIHIORFSEL ORFS ADAPTERS

@ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS
4 4

L

A B
‘ ‘ ///7% 7
EHORFSHME GO Bl F E & £ / 2 s 41

A mEREZRSISO6149-2 X =18 = 4—- — - - =
ORFS MALE O-RING / METRIC MALE r || —[
ADJUSTABLE STUD END S-SERIES ISO 6149-2 RUN TEE \ )

LAFFH-0G L1FO

EHORFSHIMNBELOWEFEFZESH/
EFISAEIMELTHFOR B E R FISO 11926-2

ORFS MALE O-RING /
SAE O-RING BOSS S-SERIES ISO 11926-2

S1

re #2457 THREAD O/ O-RING R=t DIMENSIONS re 247 THREAD OFE O-RING R=t DIMENSIONS
PART NO. F Eifs Fifg Girg B C S1 PART NO. E F Eif F i B L
AFFH-04-04-140G 9/16"X18 9/16"X18 M14X1.5 o011 0011 | O11.3X2.4 23 23 33.5 14 19 1F0O-04 9/16"X18 7/16"X20 o011 0904 9.8 11 28.7 17
AFFH-06-06-160G 11/16"X16 11/16"X16 M16X1.5 0012 | 00121 013.3X2.4 |/ 27 27 38 19 22 1F0-04-05 9/16"X18 1/2"X20 0011 0905 9.8 11 28.7 17
AFFH-08-08-220G 13/16"X16 137/16"X16 M22X1.5 0014 '} 0014 |~O019.3X2.4/| 31 31 44.5 22 27 1F0-04-06 9/16"X18 9/16"X18 0011 0906 9.8 12 29.5 17
AFFH-10-10-220G 1"X14 1"X14 M22X1:5 0016 | 0016/ | 0O19.3X2;4 | 36.5/] 365 48 27 27 1F0O-04-08 9/16"X18 3/4"X16 o011 0908 978 14 33.5 22
AFFH-12-12-270G 1.3/16"X12+ 1.3/16"X12 M27X2 001480018 | 023.5X3.0 | 40.5 | 40.5 50 30 32 1FO-06-04 11/16"X16 7/16"X20 0012 0904 11.2 11 31 19
AFFH-16-16-330G 1.7/16"X12--1.7/16"X12 M33X2 0021 0021 | 029.5X3.0 | 44.5 | 44.5 | 58.5 36 41 1F0O-06-05 11/16"X16 1/2"X20 0012 0905 11.2 11 30.9 19
i¥: Fi51S0 6149-1iIO4HAL, Note: F end is fit for ISO 6149-1 port. 1F0-06 11/16"X16 9/16"X18 0012 0906 11.2 12 31.9 19
1F0O-06-08 11/16"X16 3/4"X16 0012 0908 11.2 14 35 22
1F0-06-10 11/16"X16 7/8'X14 0012 0910 11.2 16 38.5 27
1F0-08-06 13/16"X16 9/16"X18 0014 0906 12.8 12 34.5 22
1F0O-08 13/16"X16 3/4"X16 0014 0908 12.8 14 36.6 22
F 1F0O-08-10 13/16"X16 7/8"X14 0014 0910 12.8 16 40.5 27
| 1F0O-08-12 13/16"X16 1.1/16"X12 0014 0912 12.8 18.5 445 32
A
52 ] LAFHF-0OG 1FO-10 1"X14 7/8"X14 0016 0910 15.5 16 43.1 27
S1 i o 1F0-10-08 1"X14 3/4"X16 0016 0908 15.5 14 41.1 27
‘ £ 4HORFSHMELOR B FEZ £ / A5 SMELL 1F0-10-12 1"X14 1.1/16"X12 0016 0912 15.5 18.5 47 32
g 3 PRy —
N A ; pzes ) FAHAREIHRE RSSO 6149-2 A X =18 1F0-12-10 1.3/16"X12 7/8"X14 0018 0910 17 16 46 32
| I S ORFS MALE O-RING /METRIC MALE . .
T T ADJUSTABLE STUD END S—SERIES ISO 6149—2 BRANCH TEE 1F0O-12 1.3/16"X12 1.1/16"X12 0018 0912 17 18.5 4876 32
A B 1F0O-12-16 1.3/16"X12 1.5/16"X12 0018 0916 17 185 49.8 38
1F0O-16-12 1.7/16"X12 1.1/16"X12 0021 0912 175 18.5 50.3 38
. 1FO-16 1.7/16"X12 1.5/16"X12 0021 916 17.5 18.5 . 38
rs #40 THREAD OB O-RING R~ DIMENSIONS i 503
1F0-16-20 1.7/16"X12 1.5/8"X12 0021 0920 17.5 18.5 52 50
PART NO. F Ei Fis G B s ¥
1F0-20-16 1. MM716"X12 1.5/16"X12 0025 0916 17.5 18.5 52 46
AFHF-04-14-040G 9/16"X18 M14X1.5 9/16"X18 0011 | O11.3X2.4 | O011 23 33.5 23 14 19
1F0-20 1,11/16"X12 1.5/8"X12 0025 0920 17.5 18.5 52.3 50
AFHF-06-16-060G 11/16"X16 M16X1.5 11/16"X16 | 0012 | O13-3X2.4 |/ 0012 27, 38 27 19 22
1F0O-24-20 2UXA2 1.5/8"X12 0029 0920 17.5 18.5 54 55
AFHF-08-22-080G 13/16"X16 M22X1.5 13/16"X16 /00147 049.3X2.4/| 0014 31 44.5 31 22 27
1FO-24 2UX12 1.7/8"X12 0029 0924 17.5 18.5 54.1 55
AFHF-10-22-100G 1"X14 M22X1.5 1"X14 0016 | ©19.3X24 | 0016 | 36.5 48 36.5 27 27 -
iE: Fi51S0 11926-1iM 4B, Note: F end is connected with ISO 11926-1 port.
AFHF-12-27-120G 1.3/16"X12 M27X2 1,8/16"X12 [ 001481 023.5X3.0 | 0018 | 40.5 50 40.5 30 32
AFHF-16-33-160G 1.7/16"X12 M33X2 1.7/16"X12 | 0021 | 029.5X3.0 | 0021 | 44.5 | 58.5 | 44.5 36 41
iE: Fis51S06149-15i OB, Note: F end is fit for ISO 6149-1 port.

K17




@ =5EMONMEFEEIHIORFSEL ORFS ADAPTERS @ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS

4 . 4 4 4
v F
S2 -
L1F04-0G L1F09-0G
/ >
/ 45° ZEHIORFSHINELOM B T E S / 90° T E£HIORFSHMELOM B EEZE /
y Q> / XHISAESMRGHOM B E H51SO 11926-2 £ 4ISAESMEL O B E R 5IISO 11926-2
e [T /" 45° ELBOW ORFS MALE O-RING / 90° ELBOW ORFS MALE O-RING /
] P S SAE O-RING BOSS S-SERIES ISO 11926-2 SAE O-RING BOSS S-SERIES ISO 11926-2

e #2457 THREAD O O-RING R~} DIMENSIONS e #2457 THREAD O O-RING R~} DIMENSIONS
PART NO. F Eif F i B S1 PART NO. = F Eim F i B S1
1FO04-040G 9/16"X18 7/16"X20 0011 0904 18.3 26 14 17 1F09-040G 9/16"X18 7/16"X20 0011 0904 23 30.3 14 17
1FO4-04-060G 9/16"X18 9/16"X18 0011 0906 18.3 28 14 49 1F09-04-060G 9/16"X18 9/16"X18 0011 0906 23 32 14 19
1F04-06-040G 11/16"X16 7/16"X20 0012 0904 20.5 27.3 19 17 1F09-06-040G 11/16"X16 7/16"X20 0012 0904 27.5 33.5 19 17
1F04-060G 11/16"X16 9/16"X18 0012 0906 20.5 29.5 19 19 1FO9-060G 11/16"X16 9/16"X18 0012 0906 27.5 34.5 19 19
1F04-06-080G 11/16"X16 3/4"X16 0012 0908 20.5 32.5 19 24 1F09-06-080G 11/16"X16 3/4"X16 0012 0908 27.5 38 19 24
1FO4-08-060G 13/16"X16 9/16"X18 0014 0906 24 30.8 22 19 1F09-06-100G 11/16"X16 7/8"X14 0012 0910 29 4573 22 27
1FO4-080G 13/16"X16 3/4"X16 0014 0908 24 34 22 24 1F09-08-060G 13/16"X16 9/16"X18 0014 0906 31 37 22 19
1FO4-08-100G 13/16"X16 7/8"X14 0014 0910 24 39.5 22 27 1F09-080G 13/16"X16 3/4"X16 0014 0908 31 40.5 22 24
1F04-08-120G 13/16"X16 1.1/16"X12 0014 0912 25.5 44 27 32 1F09-08-100G 13/16"X16 7/8"X14 0014 0910 31 45.3 22 27
1FO4-10-080G 1"X14 3/4"X16 0016 0908 28 34 27 24 1F09-08-120G 13/16"X16 1.1/16"X12 0014 0912 34.5 52 27 32
1FO04-100G 1"X14 7/8"X14 0016 0910 28 41.5 27 27 1F09-10-080G 1"X14 3/4"X16 0016 0908 36.5 45 27 24
1FO4-10-120G 1"X14 1.1/16"X12 0016 0912 28 44 27 32 1F09-100G 1"X14 7/8"X14 0016 0910 36.5 50.8 27 27
1FO4-12-100G 1.3/16"X12 7/8"X14 0018 0910 30.7 42 30 27 1F09-10-120G 1"X14 1.1/16"X12 0016 0912 36.5 52 27 32
1FO4-120G 1.3/16"X12 1.1/16*X12 0018 0912 30.7 45.5 30 32 1F09-12-100G 1.3/16"X12 7/8"X14 0018 0910 41 52.8 30 27
1F04-12-160G 1.3/16"X12 1.5/16"X12 0018 0916 32.5 47.9 36 41 1F09-120G 1.3/16"X12 1.1/16"X12 0018 0912 41 54 30 32
1F04-16-120G 1.7/16"XA2 1.1/16"X12 0021 0912 33 47.9 36 32 1F09-12-160G 1.3/16"X12 1.5/16"X12 0018 0916 43 5.5 38 41
1F04-160G 1.7116"X12 1.5/16"X12 0021 0916 33 47.9 36 41 1F09-16-120G 1.7/16*X12 1.1/16"X12 0021 0912 44.5 59 36 32
1FO4-16-200G 1.7716"X12 1.5/8"X12 0021 0920 385 48.5 41 50 1F09-160G 1 T7THMBX12 15/16"X12 0021 0916 44.5 59 36 41
1F04-200G 1:11/16"X12 1.5/8"X12 0025 0920 35.5 48.8 41 50 1F09-200G 1.11/46"X12 1.5/8"X12 0025 0920 47.5 60.5 41 50
1F04-20-240G | 1.11/16"X12 1.7/8"X12 0025 0924 38 51 48 55 1F09-20-240G | 1.11/16"X12 1.7/8"X12 0025 0924 51.5 66.5 48 55
1F04-240G 2"X12 1.7/8"X12 0029 0924 39 52 50 55 1F09-24-200G 2"X12 1.5/8"X12 0029 0920 53.5 67.5 50 50
£ Fin51S0O 11926-1;M 4B, Note: F end is connected with ISO 11926-1 port. 1F09-240G 2"X12 1.7/8"X12 0029 0924 53.5 67.5 50 55
i Fig51S0O 11926-1;m OFEB, Note: F end is connected with ISO 11926-1 port.




© =5ELOREFEEIIORFSIEL ORFS ADAPTERS

EFIORFSHMELON B FHZE T /

LAFFO-0G

EFISAEMELGGEORBER SISO 11926-2 X =&
ORFS MALE O-RING /

SAE O-RING BOSS S-SERIES ISO 11926-2 RUN TEE

@ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS

F
™V
/A LAFOF-0G
52 !
| @
i S1 ‘ £ HIORFS5MESIOR B F EE 41 / .
07 £ HISAESMBLHOR B E RSO 11926-2 $ X =&
T e | ORFS MALE O-RING /
-[ r O SAE O-RING BOSS S-SERIES ISO 11926-2 BRANCH TEE
A C
re 125 THREAD O O-RING R~f DIMENSIONS
PART NO. F Eif Fif Gir B C S1
AFOF-040G 9/16"X18 7/16"X20 9/16"X18 O011 0904 o011 23 30.3 23 14 17
AFOF-04-06-040G 9/16"X18 9/16"X18 9/16"X18 O011 0906 o011 23 32 23 14 19
AFOF-060G 11/16"X16 9/16"X18 11/16"X16 0012 0906 0012 27.5 |-35.5 | 27.5 19 19
AFOF-06-08-060G 11/16"X16 3/4"X16 11/16"X16 0012 0908 0012 27 38 27 19 24
AFOF-080G 13/16"X16 3/4"X16 13/16"X16 0014 0908 0014 31 40.5 31 22 24
AFOF-08-10-080G 13/16"X16 7/8"X14 13/16"X16 0014 0910 0014 31 45-3 31 22 27
AFOF-08-12-080G 13/16"X16 | 1.1/16"X12 | 13/16"X16 0014 0912 0014 34.5 54 34.5 27 32
AFOF-100G 1"X14 7/8"X14 1"X14 0016 0910 0016 36.5 | 50.8 | 36.5 27 27
AFOF-10-12-100G 1"X14 1,1/16"X12 1"X14 0016 0912 0016 36.5 52 36.5 27 32
AFOF-120G 1.8/46 X121 1.1/16"X12 | /1.3/16"X12 0018 0912 0018 40.3 | 55.3 | 40.3 30 32
AFOF-160G 1.7116"X12H 1.5/16"X12 {-1.7/16"X12 0021 0916 0021 41.5 | 59.3 | 41.5 36 41
AFOF-200G 1.11/16"X12-1.5/8"X12 | 1.11/16"X12| 0025 0920 0025 47.5 | 60.5 | 47.5 41 50
AFOF-240G 2"X12 1.7/8"X12 2"X12 0029 0924 0029 53.5 68 53.5 50 55

e #2457 THREAD Of%E O-RING R~ DIMENSIONS

PART NO. F Eif Fif Gitk B C st
AFFO-040G 9/16"X18 | 9/16"X18 | 7/16"X20 | 0011 | 0011 | 0904 | 23 | 23 | 30 |(44 | 17
AFFO-04-04-060G | 9/16"X18 | 9/16"X18 | 9/16"X18 | 0011 | 0011 | 0906 | 23 | 23 | 82 /| 14 | 19
AFFO-060G 11/16"X16 | 11/16"X16 | 9/16"X18 | 0012 | 0012 | 0906 | 27.5 |27.5|355| 19 | 19
AFFO-06-06-080G | 11/16"X16 | 11/16"X16 | 3/4"X16 | 0012 | 0012 | 0908 |27.5727.5| 38| 19 | 24
AFFO-08-08-060G | 13/16"X16 | 13/16"X16 | 9/16"X18 | 0014 | 0014 | 0906 | 31_| 31 |['37.67 22 | 19
AFFO-080G 13/16"X16 | 13/16"X16 | 3/4"X16 | 0014 | Q014 - 0908 | 3131 | 40.5| 22 | 24
AFFO-08-08-100G | 13/16"X16 | 13/16"X16 | 7/8"X14 | 0014 0014~ || 0910 31 | 31 | 453 | 22 | 27
AFFO-08-08-120G | 13/16"X16 | 13/16"X16 | 1.1/16"X12-][0014' | 0014 | 0942 | 34.5|34.5 | 52 | 27 | 32
AFFO-100G 1"X14 1"X14 7/8'X14 | 0016 | |0016 | 0910 | 36.5 | 36.5 | 50.8 | 27 | 27
AFFO-10-10-120G 1"X14 1"X14 | 1.1/16"X12-/ | 0016 |~ 0016 | 0912 | 36.5 | 36.5 | 52 | 27 | 32
AFF0-120G 1.3/16"X12 | 1:3/16"X12 | 1.1/16"X12]] 0018 | 0018 | 0912 | 40.3 | 40.3 | 55.3 | 30 | 32
AFF0-16-16-120G | 1.7/16"X127} 1.7/16"X12 | 1.4716"X12 | 0021 | 0021 | 0912 |44.5|44.5|585| 36 | 32
AFFO-160G 1.7/16"X12 | 1.7M6"X12 | -1:5/16"X12 | 0021 | 0021 | 0916 |44.5 | 44.5|59.3 | 36 | 41
AFFO-200G 1.11/16"X12[4:1116"X12| 1.5/8"X12 | 0025 | 0025 | 0920 | 47.5 | 47.5|60.5 | 41 | 50
AFFO-240G 2"X12 2"X12 | 1.7/8"X12 | 0029 | 0029 | 0924 |53.5|535 68 | 50 | 55

i*: Fim51SO 11926-1id O tHEL,

Note: F end is connected with ISO 11926-1 port.

*: Fiz51SO 11926-1il O tHEL

Note: F end is connected with ISO 11926-1 port.




@ =5EHOWEFEEIIORFSIEL ORFS ADAPTERS

I
L B
A
- Z eeeeed | L20F
—l EHISAESMRGHEOMBE R SISO 11926-2/ ORFSHIELL
S1 52 SAE O-RING BOSS S-SERIES ISO 11926-2/ ORFS FEMALE
R #2457 THREAD O O-RING R~ DIMENSIONS

PART NO. = F Ei B L

20F-04 7/16"X20 9/16"X18 0904 11 7.5 32,5 17 19
20F-04-06 7/16"X20 11/16"X16 0904 11 9.5 35.5 7 22
20F-06-04 9/16"X18 9/16"X18 0906 12 7.5 335 17 19

20F-06 9/16"X18 11/16"X16 0906 12 9.5 36.5 19 22
20F-06-08 9/16"X18 13/16"X16 0906 12 1.5 38.5 19 27
20F-08-06 3/4"X16 11/16"X16 0908 14 9.5 40.5 22 22

20F-08 3/4"X16 13/16"X16 0908 14 11.5 425 22 27
20F-10-08 718"X14 13/16"X16 0910 16 M5 46.5 27 27

20F-10 7/8"X14 1"X14 0910 16 12.5 50.5 27 32
20F-12-10 1.1/16"X12 1"X14 0912 18.5 12.5 54 32 32

20F-12 1.1/16"X12 | 1.3/16"X12 0912 18.5 13 56 32 36
20F-16-12 1.5/16"X12 _|-1,3/16"X12 0916 18.5 13 55.5 38 36

20F-16 1.5/16"X12\ | \ 1L 7{16"X12 0916 18.5 14 57.5 38 41
20F-20-16 1.5/8"X12 H7/16"X12 0920 18.5 14 61.5 50 41

20F-20 1.5/8"X12° |- 1A1/16"X12 0920 18.5 15 65 50 50

20F-24 1.7/8"X12 2"X12 0924 18.5 17 65 55 60

L20F9-0G
90° TEHISAEIMELTHORBERTI
w ISO 11926-2/ ORFSH B 4L

90° ELBOW SAE O-RING BOSS S-SERIES
1SO 11926-2/ ORFS FEMALE

rE #2470 THREAD O O-RING R~ DIMENSIONS
PART NO. E F Eif B S1
20F9-040G 7/16"X20 9/16"X18 0904 30.5 7.5 14 17 19
20F9-060G 9/16"X18 11/16"X16 0906 34.5 9.5 16 19 22
20F9-080G 3/4"X16 13/16"X16 0908 37.5 1.5 19 24 27
20F9-100G 7/8"X14 1"X14 0910 452 12.5 22 27 32
20F9-120G 1.1/16"X12 1.3/16"X12 0912 52 13 27 32 36
20F9-160G 1.5/16"X12 1.7/16"X12 0916 56 14 33 41 41
20F9-200G 1.5/8"X12 1.11/16"X12 0920 59 15 41 50 50
20F9-240G 1.7/8"X12 2"X12 0924 63 17 48 58 60
i Eiw5ISO 11926-1iO4EfE, Note: E endis connected with ISO 11926-1 port.

@ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS
4

EHIORFSHIMELIOR B T HE £ / HEIMELOR B
ORFS MALE O-RING /BSP MALE O-RING

L1FG

) #2457 THREAD OfE O-RING R~ DIMENSIONS
PART NO. E F Ei Fif B L
1FG-04-02 9/16"X18 | G1/8"X28 0011 0011 10 9.5 275 17

1FG-04 9/16"X18 | G1/4"X19 0011 0111 9.8 11 29 19
1FG-04-06 9/16"X18 | G3/8"X19 0011 0113 9.8 11.5 3 22
1FG-06 11/16"X16 | G3/8"X19 0012 0113 1.2 | M5 | 325 22
1FG-06-04 11/16"X16 | G1/4"X19 0012 o111 11.2 11 30 19
1FG-06-08 11/16"X16 | G1/2"X14 0012 0115 11.2 14 36.5 27
1FG-08 13/16"X16 | G1/2"X14 0014 0115 12.8 14 38.5 27
1FG-08-06 13/16"X16 | G3/8"X19 0014 0113 12.8) |15 | 345 22
1FG-08-12 13/16"X16 | G3/4"X14 0014 0119 128 | 155 42 32
1FG-10-08 1"X14 G1/2"X14 0016 0115 15.5 14 42.5 27
1FG-10-12 1"X14 G3/4"X14 0016 0119 155 | 155 44 32
1FG-12-08 1.3/16"X12 | G1/21X14 0018 0115 17 14 44 32
1FG-12 1.3/16"X12 |, G3/4'X14 0018 0119 17 155 | 456 32
1FG-12-16 1.3/16"X12°\\\ G1"X11 0018 0217 17 18 48 41
1FG-16-12 17M6"X12 | \G3/4"X14 0021 0119 175 | 155 47 38
1FG-16 1.7MM6"X127 ) _B1"X11 0021 0217 17.5 18 49.5 41
1FG-20 1.11/18"X12-1 G1.1/4"X11 0025 0222 17.5 20 55.5 50
1FG-20-16 | 1.11/16"X12 | G1"X11 0025 0217 17.5 18 51.5 46
1FG-24 2"X12 G1.1/2"X11 0029 0224 175 | 215 57 55




@ =5EHOWEFEEIIORFSIEL ORFS ADAPTERS @ =31ELOREFEEIHIORFSIEL ORFS ADAPTERS
4 4 4 .

¥, L1FG4-0G L1FG9-0G

45° TEHIORFSHIMELOWE FHZH / HEIMRLOWE
45° ELBOW ORFS MALE O-RING /BSP MALE O-RING

90° TEHIORFSIMEZORE T HEE S / HEIMELORE
90° ELBOW ORFS MALE O-RING /BSP MALE O-RING

e #2457 THREAD O O-RING R~} DIMENSIONS e #2457 THREAD O O-RING R~} DIMENSIONS
PART NO. F Eim Fif B S1 PART NO. F Eim F i B S1
1FG4-040G 9/16"X18 G1/4"X19 0011 o111 18.3 27 14 19 1FG9-04-020G 9/16"X18 G1/8"X28 0011 0011 23 29 14 14
1FG4-04-020G 9/16"X18 G1/8"X28 0011 0011 18.3 24.8 14 14 1FG9-040G 9/16"X18 G1/4"X19 0011 o111 24 33 14 19
1FG4-04-060G 9/16"X18 G3/8"X19 0011 0113 18 30 16 22 1FG9-04-060G 9/16"X18 G3/8"X19 0011 0113 24 35.8 16 22
1FG4-060G 11/16"X16 G3/8"X19 0012 0113 20.5 31 19 22 1FG9-06-040G 11/16"X16 G1/4"X19 0012 O111 27 33R5) 19 19
1FG4-06-040G 11/16"X16 G1/4"X19 0012 o111 20.5 28 19 19 1FG9-060G 11/16"X16 G3/8"X19 0012 0113 27 368 19 22
1FG4-06-080G 11/16"X16 G1/2"X14 0012 0115 22 36 22 27 1FG9-06-080G 11/16"X16 G1/2"X14 0012 0115 29 43.2 22 27
1FG4-080G 13/16"X16 G1/2"X14 0014 0115 24 36 22 27 1FG9-08-060G 13/16"X16 G3/8"X19 0014 0113 31 39 22 22
1FG4-08-060G 13/16"X16 G3/8"X19 0014 0113 24 32 22 22 1FG9-080G 13/16"X16 G1/2"X14 0014 o115 31 4372 22 27
1FG4-10-080G 1"X14 G1/2"X14 0016 0115 28 37.5 27 27 1FG9-10-080G 1"X14 G1/2"X14 0016 0115 36.5 46.5 27 27
1FG4-10-120G 1"X14 G3/4"X14 0016 o119 28 42 27 32 1FG9-10-120G 1"X14 G3/4"X14 0016 0119 36.5 49.3 27 32
1FG4-120G 1.3/16"X12 G3/4"X14 0018 0119 30.7 42.5 30 32 1FG9-12-080G 1.3/16"X12 G1/2"X14 0018 0115 40.3 47.5 30 27
1FG4-12-080G 1.3/16"X42 G1/2"X14 0018 0115 30.7 38.5 30 27 1FG9-120G 1.3/16"X12 G3/4"X14 0018 0119 40.3 52 30 32
1FG4-12-160G 1.3716"X12 G1"X11 0018 0217 31.5 44 33 41 1FG9-12-160G 1.3/16"X12 G1"X11 0018 0217 42.5 53 33 41
1FG4-160G 1.7/16"X12 G1"X11 0021 0217 33 44.5 36 41 1FG9-16-120G 1.7/16"X12 G3/4"X14 0021 0119 44.5 56 36 32
1FG4-16-120G 1.7M6"X12 G3/4"X14 0021 0119 33 44.5 36 32 1FG9-160G 1.7/16"X12 G1"X11 0021 0217 44.5 56 36 41
1FG4-200G 1.11/16"X12 G1.1/4"X11 0025 0222 3585 47.5 41 50 1FG9-20-160G | 1.11/16"X12 G1UX11 0025 0217 47.5 58 41 41
iE: Fin5DIN 38521 d4HfEL, Note: F endis connected with DIN 3852 port. 1FG9-200G 1.11/16'X12 |- G1.1/4"X11 0025 0222 47.5 60 41 50
1FG9-240G 2"X12 G1.1/2"X11 0029 0224 51.5 65.5 48 55
i Fim5DIN 3852l 048 &L, Note: F endis connected with DIN 3852 port.




@ =HEZOMEFEEZHORFSEL ORFS ADAPTERS
4

@ LAFFG-0G

EHIORFSIMEGOM B FTEZH / REMEYOKBEEX =B
ORFS MALE O-RING /BSP MALE O-RING RUN TEE

© =HEZONMEFEZHORFSEL ORFS ADAPTERS

SRS . S, c -

re #247 THREAD Of%E O-RING R~ DIMENSIONS

PART NO. F Ei Fif Gitk B C si
AFFG-040G 9/16"X18 | 9/16"X18 | G1/4"X19 | 0011 | 0011 | O111 | 23 | 23 | 31.3 | 14 4519
AFFG-04-04-060G | 9/16"X18 | 9/16"X18 | G3/8"X19 | 0011 | 0011 | O113 | 23.5 | 23.5/ 355/ 16 | 22
AFFG-06-06-040G | 11/16"X16 | 11/16"X16 | G1/4"X19 | 0012 | 0012 | O#17| 37 |27 |33.5 /19 | 19
AFFG-060G 11/16"X16 | 11/16"X16 | G3/8"X19 | 0012 /| 0012/ 0113/ | 27.5 [ 27.5/ 36.8 |\ 19 | 22
AFFG-08-08-060G | 13/16"X16 | 13/16"X#6-|7 G3/8"X19 |/ 0014 | /0014—/0118 |/ 31 /181 |/39.5 22 | 22
AFFG-080G 13116"X 161 || 13/16"X16 | GA/2"X14/| 0014 |//0014 | 011531 | 31 | 432 | 22 | 27
AFFG-10-10-120G 17X14 1"X{4 /| G3/4"X14) | 0016 0016 | 0119 | 36.5 | 36.5 | 49.3 | 27 | 32
AFFG-120G 1.3/16"X12 | 1.3/16"X12--/G3/4"X14 | 0018 | 0018 | O119 |41.5|41.5|535| 30 | 32
AFFG-160G 1.7/16"X12° | 1.7/16"X12 | G1"X11 | 0021 | 0021 | 0217 |44.5 | 44.5| 56 | 36 | 41

i¥: G 5DIN 3852ifAfHEL, No

te: G end is connected with DIN 3852 port.

s
7T
R
w LNB200-F
L ORFS 28
RN ORFS NUT
L
re #2457 THREAD B #12E INCH SLEEVE A#HEE METRIC SLEEVE R~ DIMENSIONS
PART NO. E EF5ME 0D.  HERKRES NO. &FH5ME OD. HERKE NO. L S2
NB200-04F 9/16"X18 1/4" NB300-04F 6 NB500-06F 14.7 19
NB200-06F 11/16"X16 3/8" NB300-06F 10 NB500-10F 17 22
NB200-08F 13/16"X16 1/2" NB300-08F 12 NB500-12F 21 27
NB200-10F 1"X14 5/8" NB300-10F 16 NB500-16F 235 | 30
NB200-12F 1.3/16"X12 3/4" NB300-12F 20 NB500-20F 26 36
NB200-16F 1.7116"X12 1" NB300-16F 25 NB500-25F 27.8 | 41
NB200-20F 1.41/16"X 12 1.4/4" NB300-20F 30 NB500-30F 27.8 | 50
NB200-24F 2"X12 1.1/2" NB300-24F 38 NB500-38F 27.8 | 60
L
N
N
LNB300-F
O

ORFS HHIEHE
ORFS INCH SLEEVE

re #2457 THREAD &F5M& TUBE O.D. R~ DIMENSIONS

PART NO. L

NB300-04F 9/16"X18 1/4" 12.75 | 8.5
NB300-06F 11/16"X16 3/8" 15.75 | 8.5
NB300-08F 13/16"X16 1/2" 1892/ | /9.5
NB300-10F 1"X14 5/8" 23.44 |/ 95
NB300-12F | -1.3/16X12 814 27.86 | 125
NB300-16F | |1.7/16"X12 1" 3421 14
NB300-20F | 1.11/16"X12 414" 40.56 14
NB300-24F 2"X12 1.1/2" 48.51 | 155

T
2 ] | [
51 o LAFGF-0G
il 4,,4, jL“q £ HORFSIMBLON B F AT / HENBLOLAH S =i
Eﬂ]— ORFS MALE O-RING /BSP MALE O-RING BRANCH TEE
A C
e 1840 THREAD O O-RING R~ DIMENSIONS
PART NO. F Eif Fig Gif
AFGF-040G 9/16"X18 G1/4"X19 9/16"X18 o011 o111 0011 23 31.3 23 14 19
AFGF-04-06-040G 9/16"X18 G3/8"X19 9/16"X18 0011 0113 0011 23.51-3575 | 23.% 16 22
AFGF-060G 11/16"X16 G3/8"X19 11/16"X16 0012 o113 0012 27.5 1/36.8 |:27.5 19 22
AFGF-08-06-080G 13/16"X16 G3/8"X19 13/16"X16 0014 0113 0014 31 39.5 31 22 22
AFGF-080G 13716"X16 G1/2"X14 13/16"X16 0014 0115 0014 31 432 31 22 27
AFGF-10-12-100G 1'X14 G3/4"X14 1"X14 Q016 o9 0016 36.5 | 49.3 | 36.5 27 32
AFGF-120G 1.3/16"X12 G3/4"X14 1.3116"X12 0018 0119 0018 415 | 53.5 | 41.5 30 32
AFGF-160G 1.7/16"X12 G1"X11 1.7/16"X12 0021 0217 0021 445 56 44 .5 36 41

7 : Fim5DIN 3852if O4HEL,

Note: F end is connected with DIN 3852 port.

K27




© =HEZOMEFEEZHORFSEL ORFS ADAPTERS

LNB500-F

ORFS A HIEHE

ORFS METRIC SLEEVE

© =HIIEHNPSMiEsk  NPSM ADAPTERS
4 .

EHI2NPSMiEL NPSM Adapters

re #2457 THREAD &F4ME TUBE O.D. R DIMENSIONS
PART NO.
NB500-06F | 9/16"X18 6 1275 | 85
NB500-10F | 11/16"X16 10 1575 | 85—70 |
NB500-12F | 13/16"X16 12 18.92/ | /95
NB500-16F 1"X14__ — |~ VK Lhhsad || o5/ 4 |\
NB500-20F | [1:3/16%X12 20 27.86 125
NB500-25F | wnexizl| /) / L] J\_Jes’ 3321 | 14
NB500-30F | 1.11/16"X12 30 4056 | 14
NB500-38F | -2'X12 | 38 48.51 | 14

L2NU L2NU4 L2NU9 L20U L20U4-0G L20U9-0G
Lo2 LO3 LO4 LO5 LO6 LO7
L7NU9-S L7NU-S
LO8 L09
LO1




NPSM ADAPTERS
—

© =HNEZNPSMiEL
4

Jodd
-

L2NU

Q© =HIZHNPSMIEL

NPSM ADAPTERS
I

L2NU4

45° LR HEEINEL / EHINPSHEEL60° Shi
45° ELBOW NPT MALE /NPSM FEMALE 60° CONE

) #2457 THREAD R~ DIMENSIONS
PART NO. F B St
2NU4-02 z1/8"X27 1/8"X27 17 6 11 15
2NU4-04 Z1/4"X18 1/4"X18 21 5 14 19
2NU4-04-06 Z1/4"X18 3/8"X18 21 6.5 14 22
2NU4-06 73/8"X18 3/8"X18 24 6.5 19 22
2NU4-06-04 73/8"X18 1/4"X18 24 5 19 19
2NU4-06-08 73/8"X18 1/2"X14 24 7.8 19 27
2NU4-08 Z1/2"X14 1/2"X14 29.5 7.8 22 27
2NU4-08-06 Z1/2"X14 3/8"X18 29.5 6.5 22 22
2NU4-08-12 Z1/2"X14 3/4"X14 31 10.5 27 32
2NU4-12 Z3/4"X14 3/4"X14 35 10.5 27 32
2NU4-12-08 Z3/4"X14 1/2"X14 35 7.8 27 27
2NU4-12-16 Z3/4"X14 1"X11.5 35.5 11 30 41
2NU4-16 ZA"X14:5 1"X11.5 39 11 33 41
2NU4-16-12 Z11X11'5 3/4"X14 39 10.5 33 32
2NU4-20 | Z1.174"X11:5 | 41/4"X11.5 425 | 115 41 50
2NU4-24 | Z1.1/2'X315 | 1.1/2"X11.5 45 12.5 48 55
2NU4-32 72"X11 2"X11.5 50 16 63 70

w
T HEE MR/ EHINPSHEZL60° ShiE
E 5 NPT MALE /NPSM FEMALE 60° CONE
0
ko #57 THREAD Rt DIMENSIONS

PART NO. E B
2NU-02 Z1/8"X27 1/8"X27 10.5 6 255 12 15
2NU-02-04 Z1/8"X27 1/4"X18 10.5 5) 27.5 12 19
2NU-04-02 Z1/4"X18 1/8"X27 15 6 30 14 15
2NU-04 Z1/4"X18 1/4"X18 15 5 32 17 19
2NU-04-06 Z1/4"X18 3/8"X18 15 6.5 33 17 22
2NU-04-08 Z1/4"X18 1/2"X14 15 7.8 35 19 27
2NU-06 Z3/8"X18 3/8"X18 16 6.5 34.5 19 22
2NU-06-04 Z3/8"X18 1/4"X18 16 5 3B 19 19
2NU-06-08 Z3/8"X18 1/2"X14 16 7.8 36 19 27
2NU-08 Z1/2"X14 1/2"X14 19% 7.8 41.5 22 27
2NU-08-04 Z1/2"X14 1/4"X18 195 5 38.5 22 19
2NU-08-06 Z1/2"X14 3/8"X18 19.5 6.5 39.5 22 22
2NU-12 Z3/4"X14 3/4"X14 19.5 10.5 445 30 32
2NU-12-06 Z3/4"X14 3/8"X18 19.5 6.5 41.5 30 22
2NU-12-08 Z3/4"X14 1/2"X14 19.5 7.8 43.5 30 27
2NU-12-16 Z3/4"X14 1"X11.5 19.5 1" 46.5 32 41
2NU-16-12 Z1"X11.5 3/4"X14 25.5 10.5 51.5 36 32
2NU-16 Z1"X11.5 1"X11.5 255 1 52.5 36 41
2NU-16-20 Z1*X115 1.1/4"X11.5 255 11.5 58.5 41 50
2NU-20-16 Z1.1/4"X11.5 1"X11.5 26.5 11 57.5 46 41
2NU-20 Z1:1/14"XA1.5 1.474"X11.5 26.5 11.5 59.5 46 50
2NU-20-24 Z1.1/4"X11.5 1.1/2"X11.5 26.5 12.5 59.5 46 55
2NU-24-20 Z1.1/2"X11.5 1.1/4"X11.5 275 11.5 62.5 50 50
2NU-24 Z1.1/2"X11.5 1.1/2"X11.5 275 12.5 62.5 50 55
2NU-32 Z2"X11.5 2"X11.5 275 16 64.5 65 70

L02

Lo3




© =HELHNPSMIEL  NPSM ADAPTERS © =HIELNPSMiEL  NPSM ADAPTERS
4 .
L B.

L20U

L2NU9

- \60° SAESMBEUHOR B R 51ISO 11926-3/

™Y £HINPSMPIRLI60° 4hiiE

SAE O-RING BOSS L-SERIES ISO 11926-3 /
NPSM FEMALE 60° CONE

90° EFHEEIMEL / EHINPSMAEEL60° Shi
90° ELBOW NPT MALE /NPSM FEMALE 60° CONE

e #2247 THREAD R~ DIMENSIONS ) #2457 THREAD OfE O-RING R~ DIMENSIONS

PART NO. 3 F B PART NO. F Ei L

2NU9-02 z1/8"X27 1/8"X27 21 6 11 15 20U-04 7/16"X20 1/4"X18 0904 9.14 5 26 14 19
2NU9-02-04 z1/8"x27 1/4"X18 21 5 11 19 20U-04-06 7/16"X20 3/8"X18 0904 9.14 6.5 27.5 17 22
2NU9-04-02 Z1/4"X18 1/8"X27 255 6 1 15 20U-06 9/16"X18 3/8"X18 0906 9.9 6.5 28l5 17 22

2NU9-04 Z1/4"X18 1/4"X18 255 5 14 19 20U-06-08 9/16"X18 1/2"X14 0906 9.93 7.8 30 19 27
2NU9-04-06 Z1/4"X18 3/8"X18 25.5 615 14 22 20U-08 3/4"X16 1/2"X14 0908 1143 | | 7.8 33 22 27

2NU9-06 Z73/8"X18 3/8"X18 31 6,5 19 22 20U-08-06 3/4"X16 3/8"X18 0908 "B || 65 345 22 22
2NU9-06-04 Z73/8"X18 1/4"X18 31 5 19 19 20U-10-08 7/8"X14 1/2"X14 0910 12.7 7.8 36.5 27 27
2NU9-06-08 Z3/8"X18 1/2"X14 31 7.8 19 27 20U-12-08 | 1.1/16"X12 | 1/2"X14 0912 15.09 | 7.8 40 32 27

2NU9-08 Z1/2"X14 1/2"X14 37.3 7.8 22 27 20U-12 1.1/16"X12 4~\3/4"X14 0912 15.09 | 105 41 32 32
2NU9-08-06 Z1/2"X14 3/8"X18 36.7 6.5 22 22 20U-12-16 | 1.916"X12 ||\ \1"X11.5 0912 15.09 11 42.5 32 41
2NU9-08-12 Z1/2"X14 3/4"X14 375 | 105 24 32 20U-16 1.5/6"X12 | 1'X11.5 0916 15.09 11 42.5 38 41

2NU9-12 Z3/4"X14 3/4"X14 44 10.5 27 32 20U-20 1.5/8"X12 |~ 1.414"X11.5 0920 15.00 | 11.5 50 50 50
2NU9-12-08 Z3/4"X14 1/2"X14 44 7.8 27 27 20U-24 1.7/8"X12| 1.1/2"X11.5 0924 15.00 | 125 50 55 55
2NU9-12-16 Z3/4"X14 1"X11.5 45 11 30 41

2NU9-16 Z1"'X11.5 1"X11.5 50 11 33 41
2NU9-16-12 Z1'X115 3/41X14 50 10.5 33 32
2NU9-20-16 | ZAAM4!X 15 |\ \1"X11:5 54.5 11 41 41

2NU9-20 | ZINU4IX 1150 1.174"X11.5 545 | 115 41 50

2NU9-24 | Z1.112°X1451 1.1/2"X11.5 59.5 | 125 48 55

2NU9-32 z2'X11.5 2"X11.5 73.5 16 63 70

LO4 LO05




© =HELHNPSMIEL  NPSM ADAPTERS © =HIELNPSMiEL  NPSM ADAPTERS

IS EE— I EE—
Te - &,
A \'0,\}0 Fi
53 TN L20U4-0G L20U9-0G
LLJ‘_. - — __ .52 45° QSAZ%%?@;?gﬁf%ﬁ%”we-w 90° HSAESMRLHORMIER SISO 11926-3/
i ul_ﬂ[ 45° ELBOW SAE O-RING BOSS L-SERIES SO 11926-3/ 80° ELBOW SAE O RING BOSS Lo SERIES 10 11626-3/
“S1 NPSM FEMALE 60° CONE NPSM FEMALE 60° CONE
A |

e #2250 THREAD OB O-RING R~ DIMENSIONS e #2457 THREAD OB O-RING R~ DIMENSIONS
PART NO. E F Eif B S1 PART NO. E F Eif B S1

20U4-04-020G 7/16"X20 1/8"X27 0904 24 6 11 15 17 20U9-04-020G 7/16"X20 1/8"X27 0904 27.2 6 11 15 17

20U4-040G 7/16"X20 1/4"X18 0904 24 5 11 19 17 20U9-040G 7/16"X20 1/4"X18 0904 27.2 5 11 19 17
20U4-04-060G 7/16"X20 3/8"X18 0904 23.5 6.5 14 22 17 20U9-04-060G 7/16"X20 3/8"X18 0904 30 6.5 14 22 17
20U4-06-040G 9/16"X18 1/4"X18 0906 27.5 5 14 19 19 20U9-06-040G 9/16"X18 1/4"X18 0906 32 5 14 19 19

20U4-060G 9/16"X18 3/8"X18 0906 27.5 6.5 14 22 19 20U9-060G 9/16"X18 3/8"X18 0906 33 6.5 16 22 19
20U4-06-080G 9/16"X18 1/2"X14 0906 30 7.8 19 27 19 20U9-06-080G 9/16"X18 1/2"X14 0906 34.5 7.8 19 27 19
20U4-08-060G 3/4"X16 3/8"X18 0908 31.5 6.5 19 22 24 20U9-08-060G 3/4"X16 3/8"X18 0908 37.5 6.5 19 22 24

20U4-080G 3/4"X16 1/2"X14 0908 31.5 78 19 27 24 20U9-080G 3/4"X16 1/2"X14 0908 BI85 7.8 19 27 24
20U4-08-120G 3/4"X16 3/4"X14 0908 33.5 10.5 24 32 24 20U9-10-080G 7/8"X14 1/2"X14 0910 44 7.8 22 27 27
20U4-10-080G 7/8"X14 1/2"X14 0910 38.5 7.8 22 27 27 20U9-120G 1.1/16"X12 3/4"X14 0912 51 10.5 27 32 32
20U4-10-120G 7/8"X14 3/4"X14 0910 39 10.5 24 32 27 20U9-160G 1.5/16"X12 1"X11.5 0916 54.5 1" 33 41 41
20U4-12-080G 1.1/16"X12 1/2"X14 0912 43.5 7.8 27 27 32 20U9-200G 1.5/8"X12 1.1/4"X11.5 0920 59.5 11.5 41 50 50

20U4-120G 1.1/16"X12 3/4"X14 0912 43.5 10.5 27 32 32 20U9-240G 1.7/8"X12 1.1/2"X11.5 0924 65 12.5 48 55 55
20U4-12-160G 1.1/16"X12 1"X11.5 0912 44.5 11 30 41 32 E: EiR51S0O 11926-15A#HE, Note: E endis connected with ISO 11926-1 port.
20U4-16-120G 1.5/16"X12 3/4"X14 0916 45.5 10.5 33 32 41

20U4-160G 1.5/16"X12 1"X11.5 0916 45.5 11 33 41 41
20U4-16-200G 1.5/16"X12 11/4"X11.5 0916 48 11.5 41 50 41
20U4-20-160G 1.5/8"X12 1"X11.5 0920 48 11 41 41 50

20U4-200G 1.5/8"X12 1.1/4"X11.5 0920 48 11.5 41 50 50
i Ei5ISO 11926-1i A48, Note: E endis connected with ISO 11926-1 port.

LO6 Lo7




© =HELHNPSMIEL  NPSM ADAPTERS © =HIELNPSMiEL  NPSM ADAPTERS
4 .

L B
1
s2
_ L7NU-S
L7ZNU9-S =
—— & B NIBL / EHNPSHELG0" S
90° TAHE NI / XHINPSHBRL6E0° Shik m“‘..“-mm NPT FEMALE / NPSM FEMALE 60° CONE
SR 777
90° ELBOW NPT FEMALE / NPSM FEMALE 60° CONE \\\\\\\\\ 2z B
)

1247 THREAD R~F DIMENSIONS

PART NO. 3 F B S1
ke #2450 THREAD R~ DIMENSIONS 7NU-02S z1/8"x27 1/8"X27 6 24 17 15
PART NO. 3 F B st s2 7NU-04-02S Z1/4"X18 1/8"X27 6 29 19 18
7NU9-02S Z1/8"X27 1/8"X27 17.8 6 16 15 7NU-04S Z1/4"X18 1/4"X18 5 315 19 19
7NU9-04-02S | Z1/4"X18 1/8"X27 225 6 19 15 7NU-04-06S Z1/4"X18 3/8"X18 6.5 31.5 19 22
7NU9-04S Z1/4"X18 1/4"X18 225 5 19 19 7NU-06S z3/8"X18 3/8"X18 6.5 34 22 22
7NU9-04-06S | Z1/4"X18 3/8"X18 225 6.5 19 22 7NU-06-08S Z3/8"X18 1/2"X14 7.8 34 22 27
7NU9-06S Z3/8"X18 3/8"X18 25 6.5 24 22 7NU-08-06S Z1/2"X14 3/8"X18 6.5 39 30 22
7NU9-06-08S | Z3/8"X18 1/2"X14 25 7.8 24 27 7NU-08S Z1/2"X14 1/2"X14 7.8 41 30 27
7NU9-08-06S | Zz1/2"X14 3/8"X18 31.2 6.5 30 22 7NU-128 Z3/4"X14 3/4"X14 10.5 44 36 32
7NU9-08S Z1/2"X14 1/2"X14 31.2 7.8 30 27 7NU-16S Zi"X 15 1"X11.5 11 515 41 41
7NU9-08-12S | Z1/2"X14 3/4"X14 31.2 | 105 30 32 7NU-20S Z1AMXI5 |\ 114X5 11.5 55 50 50
7NU9-12-08S | Z3/4"X14 1/2"X14 34.5 7.8 33 27 7NU-24S ZAMZXE 1.1/2"X11.5 125 | 555 60 55
7NU9-12S Z3/4"X14 3/4"X14 345 | 105 33 32 7NU-325 Z2'X11.5 2"X11.5 16 57 70 70
7NU9-12-16S | Z3/4"X14 1"X11.5 34.5 11 33 41
7NU9-16S Z1"X11.5 1"X11.5 41 11 41 41
7NU9-20S | Z1.1/4"X11:5]-1:1/4"X11.5 432 | 115 50 50
7NU9-24S | Z1.1/2"X11.5 | 1.1/2"X11.5 528 | 125 63 55

Lo8 Lo9




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS
4 4 4

NEBaEER /BREIEZ1SO6162-1

METRIC MALE BITETYPE/
L-SERIES FLANGE ISO 6162-1

ISO 6162i%=#&k ISO 6162 Flange Adapters

L1CFL-RN
L1DFL-RN

rE BYE ELRE EFHMEDI R~ DIMENSIONS EN%%
PART NO. THREAD FLANGE SIZE TUBE O.D. 11 MPa
L1CFL, L1DFL L1CFL9., L1DFL9 L1DFS L1DFS9 L1FFL L1FFL9 1CFL-22-08 M22X1.5 1/2" 15 30.2 6.73 41 24 27 31.5
Mo2 Mo3 Mo4 Mo4 Mo5 M05 1CFL-26-12 | M26X1.5 3/4" 18 38.1 | 6.73 | 45.5 30 | 320 EBEIL
1CFL-30-12 M30X2 3/4" 22 38.1 6.73 | 45.5 32 36
1CFL-36-16 M36X2 1" 28 44 .4 8 48.5 36 41 16
1CFL-45-20 M45X2 1.1/4" 35 50.8 8 47.5 41 50 BEIIL
1CFL-52-24 M52X2 1.1/2" 42 60.3 8 53 46 60
L1FFS L1FFS9 L1JFL L1JFL4 L1JFL9 L1JFS 1DFL-24-08 M24X1.5 1/2" 16 30.2 6.73/| 41.5 24 30
Mos Mos Moz M08 M09 M10 1DFL-30-12 | M30X2 3/4" 20 384 | 6.73 |-465 30 | 36 35
1DFL-36-12 M36X2 3/4" 25 381 6.73 45 30 46 ERS
1DFL-42-16 M42X2 1" 30 44 .4 8 49.5 36 50
1DFL-36-20 M36X2 1.1/4" 25 50.8 8 48 41 46
1DFL-42-20 M42X2 1.444" 30 50.8 8 48.5 41 50 E:%BWS
L1JFS4 L1JFS9 L1FLW L1FSW LFL-W LFS-W 1DFL-52-20 M52X2 1.1/4" 38 50.8 8 54 46 60
M11 M12 M13 M14 M15 M15 1DFL-52-24 | M52X2 1.1/2" 38 603 | 8 | 54 46 | 60 | 21ERIIS
i MEGFFERFERBEEITE, WEEKRSFEM “RN” , M1DFL-52-24RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1DFL-52-24RN,

L4FL L4FS L4FL-M L4AFS-M
M16 M16 M17 M17




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS

4 4 4 .
- dl | 11
; = - ——-I— - SE_ ST AHBYFERX/ ERFIEZISO6162-2
7 - ' N . . _L = METRIC MALEBITETYPE/
s | S[D&k 00" BABBMEHFER | BEIEZISO 6162-1 . o METRICMALEBITE TYPE/
& = " 52'"( T 4(& 90° ELBOW METRIC MALE BITE TYPE / S2
hi L-SERIES FLANGE ISO 6162-1
L1DFS L1DFS-RN
L1CFL9 L1CFL9-RN re iB5E 5 =7 5MZED1 R~ DIMENSIONS EhEg
L1DFL9 L1DFL9-RN PART NO. THREAD FLANGE SIZE TUBE O.D. MPa
1DFS-24-08 M24X1.5 1/2" 16 31.7 | 7.75 | 445 24 30
re BHTE SR & FHNMEDY R~F DIMENSIONS FEHZER 1DFS-24-12 M24X1.5 3/4" 16 41.3 | 8.76 | 50.5 30 30
PART NO. THREAD FLANGE SIZE TUBE O.D. 11 L2 MPa 1DFS-30-12 M30X2 3/4" 20 41.3 |,8:76/ | 49.5 30 36
1CFL9-22-08 | M22X1.5 1/2" 15 30.2 | 6.73 | 29 36 24 27 31.5 1DFS-36-12 M36X2 3/4" 25 413 |/ 8.76 51 30 46 E;OEJS
1CFL9-26-12 | M26X1.5 3/4" 18 38.1|6.73 | 28.5 42 30 32 BRIIL 1DFS-36-16 M36X2 1" 25 476 | 9.53 60 36 46
1CFL9-30-12 M30X2 3/4" 22 38.1|6.73 | 34 42.521+ 30 36 1DFS-42-16 M42X2 17 30 47.6.4-9753 | 60.5 36 50
1CFL9-36-16 M36X2 1" 28 44 .4 8 36.5 45 36 41 16 1DFS-42-20 M42X2 1.1/4" 30 54 10.29 | 65.5 41 50
1CFL9-45-20 M45X2 1.1/4" 35 50.8 8 39 63 48 50 BRIIL 1DFS-52-20 M52X2 1.1/4" 38 54 10.29 | 67 46 60 31.5
1CFL9-52-24 M52X2 1.1/2" 42 60.3 8 47 75 48 60 1DFS-52-24 M52X2 1.1/2" 38 63.5 | 12.57 | 73 46 60 BERIS
1DFL9-24-08 | M24X1.5 172" 16 30.2.16.73 | 295 36 | 24 | 30 E: WERFERFERBEETE, WEERSEM “RN” , fM1DFS-52-24RN,
1DFL9-30-12 M30X2 3/4" 20 381 | 6.73 -32.5 42 30 36 35 Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
1DFL9-36-12 M36X2 34" 25 381673 | 33 42 30 46 BRJIIS necessary to insert suffix “RN” after our part no.,for example 1DFS-52-24RN,
1DFL9-42-16 M42X2 1" 30 44 .4 8 36.5 45 36 50
1DFL9-36-20 M36X2 1.1/4" 25 50.8 8 43 50 41 46
5 28
1DFL9-42-20 M42X2 1174 30 50.8 8 44.5 50 41 50 EZ5S
1DFL9-52-20 M52X2 1.1/4" 38 50.8 8 45 68 46 60
1DFL9-52-24 M52X2 1.1/2" 38 60.3 8 48 75 48 60 | 21E RIS
E: WREFERFERESERITSE, WEERSEM “RN” , M1DFLI-52-24RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis . ‘ -
necessary to insert suffix “RN” after our part no.,for example 1DFL9-52-24RN, 90° TAMBYFEX/ERIIEZISO6162-2

90° ELBOW METRIC MALE BITE TYPE/
S-SERIES FLANGE ISO 6162-2

L1DFS9 L1DFS9-RN
rRe 24 P tilh BEFIMED1 R=f DIMENSIONS EHhER

PART NO. THREAD FLANGE SIZE TUBE O.D. 1 L2 MPa
1DFS9-24-08 | M24X1.5 1/2" 16 31.7 | 7.75 | 29.5 39 24 30
1DFS9-24-12 | M24X1.5 3/4" 16 41.3 | 8.76 | 36.5 48 32 30
1DFS9-30-12 M30X2 3/4" 20 41.3 | 8,76 35.5 48 32 36

. 40

1DFS9-36-12 M36X2 3/4 25 41.37] 8.76 | 36 48 32 46 EE5S
1DFS9-36-16 M36X2 1" 25 47,67 9.53/| 44 60 41 46
1DFS9-42-16 M42X2 1" 30 47.6 |L9:637 41.5 60 41 50
1DFS9-42-20 M42X2 1.1/4" 30 54 [10.29| 44.5 68 46 50
1DFS9-52-20 M52X2 1.1/4" 38 54 110.29| 45 68 46 60 31.5
1DFS9-52-24 M52X2 1.1/2" 38 63.5|12.57| 56 76 50 60 BRYIS
I WETFERFEBESERITSE, WiFEKRSEM “RN” , fN1DFS9-52-24RN,
Note:In case if you are interested to order the adpter in complete set with cutting ring and nut,itis
necessary to insert suffix “RN” after our part no.,for example 1DFS9-52-24RN,




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS

4 4 4
7 - A
W A ’ '%/ / /é —[
L1FFL : L1FFS
wl - - = | - Wi - e s
- 5 |
£4IORFSHMELOM B FEFE / 42 R 5135 21S0 6162-1 T 1[ | X HIORFSIMELOME FEZ S / ERFIEZISO 6162-2
1 ORFS MALE O-RING /L-SERIES FLANGE 1SO 6162—1 . ORFS MALE O-RING /S-SERIES FLANGE I1SO 6162-2
A | A 1
L L

ke #47 THREAD EEES O O-RING R~t DIMENSIONS re 1247 THREAD EEEE O O-RING R~t DIMENSIONS
PART NO. E FLANGE SIZE ~ Ei# 2% FLANGE L PARTNO. E FLANGE SIZE  Ei% %2 1% FLANGE d1 L
1FFL-12 1.3/16X12 3/4" 0018 0214 R4 6.73— 381 45.7 1FFS-12 1.3/16X12 3/4" 0018 0214 17 8.76— 413 ) 51.8
1reite | 1znerxgz | [|[]1] /1) / |00 |V Jloads ) /| Azl 8 [ a4a4 | 478 1rrs-16 | tonekeel (11111 / 1/ / |rooer |V Jooka/ /| Arsl] o3 | 476 | 572
1FFL-20 | 1.11/16"X12 1.9/4" 0025 0222 1755 8 50.8 | 47 1FFS-20 | 1.11/16"X12 1.1/4" 0025 0222 17/5 | 40.29 | | 54 62
1FFL-24 x{e—l 1.4/28 | 10026 |——0206— /1758 | 60.3 | 495 1FFS-24 o e—— 3| loeze- 0295— 175 1257 | 635 | 66.8

L1FFLY9 L1FFS9

90° TEHIORFSIMELZORE FHEES / EFRFIE=IS06162-2
90° ELBOW ORFS MALE O-RING /S-SERIES FLANGE ISO 6162-2

90° L EHIORFSHINMELOWE TFEEZH / R TIE=ISO 6162-1
90° ELBOW ORFS MALE O-RING /L-SERIES FLANGE ISO 6162-1

re #2457 THREAD RS O O-RING R~ DIMENSIONS , ;
=] 24 E=ES 2 —RIN 0

R NG E LR G = 2238 FLANGE re 240 THREAD REHS O O-RING R~t DIMENSIONS

PART NO. = FLANGE SIZE Eiig % =% FLANGE |
1FFL9-12 1.3/16X12 3/4" 0018 0214 41 54 .1 38.1 6.73 30
1FFL9-16 1.7/16"X1ﬂ_ﬂ H H l 1 0021 ) V O/é/19 / /44;5/ @EJ 44 8 36 1FFS9-12 1.3/16X12 ' Sﬁﬂ \ 201;&/ / 8214 V / 40.3 5:{.1/ 41.3 J 8.755 30
1FFL9-20 1.11/16"X12 11/4" Q025 0222 47.5 66.5 50.8 8 41 R Lo pile a2 1} ! - e Q i a 5 9.2 ol 3 i ED

— 7 | — - . " . " . . .

1FFL9-24 2'%12 E ﬂ M ié. | // /5 4 795 603 8 48 1FFS9-20 1.11/16"X12 1.1/4 0025 0222 47.5 66.5 54 10.29 41

1FFS9-24 2"X12 =xra 0029/ L od2s—/ 59793 | 635 | 1257 | 48




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS
4 4 4 4

L1JFL L1JFL4

£HJICHMELTA SN /2RI 21S0 61621 [a3®
JIC MALE 74° CONE /L-SERIES FLANGE ISO 6162-1

45° TEFIICIMEG 74 SME/ B RIIEZ=ISO 6162-1
45° ELBOW JIC MALE 74° CONE /L-SERIES FLANGE ISO 6162-1

®= R4 THREAD BEES oM RSt DIMENSIONS e #2457 THREAD HEERE R~t DIMENSIONS
PART NO. E FLANGE SIZE  O-RING df PART NO. E FLANGE SIZE B | d1
1JFL-08 3/4"X16 172" 0210 6.73 30.2 43.5 1JFL4-08 3/4"X16 1/2" 0210 27 37 6.73 30.2 19
1JFL-08-12 3/4"X16 3/4" 0214 6.73 38.1 45.4 1JFL4-10-08 7/8"X14 1/2" 0210 31 37 6.73 30.2 22
1JFL-10-08 7/8"X14 172" 0210 6.73 30.2 48 1JFL4-10-12 7/8"X14 3/4" 0214 32 40.1 6.73 38/1 27
1JFL-10-12 7/8"X14 3/4" 0214 6.73 38.1 48 1JFL4-12 1.1/16"X12 3/4" 0214 35.5 40.1 6.73 38.1 27
1JFL-12-08 1.1/16X12 172" 0210 6.73 30.2 49 1JFL4-12-16 1.1/16"X12 1" 0219 37.5 47 8 44.4 33
1JFL-12 1.1/16X12 3/4" 0214 6.73 3811 50.5 1JFL4-16 1.5/16"X12 1" 0219 38.5 47 8 44 .4 33
1JFL-12-16 1.1/16X12 1" 0219 8 44.4 52.2 1JFL4-16-12 1.5/16"X12 3/4" 0214 38.5 42 673 38.1 33
1JFL-16-12 1.5/16"X12 3/4" 0214 6.73 38.1 52 1JFL4-16-20 | 1.5/16"X12 1.1/4" 0222 42 51.8 8 50.8 41
1JFL-16 1.5/16"X12 1 0219 8 44.4 53.4 1JFL4-20 1.5/8"X12 1.174" 0222 43.5 51.8 8 50.8 41
1JFL-16-20 1.5/16"X12 1.1/4" 0222 8 50.8 52.2 1JFL4-20-16 1.5/8"X12 1" 0219 43 51 8 44 .4 41
1JFL-20-16 1.5/8"X12 1 0219 8 44.4 54.5 1JFL4-20-24 1.5/8"X12 142" 0225 46 60.5 8 60.3 48
1JFL-20 1.5/8"X12 1.174% 0222 8 50.8 53.1 1JFL-24-20 1.7/8"X42 1.1/4" 0222 49 54 8 50.8 48
1JFL-20-24 1.5/8"X12 1427 0225 8 60.3 56 1JFL4-24 1.718"X12 1.1/2" 0225 49 60.5 8 60.3 48
1JFL-24-20 1718"X12 1.1/4" 0222 8 50.8 56.5 1JFL4-32 2.172"X12 2" 0228 58 76.2 9.53 71.4 63
1JFL-24 1,7/8"X12 1.1/2" 0225 8 60.3 59.2 ‘ \ _ ‘ ‘
i BEBRHEERTITSR. EFEEDALKN, RABEBRFAESHIIZANB200, NB500, EFHEAES N, RABEBREESHIER
1JFL-24-32 1.7/8*X12 2" 0228 9.53 71.4 60 NB200., NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
1JFL-32 2.1/2"X12 2" 0228 9.53 71.4 66.3 nut NB200 and sleeve NB300 is suitable inch tube.
i BERHMEERITITHR, EFEEDARXGN, EABERFENHIZANB200, NB500, BEFEHEAXGN, ERABIRHESSIER
NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.

o




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS
4 4 4 4

L1JFS

L1JFL9
EHJICIMNELT74° S/
ERIIEZISO06162-2
JIC MALE 74° CONE /

S-SERIES FLANGE 1SO 6162-2

90° TEFIJICHMEL 74 S/ BB RTIE=ISO 6162-1
90° ELBOW JIC MALE 74° CONE /L-SERIES FLANGE ISO 6162-1

re #2457 THREAD i R~ DIMENSIONS re #2471 THREAD E=RS O E R~ DIMENSIONS
PART NO. E FLANGE SIZE B [ d1 PART NO. E FLANGE SIZE ~ O-RING d1
1JFL9-08 3/4"X16 1/2" 0210 32.5 44 6.73 30.2 19 1JFS-08 3/4"X16 1/2" 0210 7.75 31.7 475
1JFL9-08-12 3/4"X16 3/4" 0214 38 54.1 6.73 38/1 27 1JFS-10-08 7/8"X14 1/2" 0210 7.75 31.7 50
1JFL9-10-08 7/8"X14 1/2" 0210 37.5 44 6.73 30.2 22 1JFS-10-12 7/8"X14 3/4" 0214 8.76 41.3 55
1JFL9-10-12 718"X14 3/4" 0214 41 54.1 6.73 38.1 27 1JFS-12 1.1/16"X12 3/4" 0214 8.76 41.3 56.7
1JFL9-12 1.1/16"X12 3/4" 0214 445 54.1 6.73 38.1 27 1JFS-12-16 1.1/16"X12 1" 0219 9.53 47,6 61.5
1JFL9-12-16 1.1/16"X12 1" 0219 48 60.2 8 44.4 33 1JFS-16-12 1.5/16"X12 3/4" 0214 8.76 41.3 58
1JFL9-16 1.5/16"X12 1" 0219 49 60.2 8 44.4 33 1JFS-16 1.5/16"X12 1" 0219 9.53 47.6 62.8
1JFL9-16-12 1.5/16"X12 3/4" 0214 49 58 6.73 38.1 33 1JFS-16-20 1.5/16"X12 114" 0222 10.29 54 67.7
1JFL9-16-20 1.5/16"X12 1.4/4" 0222 54 66.5 8 50.8 41 1JFS-20-16 1.5/8"X12 11 0219 9.53 47.6 64
1JFL9-20 1.5/8"X12 1.1/4" 0222 55.5 66.5 8 50.8 41 1JFS-20 1.5/8"X12 1.414" 0222 10.29 54 68.9
1JFL9-20-16 1.5/8"X12 1" 0219 55.5 65 8 44.4 41 1JFS-20-24 1.5/8"X12 1.4/2" 0225 12.57 63.5 73.5
1JFL9-20-24 1.5/8"X12 1.1/2" 0225 60 79.3 8 60.3 48 1JFS-24-20 1.7/8"X12 1.1/4" 0222 10.29 54 72
1JFL9-24 1.7/8"X12 11/2" 0225 62.5 79.3 8 60.3 48 1JFS-24 1-:778"X12 1.1/2" 0225 12.57 63.5 76.7
L lFLE2020 | L itz I b D222 £25 | 753 2 203 8 i BERAEBSTIIH. BFTEGDAAHAN, BARSRIESFEANB200, NB500, EFHADKHN, BARERMES LA
1JFL9-24-32 1.7/18"X12 2" 0228 74.5 108 9.53 71.4 63 NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
1JFL9-32 2 1/2"X12 on 0228 30 108 9.53 71.4 63 nut NB200 and sleeve NB300 is suitable inch tube.
i BBRHEERTITE. STFERDAAHN, &AZSRFMESFIERANB200, NB500, & FERZAXHN, BABEGRAESSER
NB200, NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the
nut NB200 and sleeve NB300 is suitable inch tube.




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS
4 4 4 4

L1JFS4 L1JFS9

1)y
90° TEHIJICHNRL74° S/
BERIEZISO6162-2

90° ELBOW JIC MALE 74° CONE /
S-SERIES FLANGE ISO 6162-2

L bERE . 45° TEH|JICHMNBL74° SME/ < 2

e B R 53%2£1S0 6162-2 74 (]

1T ] 45° ELBOW JIC MALE 74° CONE / )
S-SERIES FLANGE ISO 61622

= 1247 THREAD E=RS OF:E R~F DIMENSIONS = 1247 THREAD EZES O E R~F DIMENSIONS

PART NO. E FLANGE SIZE O-RING B | d1 PART NO. E FLANGE SIZE O-RING 2] | d1
1JFS4-08 3/4"X16 1/2" 0210 27 38 7.75 31.7 19 1JFS9-08 3/4"X16 1/2" 0210 32.5 44 7.75 31.7 19
1JFS4-10-08 7/8"X14 1/2" 0210 31 39 7.75 3147 22 1JFS9-10-08 7/8"X14 1/2" 0210 37.5 46 7.75 31,7 22
1JFS4-10-12 7/8"X14 3/4" 0214 32.5 40.1 8.76 41.3 27 1JFS9-10-12 7/8"X14 3/4" 0214 41 54 .1 8.76 41.3 27
1JFS4-12 1.1/16"X12 3/4" 0214 35.5 40.1 8:76 41.3 27 1JFS9-12 1.1/16"X12 3/4" 0214 44.2 541 8.76 41.3 27
1JFS4-12-16 1.1/16"X12 1" 0219 375 47 9.53 47.6 33 1JFS9-12-16 1.1/16"X12 1" 0219 48 60.2 953 47.6 33
1JFS4-16 1.5/16"X12 1" 0219 385 47 963 47.6 33 1JFS9-16 1.5/16"X12 1" 0219 49 60.2 9.53 47.6 33
1JFS4-16-12 1.5/16"X12 3/4" 0214 38.5 45 8.76 41.3 33 1JFS9-16-12 1.5/16"X12 374" 0214 49 57 8.76 41.3 33
1JFS4-16-20 1.5/16"X12 1.1/4" 0222 42 52 10.29 54 41 1JFS9-16-20 1.5/16"X12 1.114" 0222 54 66.5 10.29 54 41
1JFS4-20 1.5/8"X12 1.1/4" 0222 43 52 10.29 54 41 1JFS9-20 1.5/8"X12 1.1/4" 0222 55.5 66.5 10.29 54 41
1JFS4-20-16 1.5/8"X12 1 0219 43 52 9.53 47.6 41 1JFS9-20-16 1.5/8"X12 1~ 0219 55.5 65 9.563 47.6 41
1JFS4-20-24 1.5/8"X12 1.1/2" 0225 46 60.5 12.57 63.5 48 1JFS9-20-24 1.5/8"X12 1.1/2" 0225 59.5 79.3 12.57 63.5 48
1JFS4-24 1.7/8"X12 1.1/2" 0225 49 60.5 12.57 63.5 48 1JFS9-24 1.778"X12 1.1/2" 0225 62.5 79.3 12.57 63.5 48
i BBRHEFRMTITH, EFHEDHAHN, RARSRAESEANB00, NB500, EFERHHHN, RABSRTES LM 1JFS9-24-20 | 1.H8"X12 1174 0222 625 | 79 | 1029 | 54 48
NB200. NB300, Note: Nut a.nd s!eeve §hou|d be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the i EERAEERTII%. STERDAAGN, REAEERHESR%EANB200, NB500, SFHENHGN, REAERRAESR%ER
nut NB200 and sleeve NB300 is suitable inch tube. NB200. NB300, Note: Nutand sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube, the

nut NB200 and sleeve NB300 is suitable inch tube.




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS

I I
7 TN i L1FLW il S f L1IESW
I B — a N S - +« | O
| —[ h BRIELISO 6162-1/ BB & 515 2150 6162-2 ) BIEE
t l—' L-SERIES FLANGE IS0 6162-1/BUTT-WELD TUBE | | S-SERIES FLANGE ISO 6162-2/ BUTT-WELD TUBE
s - |
rE E=ES R~} DIMENSIONS EHZER
PART NO. FLANGE SIZE D | MPa ke HEEE R~ DIMENSIONS Ehg
1FLW-08-16X2 172" 16X2 16 PART NO. FLANGE SIZE D | MPa
1FLW-08-20X2.5 172" 20X2.5 502 20 08 1 1FSW-08-16X2 172" 16X2 a1 16 . a
1FLW-12-25X3 3/4" 25X3 38.1 25 6.8 50 1FSW-08-20X2.5 172" 20X2.5 20
1FLW-16-25X3 1 25X3 25 34.5 1FSW-12-16X2 3/4" 16X2 16
1FLW-16-28X3 1" 28X3 " 28 . o/ 1FSW-12-20X2.5 3/4" 20X2.5 413 20 8.8 38
1FLW-16-30X4 1" 30X4 30 1FSW-12-25X4 3/4" 25X4 25
1FLW-16-38X5 1" 38X5 38 1FSW-16-25X3 P 25X3 25
1FLW-20-25X3 1.1/4" 25X3 25 1FSW-16-30X4 1" 30X4 476 30 95 40
1FLW-20-30X4 1.1/4" 30X4 50.8 ’ 30‘ | 8 55 276 1FSW-16-38X5 1" 38X5 1/1:%8 §
1FLW-20-38X5 1.1/4" 38X5 = N 1FSW-20-25X3 1.1/4" 25X3 25 40
1FLW-20-42X6 1.1/4" 42X6 | 42 46 1FSW-20-30X4 1.1/4" 30x4 | o4 | & 103 45
1FLW-24-38X4 1.4/2" 38X4 | 38 1FSW-20-38X5 1.1/4" 38X5 38 '
1FLW-24-42X5 1.172" 42X5 42 1FSW-20-42X6 1.1/4" | dexe | 42
1FLW-24-45X5 iz HEEE 003 45 8 o 2 1FSW-24-38X5 1472 38X5 38
1FLW-24-50X6 T2 50X6 50 ! 1FSW-24-45X6.5 D || Labxes 6as 45 - 5
1FLW-32-55X5 A | 55X5 i o o 1FSW-24-48X8 1412 48X8 ' 48 '
1FLW-32-60X8 2" 60X8 ' 60 ' 57 1FSW-24-50X8 \ 3 50X8 50
1FLW-40-65X6 Znr— 65X6 " 65 oc o s 1FSW-32-60X8 2" 60X8 ros 60 e s
1FLW-40-70X7.5 2.1/2" 70X7.5 70 1FSW-32-60X10 2" 60X10 60
1FLW-48-80X6 3" 80X6 80
101.6 9.6 58 13.8
1FLW-48-90X8 3" 90X8 90




@ 1S06162i%24EL  1SO 6162 FLANGE ADAPTERS @ 1SO6162i2=#EL  1SO 6162 FLANGE ADAPTERS

S EE— L EE——
B
E h L
L |
SN Lk Z
LFL-W .
TN N L4FL
- L O| <« % N
11— z= | P el 2 =) L_ .-
e n ISO 6162-1—SAE J5184% R 5 B f ik 2 & o+ ° 1SO 6162142 % 5|3 22 ¢ 5L
Y ISO 6162-1—SAE J518 L-SERIES WHOLE FLANGE CLAMPS 50 61621 LSERIES FLANGE PLUG
D . T |
®s LS R DIMENSIONS OB  ENER ®S HERS eaCIMENSIONS EN%ER
A FLANGE SIZE c D O-RING MPa PART NO. FLANGE SIZE d2 L MPa
FL-08W 172" 53.8 | 461 | 381 | 9 | 175 | 62 | M8X25 0210 4FL-08 172" 0210 30.2 24 16 6.73
FL-12W 3/4" 65 | 52.4 | 476 | 11 | 222 | 62 | M10X30—| /(0214 /| 345 4FL-12 3/4" 0214 38.1 31.7 17— 673/ 34.5
FL-16W 1" 69.9 | 58.7 | 524 | 11 | 2621 7.5/ | M10X30 0219 4FL-16 1" 0219 44.4 38 17 8
p =7 [ ] ‘ . 1] h7 7T
FL-20W 1.1/4 792 | 73 | 587 | /11 V302 | ‘75 | /mioxsp |/ oe22 \ | 27.6 4FL-20 1.1/4 0222 7 s0.d | A3/ || h1 [/ B 27.6
FL-24W 1.1/2" 93.7 |/82.6 |/69.9 /135 | 387 |/ 75 | Mi12x3s 0225 207 4FL-24 112" 0225 60.3 50 19 8 207
FL-32W 2t (11| Ho1.e | o6ls | 77/8 /135 | doo| o | wm12x35 0228 ' 4FL-32 TENEN 0228 | | /1.4 /" 62 19 9.53 '
FL-40W 2.1/2" 114 /| 109889 | 135 | 508 | 9 | M12X40 0232 17.2 4FL-40 pL12" 0282 84.1 74 40 9.53 17.2
FL-48W 3"\——1135 | 1306 | 106.4 | 175 | 61.9 | 9 M16X50 0237 13.8 4FL-48 \s—— 0237 101.6 90 45 9.6 13.8
L
1
. h 1
w
! Qﬁf L4FS
| LFS-W NS =
ISO 6162-2E R FIE =k
SO 64620 SAE J51 818 % 18 35 22 5 ISO 6162-2 S—SERIES FLANGE PLUG

1SO 6162-2—SAE J518 S-SERIES WHOLE FLANGE CLAMPS

R EERE R~ DIMENSIONS (572
PART NO. FLANGE SIZE c O-RING
FS-08W 172" 56.3 | 492 | 405 | 9 | 182 | 7.2 | MB8X30 0210
FS-12W 3/4" 714 | 61.8 | 508 | 11 | 238 82 mioxas /|| 0214
FS-16W 1 81, 71.4/| 572/ 13V | 278/ /9 N12X45 0219

] = 7

FS-20W aamy U] o5 | 792 | 6.7/ | 15 |[/31.8 | /e.8/| /midxsp” | A\ 0222
FS-24W 172" 112.8 [ 968 |‘79/4 |/\17 /| 36l6 |12~ M16X55 0225
FS-32W "1 1334 1156 | 96.8 | 21 | 44.4 | 12 M20X70 0228

EhER
MPa

42

ENER

MPa

RS REES R~ DIMENSIONS
PART NO. FLANGE SIZE d2 L

4FS-08 172" 0210 317 24 18 7.75
4FS-12 3/4" 0214 413 | _32——18/ | _bF6
4FS-16 4 0219 47.6 38 18 9/53
4FS-20 WA \ULY / ofea/ T/ sa fa] [ fs Lhaode
4FS-24 172" 0225 63.5 51 20 12,57
4FS-32 P — 0228 79.4 67 30 12,57

42




0 ISO 6162i%=4#L ISO 6162 FLANGE ADAPTERS 0 SAEH FARiE#EL SAE STAPLE-LOK ADAPTERS

I e

L

|
\\E L4FL-M SAEf ARiEEL SAE Staple-lok Adapters
JESSN
ISO6162-132 R 5 FHEE =k
ISO 6162-1 L-SERIES FLANGE PLUG
K= EZEE R~ DIMENSIONS EHZR

RARIENCE FLANGE SIZE g2 C MPa L1Y 3% L2Y9 LaY L7Y LoNY
4FL-08M 1/2" 30.2 24 16 6.73 NO2 NO2 NO3 NO3 NO4 NO4
4FL-12M 3/4" 38.1 31.7 17 +—673 | 34.5
4FL-16M T 44.4 38 17 8
4FL-20M 1.1/4" e X JJas S pr] | K 27.6
4FL-24M 1.1/2" 60.3 50 19 8 207
4FL-32M 2\\ \'\\\U \\ / /] Lﬂ/ﬂj\/JL/ﬁi 19 9.6 Lozy LU-Y
4FL-40M 2.1/2" 84.1 74 40 9.6 17.2 NO5 NO5
4FL-48M T 101.6 90 45 9.6 13.8

L

|
NN L4FS-M
S __-;\\\l_ %
ISO 6162-28 R 5 FH ik 2 # 3
ISO 6162-2 S—SERIES FLANGE PLUG

rRE P il Rt DIMENSIONS EHESR
PART NO. FLANGE SIZE L MPa
4FS-08M 1/2" 31.7 24 18 7.75
4FS-12M 3/4" | 413 +—p7 7|/ 5T 8719
4FS-16M 1 47.6 38 16 9.53 42
srsaom | || ([ niei| |/ ] ] % ][ asl ]| T8/ [lros
4FS-24M 212" 635 51 19 12.57
4FS-32M I 79.4 67 30 12.6

Pron




0 SAEf FR&EzE L SAE STAPLE-LOK ADAPTERS 0 SAEH FARiE#EL SAE STAPLE-LOK ADAPTERS

L I
M
N
= O
A B L1Y ] L2Y9
o e et =
) S — oo 90° WHESME Sk / ik FIIE Sk SAE J1467
- BeiesME L SAE J1467 S
<ot 90° ELBOW CLIP FASTENER MALE /
CLIP FASTENER MALE SAE J1467 ﬂﬂ_ )<§ CLIP FASTENER FEMALE SAE J1467
A

ke Mt SIZE Of%E O-RING R~ DIMENSIONS
PARTNO. 7% LEFT 4% RIGHT %% LEFT 4 RIGHT JOKI J2

1Y-04 1/4" 1/4" 28 | 28 | 149 | 99 | 149 | 99 o 57
1Y-06-04 38" 114" 28 | 28 | 199 | 139 | 149 | 99 | &7

1Y-06 38" 38" 28 | 28 | 199 | 139 | 199"/ 139 | &7
1Y-08-04 172" 114" 28 | 28 | 239 | 1797 149 | 99 | 57
1Y-08-06 172" 38" 28 | 28 | 239 ([ 179 | 199 | 139 | 57

1Y-08 172" 172" 28 | 28 1 239 || 179 239/\ 179 | 57
1Y-12-06 314" 38" 28 28| | 289 || 239-)/ 199 | 139 | &7
1Y-12-08 34" 172" 28 | l28 | 289, 239 | 239 | 179 | 57

1Y-12 34" 314" 28 |28 | 289 | 239 | 289 | 239 | &7
1Y-16-08 1" 172" 335 | | 28 388 | 309 | 239 | 179 | 62
1Y-16-12 1" 314" 3357 28 | 388 | 309 | 289 | 239 | 62

1Y-16 1 1 335 | 335 | 388 | 309 | 388 | 309 | 68
1Y-20-12 1.1/4" 314" 335 | 28 | 459 | 379 | 289 | 239 | 62
1Y-20-16 1.1/4" i\ 335 | 335 | 459 | 37.9 | 388 | 309 | 68

1Y-20 1.114" 1.1/4" 335 | 335 | 459 | 37.9 | 459 | 379 | 68

1v-24 1.1/2" 11/2" 37 | 37 | 549 | 469 | 549 | 469 | 76
1Y-32-24 2" 172" 37 | 37 | 639 | 559 | 549 | 469 | 76

1Y-32 2" 2" 37 | 37 | 639 | 559 | 639 | 559 | 76

L
L2Y

~{

=

CLIP FASTENER MALE/CLIP FASTENER FEMALE SAE J1467

REIMESL /RN IESL SAE J1467

g Mi& SIZE R~} DIMENSIONS

PART NO. Zik LEFT A RIGHT K M
2Y9-04 1/4" 1/4" 405 38 14.9 9.9 15.16 10.03 16
2Y9-06-04 3/8" 1/4" 44 42 19.9 13.9 15.16 10.03 22
2Y9-06 3/8" 3/8" 44 425 19.9 139 20.17 14.02 22
2Y9-06-08 3/8" 172" 46.5 46 19.9 13.9 2416 18.03 27
2Y9-08 172" 172" 46.5 46 23.9 17.9 24.16 18.03 27
2Y9-12 3/4" 3/4" 52 51.5 28.9 239 29.16 24.03 36
2Y9-16-12 1" 3/41 60 58 38.8 30.9 39.12 31.01 41
2Y9-16 1" 11 64 63.5 38.8 30.9 39.12 31.01 48
2Y9-20 1.1/4" 1.1(4" 64 63.5 45.9 37.9 46.15 38.02 48

L
L4Y
R IME S HE Sk SAE J1467

CLIP FASTENER MALE PLUG SAE J1467

re Mg SIZE R~ DIMENSIONS
PART NO.  %i# LEFT L

4Y-04 1/4" 006.0X2.0 14.9 9.9 34

4Y-06 3/8" 010.0X2.0 19.9 13.9 34

4Y-08 12" 013.0%2.5 23.9 17.9 34

4Y-12 374 019.0%2.5 28.9 23,9 34

4Y-16 1t 025.0X2.5 388 30.9 41

4Y-20 1.1/4" 033.0X2.5 45.9 37.9 41

e ik SIZE R~t DIMENSIONS
PARTNO. %% LEFT %% RIGHT L M N
2Y-06-04 3/8" 114" 19.9 13.9 60 15.16 |, 10.03
2Y-08-04 172" 114" 23.9 17.9 60 15.16 | /10.03
2Y-08-06 172" 3/8" 23.9 17.9 60 2017 |\ 14.02
2Y-12-08 34 112" 289 239 60 2446 |- 18.03
2Y-16-12 1" 314" 38.8 30.9 65 2016 | 24.03
2Y-20-12 1.1/4" 3/4" 45.9 37.9 72 2916 | 24.03
2Y-20-16 114" 1 45.9 37.9 78 39.12 | 31.01




0 SAE#H FRRiE#:L SAE STAPLE-LOK ADAPTERS 0 SAEfARiEREE:L SAE STAPLE-LOK ADAPTERS
IS

—
L —= —_ A -
A L2ZY
? e S T A | L7y [ W:T_T
o=z J—*M“ S8 W L1 Sl KL A A BT HDIN 3852-2 AR/
= " BRI Ak SAE J1467 ' B3k SAE J1467
| o '
I & © B CLIP FASTENER FEMALE SAE J1467 &) BSPP BONDED SEAL DIN 3852-2 A% /
CLIP FASTENER FEMALE SAE J1467
\s1
R g SIZE R~ DIMENSIONS g #2457 THREAD s i R~ DIMENSIONS
PART NO. %% LEFT #i% RIGHT  D1,D2 M1,M2  N1,N2 PART NO. E RIGHT SIZE o M N S1
7Y-04 1/4" 1/4" 25 59 15.16 | 10.03 27Y-04 G1/4"X19 1/4" ZHD-14 12 485 | 1516 | 10.03 | 19
7Y-06 3/8" 3/8" 32 59 20.17 | 14.02 27Y-06 G3/8"X19 3/8" ZHD-18 13.5 | 50.5 | 20.17 | 14,0217 22
7Y-08 172" 1/2" 35 59 24.16—) 18.03 27Y-06-08 G3/8"X19 1/2" ZHD-18 13.5 54 |-2416/| 18.03, 27
7Y-12 3/4" 3/4" 45 59 29/16 /| 24.03 27Y-08-06 G1/2"X14 3/8" ZHD-22 16 56 /| 20017 |/14.02\| 27
7Y-16 1" 1" 55 68 39.12/ | /31.01 27Y-08 G1/2"X14 1/2" ZHD-22 16 56.5/ | 24.16" | 418.03 27
7Y-20 1.1/4" 1.1/4" 60 68 46-15~ 38.02 27Y-12 G3/4"X14 3/4} ZHD-27 18.5 61 29.16 | 24.03 | 36
7Y-24 142 1412 70 80 55.22 | 47.02 27Y-16 X114 1y ZHD!33 20.5 73 | 39.12 | 31.01 46
7Y-32 2 2" 80 80 64.21 | 56.00 27Y-16-20 G1"X11 1.1/4" ZHD-33 20.5 77 | 46.15 | 38.02 | 50
27Y-20-16 | GT.4/4"X11 1" ZHD-42 20.5 77 | 39.12 | 31.01 50
27Y-20 G1.17/4"X11 1.1/4" ZHD-42 20.5 77 | 46.15 | 38.02 | 50

L2NY
EFRMEEINEL / RIRAEEL SAE J1467 LU-Y
NPT MALE /CLIP FASTENER FEMALE SAE J1467 )
U+
STAPLE
RE 240 THREAD At R~F DIMENSIONS
PART NO. E RIGHT SIZE M N
2NY-04 Z1/4"X18 1/4" 15 51.5 15.16 | 10.03 19
2NY-06 Z3/8"X18 3/8" 16 52.5 20.17 |, 14.02 22 ®e B RS R~t DIMENSIONS
2NY-08 Z1/2"X14 1/2" 19.5 59 24.46 | 1803 27 PART NO. STECKO SIZE
2NY-12 23/4!X14 3/4" 19.5 61 29.16 [ 124.03 36 U-Y04 114" 34 7.7 4
2NY-16 Z1"X11.5 1" 255 72.5 39.12 | 31.01 46 U-Y06 3/8" 37 125 4
2NY-20 Z1.414"X11.5 1.1/4" 26.5 73.5 46.15 | 38.02 50 U-Y08 172" 44 165 4
U-Y12 3/4" 52 20.8 4
U-Y16 1" 69 27/2 6
U-Y20 1,104 71.5 34.8 6
U-Y24 17" 78.8 46.1 6
6

U-Y32 2 100 58




© Hitnigsk OTHER ADAPTERS © Hitnigsk OTHER ADAPTERS
4 4 4 .

L1M

Hftaisk Other Adapters ABIMEEE0° AERARBERAS BESH

METRIC MALE DOUBLE USE FOR 60°
CONE SEAT OR BONDED SEAL

1

) #2457 THREAD R~ DIMENSIONS
PART NO. E F A B L St
L1M L4M L4MN -WD L1G L4G L1H 1M-10 MT0X1 MT0XT 8 i 24 N
P02 P03 P03 P04 P04 P05 1M-10-12 M10X1 M12X1.5 8 10 26 17
1M-12 M12X1.5 M12X1.5 10 10 28 17
1M-12-14 M12X1.5 M14X1.5 10 11 29 19
1M-14 M14X1.5 M14X1.5 11 11 30 19
1M-14-16 M14X1.5 M16X1.5 11 12 31 22
1HoH Lan LahiN L10-0G L40 L4ON 1M-16 M16X1.5 M16X1.5 12 12 32 22
P05 P06 P06 P07 P07 P08 1M-16-18 M16X1.5 M18X1.5 12 12 34 24
1M-18 M18X1.5 M18X1.5 12 12 34 24
1M-18-22 M18X1.5 M22X1.5 12 14 38 27
1M-20-22 M20X1.5 M22X1.5 14 14 38 27
1M-22 M22X1.5 M22X1.5 14 14 38 27
50 Lup 1M-22-26 M22X1.5 M26X1.5 14 16 43 32
P09 P10 1M-22-27 M22X1.5 M27X2 14 16 43 32
1M-22-27D M22X1.5 M27X1.5 14 16 43 32
1M-26 M26X1.5 M26X1.5 16 16 45 32
1M-26-30 M26X15 M30X2 16 18 47 36
1M-26-30D M26X1.5 M30X1.5 16 18 47 36
1M-27 M27X2 M27X2 16 16 45 32
1M-27D M27X15 M27X1.5 16 16 45 32
1M-30 M30X2 M30X2 18 18 49 36
1M-30D M30X1.5 M30X1.5 18 18 49 36




© Hitnigsk OTHER ADAPTERS © Hitnigsk OTHER ADAPTERS

4 4 .
L
A B

N
Law A L1
Lt 60° e = e

| AHISMES60° MY A RME A S BT HEL I_ G SME O B
B I;’f METRIC MALE DOUBLE USE FOR 60° L BSP MALE O-RING

CONE SEAT ORBONDED SEAL PLUG S1

re #247 THREAD R~ DIMENSIONS ke #8247 THREAD OB O-RING R~ DIMENSIONS
PART NO. F L s1 PART NO. F Ei Fiss B L
4M-10 M10X1 8 15 14 1G-02 G1/8"X28 G1/8"X28 7.65X1.78 7.65X1.78 95 9.5 28 14
4M-12 M12X1.5 10 17 17 1G-04 G1/4"X19 G1/4"X19 1077X262 | 10.77X2.62 11 1 3% 19
4M-14 M14X1.5 11 19 49 1G-06 G3/8"X19 G3/8"X19 13.94X262 |  13.94X262 15 5 36 22
4M-16 M16X1.5 12 20 22 1G-08 G1/2"X14 G1/2"X14 1742x262 | V17.12x2.62 14 14 44 27
4M-18 M18X1.5 12 20 24 1G-12 G3/4"X14 G3/4X14 2347X0/62 | 2347X262 155 155 48 32
4M-20 M20X1.5 14 7% 27 1G-16 G111 G X11 2974553/ || 2974X353 18 18 55 41
4M-22 M22X1.5 14 23 27 1G-20 G1a/a"xt\ || \G14/4"x11/|—3769x353 | 37.69X3.53 20 20 61 50
4M-24 M24X1.5 14 25 30 1G24 G124t G1.4/2'X11 | 44.04X353 | 44.04X353 215 215 64 55
4M-26 M26X1.5 16 28 32
4M-27D M27X1.5 16 28 32
4M-30 M30X2 18 30 36
4M-30D M30X1.5 18 30 36
L4G
w
| , K IMREOT B %
N BSP MALE O-RING PLUG
LAMN-WD j
A S1
L
P SMR GBS BB N S Sk L
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG o P OB O_RING pe—
PART NO. E Ei Ss1
4G-04 G1/4"X19 o111 11 19 19
Ke #241 THREAD Bt CAPTIVE R~ DIMENSIONS 4G-06 G3/8"X19 g3 s 22 2
NGy E Eis ] - 4G-08 G1/2'X14 o115 14 27 27
AMN-10WD M10X1 WD-B02 o 12 p 4G-12 G3/4"X14 ot 15.5 29.5 32
4MN-12WD M12X1.5 WD-M12 12 17 6 4G-16 Grxn o217 8 34 il
4MN-14WD M14X1.5 WD-B04 12 17 6
4MN-16WD M16X1.5 WD-M16 12 17 8
4MN-18WD M18X1.5 WD-M18 12 17 8
4MN-20WD M20X1.5 WD-M20 14 19 10
4MN-22WD M22X1.5 WD-M22 14 19 10
4MN-26WD M26X1.5 WD-B12 16 21 12
4MN-27WD M27X2 WD-B12 16 21 12
4MN-33WD M33X2 WD-B16 18 24.5 17
4MN-42WD M42X2 WD-B20 20 26.5 22
4MN-48WD M48X2 WD-B24 22 28.5 24




© Hitnigsk OTHER ADAPTERS © Hitnigsk OTHER ADAPTERS
4 .
L1H L4H
oy
NHSMELEEFRFIISO 6149-3 NHESMNRGIR R LISO 6149-3
METRIC MALE L-SERIES ISO 6149-3 \S1 METRIC MALE L-SERIES PLUG ISO 6149-3
= 1247 THREAD O O-RING R~ DIMENSIONS re 124 THREAD Of2FE O-RING R~ DIMENSIONS
PART NO. E F Exf Fif B L PART NO. E Eif L S1
1H-10 M10X1 M10X1 008.1X1.6 008.1X1.6 8.5 8.5 28 14 4H-12 M12X1.5 009.3X2.4 11 17 17
1H-12 M12X1.5 M12X1.5 009.3X2.4 009.3X2.4 11.0 11.0 33 17 4H-14 M14X1.5 011.3X2.4 14 17 19
1H-14 M14X1.5 M14X1.5 011.3X2.4 011.3X2.4 11.0 11,0 33 19 4H-16 M16X1.5 013.3X2.4 11.5 20 22
1H-16 M16X1.5 M16X1.5 013.3X2.4 013.3%X2°4 11.5 115 34 22 4H-18 M18X1.5 015.3X2.4 12.5 20.5 24
1H-18 M18X1.5 M18X1.5 015.3X2°4 015.3X2.4 12.5 125 36 24 4H-22 M22X1:5 019.3X2.4 13 23 27
1H-22 M22X1.5 M22X1.5 019.3X2.4 019.3X2.4 13.0 13.0 39 27 4H-27 M27X2 023.5X3.0 16 27 32
1H-27 M27X2 M27X2 023.5X3.0 023.5X3.0 16.0 16.0 45 32 4H-33 M33X2 029.5X3.0 16 27 41
1H-33 M33X2 M33X2 029.5X%3°0 029.5X3.0 16.0 16.0 48 41 4H-42 M42X2 038.5X3.0 16 31 50
1H-42 M42X2 M42X2 038.5X3.0 038.5X3.0 16.0 16.0 50 50 iE: AT5ISO9974- 1M O4EAL, XHIHE 51SO 6149-1H OHAL,
1H-48 M48X2 M48X2 044.5X3.0 044.5X3.0 17.5 17.5 53 55 Note: Fit for ISO 9974-1 port or ISO 6149-1 port when useless of retaining ring.
E: AI51S09974-1il O4AAL, FHHLE SISO 6149-1iH O4HE,
Note: Fit for ISO 9974-1 port or ISO 6149-1 port when useless of retaining ring.

L1H-H

NESMEGERTIISO 6149-2

S1

METRIC MALE S-SERIES ISO 6149-2

L4HN

N HI MR LUEOR B M /< i 3 5k
METRIC MALE WITH O-RING HOLLOW HEX PLUG

e #2450 THREAD OfE O-RING R~ DIMENSIONS
PART NO. E Ei
e #2450 THREAD OB O-RING R~ DIMENSIONS 4HN-10 M10X1 008.1X1.6 8.5 11.5 5
PART NO. E F Ei Fif B L 4HN-12 M12X1.5 009.3X2.4 11 14 6
1H-10H M10X1 M10X1 008.1X1.6 | 008.1X1.6 | 9.5 9.5 31.0 14 4HN-14 M14X1.5 011.3X2.4 11 14 6
1H-12H M12X1.5 M12X1.5 | 009.3X2.4 | 009.3X2.4 | 11.0 | 11.0 | 3558 17 4HN-16 M16X1.5 013.3X2.4 11.5 14 8
1H-14H M14X1.5 M14X1.5 | 011.3X2.4 | O11.3X2.4 | 11.0 | 11,0\ 355 19 4HN-18 M18X1.5 015.3X2:4 125 15.5 8
1H-16H M16X1.5 M16X1.5 | 013.3X2.4 | 013.3x2.4—| J[12.5 || 125/ / 39.0 22 4HN-22 M22X1.5 019.3x2.4 13 16 10
1H-18H M18X1.5 M18X1.5 | 015.3X2.4_|Q15.3X2.4/{1/14.0 | 14.0)/| /4270 24 4HN-26 M26X1.5 023.8X3.0 135 16.5 12
1H-20H M20X1.5 M20X1.5 | Of7.3x24 | 017.3x2.4 || 140 J—14.0 | 42.0 27 4HN-27 M27x2 023,5X3.0 16 19 12
1H-22H M22X1.5 M22x1/5 | 019.3X2/4 || 0193X2.4 | 150 | 15.0 | 46.0 27 4HN-33 M33X2 029.5X3.0 16 20 17
1H-27H M27X2 M27X2 023.5X3/0 | '023.5X3.0 | 185 | 185 | 555 32 4HN-42 M42X2 038.5X3.0 16 22 22
1H-33H M33X2 M33X2 029056X3.0 | 029.5X3.0 | 185 | 185 | 56.5 41 4HN-48 M48x2 044.5X3.0 175 | 215 24
1H-42H M42X2 M42X2 038.5X3.0 | 038.5X3.0 | 19.0 | 19.0 | 58.0 50
1H-48H M48X2 M48X2 044.5X3.0 | 044.5X3.0 | 215 | 215 | 63.0 55
: 51S06149-1 048R,  Note: Fitfor ISO 6149-1 port.




© Hitnigsk OTHER ADAPTERS © Hitnigsk OTHER ADAPTERS

4 .4 .4 4
L
|-—--
L -
A B :
L10-0G T B L40ON
RN
b = =3
r £ HISAESME SO Bl Sk 3E R 511SO 11926-3 £ $ISAESME SO B P A fa 35 Sk B2 K F11SO 11926-3
SAE O-RING BOSS PLUG L-SERIES ISO 11926-3 1 SAE O-RING BOSS HOLLOW HEX PLUG L-SERIES ISO 11926-3

e #2557 THREAD OB O-RING R~} DIMENSIONS e #2457 THREAD O O-RING R~} DIMENSIONS

PART NO. F Eif Fifh B L PART NO. E Eif L

10-040G 7/16"X20 | 7/16"X20 0904 0904 9.14 18 33 14 17 40N-04 7/16"X20 0904 9.1 115 5
10-04-060G 7/16"X20 | 9/16"X18 0904 0906 9.14 20 35.1 17 19 4ON-05 1/2"X20 0905 9.1 115 5

10-060G 9/16"X18 | 9/16"X18 0906 0906 9.93 20 36 17 19 40N-06 9/16"X18 0906 9.9 12.2 6
10-06-080G 9/16"X18 3/4"X16 0906 0908 9.93 22 40 22 24 40N-08 3/4"X16 0908 11 143 8

10-080G 3/4"X16 3/4"X16 0908 0908 1413 22 40 22 24 40N-10 7/8"X14 0910 127 16 10
10-08-120G 3/4"X16 | 1.1/16"X12 0908 0912 11.13 29 51 32 32 40N-12 101/16"X12 0912 15 19 14

10-100G 7/8"X14 7/8"X14 0910 0910 12.7 26 46 27 27 4ON-16 1.5/16"X12 0916 15.1 19 16

10-120G 1.1/16" X421\ 111161X12 0912 0912 15.1 29 54 32 32 40N-20 1,5/8"X12 0920 15.1 19 19

10-160G 1.5/16"X12 | | 1.6/161X12 0916 0916 15.1 29 54 38 41

10-200G 1.5/8"X12\ {1-5/8"X12 0920 0920 15.1 29 54 50 50

10-240G 1.7/8"X12 [ 1.7/8"X12 0924 0924 15.1 29 54 55 55

L
A
L40
a4
EH SAESMRAUTHOR Bl 5k
SAE O-RING BOSS PLUG

e #2250 THREAD OB O-RING R~} DIMENSIONS
PART NO. E Ed L S
40-04 7/16"X20 8.92X1.83 9.14 16 14
40-05 1/2"X20 10.52X1.83 9.14 16 17
40-06 9/16"X18 11.89X1.98 10 175 17
40-08 3/4"X16 16.36X2.21 113 | 195 22
40-10 7/8"X14 19.18X2.46 1217 23 27
40-12 1.1116"X12 2347X2.95 1509 | 265 32
40-14 1.3/16"X12 26.62X2.95 15.09 27 36
40-16 156X 12 29.74X2.95 1509 | 275 38
40-20 1.5/8'X12 37.46X3.00 15.09 30 50
40-24 1.708"%12 43.69X3.00 15.09 30 55
40-32 24/2"X12 50.36X3.00 15.09 32 70

P07 P08




© Hitnigsk OTHER ADAPTERS © Hitnigsk OTHER ADAPTERS

B I
L
LA
L50
AL L4P
e I 1| — | £ HISAESMBLUHOT B R 511SO 11926-3/ 90'-( Nl
EHSAER LSO 11926-1 vl £ HISAESMBLI90° S LSAE J513
\ SAE O_R'S'\,@ ngﬁtg?&g'ﬁ%gﬂ 1926-3/ SAE MALE 90° CONE PLUG SAE J513
51

re #2457 THREAD OB O-RING R~+ DIMENSIONS re #2457 THREAD R~t DIMENSIONS
PART NO. E F Ei S1 PART NO. E L S1
50-04-06 7/16"X20 9/16"X18 0904 9.14 31 22 4P-04 7/16"X20 12.7 18.5 14
50-06-04 9/16"X18 7/16"X20 0906 9.93 28 17 4P-05 1/2"X20 14.2 20 14
50-06-08 9/16"X18 3/4"X16 0906 9.93 36 27 4P-06 5/8"X18 15.7 22 17
50-08-06 3/4"X16 9/16"X18 0908 1113 [_ 315 22 4P-08 37141X16 19 27 22
50-08-10 3/4"X16 7/8"X14 0908 11.13 38 30 4P-10 718"X14 22.4 30.5 24
50-08-12 3/4"X16 1.1/16"X12 0908 11.13 43 36 4P-12 1.1716"X 14 25.4 35.5 30

50-10 7/8"X14 7/8"X14 0910 12.7 41 30
50-10-06 7/8"X14 9/16"X18 0910 12.7 20.6 27
50-10-08 7/8"X14 3/4"X16 0910 12.7 35 27
50-10-12 7/8"X14 1.1/16"X12 0910 12.7 43 36
50-12-08 101716X12 3/4"X16 0912 15.09 26 32
50-12-10 1,4/16"%12 7/8"X14 0912 15.1 40.5 32
50-12-16 1.4/16"X12 | 1.5/16"X12 0912 15.1 46 41
50-14-12 1.3/16"X12 | 1.1/16"X12 0914 15.1 43 36
50-16-06 1.5/16"X12 | 9/16"X18 0916 15.1 26 38
50-16-10 1.5/16"X12 7/8"X14 0916 15.1 26 38
50-16-12 1.5/16"X12 | 1.1/16"X12 0916 15.1 43.5 38
50-16-14 1.5/16"X12 | 1.3/16"X12 0916 15.1 43 38
50-16-20 1.5/16"X12 | 1.5/8"X12 0916 15.1 46.5 50
50-20-12 1.5/8"X12 | 1.1/16"X12 0920 15.1 35 50
50-20-16 1.5/8"X12 | 1.5/16"X12 0920 15.1 42 50
50-20-24 1.5/8"X12 1.7/8"x12 0920 15.1 48 55
50-24-16 1.7/8"X12\ || 1.5/16"X12 0924 15.1 35 55
50-24-20 1,708"X42 1.5/8"X12 0924 15.1 45 55
50-32-20 2\1/2"X12 1.5/8"X12 0932 15.1 32 70
50-32-24 2.1/2"X12 1.7/8"X12 0932 15.1 32 70






